
START

�������	��
���

 ���
���




ISCAR924

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



���	��
��	

���������� � �������� ........................................................................... 925-937

�������	��
���

 ���
���


DIN 69871-A/B ....................................................................................................................................................... 938

DIN 69893 HSK A/E ............................................................................................................................................. 958

CAMFIX DIN 26623-1 .......................................................................................................................................... 988

BT MAS-403 .......................................................................................................................................................... 1004

DIN 2080, R-8 Bridgeport, ����� ����� .................................................................................................. 1031

!�"#$� %���&���'� � %���&���'� VDI .................................................................................................. 1037

FLEXFIT, CLICKFIT ............................................................................................................................................. 1043

��(�)����#$� *�&���$ ................................................................................................................................. 1049

!�&���$ �)" #�&+�'�� � ����/�&�' ........................................................................................................ 1055

:��(��$� *�&���$ ER, SC � *�&���$ � &��#�����#�# .............................................................. 1062

;�����)�+��'�� *�&���$ HYDROFIT, '�#*)�'&�<=�� ................................................................ 1083

>$��'��'����&�$� ?*����)� SPINJET � *������# ��� ......................................................... 1086

>�*�#�(�&�)@�$� ��&��G�&�� .................................................................................................................... 1094

!�����)�����&� � ��*���$� +��&� ........................................................................................ 1098



925

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



�������	
�

DIN 69871-A/B ���. 938-957

:
�;�>QU 

!
���� SHORTIN

!
���� 

��
 

�	�W��
 CLICKFIT FLEXFIT

����>�U 

!
���� 

MAXIN HYDROFIT

�	���- 

!
����

�
�
�. 

Z�	[Q

���:. 

Z�	[Q

940-941 941 956 956 957 942 943-944 946-948 949-950 950

!
���� 

COMBI ��
 

�
�
��Q\ 

Z�	[ !	�	\�����

����� 

���[	

�	;��. 

!
���� 

FINEFIT  

952 953 954 955

DIN 69893 HSK A/E            ���. 958-987           

:
�;�>QU 

!
���� SHORTIN CLICKIN

���:. 

Z�	[Q CLICKFIT

�
�
�. 

� ���:. 

Z�	[Q

!
���� 

COMBI ��
 

�
�
��Q\ 

Z�	[

����� 

���[	 [
;���>�
 HYDROFIT

����>�U 

!
���� 

MAXIN

�	���- 

!
����

�	;��. 

!
���� 

FINEFIT

960-964 965 984 970-971 985 978-980, 983 981 982 987 966-969 965-966 972-978 984

CAMFIX DIN 26623-1 ���. 988-1003

:
�;�>QU 

!
����

����>�U 

!
���� 

MAXIN CLICKFIT

���:. 

Z�	[Q

�	���- 

!
����

!
���� 

COMBI ��
 

�
�
��Q\ 

Z�	[

���:. 

Z�	[Q FLEXFIT 

�	;��. 

!
���� 

FINEFIT [
;���>�


991-993 993 994 994-996 997-998 1000 1000 1001 1002 1003

BT MAS - 403                          ���. 1004-1030

:
�;�>QU 

!
���� SHORTIN CLICKIN

!
���� 

��
 

�	�W��
 FLEXFIT CLICKFIT   HYDROFIT

����>�U 

!
���� 

MAXIN

�	���- 

!
���� 

SRKIN

�
�
�. 

Z�	[Q

���:. 

Z�	[Q

!
���� 

COMBI ��
 

�
�
��Q\ 

Z�	[ JACOBS

1006-1008 1008 1030 1029 1030 1029 1010-1012 1009-1010 1016-1020 1021-1023 1024 1025 1026

!	�	\�����
����� 
���[	

�	;��. 
!
���� 
FINEFIT

!
����

WELDON

1027 1027-1028 1028 1010-1015



ISCAR926

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



�������	
�

DIN 2080 ���. 1031-1036 R-8 - Bridgeport 
���� �����

:
�;�>QU 

!
����

���:. 

Z�	[Q

�
�
�. 

Z�	[Q

���:. 

Z�	[Q

!
���� 

COMBI ��
 

�
�
��Q\ 

Z�	[

����� 

���[	

:
�;�>QU 

!
����

1032-1034 1034 1035 1035 1036 1036 1036

������ ��������� ���. 1037-1042 GTI - 
�������� ��������

:
�;�>QU 

!
���� ER

GTI - 

��	!�	��	 

�	�W���>

GFI -ST

!�
>.

!
����

!
���� � �	- 

;�����>��U 

!� :	���� SHRINKIN DIN69871 BT MAS !�
��U GTIN-ER

1038-1042 1056 1057 1051-1053 1042 956 1029 1056 1060-1061

FLEXFIT - ��!��"��� ��#"$���� ���!������ 

DIN69871 HSK BT

!�
��U 

\>����>��

!	�	\�����  

CF-FLEXFIT !	�	\�����

!	�	\����� 

MULTI-MASTER

!	�	\����� 

CDP SHRINKIN

:
�;.

!
����

CDP ER

:
�;. 

!
���� 

ER-ODP CAMFIX

957 985-987 1029-1030 1045 1046 1046 1047 1047 1048 1048 1001

��%�������&� 

�'����&

�	;����. 

!
����

FINEFIT

`��:	���. 

>����


1051,984, 

1002,

1050-1051

1053

CLICKFIT ��!��"�'� ������'

DIN69871 HSK CAMFIX BT MAS

956 985 994 1029

GFI - ��'�'()�� 

*'�%��&� �'���� 

!��  �'#�+���� ,������"

!�
��U 

:
�;. 

!
����

1057 1098-1100



927

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



�������	
�

:'�%� ER SC   ���. 1062-1082

!������Q	 

:
�;� 

SPR

!������Q	 

:
�;�

 SPR AA

;	��. 

!���. 

:
�;� JET

;	��. 

!���. 

:
�;� 

JET 2

�
a��Q 

!���. 

:
�;

FLEXFIT 

ER-ODP

SC SPR/ 

;	��. 

:
�;�

SC 

HYDROFIT

SHRINKIN 

ER-SRK

 

GTIN ER

1006 1067 1068 1069 1080-1081 1048 1082 1085 1073-1075 1060-1061


��������()�� ���. 1098-1106

;
U�
 ��bW

�	;����. 

� [
���. 

>��� ���:.>���

!��>���. 

����:�

1100-1101 1102-1103 1101-1102, 

1105

1102 1103

SHRINKIN - �'����& � �����#';����

DIN 69871-

SRKIN

DIN 69871-

SRK

HSK-SRK/ 

SRKIN

BT-SRKIN/

SRK

!�
��U 

\>����>�� FLEXFIT ER-SRK

����->� 

�����:. 

�
;�	>


CLICKIN 

SHRINKIN

SHRINKIN 

CAMFIX

947-948 946 972-978 1016-1019 1042 1047 1073-1075 1076-1077 1079 997-998

SPINJET ���. 1091-1093

ER32-

SPINJET

BT-

SPINJET

HSK-

SPINJET

CAMFIX-

SPINJET

ST-

SPINJET

1091-1092 1091, 1093 1091, 1093 1092, 1093 1092, 1093

Easylock - 
���������� 
�������� 
������' 
#'��;��

���;'���� �'������

ISO,  

BT-MAS, 

DIN69871

HSK  

A, C, E, F

CAMFIX

C3,4, 

5,6,8

1096-1097 1095 1095 1095



ISCAR928

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

���*/��$G ���& *��&�)'����& %���&���' ���&��#��&� 

+���� �&����&�� � ��������# ���#�&��, �$�$��" 

�*��(�< ��c��#�f�< �&�)@��(� *�&����. 

!�� ���&�� �&�)� ��'��( ���&��#��&�, *����%���&� 

'��&�'&���<& *�� �()�#, *���$?�<=�# 180º.  

> ����)@&�&� ���&�(��&�" �/�&'��&@ '��*)���", 

������#�" � �/�&'��&@< #���)�&��G '���&��'f��.

�	��
�� 	�
��� CLICKFIT

!���%����'�

��)���&�)�

���f��$� c���$

���f��$� c���$

:��(��$G *�&��� ER

��!��"�'� ������' ���������

���*)���� CLICKFIT �)�+?��& h'�*)��&�f����$� %���'&����&�'� ���&��#��&�

��&����): 

)�(��������" �&�)@

Vc = 90 ##/#��

fz = 0.15 ##/��q

;)�q��� ������" = 25 ##

>�a�
:�
!

;)�q��� ������" = 40 ## (���)�+����" ()�q���)

!)����" �q��q�&'�!

!�&��� Weldon

SPK D40-42-W32-10

!�&��� CLICKFIT

SPK D40-42-CF4

��������� ������� �	�������

CLICKFIT
� ��������� �

!
����

WELDON



929

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

�	���	 1
U=2 (·## #���& ����#�&����&@�" '�' 

����������?����" #���� m=2 ( �� ����&�"��� 

*� ������� r=1 ##, )�q� '�' #����   m=0.1 ( 

�� ����&�"��� *� ������� r=20 ##, � &.�.

�������� 
������	����

�	���	 2
��&�&�+�$G ���q�)��� �� ������& �& �'����&�. 

������ ���+���� �&�����& ����������?����< 

#���� � �/ ����&�"��� �& f��&��)@��G ��� 

����f��. [��+���� ��&�&�+��(� ���q�)���� 

��#��"�&�" �� q�)��������+�$% �&��'�%.

�	���	 3
[��+���� G �&�����& '�+��&�� q�)�������'� 

�*���'� � ������#��&� �& �/ �()���G �'����&� (N).

U = m x r = >m =      
U 

= 
  4   

= 0.2g
                                r        20

[��+���� G �&�����& '�+��&�� q�)�������'� �*���'�

� ������#��&� �& �/ �()���G �'����&� (N)

G = Ω x e =
 π x N  

x  
 U     

=
  U x N x π

                  30      M        M x 30

e = 
 G x 30

       π x N

G =
 π   

xN  x  
U     π      

x15,000  x    
8        

≈6.3 (##/�)
     30             M   30                       2,000

e = 
U  

=
 
e

 
=

 8   
= 4 ((·##/'()

     M             2

[��+���� G ��#��"�&�" �� G=2.5 ##/�, ��)� &� �� 

�*���'� ��*�)@���&�" �� �()���G �'����&�

N=6,000 �q/#��, � G=1.0 ##/� *��

N=2,500 �q/#��.

�)��� &�+���&� q�)�������'� �)" ����$% (��**

���=�<=�%�" h)�#��&��:

• ������$� ��&�)� �&��'�� - G6.3
• ������$� ������'� � *�&���$ - G2.5
• !�&���$ ?)�c���)@�$% �&��'�� - G1.0
• �*����)� *��f������$% ?)�c���)@�$% �&��'�� - G0.4

��������
a�)�������'� – h&� *��f��� ��������?�����" 

���=�<=�%�" �� ��� &�) &�'�# �q����#, 

+&�q$ ���=���� �� *������)� ' *�"�)���< 

���'�#*����������$% f��&��q���$% ��).

a�)�������'� *����)"�& �q���&@ ��q��f�<, 

�#��@?�&@ ��c��#�f�< ?*����)", *��$��&@ 

'�+��&�� �q��q�&'� � ���)�+�&@ *���#�&�$ ������".

�����#����� ��#���&�)@��� �q���������� *����)"�& 

�����&@ ���q�)��� �� #���#�)@�$% *����)��. ����'�, 

� &�+'� �����" h'���#�� *�����)�+���&@ &��q�����" 

' '�+��&�� q$)� q$ ���*��������.  

!�h&�#� �����')� ���q%���#��&@ �*����)�&@, ���'�)@'� 

��)��� q$&@ �#��@?�� ���q�)���, � (�� q���& ���&�(��& 

�*&�#�)@�$G h'���#�+��'�G � &�%��+��'�G '�#*��#��� 

� �&��?���� &��q�����G ' '�+��&�� q�)����.

�������� 
������	����

��	��������
G - ��+���&@ q�)�������'� (##/�)

e - ���)@�$G ���q�)��� (( x ##/'()

Ω - �'����&@ ((���/�)

N - �'����&@ (�q/#��)

M - ����� &�)� ('()

m - ����������?����" #���� (()

r - ������ ���q�)���� (##)

U - ��&�&�+�$G ���q�)��� ((·##)

��	���� 	�
���
��&�&�+�$G ���q�)��� ����� #���� ���&��#��&� (M),  
�#�������G �� �(� h'�f��&����&�& (e).
`'�f��&����&�& �'��$���& �� *����), �� '�&���(�  

��� ���&��#��&� �&')��/� �& ���.

�� �*����)"�&�" '�' ����&�"��� �& f��&�� ���=���"  

���&��#��&� �� f��&��)@��G ��� ����f��.

	�)� h'�f��&����&�& ��#��"�&�" � #�'����%, 

� #���� ���&��#��&� – � '�)�(��##�%, &� ��&�&�+�$G 

���q�)��� ��#��"�&�" � (��##-#�))�#�&��%.

�<q$� ��� ��q��� #��� � h'�f��&����&�&,  

'�&��$� ��<& �����'���� ���+���� ���q�)����, q���& 

�#�&@ ���)�(�+��� �����G�&��� �� ���&��#��&,

*�'� ��&�&�+�$G ���q�)��� ��%���&�" � &�G ��

*)��'��&�, *��*����'�)"���G ��� ���=���".

U=r x m
��&�&�+�$G ���q�)��� �� ������& �& �'����&�.  

������ ���+���� �&�����& ����������?����< #���� 

� �/ ����&�"��� �& f��&��)@��G ��� ����f��.  

[��+���� ��&�&�+��(� ���q�)���� ��#��"�&�" 

�� q�)��������+�$% �&��'�%.

e =  
U  

=>U=M x e
        M

Ω = 
2πN

= 
πN

   
60      30 

����!������ $'�'��������

<'�'�������&� �'����&



ISCAR930

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

MAXINMAXIN

3xD

0.01

D

�����&� �'����&

> ��&��G�&��% �����(� &�*� ��q�)@?�G #�#��&, 

*��)�(��#$G ' *������G +��&� *�&����, *������& 

' �����'������< ���+�&�)@��(� ���)�" ����#�. 

��)��$� *�&���$ *��������+��$ �)" �*���f�G 

+������G � +��&���G c�������G �q��q�&'�, 

(�� &��q��&�" *�����+� q�)@?�(� #�#��&�, 

&�+���&@, '�#*�'&���&@ � *���&�&� � h'�*)��&�f��.

���
�������
• [���#��" (�G'� �� �#��& ���&�����G 

���@q$ ('�' � f��(��$% *�&����% ER)

• ��*������&����$G ����# %���&���'� ���&��#��&� –  

 #�'��#�)@��� ���)�� ���&�(��&�" 

q�� *��#�����" *���%����(� *�&����

• ;�G'� � (��#�&�+��G '���&��'f��G

• [�&"(������ (�G'� �� *������& ' �#�=���< 

���&��#��&� � �����# ��*���)����

• ��)�&��&����" '���&��'f�" *����)"�& 

�$�������&@ *��$?���$� q�'��$� ��(���'�

>$��'�� ���)�� ����&�" � ��)���# *�&���� MAXIN 
�q��*�+����&�" �������# '������G ���?��$ (1) 
� ��)�+��# �*���)@��G '����'� (3) �� ���&�����G 

*����%���&� *�����+��(� �&����&�" *�&����.  

>��=���� ����#��G (�G'� (2) � �����# 

��*���)���� *������& ' �����'������<  

q�)@?�(� ���)�" ��&"�'�.  

������� '������G ���?��$ (1) � ��')����� 

*�)������ �(�)@+�&�(� ��)�'���(� *��?�*��'� (4),  
��&����)����(� � '��*���, �q��*�+���<& 

������ *���#�=���� ����#��G (�G'� (2).

���'�)@�$G #�%����# ��')<+��& ������ 

�#�=���� %���&���'� �� ���#" ����#�, &�'�# 

�q����# �*��=�" *��f��� ��&����'�.

!�"����� �
	�
����
��'��#�)@��� q����� *�� �$)�&� 

3XD - #���� 0.01 ##

1. �������" ���?��� � �������# 

� *������G +��&�

2. [���#��" (�G'�

3. �*���)@��" '����'�

4. ���*�� �(�)@+�&�(� *��?�*��'�

5. �*)�&��&�)@ � *������G +��&�

6. >��&�)"f������ �&����&�� 

(���@q� M4)

7. ���@q� �)" ��(�)�����+��(� ���&�

8. ���*/��$G ���& 

(�)" ��(�)�����+��(� ���&�)

9. ��(�)�����+�$G ���&

10. !�����+��� �&����&��

11. �����'� (�)" �����&�" f��(�)

��������



931

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

#�������� � ������
$�������% &	�'� � ����*�+ ��+"�

[�&"��&� (�G'� ')<+�# �)" ����#�.

��)�q@&� (�G'� ')<+�# �)" ���)�+���" ���&��#��&�.

��'�#����f�� *� *����)@��G h'�*)��&�f��

>� ��q������ *�)�#'� #�%����#� *�&���� MAXIN,  
��'�(�� �� ��&"(���G&� ����#��< (�G'�  

q�� ��&����'� � �&����&�� %���&���'� ���&��#��&�.

!��)� ���)�+���" ���&��#��&� �� *�&���� 

MAXIN, ���q%���#� �&�����&@ ����#��< 

(�G'� �� ���� ��*�)��&�)@�$G �q���&, +&�q$ 

*����&���&�&@ �#��@?���� ��)$ ����#� 

� ��%����&@ #�'��#�)@��� ���)�� ��'��*)���".

��(�)�����+�$G ���&

�)" ��#�����" �)��$ �$)�&� ���&��#��&�

��*�)@��G&� ��(�)�����+�$G ���&

���&�� �&����&�" *�&���� MAXIN, ��&�)@ №9.

>��& "�)"�&�" ��*�)��&�)@��G �*f��G, 

� ��'��$���&�" �&��)@��.

��&����'� f��( SC � %���&���'��

���&��#��& ���q%���#� ��&���&@ � f��(�

�� ��&����'� � *�&��� MAXIN.
>�&��@&� f��(� � *�&��� MAXIN &�'�# �q����#,

+&�q$ f��(� ���&�(�)� *������(� '��f� *�&����.

�)" #�'��#�)@��G �/�&'��&� � &�+���&�,

��&��)"G&� %���&��$� c���$ �� *�)��< �)���

?)�c��'� *�&����.

��(�)�����+�$G ���&

�)" ��#�����" �)��$ �$)�&� ���&��#��&�

��*�)@��G&� ��(�)�����+�$G ���& 

���&�� *�&���� (��*. �*f�").

!�� ��*�)@������� f��( SC � *�&���� MAXIN,  
&�+���&@ #���& �����&@�".

!�� *���������� �)� *�)�#'� ����=�(�  

���&��#��&� �� ���#" �q��q�&'�, ���q%���#� 

���)�����&@ *�&��� MAXIN �� *���#�& &��=��, 

� *������&@, ��%���"�&�" )� &��q��#�" &�+���&@.

�����&� �'����&

������	 '��	������� (��)

/��:���% ���	�� ER ;�����% ���	�� � 
��:�
;�����% ���	��<��	����	��

!�	�����	�� SRKIN

��������� ���)�" ��&"�'�

1. �� ��*�)@��G&� %���&���'� Weldon.

2. >�&��)"G&� %���&���' � *�&��� 

�� �)��� �� #���� Lmin.

3. �)" ��%������" �/�&'��&� ����#�, ?���%���&��&@ 

*����%���&� %���&���'� ��)��� q$&@ �� #���� N5.

�#. �&�. 965-966

��������



ISCAR932

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������
��������

��%�������&� �'����&: ������!���� �� >�����'�'*��

>��& �����)@��G ��(�)����'�

��')��'�

>��& �()���G ��(�)����'�

ER 32 SPR...

BM-BNT6

;�)��'� BM-BN6

>��& ���&��G'�

[���#��G ���&

0.001

0.001

���	�� � 	��������% � �:����% 	�:���	����%

A

B

1

2

3

>���?�� 	�?�*�:� ����	������
[�'��*�&� ����=�G ���&��#��& � *�&���� 

� ����&����@&��@, +&� ���&$ 1 � 3 ��&"��&$ 

�� �&�*��� )/('�(� ��*��&��)���".

#:����� 	�:���	����
��&�����&� ����'�&�� � )�#q�# �� ?)�c������< 
*����%���&@ B. 
�&��(�)���G&� ������ q����� �� 0.001 ##  

� *�#�=@< 4 ��(�)�����+�$% ���&��, ���*�)�����$%  

*� �������#� ���#�&�� *�&����.
@��������� 	�:���	����
��&�����&� ����'�&�� � )�#q�# (� �����?����# 

0.001 ##) �� ?)�c������< *)��'��&@ A 

� �&��(�)���G&� q����� �� 0.001 ##.  

��(�)����'� ���=��&�)"�&�" � *�#�=@< 4 ���&�� (1), 
���*�)�����$% *� �������#� ���#�&�� *�&����.

����"�������� '���?��
��('� ��&"��&� 4 '��*/��$% ���&� (3), 
���*�)�����$% �� )�f���G �&����� *�&����, 

� ��&�# 4 ���&� �� �������# ���#�&��.

����"�������� �	���	�� 
�����
!��)� ��(�)����'� � ��&"�'� *��&���� 

*��'��&��)���G&� ������ � �����)@��� q�����: 

����&����@&��@, +&� q����� ��&�)��@ 0.001 ##. 

!�� ���q%���#��&� �$*�)��&� &��'�< ���&��G'�.



933

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

���	�� � 	�:���	����%  
	��������:� � �:����:� ���*���� 

�	��������
GYRO – h&� �/�&'�G *�&��� � �*f��G ��(�)����'�, �����q�&���$G 

� ISCAR/ETM �)" ��?���" *��q)�# *�� ����)����, ��������� 

���@q$ #�&+�'�# � ����/�&$����� �� &�'���$% �&��'�% � J�# 
� &�'����-����)@����$% �&��'�%.  

�*�f��)@��" '���&��'f�" *����)"�& )�('� ��&����&@ �����)@��� 

� �()���� �#�=���� #���� *�&����# � ����)@�����G (�)��'�G.

 GYRO ��'��=��& �q=�� #�?����� ���#", �q��*�+���" 

���#�����&@ �q��q�&'� �&����&�" �� ���� *��%�� � *�'���&�)"#� 

&�+���&�, q)��'�#� ' 0.01 ##, &�# ��#$# ��')<+�" ���q%���#��&@ 

� *��)���<=�% �*���f�"% ���&�+�����" �)� ����/�&$����".

• ��=��&������ �)�+?���� &�%��)�(�� ����)���" �)" �&��'�� � J�#
• [��+�&�)@��� ���)�+���� *��������&�)@���&� � �������� ��&��&

��'�. ���.q����� 0.02

�()���" 

��(�)����'� 1º

�����)@��" 

��(�)����'� D2.0

GYRO - �'���� � �'!�'�"��� � �%����� ��%���������

 ���
�������
• �q��*�+����& *��f�������� ����)���� � ��*��'�#  

�� h6, � '�+��&�� �����?�<=�G +��&���G �*���f��  

�q��q�&'� �&����&�G �� &�'���$% �&��'�% � J�#.

• ��'��=��& ���#" ��q�&$, q)�(����" *�)��G  

�q��q�&'� �&����&�" �� ���� *��%��, ��')<+�" �*���f�� 

*��&����(� *��%��� � ���&�+�����".

• ���)�+����& �&�G'��&@ ���&��#��&� � ���"&@ � q�)�� ���, 

���q���� � �&��?���� ��/�) �� q$�&������=�G �&�)�,  

&�/���(� �*)���, � ��/�) � ��*�G�$#� *)��&���#�, � &�'�� 

f��&����+�$% ��/�), #�&+�'�� � ����/�&�'.

• ��=��&������ ���)�+���� �'����&� � *���+� �� 300%.

• !���+� �%)����<=�G ���'��&� +���� f��&��)@��< +��&@ 

%���&���'� ���&��#��&�, �)" ����=�% ���&��#��&�� 

� �&����&�"#� �)" ;�P. 1. >��& �����)@��G 

��(�)����'�

2. ���*/��$G ���&

3. ��#*)�'& 

��(�)�����+�$% '�)�f

4. !�����"" +��&@

5. ���&��)@��" �*���'� 

(�)" �$���������")

6. ���&��)@��" �&�)'�

7. ;�G'� ER
8. !��')<+���� ;�P

 �	����*�����
• !���&�" ���&��G'� �)" ��*���)���" �#�=���" #���� 

*�&����# � ��@< ����)@�����G (�)��'� (����)� � ��(�&��'�).

• ��+��� � hcc�'&����� ��'��*)���� ���&��#��&� � f��(�% ER 
� � (��#�&�+�$% f��(�% ER Coolit Jet � *���+�G ;�P.

• a$�&��" c��'f����)@��" ���&��G'� �$*�)�"�&�" �� 

�&��'� � *�#�=@< '�)�q����+��(� ��q��� ISCAR/ETM.

 ��	���� 	�
���
 ��'�����&�� *� h'�*)��&�f��: �#. q��?<��, 

�%��"=�< � '�#*)�'& ���&��#��&�
 �	���"����
• �)" ��/�) � ���#�&��# �&����&�" ;�P � ���*����� 

3-20 ## ���)���� *�� *���+� �%)������" ��)��� 

���&��)"&@ �� #���� 10 q�� � �� q�)�� 80 q��  

(�&�����&��(� ���)���" ;�P �&��'� 4 q�� �����&�&�+��).

• Z�)@&��f�" �%)����<=�G ���'��&� �#��& 

������ ���+����, *����)"" ��&����&@ ��q������ 

�&���'� � �&����&�" *���+� ;�P.

• �)" #�'��#�)@��(� hcc�'&� �& *��#�����" *�&���� 

GYRO, )<c& #�%����#� *�����&��G � �*����G 

��� ����)@�����G (�)��'� ���q%���#� *������&@ 

� ���&���&@ � ���&��&�&��� �� �&�����&�#� �&��'�.

 	�)� ����)�� ��'��$���&�" �*���$�, ���q%���#� 

*���q���&� '�#*)�'& KIT GYRO, �')<+�<=�G '��&��)@��< 

�*���'� � ��(�)�����+��< �&�)'� �)" �$���������".

�)" *�����'� �)�"��" 

���������&� �� �q��q�&$���#$G 

���#�&�, �)����& ��*�)@����&@ 

��(�&��'� �� #"('�(� #�&����)�.

��(�)�����+��" �&�)'�

���&��)@��" �*���'�



ISCAR934

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

��
��
��

BT MAS-403

�&�. 1008

HSK DIN 69893 

�&�. 965

DIN 69871

�&�. 941

W�	����% 
��:���% ���	�� ER
����&'�G *�&��� �)" *������$% f��( ER 
� &��#�����#�$% f��(. �q��*�+����& 

�$��'�< �/�&'��&@ '��*)���" 

� �*&�#���f�< ��)���G �q��q�&'�.

 �	����*�����
• ����#�)@�$G �$)�&

• !��%���& �)" �&�����&�$% 

� &��#�����#�$% f��(

• a�)@?�� ���)�� ����#�

• �������� ��q��f�G

• !��$?����" &�+���&@ � *��&��"�#��&@

• �q�)��������� �� G2.5, 20,000 �q/#��

• ��##�&��+��" '���&��'f�" 

�)" �$��'��'����&��G �q��q�&'�

• `'���#�+���&@


������� *'�%��&� �'����&

W�	����� 
��:���� ���	���

��������



935

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

���$������� *'�%���%� �'����' ER

����)@�$G q�)��� � �$��'�" &�+���&@

`'�')<����$G ��&�c��'f����$G #�%����#

���)�� ����#� �� 50-100% �$?�, 

+�# � �&�����&�$% f��(�%

��#*�'&��" '���&��'f�", 

�&�����&�$G ���#��, DIN 6499

[�=�&��� *�'�$&�� HARD TOUCH

����%�$��'�" &�+���&@, q����� 0.01/ 0.005

�*)�&��&�)@��" ���&�#� � #����$# *�&��&�#

�*�f��)@��" ��=�&� �& '�������

��*��+��&���� ��*�)�����

�&"(����#��&@ 1 ##

��'��#�)@��� q����� *� ������#� 

� ���&�����#� ���#�&�� - 0.003

��##�&��+��" '���&��'f�" � ���#" 

�&����&�"#� �)" �$��'�G �'����&� 

?*����)" �& 20000 �q/#��

>$��'�� '�+��&�� *����%���&�  

Ra 0.4

�&����&�� �)" �����+��&�&��(� '��&��)" �&���'�

��+���&@ '����� *� �&�����&� DIN
���&��&�&��<=�G c��#$ 85%

ER-TOPTM NUT

ER-COOLITTM JET

:�	?�@QV ��W��	 ER



ISCAR936

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

SRK/SRKIN

/[�<��\] 
�[!@�� ER
DIN 6499

;�^���] 
�[!@�� MAXIN

/�^���@�J�;W�] 
_��;!���W

/�^���@�J�;W�] 
_��;!���W

/�^���@�J�;W�] 
_��;!���W

EM
(DIN1835 
`�@�[ A/B)

EM E
(DIN1835 
`�@�[ E)

_��;!���W 
WELDON

_��;!���W
; ^\;W�]

�������!���&� �'����& !�� ����������� �'#��%� ���'



937

�
�

�
�

�
�

�
	

�
�



�

�
�






 �
�

�



�
�

�



��������

?�!�'��������� �'����&

 ISCAR-ETM ���?���) ���#�����&� '��*/���G 

�����&'�, ��q���� (�����)�+��'�� *�&���$.

 ���*���� ��'��*)���" h&�% *�&�����: �� 6 �� 32 ��.  

����$G &�* ���&�#$ '��*)���" ��*�)@���&�"  

�)" �*���f�G � ���=����# � q�� ���=���" ���&��#��&�.

 �������� �	��������
• W��&���" &�+��" �q��q�&'�

• ����/�&$�����

• ����)����

• W��&���� c�����������

• ���&�+������ 

 ���
�������
• >$��'�" &�+���&@ �q��q�&'� (q����� #���� 0.003 ��)

• �+��@ ���'�G #�#��& �)" �'&���f�� #�%����#� 

'��*)���" � *�#�=@< ?��&�(�����(� ')<+� 4 ##

• ;�?���� ��q��f�G ���)�+����& ���' �)��q$ 

���&��#��&� � *��$?��& '�+��&�� �q��q�&'�

• !���&�" ���&��G'� � *�#�=@< ���&�����(� 

��(�)�����+��(� ���&�

• >�� ���=�<=���" *�&���$ �#�<& ��##�&��+��< 

� �q�)�����������< '���&��'f�< �)" �$��'�G 

+��&�&$ ���=���" �� 25,000 �
/���
• �&����&�" � ���&�����G ���@q�G �)" &�+��G q�)�������'�

• !��&�"���� � ���/���� ���)�� ����#� *�� ��*�)@������� 

� ��'�#���������# ���*����� �'����&�G

• !��%���& �)" ��&����'� %���&���'�� Weldon 

� f�)�����+��'�% %���&���'��

• ���q��" � q���*����" ��#��� ���&��#��&� �� �&��'� 

 ��� �������$ ���� ���	���� HYDROFIT
• ����+��'�� %���&���'� �)" �*���f�G 

� ���=����# ���&��#��&�

• \���&���'� VDI DIN 69880 � ���#���#� 30 � 40 
�)" �*���f�G q�� ���=���" ���&��#��&�  

�� �&��'�% � J�#

 @���������� �� c��������
��

 �)" '����'&��G ��q�&$ (�����)�+��'�(� *�&����, 

��q)<��G&� �)���<=�� ���&��'f��:

 ���&��#��&$ � f�)�����+��'�#� %���&���'�#� DIN 1835 � 

DIN 6535 c��#� (HA) � B (HB)  
���#�&��# �� 20 ## ��)��$ q$&@ ��(�&��)��$  

� ���&��&�&��� � ��*��'�# h6 � Ramin = 0,3.
 ���&��#��&$ � %���&���'�#� DIN 6535 HE (� )$�'�G) 

�)����& ��*�)@����&@ � *���%���$#� *���*���q)���"#�, 

+&�q$ �� *������&@ ����#��� �&����&�� *�&����.

• ���)�&� �#��'� � (�"�@ � #��&����(� �&����&�" *�&����, 

� �+��&�&� %���&���' ���&��#��&�. >�&��@&� %���&���' 

�� �*���. ����&����@&��@, +&� ��q)<���&�" #���#�)@��" 

�)��� ����#� � *�&����. 

• ��*�)@��" ?��&�(����$G ')<+, *������&� ��&"���G ���& 

*� +�����G �&��)'� �� �*���.  

�� ��&"(���G&� *�&��� q�� ��&����)����(� � �/# %���&���'�: 

h&� #���& *�����&� ' �$%��� �� �&��" ����#��G �&�)'�. 

• W&�q$ ����q���&@ ���&��#��&, *������&� 

����#��G ���& *��&�� +�����G �&��)'� *��#���� 

�� 5 �)� 6 �q���&�� � ���#�&� ���&��#��&.

���*���$G 
���&

[���#��" 
�&�)'�

>��& �����G 
��(�)����'�

!�����

��q�+�" 
���'��&@ 
���&�#$

2.5xd

d

0.003



ISCAR938

D
IN

 6
9

8
7

1
-A

/B

DIN69871-A/B



939

D
IN

 6
9

8
7

1
-A

/B

d8 d6 d5

f1
a

f3

f2

d3 G

L1

8°17'50"

L4

d

d1 L5

L6 L7

b

L5

e1

e1

20°

A

A

d12 A-A

30°

A-A

!�� A
d�' �$��?�����

!�� AD
/���	������ ����	���� ��� ;�P

!�� B
������ ;�P 
"�	�' &����


!�� AD
������ ;�P 
"�	�' f�������

!�� B
������ ;�P 
"�	�' &����


!�� ADB

A

A

��'�!'���&� �'����&

DIN69871 c��#� A/AD/B/ADB

_�������� f2 ��� f3 -0.1 L1 -0.3 L4 min. L5 -0.3 L6 -0.4 L7 -0.4 e1 ±0.1 d12 W��#; AT3
SK 30 35 19.1  47.80 24 15.0 16.4 19.0 21 4 0.002

SK 40 35 19.1  68.40 32 18.5 22.8 25.0 27 4 0.003

SK 50 35 19.1 101.75 47 30.0 35.5 37.7 42 6 0.004

_�������� a±0.1 b (H12) d D1 G d3 (H7) d5 ±0.05 d6 d8 max f1 ±0.1
SK 30 3.2 16.1 7 31.75 M12 13  59.30 50 45 11.1

SK 40 3.2 16.1 7 44.45 M16 17  72.30 63.55 50 11.1

SK 50 3.2 25.7 7 69.85 M24 25 107.25 97.50 80 11.1



ISCAR940

D
IN

 6
9

8
7

1
-A

/B

CRKS

LPR
DCONNWS
DCONXWS

LBX

THID

CSI
LB

BD BD

BD_2

SS

ER 16-20 ER 25-50

A0.003A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� SS CSI DCONNWS(2) DCONXWS(3) LPR LBX LB BD BD_2 CRKS THID kg

DIN69871 30 ER16X 63 30 ER16 0.5 10.0 63.00 43.9 28.00 28.00 - M12 M10 0.46

DIN69871 30 ER32X 65 30 ER32 2.0 20.0 65.00 45.9 32.00 50.00 40.40 M12 M18X1.5 0.48

DIN69871 40 ER16X 63 40 ER16 0.5 10.0 63.00 43.9 - 28.00 - M16 M12 0.86

DIN69871 40 ER16X100 40 ER16 0.5 10.0 100.00 80.9 - 28.00 - M16 M12 1.05

DIN69871 40 ER16X160 (1) 40 ER16 0.5 10.0 160.00 140.9 85.00 28.00 40.00 M16 M12 1.52

DIN69871 40 ER20X 63 40 ER20 1.0 13.0 63.00 43.9 - 34.00 - M16 M12 0.91

DIN69871 40 ER20X100 40 ER20 1.0 13.0 100.00 80.9 - 34.00 - M16 M12 1.16

DIN69871 40 ER20X160 (1) 40 ER20 1.0 13.0 160.00 140.9 91.00 34.00 44.00 M16 M12 1.72

DIN69871 40 ER25X 65 40 ER25 1.0 16.0 65.00 45.9 28.00 42.00 - M16 M16X2 0.90

DIN69871 40 ER25X100 40 ER25 1.0 16.0 100.00 80.9 - 42.00 - M16 M16X2 1.29

DIN69871 40 ER25X150 40 ER25 1.0 16.0 150.00 130.9 - 42.00 - M16 M16X2 1.81

DIN69871 40 ER32X 65 40 ER32 2.0 20.0 65.00 45.9 32.00 50.00 40.40 M16 M22X1.5 0.85

DIN69871 40 ER32X100 40 ER32 2.0 20.0 100.00 80.9 35.00 50.00 49.00 M16 M22X1.5 1.20

DIN69871 40 ER32X150 40 ER32 2.0 20.0 150.00 130.9 35.00 50.00 49.00 M16 M22X1.5 2.17

DIN69871 40 ER40X 70 40 ER40 3.0 26.0 70.00 50.9 32.00 63.00 50.40 M16 M28X1.5 0.89

DIN69871 40 ER40X100 40 ER40 3.0 26.0 100.00 80.9 32.00 63.00 50.40 M16 M28X1.5 1.28

DIN69871 50 ER16X100 50 ER16 0.5 10.0 100.00 80.9 - 28.00 - M24 M12 2.76

DIN69871 50 ER16X160 (1) 50 ER16 0.5 10.0 160.00 140.9 85.00 28.00 40.00 M24 M12 3.29

DIN69871 50 ER16X200 (1) 50 ER16 0.5 10.0 200.00 180.9 110.00 28.00 40.00 M24 M10 3.52

DIN69871 50 ER20X100 50 ER20 1.0 13.0 100.00 80.9 - 34.00 - M24 M12 2.86

DIN69871 50 ER20X160 (1) 50 ER20 1.0 13.0 160.00 140.9 86.00 34.00 45.00 M24 M12 3.50

DIN69871 50 ER25X100 50 ER25 1.0 16.0 100.00 80.9 - 42.00 - M24 M16X2 3.08

DIN69871 50 ER25X150 50 ER25 1.0 16.0 150.00 130.9 80.90 42.00 50.00 M24 M16X2 3.71

DIN69871 50 ER25X200 (1) 50 ER25 1.0 16.0 200.00 180.9 85.00 42.00 55.00 M24 M16X2 4.70

DIN69871 50 ER32X100 50 ER32 2.0 20.0 100.00 80.9 - 50.00 - M24 M22X1.5 3.20

DIN69871 50 ER32X150 50 ER32 2.0 20.0 150.00 130.9 - 50.00 - M24 M22X1.5 3.83

DIN69871 50 ER32X200 (1) 50 ER32 2.0 20.0 200.00 180.9 - 50.00 - M24 M22X1.5 4.51

DIN69871 50 ER40X100 50 ER40 3.0 26.0 100.00 80.9 - 63.00 - M24 M28X1.5 3.45

DIN69871 50 ER40X150 50 ER40 3.0 26.0 150.00 130.9 - 63.00 - M24 M28X1.5 4.51

DIN69871 50 ER40X200 (1) 50 ER40 3.0 26.0 200.00 180.9 - 63.00 - M24 M28X1.5 5.60

DIN69871 50 ER50X100 50 ER50 10.0 34.0 100.00 80.9 - 78.00 - M24 M36X1.5 3.51

DIN69871 50 ER50X150 50 ER50 10.0 34.0 150.00 130.9 - 78.00 - M24 M36X1.5 5.22

(1) �q�)��������� �� G6.3/12,000 �q/#��
(2) ����#�)@�$G ���#�&� ���������"
(3) ��'��#�)@�$G ���#�&� ���������"

 

 
DIN69871-ER (\���' ADB)
:��(��$� *�&���$ ER DIN 6499 

�)" '���+��'�% %���&���'�� 

DIN 69871 c��#� ADB

1063-10651065-10691099-1100



941

D
IN

 6
9

8
7

1
-A

/B

THSZWS BD

LB
LPR

SS

CRKS

THID

CSI
DCONNWS
DCONXWS

A0.003A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LB BD THSZWS CRKS THID kg

DIN69871 40 ER32 SHORT 40 ER32 2.0 20.0 25.10 6.0 40.00 M40X1.5 M16 - 0.58

DIN69871 50 ER32 SHORT 50 ER32 2.0 20.0 28.60 9.5 40.00 M40X1.5 M24 M22X1.5 2.38

DIN69871 50 ER40 SHORT 50 ER40 3.0 26.0 28.60 9.5 50.00 M50X1.5 M24 M28X1.5 2.14

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 50 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 50 ER40 SHORT NUT ER40 SHORT WRENCH ER40 SHORT* PRESET ER-JET 28X1.5*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

DIN69871-ER-SHORT
:��(��$� *�&���$ ER 

� �'���+����G *������G 

+��&@<, � %���&���'�#� 

DIN 69871 c��#� AD

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

�'�'��&� �'���

�$�#�'�����

DIN69871 30 ER16X 63 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN69871 30 ER32X 65 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

DIN69871 40 ER16X 63 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN69871 40 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN69871 40 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN69871 40 ER20X 63 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 40 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 40 ER20X160 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 40 ER25X 65 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 40 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 40 ER25X150 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 40 ER32X 65 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 40 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 40 ER32X150 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 40 ER40X 70 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN69871 40 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN69871 50 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 50 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 50 ER16X200 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN69871 50 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 50 ER20X160 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN69871 50 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 50 ER25X150 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 50 ER25X200 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN69871 50 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 50 ER32X150 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 50 ER32X200 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN69871 50 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN69871 50 ER40X150 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN69871 50 ER40X200 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN69871 50 ER50X100 NUT ER50 UM WRENCH ER50*

DIN69871 50 ER50X150 NUT ER50 UM WRENCH ER50*

DIN69871-ER (\���' ADB)

934, 1063-10651065-10691099-1100



ISCAR942

D
IN

 6
9

8
7

1
-A

/B

���*���� d DCONWS

SS
SETS

�$�#�'����� SS DCONWS W���"����� �����'�� d
KIT SK40 MAXIN 20X95    6 SK40 20.00 6 6,8,10,12,14,16

KIT SK40 MAXIN 32X106   7 SK40 32.00 7 6,8,10,12,16,20,25

KIT SK50 MAXIN 32X100   7 SK50 32.00 7 6,8,10,12,16,20,25

• > ��q�� �%���& ���� ��)���G *�&���, ��q�� f��( SC-SPR, '�<' �)" ��/#� f��(� � (��+�$G ')<+.

 

 

 

KIT SK-MAXIN
> ��q�� �%���& ��)���G 

*�&��� MAXIN � %���&���'�# 

DIN 69871 � ��q�� f��( 

�����(� ���#�&��

SS

DCONXWS

DCONNWS
DCONXWS

CRKS
BD

ADJRGA

THID
LB

BD_2

LPR

LSCWS A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONNWS(2) DCONXWS(3) BD BD_2 LPR LB ADJRGA LSCWS THID CRKS kg

DIN69871 40 MAXIN 20X 95 40 6.0 20.0 51.00 53.00 95.00 76.0 13.00 69.0 M16 M16 1.20

DIN69871 40 MAXIN 32X106 40 6.0 32.0 69.00 70.00 106.00 87.0 13.00 83.0 M16 M16 1.42

DIN69871 50 MAXIN 20X105 50 6.0 20.0 51.00 53.00 105.00 86.0 13.00 69.0 M16 M24 3.20

DIN69871 50 MAXIN 20X105B (1) 50 6.0 20.0 51.00 53.00 105.00 86.0 13.00 69.0 M16 M24 3.16

DIN69871 50 MAXIN 32X100 50 6.0 32.0 69.00 70.00 100.00 81.0 14.00 84.0 M20x2 M24 3.17

DIN69871 50 MAXIN 32X100B (1) 50 6.0 32.0 69.00 70.00 100.00 81.0 14.00 84.0 M20x2 M24 3.16

DIN69871 50 MAXIN 32X135 50 6.0 32.0 69.00 70.00 135.00 116.0 14.00 85.0 M20x2 M24 4.20

• !�� ��*�)@������� ���&��#��&� � #�'��#�)@�$# ���#�&��# �q��*�+���<&�" ���)�+?�� h'�*)��&�f����$� %���'&����&�'�, *��'�)@'� ���)�� ����#� � f��(� 

������&�" �� 25%. • ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) � *������# �%)����<=�G ���'��&� +���� c)���f
(2) ����#�)@�$G ���#�&� � *���%���$# *�&����#
(3) ��'��#�)@�$G ���#�&� q�� *���%����(� *�&����

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 MAXIN 20X 95 WRENCH MAXIN 20 HOOK* EXTRACTOR SC COLLETS*

DIN69871 40 MAXIN 32X106 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

DIN69871 50 MAXIN 20X105 WRENCH MAXIN 20 HOOK* EXTRACTOR SC COLLETS*

DIN69871 50 MAXIN 20X105B WRENCH MAXIN 20 HOOK EXTRACTOR SC COLLETS

DIN69871 50 MAXIN 32X100 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

DIN69871 50 MAXIN 32X100B WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

DIN69871 50 MAXIN 32X135 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

DIN69871-MAXIN
��)��$� *�&���$ 

� %���&���'�#� DIN 69871 

c��#� AD/B

930-9311099-11001080-1081



943

D
IN

 6
9

8
7

1
-A

/BSS

LBCRKS
LBX

THID
LPR

BDBTED
DCONWS

LSCWS
ADJRGA

BD_2

A0.003A AT3 Taper 58-60 HRc

G2.5 

U<1.0 gmm

Size 30, 40= 18,000RPM
Size 50= 12,000RPM

�$�#�'����� SS DCONWS BTED BD BD_2 LPR LBX LB ADJRGA LSCWS THID CRKS kg

DIN69871 30 HYDRO 6X60 (1) 30 6.00 23.00 26.00 45.00 60.00 41.0 25.00 10.00 37.0 M5 M12 0.63

DIN69871 30 HYDRO 16X90 (1) 30 16.00 34.00 38.00 45.00 90.00 71.0 43.00 10.00 52.0 M12X1 M12 0.96

DIN69871 30 HYDRO 20X90 (1) 30 20.00 38.00 42.00 - 90.00 71.0 - 10.00 52.0 M12X1 M12 0.90

DIN69871 40 HYDRO 6X68 (1) 40 6.00 23.00 26.00 50.00 68.00 49.0 33.00 11.00 38.0 M5 M16 1.09

DIN69871 40 HYDRO 8X68 (1) 40 8.00 25.00 28.00 50.00 68.00 49.0 33.00 10.00 37.0 M6 M16 1.11

DIN69871 40 HYDRO 10X72 (1) 40 10.00 27.00 30.00 50.00 72.00 53.0 37.00 10.00 42.0 M8x1 M16 1.14

DIN69871 40 HYDRO 12X77 (1) 40 12.00 29.00 32.00 50.00 77.00 58.0 42.00 10.00 47.0 M10X1 M16 1.20

DIN69871 40 HYDRO 14X77 (1) 40 14.00 30.00 34.00 50.00 77.00 58.0 42.00 10.00 47.0 M10X1 M16 1.20

DIN69871 40 HYDRO 16X80 (1) 40 16.00 34.00 38.00 50.00 80.00 61.0 43.00 10.00 52.0 M12X1 M16 1.28

DIN69871 40 HYDRO 18X80 (1) 40 18.00 36.00 40.00 50.00 80.00 61.0 43.00 10.00 52.0 M12X1 M16 1.30

DIN69871 40 HYDRO 20X82 (1) 40 20.00 38.00 42.00 50.00 82.00 63.0 47.00 10.00 52.0 M12X1 M16 1.34

DIN69871 40 HYDRO 25X117 (1) 40 25.00 46.00 50.00 63.00 117.00 98.0 51.00 10.00 58.0 M16X1 M16 2.01

DIN69871 40 HYDRO 32X117 (1) 40 32.00 56.00 60.00 63.00 117.00 98.0 56.00 10.00 62.0 M16X1 M16 2.44

DIN69871 50 HYDRO 6X68 (2) 50 6.00 23.00 26.00 80.00 68.00 49.0 33.00 10.00 37.0 M5 M24 3.10

DIN69871 50 HYDRO 8X68 (2) 50 8.00 25.00 28.00 80.00 68.00 49.0 33.00 10.00 37.0 M6 M24 3.10

DIN69871 50 HYDRO 10X72 (2) 50 10.00 27.00 30.00 80.00 72.00 53.0 37.00 10.00 42.0 M8x1 M24 3.20

DIN69871 50 HYDRO 12X77 (2) 50 12.00 29.00 32.00 80.00 77.00 58.0 42.00 10.00 47.0 M10X1 M24 3.20

DIN69871 50 HYDRO 14X77 (2) 50 14.00 30.00 34.00 80.00 77.00 58.0 42.00 10.00 47.0 M10X1 M24 3.34

DIN69871 50 HYDRO 16X80 (2) 50 16.00 34.00 38.00 80.00 80.00 61.0 45.00 10.00 52.0 M12X1 M24 3.41

DIN69871 50 HYDRO 18X80 (2) 50 18.00 36.00 40.00 80.00 80.00 61.0 45.00 10.00 52.0 M12X1 M24 2.57

DIN69871 50 HYDRO 20X82 (2) 50 20.00 38.00 42.00 80.00 82.00 63.0 47.00 10.00 52.0 M16X1 M24 3.50

DIN69871 50 HYDRO 25X87 (2) 50 25.00 46.00 50.00 80.00 87.00 68.0 52.00 10.00 58.0 M16X1 M24 3.73

DIN69871 50 HYDRO 32X91 (2) 50 32.00 56.00 60.00 80.00 91.00 72.0 56.00 10.00 64.0 M16X1 M24 4.01

• ���� ������'�+��� ��	�$����� 
��:�, ������ '�?��� ���?����� �� 25%. • �	���"����: ���&�*�$ *���%���$� f��(� � ���&�����#� ���#�&��#� 12, 20, 25 

� 32 ## (��'��$��<&�" �&��)@��). • �&����&�" �)" �%)����<=�G ���'��&� �� c)��f�% &�*� > ��'�$��<&�" ���&�#�, '�&��$� *�� ���q%���#��&� #���� ��"&@.  

• [���#��G ')<+ (')<+ HYDRO HEX 4) � '��&��)@��" �*���'� ��'��$��<&�" �&��)@��.
(1) �q�)��������� �� G2.5/18,000 �q/#��
(2) �q�)��������� �� G2.5/12,000 �q/#��

 

�'�'��&� �'���

�$�#�'�����

DIN69871 30 HYDRO 6X60 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4*

DIN69871 30 HYDRO 16X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4*

DIN69871 30 HYDRO 20X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 6X68 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 8X68 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 10X72 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 12X77 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 14X77 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 16X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 18X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 20X82 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 25X117 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4*

DIN69871 40 HYDRO 32X117 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 6X68 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 8X68 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 10X72 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 12X77 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 14X77 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 16X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 18X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 20X82 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 25X87 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4*

DIN69871 50 HYDRO 32X91 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-HYDRO
;�����)�+��'�� 

*�&���$ � %���&���'�#� 

DIN69781 c��#� ADB

9371099-11001085



ISCAR944

D
IN

 6
9

8
7

1
-A

/B

SS

��� DCONWS ≥ 25

LPR
LBX

LB

BDDCONWSDCONWS
BD BD_2

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD BD_2 LPR LBX LB CRKS kg

DIN69871 30 EM 6X 50 30 6.00 25.00 - 50.00 30.9 - M12 0.45 SR M6X10 DIN1835B

DIN69871 30 EM 8X 50 30 8.00 28.00 - 50.00 30.9 - M12 0.49 SR M8X10 DIN1835-B

DIN69871 30 EM10X 50 30 10.00 35.00 - 50.00 30.9 - M12 0.55 SR M10X12 DIN1835-B

DIN69871 30 EM16X 63 30 16.00 48.00 - 63.00 43.9 - M12 0.81 SR M14X16 DIN1835-B

DIN69871 30 EM18X 72 30 18.00 50.00 - 72.00 52.9 - M12 0.96 SR M14X16 DIN1835-B

DIN69871 30 EM20X72 30 20.00 52.00 - 72.00 52.9 - M12 0.96 SR M16X16 DIN1835-B

DIN69871 40 EM 6X 50 40 6.00 25.00 - 50.00 30.9 - M16 0.89 SR M6X10 DIN1835B

DIN69871 40 EM 8X 50 40 8.00 28.00 - 50.00 30.9 - M16 0.91 SR M8X10 DIN1835-B

DIN69871 40 EM10X 50 40 10.00 35.00 - 50.00 30.9 - M16 0.96 SR M10X12 DIN1835-B

DIN69871 40 EM12X 50 40 12.00 42.00 - 50.00 30.9 - M16 1.04 SR M12X16 DIN1835-B

DIN69871 40 EM14X 63 40 14.00 44.00 - 63.00 43.9 - M16 1.20 SR M12X16 DIN1835-B

DIN69871 40 EM16X 63 40 16.00 48.00 - 63.00 43.9 - M16 1.20 SR M14X16 DIN1835-B

DIN69871 40 EM18X 63 40 18.00 50.00 - 63.00 43.9 - M16 1.29 SR M14X16 DIN1835-B

DIN69871 40 EM20X 63 40 20.00 52.00 - 63.00 43.9 - M16 1.26 SR M16X16 DIN1835-B

DIN69871 40 EM25X100 40 25.00 65.00 49.00 100.00 80.9 65.00 M16 2.23 SR M18X2X20 DIN1835-B

DIN69871 40 EM32X100 40 32.00 71.00 49.00 100.00 80.9 65.00 M16 2.42 SR M20X2X20 DIN1835-B

DIN69871 50 EM 6X 63 50 6.00 25.00 - 63.00 43.9 - M24 2.70 SR M6X10 DIN1835B

DIN69871 50 EM 8X 63 50 8.00 28.00 - 63.00 43.9 - M24 2.73 SR M8X10 DIN1835-B

DIN69871 50 EM10X 63 50 10.00 35.00 - 63.00 43.9 - M24 2.83 SR M10X12 DIN1835-B

DIN69871 50 EM12X 63 50 12.00 42.00 - 63.00 43.9 - M24 2.93 SR M12X16 DIN1835-B

DIN69871 50 EM14X 63 50 14.00 44.00 - 63.00 43.9 - M24 2.91 SR M12X16 DIN1835-B

DIN69871 50 EM16X 63 50 16.00 48.00 - 63.00 43.9 - M24 3.02 SR M14X16 DIN1835-B

DIN69871 50 EM18X 63 50 18.00 50.00 - 63.00 43.9 - M24 3.08 SR M14X16 DIN1835-B

DIN69871 50 EM20X 63 50 20.00 52.00 - 63.00 43.9 - M24 3.07 SR M16X16 DIN1835-B

DIN69871 50 EM25X 80 50 25.00 65.00 - 80.00 60.9 - M24 3.70 SR M18X2X20 DIN1835-B

DIN69871 50 EM32X100 50 32.00 72.00 - 100.00 80.9 - M24 4.44 SR M20X2X20 DIN1835-B

DIN69871 50 EM40X100 50 40.00 90.00 79.90 100.00 80.9 43.00 M24 5.05 SR M20X2X20 DIN1835-B

DIN69871 50 EM50X125 50 50.00 98.00 79.90 125.00 105.9 90.00 M24 6.80 SR M24X2X25 DIN1835-B

 

 
DIN69871-EM (DIN 6359-HB)
!�&���$ � %���&���'�#� DIN 

69871 c��#� AD/B, � DIN 

6359-HB �)" ���&��#��&�� 

� %���&���'�#� Weldon 

DIN 1835 c��#� B

LPR
LB

BDDCONWS

SS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD LPR LB CRKS kg

DIN69871 40 EM10X 45 40 10.00 35.00 45.00 25.9 M16 0.93 SR M10X12 DIN1835-B

DIN69871 40 EM12X 45 40 12.00 42.00 45.00 25.9 M16 0.99 SR M12X16 DIN1835-B

DIN69871 40 EM14X 45 40 14.00 44.00 45.00 25.9 M16 1.02 SR M12X16 DIN1835-B

DIN69871 40 EM16X 45 40 16.00 48.00 45.00 25.9 M16 1.05 SR M14X16 DIN1835-B

DIN69871 40 EM18X 45 40 18.00 49.00 45.00 25.9 M16 1.04 SR M14X16 DIN1835-B

DIN69871 40 EM20X 45 40 20.00 49.00 45.00 25.9 M16 1.00 SR M16X16 DIN1835-B

DIN69871 40 EM25X 45 40 25.00 49.00 45.00 25.9 M16 0.93 SR M18X2X10 EM SHORT

 

 
DIN69871-EM (DIN 6359 short)
�'���+���$G *�&��� �)" '��f��$% 

c��� � q�'��$# ����#�# (DIN 6359-HB)  

� %���&���'�#� DIN 69871 c��#� AD,  

�)" '��*)���" ���&��#��&� 

�  %���&���'�# Weldon DIN 1835 

c��#� B

SS

LB

CRKS
THID

LPR

BDBTED
DCONWS

LSCWSADJRGA
A0.003A AT3 Taper 58-60 HRc

G2.5 

U<1.0 gmm

Size 30, 40= 18,000RPM
Size 50= 12,000RPM

�$�#�'����� SS DCONWS BTED BD BD_2 LPR LB LBX ADJRGA LSCWS THID CRKS kg

SK40 HYDRO 12X50 HD 40 12.00 32.00 42.00 999.00 50.00 31.0 999.00 10.00 46.0 M8x1 M16 1.11

SK40 HYDRO 16X64.5 HD 40 16.00 38.00 49.25 999.00 64.50 45.5 999.00 8.00 51.0 M8x1 M16 0.00

SK40 HYDRO 20X64.5 HD 40 20.00 38.00 49.25 999.00 64.50 45.5 999.00 8.00 51.0 M8x1 M16 0.00

SK50 HYDRO 20X64.5 HD 50 20.00 38.00 49.25 999.00 64.50 45.5 999.00 8.00 51.0 M8x1 M24 0.00

SK50 HYDRO 32X81 HD 50 32.00 58.50 72.00 999.00 81.00 62.0 999.00 9.00 61.0 M8x1 M24 0.00

 

 
DIN69871-HYDRO HD
�'���+���$� (�����)�+��'�� 

*�&���$ �)" &"��)���(�������G 

�q��q�&'� � %���&���'�#� 

DIN69871 c��#� ADB

1099-1100

1099-1100



945

D
IN

 6
9

8
7

1
-A

/B  
LSCWS

ADJRGA LB
2˚ 2˚

DCONWSDCONWS
BD_2 BDBD

CRKS

2˚

LBX
LPR

SS

��� DCONWS≥ 25

J

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD BD_2 LPR LBX LB LSCWS ADJRGA J(1) W�+"(2) CRKS kg

DIN69871 40 EM 8X 50E 40 8.00 28.00 28.00 50.00 30.9 - 45.0 10.00 M6 3.00 M16 0.94

DIN69871 40 EM10X 50E 40 10.00 35.00 35.00 50.00 30.9 - 49.0 10.00 M8 4.00 M16 1.00

DIN69871 40 EM12X 50E 40 12.00 42.00 42.00 50.00 30.9 - 54.0 10.00 M10 5.00 M16 1.07

DIN69871 40 EM16X 63E 40 16.00 48.00 48.00 63.00 43.9 - 57.0 10.00 M12 6.00 M16 1.28

DIN69871 40 EM18X 63E 40 18.00 50.00 50.00 63.00 43.9 - 57.0 10.00 M12 6.00 M16 1.31

DIN69871 40 EM20X 63E 40 20.00 52.00 52.00 63.00 43.9 - 59.0 10.00 M16 8.00 M16 1.25

DIN69871 40 EM25X100E 40 25.00 64.00 49.00 100.00 80.9 65.00 64.0 10.00 M20X1.5 10.00 M16 2.18

DIN69871 40 EM32X100E 40 32.00 71.00 49.00 100.00 80.9 65.00 68.0 10.00 M20X1.5 10.00 M16 2.40

DIN69871 50 EM10X 63E 50 10.00 35.00 35.00 63.00 43.9 - 49.0 10.00 M8 4.00 M24 2.86

DIN69871 50 EM12X 63E 50 12.00 42.00 42.00 63.00 43.9 - 54.0 10.00 M10 5.00 M24 2.98

DIN69871 50 EM14X 63E 50 14.00 44.00 44.00 63.00 43.9 - 54.0 10.00 M10 5.00 M24 3.02

DIN69871 50 EM16X 63E 50 16.00 48.00 48.00 63.00 43.9 - 57.0 10.00 M12 6.00 M24 3.07

DIN69871 50 EM20X 63E 50 20.00 52.00 52.00 63.00 43.9 - 59.0 10.00 M16 8.00 M24 3.11

DIN69871 50 EM25X 80E 50 25.00 65.00 65.00 80.00 60.9 - 64.0 10.00 M20X1.5 10.00 M24 3.67

DIN69871 50 EM32X100E 50 32.00 72.00 72.00 100.00 80.9 - 68.0 10.00 M20X1.5 10.00 M24 4.50

DIN69871 50 EM40X100E 50 40.00 90.00 79.90 100.00 80.9 43.00 78.0 10.00 M20X1.5 10.00 M24 5.05

(1) ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���.
(2) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 EM 8X 50E SR M8X10 DIN1835-B PRESET M6X20B

DIN69871 40 EM10X 50E SR M10X12 DIN1835-B PRESET M8X20B

DIN69871 40 EM12X 50E SR M12X16 DIN1835-B PRESET M10X18B

DIN69871 40 EM16X 63E SR M14X16 DIN1835-B PRESET M12X18B

DIN69871 40 EM18X 63E SR M14X16 DIN1835-B PRESET M12X18B

DIN69871 40 EM20X 63E SR M16X16 DIN1835-B PRESET M16X20B

DIN69871 40 EM25X100E SR M18X2X20 DIN1835-B PRESET M20X20E

DIN69871 40 EM32X100E SR M20X2X20 DIN1835-B PRESET M20X20E

DIN69871 50 EM10X 63E SR M10X12 DIN1835-B PRESET M8X20B

DIN69871 50 EM12X 63E SR M12X16 DIN1835-B PRESET M10X18B

DIN69871 50 EM14X 63E SR M12X16 DIN1835-B PRESET M10X18B

DIN69871 50 EM16X 63E SR M14X16 DIN1835-B PRESET M12X18B

DIN69871 50 EM20X 63E SR M16X16 DIN1835-B PRESET M16X20B

DIN69871 50 EM25X 80E SR M18X2X20 DIN1835-B PRESET M20X20E

DIN69871 50 EM32X100E SR M20X2X20 DIN1835-B PRESET M20X20E

DIN69871 50 EM40X100E SR M20X2X20 DIN1835-B PRESET M20X20E

 
DIN69871-EM (DIN 6359-HE)
!�&���$ DIN 69871 c��#� ADB, 

� DIN 6359-HE �)" %���&���'�� 

� )$�'�#� DIN 1835 c��#� E

1099-1100



ISCAR946

D
IN

 6
9

8
7

1
-A

/B

  
DCONWS

ADJRGA
BD

THID

BTED

LB
LBX

LPR

CRKS

LSCWS

4˚
SS

AT3 Taper A0.003A 50-52 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) CRKS kg

DIN69871 40 SRK 3X50 40 3.00 10.00 15.00 69.10 50.0 35.50 6.00 16.0 M6 3.00 M16 0.83

DIN69871 40 SRK 3X85 40 3.00 10.00 19.00 104.10 85.0 64.10 6.00 16.0 M6 3.00 M16 0.89

DIN69871 40 SRK 4X50 40 4.00 10.00 15.00 69.10 50.0 35.50 6.00 18.0 M6 3.00 M16 0.82

DIN69871 40 SRK 4X85 40 4.00 10.00 19.00 104.10 85.0 64.10 6.00 18.0 M6 3.00 M16 0.90

DIN69871 40 SRK 5X50 40 5.00 10.00 15.00 69.10 50.0 35.50 6.00 21.0 M6 3.00 M16 0.84

DIN69871 40 SRK 5X85 40 5.00 10.00 19.00 104.10 85.0 64.10 6.00 21.0 M6 3.00 M16 0.89

DIN69871 40 SRK 6X50 40 6.00 11.00 16.00 69.10 50.0 35.50 6.00 24.0 M8 4.00 M16 0.84

DIN69871 40 SRK 6X85 40 6.00 11.00 20.00 104.10 85.0 64.10 6.00 24.0 M8 4.00 M16 0.82

DIN69871 40 SRK 8X50 40 8.00 14.00 20.00 69.10 50.0 42.50 6.00 31.0 M10 5.00 M16 0.84

DIN69871 40 SRK 8X85 40 8.00 14.00 23.00 104.10 85.0 63.90 6.00 31.0 M10 5.00 M16 0.94

DIN69871 40 SRK 10X50 40 10.00 16.00 22.00 69.10 50.0 42.40 6.00 36.0 M12 6.00 M16 0.87

DIN69871 40 SRK 10X85 40 10.00 16.00 24.50 104.10 85.0 60.30 6.00 36.0 M12 6.00 M16 0.94

DIN69871 40 SRK 12X50 40 12.00 20.00 26.00 69.10 50.0 42.30 10.00 42.0 M10 5.00 M16 0.92

DIN69871 40 SRK 12X85 40 12.00 20.00 28.00 104.10 85.0 56.60 10.00 42.0 M10 5.00 M16 1.05

• ��*�)@����&@ &�)@'� �)" &������*)����(� ���&��#��&�. • �q�)��������� �� G2.5/25,000 �q/#��.
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 SRK 3X50 SR M6X10 DIN916

DIN69871 40 SRK 3X85 SR M6X10 DIN916

DIN69871 40 SRK 4X50 SR M6X10 DIN916

DIN69871 40 SRK 4X85 SR M6X10 DIN916

DIN69871 40 SRK 5X50 SR M6X10 DIN916

DIN69871 40 SRK 5X85 SR M6X10 DIN916

DIN69871 40 SRK 6X50 SR M8X12 DIN916

DIN69871 40 SRK 6X85 SR M8X12 DIN916

DIN69871 40 SRK 8X50 SR M10X10 DIN913

DIN69871 40 SRK 8X85 SR M10X10 DIN913

DIN69871 40 SRK 10X50 SR M12X10 DIN913

DIN69871 40 SRK 10X85 SR M12X10 DIN913

DIN69871 40 SRK 12X50 SR M10X18 DIN913

DIN69871 40 SRK 12X85 SR M10X18 DIN913

  

DIN69871-SRK
���#�*�&���$ SHRINKIN 

� %���&���'�#� DIN 69871 

c��#� AD

1099-1100 1070-1072 1076-1077



947

D
IN

 6
9

8
7

1
-A

/B   
M6

SS
4˚30’

DCONWSCRKS
BTED BD

ADJRGA

THID
LB

LBX
LPR

LSCWS A0.003A AT3 Taper 50-52 HRc

SK 40=25,000RPM
SK 50=20,000

U<1.0 gmm
RPM

G2.5 

�$�#�'����� SS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(3) CRKS kg

DIN69871 40 SRKIN 6X80 (1) 40 6.00 21.00 27.00 80.00 60.9 38.00 11.00 36.0 M5 2.50 M16 0.99

DIN69871 40 SRKIN 8X80 (1) 40 8.00 21.00 27.00 80.00 60.9 38.00 11.00 36.0 M6 3.00 M16 1.00

DIN69871 40 SRKIN 10X80 (1) 40 10.00 24.00 32.00 80.00 60.9 50.50 11.00 42.0 M8 4.00 M16 1.05

DIN69871 40 SRKIN 12X80 (1) 40 12.00 24.00 32.00 80.00 60.9 50.80 16.00 47.0 M10 5.00 M16 1.04

DIN69871 40 SRKIN 14X80 (1) 40 14.00 27.00 34.00 80.00 60.9 44.20 11.00 47.0 M10 5.00 M16 1.15

DIN69871 40 SRKIN 16X80 (1) 40 16.00 27.00 34.00 80.00 60.9 44.20 11.00 50.0 M12 6.00 M16 1.07

DIN69871 40 SRKIN 18X80 (1) 40 18.00 33.00 42.00 80.00 60.9 57.00 11.00 50.0 M12 6.00 M16 1.21

DIN69871 40 SRKIN 20X80 (1) 40 20.00 33.00 42.00 80.00 60.9 57.00 11.00 52.0 M16 8.00 M16 1.16

DIN69871 40 SRKIN 25X100 (1) 40 25.00 44.00 53.00 100.00 80.9 57.00 11.00 58.0 M20 8.00 M16 1.71

DIN69871 50 SRKIN 6X 80 (2) 50 6.00 21.00 27.00 80.00 60.9 38.00 11.00 36.0 M5 2.50 M24 2.72

DIN69871 50 SRKIN 8X 80 (2) 50 8.00 21.00 27.00 80.00 60.9 38.00 11.00 36.0 M6 3.00 M24 2.71

DIN69871 50 SRKIN 10X 80 (2) 50 10.00 24.00 32.00 80.00 60.9 51.00 11.00 42.0 M8 4.00 M24 2.81

DIN69871 50 SRKIN 12X 80 (2) 50 12.00 24.00 32.00 80.00 60.9 51.00 11.00 47.0 M10 5.00 M24 2.79

DIN69871 50 SRKIN 14X 80 (2) 50 14.00 27.00 34.00 80.00 60.9 45.00 11.00 47.0 M10 5.00 M24 2.84

DIN69871 50 SRKIN 16X 80 (2) 50 16.00 27.00 34.00 80.00 60.9 45.00 11.00 50.0 M12 6.00 M24 2.76

DIN69871 50 SRKIN 18X 80 (2) 50 18.00 33.00 42.00 80.00 60.9 57.00 11.00 50.0 M12 6.00 M24 2.90

DIN69871 50 SRKIN 20X 80 (2) 50 20.00 33.00 42.00 80.00 60.9 57.00 11.00 52.0 M16 8.00 M24 2.92

DIN69871 50 SRKIN 20X 80B (2) 50 20.00 33.00 42.00 80.00 60.9 57.00 11.00 52.0 M16 8.00 M24 3.00

DIN69871 50 SRKIN 25X100 (2) 50 25.00 44.00 53.00 100.00 80.9 57.00 11.00 58.0 M16 8.00 M24 3.51

DIN69871 50 SRKIN 32X100 (2) 50 32.00 44.00 53.00 100.00 80.9 57.00 11.00 58.0 M18 8.00 M24 3.36

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����. • ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) �q�)��������� �� G2.5/25.000 �q/#��
(2) �q�)��������� �� G2.5/20.000 �q/#��
(3) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 SRKIN 6X80 PRESET M5X18B

DIN69871 40 SRKIN 8X80 PRESET M6X20B

DIN69871 40 SRKIN 10X80 PRESET M8X20B

DIN69871 40 SRKIN 12X80 PRESET M10X18B

DIN69871 40 SRKIN 14X80 PRESET M10X18B

DIN69871 40 SRKIN 16X80 PRESET M12X18B

DIN69871 40 SRKIN 18X80 PRESET M12X18B

DIN69871 40 SRKIN 20X80 PRESET M16X20B

DIN69871 40 SRKIN 25X100 PRESET M16X25B

DIN69871 50 SRKIN 6X 80 PRESET M5X18B

DIN69871 50 SRKIN 8X 80 PRESET M6X20B

DIN69871 50 SRKIN 10X 80 PRESET M8X20B

DIN69871 50 SRKIN 12X 80 PRESET M10X18B

DIN69871 50 SRKIN 14X 80 PRESET M10X18B

DIN69871 50 SRKIN 16X 80 PRESET M12X18B

DIN69871 50 SRKIN 18X 80 PRESET M12X18B

DIN69871 50 SRKIN 20X 80 PRESET M16X20B

DIN69871 50 SRKIN 20X 80B PRESET M16X20B

DIN69871 50 SRKIN 25X100 PRESET M16X25B

DIN69871 50 SRKIN 32X100 PRESET M16X25B

  

DIN69871-SRKIN
���#�*�&���$ � %���&���'�#� 

DIN 69871 c��#� AD, 

�)" ���&��#��&�� 

�� &�/��$% �*)���� 

� q$�&������=�G �&�)�

1099-1100 1070-1072 1076-1077



ISCAR948

D
IN

 6
9

8
7

1
-A

/B

CRKS

BDBTED
DCONWS

ADJRGA

LSCWS

LPR
SS

M6

THID

LBX
LB

4.5°

A0.003A AT3 Taper 50-52 HRc

SK 40=25,000RPM
SK 50=20,000

U<1.0 gmm
RPM

G2.5 

�$�#�'����� SS DCONWS BTED BD LPR LBX LB LSCWS ADJRGA THID W�+"(1) CRKS kg

DIN69871 40 SRKIN 6X80 CX 40 6.00 21.00 27.00 80.00 60.90 38.00 34.0 9.50 M5 2.50 M16 0.99

DIN69871 40 SRKIN 8X80 CX 40 8.00 21.00 27.00 80.00 60.90 38.00 34.0 9.50 M6 3.00 M16 1.00

DIN69871 40 SRKIN 10X80CX 40 10.00 24.00 32.00 80.00 60.90 51.00 39.8 9.30 M8 4.00 M16 1.05

DIN69871 40 SRKIN 12X80CX 40 12.00 24.00 32.00 80.00 60.90 51.00 44.8 9.30 M10 5.00 M16 1.05

DIN69871 40 SRKIN 14X80CX 40 14.00 27.00 34.00 80.00 60.90 45.00 44.8 9.30 M10 5.00 M16 1.15

DIN69871 40 SRKIN 16X80CX 40 16.00 27.00 34.00 80.00 60.90 45.00 47.8 9.30 M12 6.00 M16 1.07

DIN69871 40 SRKIN 18X80CX 40 18.00 33.00 42.00 80.00 60.90 57.00 47.8 9.30 M12 6.00 M16 1.21

DIN69871 40 SRKIN 20X80CX 40 20.00 33.00 42.00 80.00 60.90 57.00 49.0 8.50 M16 8.00 M16 1.16

DIN69871 40 SRKIN25X100CX 40 25.00 44.00 53.00 100.00 80.90 57.00 55.0 8.50 M16 8.00 M16 1.71

DIN69871 40 SRKIN32X100CX 40 32.00 44.00 53.00 100.00 80.90 57.00 59.0 8.50 M16 8.00 M16 1.60

DIN69871 50 SRKIN 6X80 CX 50 6.00 21.00 27.00 80.00 61.00 38.00 34.0 9.50 M5 2.50 M24 2.72

DIN69871 50 SRKIN 8X80 CX 50 8.00 21.00 27.00 80.00 60.90 38.00 34.0 9.50 M6 3.00 M24 2.71

DIN69871 50 SRKIN 10X80CX 50 10.00 24.00 32.00 80.00 60.90 51.00 39.8 9.30 M8 4.00 M24 2.81

DIN69871 50 SRKIN 12X80CX 50 12.00 24.00 32.00 80.00 60.90 51.00 44.8 9.30 M10 5.00 M24 2.79

DIN69871 50 SRKIN 14X80CX 50 14.00 27.00 34.00 80.00 60.90 45.00 44.8 9.30 M10 5.00 M24 2.84

DIN69871 50 SRKIN 16X80CX 50 16.00 27.00 34.00 80.00 60.90 45.00 47.8 9.30 M12 6.00 M24 2.76

DIN69871 50 SRKIN 18X80CX 50 18.00 33.00 42.00 80.00 60.90 57.00 47.8 9.30 M12 6.00 M24 2.90

DIN69871 50 SRKIN 20X80CX 50 20.00 33.00 42.00 80.00 60.90 57.00 49.0 8.50 M16 8.00 M24 2.92

DIN69871 50 SRKIN25X100CX 50 25.00 44.00 53.00 100.00 80.90 57.00 55.0 8.50 M16 8.00 M24 3.51

DIN69871 50 SRKIN32X100CX 50 32.00 44.00 53.00 100.00 80.90 57.00 59.0 8.50 M16 8.00 M24 3.36

• �)" *�&����� SRKIN ��*�)@��G&� &�)@'� ��&��G�&�� ����'f�����(� ��(����    

•  >��& �\ *����)"�& ���=��&�)"&@ *����� �%)����<=�G ���'��&� +���� JET- '���)$- �� ���#�G&� �(�
(1) ���#�� ?��&�(�����(� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 SRKIN 6X80 CX PRESET CX M5X13

DIN69871 40 SRKIN 8X80 CX PRESET CX M6X12

DIN69871 40 SRKIN 10X80CX PRESET CX M8X16

DIN69871 40 SRKIN 12X80CX PRESET CX M10X16

DIN69871 40 SRKIN 14X80CX PRESET CX M10X16

DIN69871 40 SRKIN 16X80CX PRESET CX M12X16

DIN69871 40 SRKIN 20X80CX PRESET CX M16X14

DIN69871 40 SRKIN25X100CX PRESET CX M16X14

DIN69871 40 SRKIN32X100CX PRESET CX M16X14

DIN69871 50 SRKIN 6X80 CX PRESET CX M5X13

DIN69871 50 SRKIN 8X80 CX PRESET CX M6X12

DIN69871 50 SRKIN 10X80CX PRESET CX M8X16

DIN69871 50 SRKIN 12X80CX PRESET CX M10X16

DIN69871 50 SRKIN 14X80CX PRESET CX M10X16

DIN69871 50 SRKIN 16X80CX PRESET CX M12X16

DIN69871 50 SRKIN 18X80CX PRESET CX M12X16

DIN69871 50 SRKIN 20X80CX PRESET CX M16X14

DIN69871 50 SRKIN25X100CX PRESET CX M16X14

DIN69871 50 SRKIN32X100CX PRESET CX M16X14

 

  

DIN69871-SRKIN-CX
���#�*�&���$ � '���+��'�# 

%���&���'�# DIN69871 

c��#� AD � '���)�#� *���+� 

��� ���)@ %���&���'�



949

D
IN

 6
9

8
7

1
-A

/B

 

DCONWS BD

LSCWSLF
•LBSS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD LF LSCWS LB CRKS kg

DIN69871 30 SEM16X 35 30 16.00 38.00 35.00 17.00 15.9 M12 0.52

DIN69871 30 SEM22X 50 30 22.00 47.00 50.00 19.00 30.9 M12 0.80

DIN69871 30 SEM27X 50 30 27.00 58.00 50.00 21.00 30.9 M12 0.92

DIN69871 40 SEM16X35 40 16.00 38.00 35.00 17.00 15.9 M16 0.92

DIN69871 40 SEM22X 35 40 22.00 47.00 35.00 19.00 15.9 M16 1.02

DIN69871 40 SEM27X 60 40 27.00 58.00 60.00 21.00 40.9 M16 1.60

DIN69871 40 SEM32X 60 40 32.00 66.00 60.00 24.00 40.9 M16 1.78

DIN69871 40 SEM40X 60 40 40.00 82.00 60.00 27.00 40.9 M16 2.16

DIN69871 50 SEM16X35 50 16.00 38.00 35.00 17.00 15.9 M24 2.70

DIN69871 50 SEM22X 35 50 22.00 47.00 35.00 19.00 15.9 M24 2.80

DIN69871 50 SEM22X50X200 50 22.00 50.00 200.00 19.00 180.9 M24 5.21

DIN69871 50 SEM27X 35 50 27.00 58.00 35.00 21.00 15.9 M24 2.94

DIN69871 50 SEM32X 35 50 32.00 66.00 35.00 24.00 15.9 M24 3.16

DIN69871 50 SEM32X78X370 50 32.00 78.00 370.00 24.00 350.9 M24 15.76

DIN69871 50 SEM40X 50 50 40.00 82.00 50.00 27.00 30.9 M24 3.81

DIN69871 50 SEM50X 60 50 50.00 81.00 60.00 30.00 40.9 M24 4.85

 

�'�'��&� �'���

�$�#�'�����

DIN69871 30 SEM16X 35 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN69871 30 SEM22X 50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN69871 30 SEM27X 50 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27*

DIN69871 40 SEM16X35 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN69871 40 SEM22X 35 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN69871 40 SEM27X 60 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27*

DIN69871 40 SEM32X 60 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32*

DIN69871 40 SEM40X 60 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

DIN69871 50 SEM16X35 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN69871 50 SEM22X 35 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN69871 50 SEM22X50X200 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN69871 50 SEM27X 35 M12 CLAMP SCREW SEM27 SR M5X14DIN912 WRENCH M12 SEMC 27*

DIN69871 50 SEM32X 35 M16 CLAMP SCREW SEM32 SR M5X14DIN912 WRENCH M16 SEMC 32*

DIN69871 50 SEM32X78X370 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32*

DIN69871 50 SEM40X 50 M20 CLAMP SCREW SEM40 SR M6X20 DIN912 WRENCH M20 SEMC 40*

DIN69871 50 SEM50X 60 M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-SEM
!�&���$ �)" ������$% c��� 

ISO 3937 � %���&���'�#� 

DIN 69871 c��#� AD

1099-1100



ISCAR950

D
IN

 6
9

8
7

1
-A

/B

 

(a) •SS

BDDCONWS

CRKS

LSCWS
LB

LF

1 2

A0.005A AT3 Taper 58-60 HRc

G2.5 

SK 40=20,000 RPM
SK 50=15,000 RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BD LF LSCWS LB CRKS kg @��..

DIN69871 40 SEM16X 35 C 40 16.00 38.00 35.00 17.00 15.9 M16 0.94 1.

DIN69871 40 SEM16X100 C 40 16.00 38.00 100.00 17.00 80.9 M16 1.48 1.

DIN69871 40 SEM22X 35 C 40 22.00 47.00 35.00 19.00 15.9 M16 1.02 1.

DIN69871 40 SEM22X100 C 40 22.00 47.00 100.00 19.00 80.9 M16 0.94 1.

DIN69871 40 SEM27X 60 C 40 27.00 58.00 60.00 21.00 40.9 M16 1.20 1.

DIN69871 40 SEM27X100 C 40 27.00 58.00 100.00 21.00 80.9 M16 2.32 1.

DIN69871 40 SEM32X 60 C 40 32.00 66.00 60.00 24.00 40.9 M16 1.69 1.

DIN69871 50 SEM16X 35 C 50 16.00 38.00 35.00 17.00 15.9 M24 2.68 1.

DIN69871 50 SEM16X100 C 50 16.00 38.00 100.00 17.00 80.9 M24 3.24 1.

DIN69871 50 SEM22X 35 C 50 22.00 47.00 35.00 19.00 15.9 M24 2.77 1.

DIN69871 50 SEM22X100 C 50 22.00 47.00 100.00 19.00 80.9 M24 3.59 1.

DIN69871 50 SEM22X48X200C (1) 50 22.00 48.00 200.00 19.00 181.0 M24 5.00 2.

DIN69871 50 SEM22X61X300C (1) 50 22.00 61.00 300.00 19.00 281.0 M24 8.75 2.

DIN69871 50 SEM27X 35 C 50 27.00 58.00 35.00 21.00 15.9 M24 2.88 1.

DIN69871 50 SEM27X100 C 50 27.00 58.00 100.00 21.00 80.9 M24 4.15 1.

DIN69871 50 SEM27X61X300C (1) 50 27.00 61.00 300.00 21.00 281.0 M24 8.70 2.

DIN69871 50 SEM32X 35 C 50 32.00 66.00 35.00 24.00 15.9 M24 3.00 1.

DIN69871 50 SEM32X100 C 50 32.00 66.00 100.00 24.00 80.9 M24 4.64 1.

DIN69871 50 SEM32X78X370C (1) 50 32.00 78.00 370.00 24.00 351.0 M24 15.42 2.

• (a) 	�)� &��q��&�" ������& ��*�)����" “>”, �� �&����&�" �)" *���+� ��� ����� �$'��&�&@ ���@q���< *��q'� (� *�#�=@< ?��&�(�����(� ')<+� 2 ##)
(1) ��##�&��+��" '���&��'f�". �)" h&�(� ���&��#��&� �� (����&���<&�" ���+���" q�)����, ��*�)@���#$� �� ��/# #���)@��# �"��.

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 SEM16X 35 C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912

DIN69871 40 SEM16X100 C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912

DIN69871 40 SEM22X 35 C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 40 SEM22X100 C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 40 SEM27X 60 C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X12 DIN912

DIN69871 40 SEM27X100 C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X12 DIN912

DIN69871 40 SEM32X 60 C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912

DIN69871 50 SEM16X 35 C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912

DIN69871 50 SEM16X100 C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912

DIN69871 50 SEM22X 35 C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 50 SEM22X100 C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 50 SEM22X48X200C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 50 SEM22X61X300C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912

DIN69871 50 SEM27X 35 C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X12 DIN912

DIN69871 50 SEM27X100 C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X12 DIN912

DIN69871 50 SEM27X61X300C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27 DR.DOG 12S SR M5X12 DIN912

DIN69871 50 SEM32X 35 C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912

DIN69871 50 SEM32X100 C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912

DIN69871 50 SEM32X78X370C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X16S SR M5X20DIN912

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-SEM-C
!�&���$ �)" ������$% 

&��f��$% c��� ISO 3937 

� �&����&�"#� �)" *���+� 

���, � %���&���'�#� 

DIN 69871 c��#� ADB

1099-1100



951

D
IN

 6
9

8
7

1
-A

/B

DBCDBC
LSCWSLF

THSZWS DCONWS BD

CRKS

THIDTHID
SS

2 1
A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD DBC LF LSCWS THID THSZWS CRKS @��.
kg

DIN69871 40 FM 40 (1) 40 40.00 88.00 66.70 60.00 27.00 M12 M20 M16 1. 2.25

DIN69871 50 FM 40X70 (1) 50 40.00 88.00 66.70 70.00 27.00 M12 M20 M24 1. 4.87

DIN69871 50 FM 60 (2) 50 60.00 128.00 101.60 70.00 40.00 M16 - M24 2. 7.32

• !���c���G�$� ����#�$� ���&$ �� *��&��)"<&�".
(1) Z��#� AD  
(2) Z��#� A

 

�'�'��&� �'���

�$�#�'�����

DIN69871-FM M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-FM
!�&���$ �)" ������$% c��� 

DIN 6357 � %���&���'�#� 

DIN 69871 c��#� A/AD

1099-1100



ISCAR952

D
IN

 6
9

8
7

1
-A

/B
LF LSCWS

BD

LB

LSCWS_2

DCONWS

CRKS

SS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LF LSCWS LB LSCWS_2 BD CRKS kg

DIN69871 30 SEMC 16X 50 30 16.00 50.00 17.00 30.9 27.00 32.00 M12 0.53

DIN69871 30 SEMC 22X 50 30 22.00 50.00 19.00 30.9 31.00 40.00 M12 0.61

DIN69871 30 SEMC 32X 60 30 32.00 60.00 24.00 40.9 38.00 58.00 M12 0.77

DIN69871 40 SEMC 16X 55 40 16.00 55.00 17.00 35.9 27.00 32.00 M16 1.01

DIN69871 40 SEMC 16X100 40 16.00 100.00 17.00 80.9 27.00 32.00 M16 1.30

DIN69871 40 SEMC 22X 55 40 22.00 55.00 19.00 35.9 31.00 40.00 M16 1.05

DIN69871 40 SEMC 22X100 40 22.00 100.00 19.00 80.9 31.00 40.00 M16 1.47

DIN69871 40 SEMC 27X 55 40 27.00 55.00 21.00 35.9 33.00 48.00 M16 1.25

DIN69871 40 SEMC 27X100 40 27.00 100.00 21.00 80.9 33.00 48.00 M16 1.89

DIN69871 40 SEMC 32X 60 40 32.00 60.00 24.00 40.9 38.00 58.00 M16 1.41

DIN69871 40 SEMC 32X100 40 32.00 100.00 24.00 80.9 38.00 58.00 M16 2.24

DIN69871 40 SEMC 40X 60 40 40.00 60.00 27.00 40.9 41.00 70.00 M16 1.63

DIN69871 50 SEMC 16X 55 50 16.00 55.00 17.00 35.9 27.00 32.00 M24 2.80

DIN69871 50 SEMC 16X100 50 16.00 100.00 17.00 80.9 27.00 32.00 M24 3.54

DIN69871 50 SEMC 22X 55 50 22.00 55.00 19.00 35.9 31.00 40.00 M24 2.82

DIN69871 50 SEMC 22X100 50 22.00 100.00 19.00 80.9 31.00 40.00 M24 3.60

DIN69871 50 SEMC 27X 55 50 27.00 55.00 21.00 35.9 33.00 48.00 M24 3.06

DIN69871 50 SEMC 27X100 50 27.00 100.00 21.00 80.9 33.00 48.00 M24 3.82

DIN69871 50 SEMC 32X 55 50 32.00 55.00 24.00 35.9 38.00 58.00 M24 3.23

DIN69871 50 SEMC 32X100 50 32.00 100.00 24.00 80.9 38.00 58.00 M24 4.32

DIN69871 50 SEMC 40X 55 50 40.00 55.00 27.00 35.9 41.00 70.00 M24 3.43

DIN69871 50 SEMC 40X100 50 40.00 100.00 27.00 80.9 41.00 70.00 M24 5.24

DIN69871 50 SEMC 50X 70 50 50.00 70.00 30.00 50.9 46.00 90.00 M24 4.58

• �����" ������" ?*��'� �� *��&��)"�&�".

 

�'�'��&� �'���

�$�#�'�����

DIN69871 30 SEMC 16X 50 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN69871 30 SEMC 22X 50 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN69871 30 SEMC 32X 60 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN69871 40 SEMC 16X 55 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN69871 40 SEMC 16X100 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN69871 40 SEMC 22X 55 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN69871 40 SEMC 22X100 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN69871 40 SEMC 27X 55 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN69871 40 SEMC 27X100 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN69871 40 SEMC 32X 60 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN69871 40 SEMC 32X100 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN69871 40 SEMC 40X 60 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* KEY SEMC 40 10X8X32

DIN69871 50 SEMC 16X 55 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN69871 50 SEMC 16X100 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN69871 50 SEMC 22X 55 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN69871 50 SEMC 22X100 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN69871 50 SEMC 27X 55 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN69871 50 SEMC 27X100 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN69871 50 SEMC 32X 55 32 D.RING SEMC M16 CLAMP SCREW SEM32 KEY SEMC 32 8X7X28

DIN69871 50 SEMC 32X100 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN69871 50 SEMC 40X 55 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* KEY SEMC 40 10X8X32

DIN69871 50 SEMC 40X100 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* KEY SEMC 40 10X8X32

DIN69871 50 SEMC 50X 70 50 D.RING SEMC M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50* KEY SEMC 50 12X8X36

 
DIN69871-SEMC
!�&���$ �)" ������$% 

c��� DIN 6358 COMBI 

� %���&���'�#� 

DIN 69871 c��#� AD

1099-1100



953

D
IN

 6
9

8
7

1
-A

/BSS

DCONWS

CRKS

LPR

LB AT3 Taper A0.003A 58-60 HRc

�$�#�'����� SS DCONWS LPR CRKS kg

C4 AD SKA 40X30 ADB 40 40 30.00 M16 0.83

C5 AD SKA 40X30 40 50 30.00 M16 0.80

C5 AD SKA 50X30 ADB 50 50 30.00 M24 2.61

C6 AD SKA 50X30 50 63 30.00 M24 2.55

C8 AD SKA 50X70 ADB 50 80 70.00 M24 3.77

 

�'�'��&� �'���

�$�#�'�����

C4 AD SKA 40X30 ADB SR M14X58 C4 HW 8.0* MT RING M22X17XC4 WRENCH C4 DRW NUT*

C5 AD SKA 40X30 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 WRENCH C5 DRW NUT*

C5 AD SKA 50X30 ADB SR M16X70 C5 HW 10.0* MT RING M25X20XC5 SR M4X4 DIN913 HW 2.0* WRENCH C5 DRW NUT*

C6 AD SKA 50X30 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 WRENCH C6-8 DRW NUT*

C8 AD SKA 50X70 ADB SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 SR M4X4 DIN913 HW 2.0* WRENCH C6-8 DRW NUT*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

DIN69871-C#
!�&���$ CAMFIX (ISO 26623-1)  

� %���&���'�#� DIN 69871 

c��#� AD/ADB

SS

LF
LB

BD

CSI
G1CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS CSI LF LB BD G1 CRKS kg

DIN69871 40 AD DIN2080 30 40 DIN2080 30 50.00 30.9 50.00 M12 M16 1.07

DIN69871 50 AD BT/SK 40 50 BT/SK 40 70.00 50.9 66.00 M16 M24 3.40

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 AD DIN2080 30 SR M6X6DIN914 MT RING M18X9X12.5 HW 3.0* HW 10.0*

DIN69871 50 AD BT/SK 40 SR M6X10 DIN914 MT RING M24X12X14 HW M16X60 20.9 DIN7984 HW 3.0* HW 14.0*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-AD
!�&���$ - *���%����'� 

DIN 2080, DIN 69871/A 

� BT MAS-403 � %���&���'�#� 

DIN 69871 c��#� A

1099-1100

1099-1100



ISCAR954

D
IN

 6
9

8
7

1
-A

/B

CRKS

LPR

Tt°

BD

LB
SS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS Tt° LPR LB BD CRKS kg

DIN69871 30 MT3X 75 30 MT3 75.00 55.9 40.00 M12 0.52

DIN69871 40 MT1X 50 40 MT1 50.00 30.9 25.00 M16 0.88

DIN69871 40 MT2X 50 40 MT2 50.00 30.9 32.00 M16 0.90

DIN69871 40 MT3X 70 40 MT3 70.00 50.9 40.00 M16 1.04

DIN69871 40 MT4X 95 40 MT4 95.00 75.9 48.00 M16 1.30

DIN69871 50 MT1X 45 50 MT1 45.00 25.9 25.00 M24 2.65

DIN69871 50 MT2X 60 50 MT2 60.00 40.9 32.00 M24 2.72

DIN69871 50 MT3X 65 50 MT3 65.00 45.9 40.00 M24 2.75

DIN69871 50 MT4X 95 50 MT4 95.00 75.9 48.00 M24 3.04

DIN69871 50 MT5X105 50 MT5 105.00 85.9 63.00 M24 3.20

 

 
DIN69871-MT
!�&���$ - *���%����'� � 

'�����# Morse DIN 6383, 

� )�*'�G DIN 228-2 

c��#� D, � %���&���'�#� 

DIN 69871 c��#� A

LPR

Tt˚G1CRKS

LB

BD

LB_2LPR
LBSS

21

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS Tt° LPR LB LB_2 BD G1 CRKS @��.
kg

DIN69871 40 MT1 DRW 40 MT1 50.00 30.9 - 25.00 M6 M16 1. 0.90

DIN69871 40 MT2 DRW 40 MT2 50.00 30.9 - 32.00 M10 M16 1. 0.92

DIN69871 40 MT3 DRW 40 MT3 70.00 50.9 - 40.00 M12 M16 1. 1.05

DIN69871 40 MT4 DRW (1) 40 MT4 110.00 90.9 15.00 63.00 M16 M16 2. 2.10

DIN69871 50 MT1 DRW 50 MT1 45.00 25.9 - 25.00 M6 M24 1. 2.67

DIN69871 50 MT2 DRW 50 MT2 60.00 40.9 - 32.00 M10 M24 1. 2.75

DIN69871 50 MT3 DRW 50 MT3 65.00 45.9 - 40.00 M12 M24 1. 2.83

DIN69871 50 MT4 DRW (1) 50 MT4 85.00 65.9 15.00 63.00 M16 M24 2. 3.57

DIN69871 50 MT5 DRW (1) 50 MT5 118.00 98.9 18.00 78.00 M20 M24 2. 4.49

(1) DIN 2201

 

�'�'��&� �'���

�$�#�'�����

DIN69871 40 MT1 DRW MT RING M16X10X6.5 SR M6X20 DIN912 HW 3.0*

DIN69871 40 MT2 DRW MT RING M16X8X8.5 HW M10X25 13.8 DIN7984 HW 3.0* HW 5.0* HW M 6X 6(NO HEAD)DIN914

DIN69871 40 MT3 DRW MT RING M20X10X12.5 SCREW M12X35 DIN7984 HW 3.0* HW 6.0* HW M 6X 6(NO HEAD)DIN914

DIN69871 40 MT4 DRW MT RING M24X1.5X7X16.5 HW M16X40 20.9 DIN7984 HW 3.0* HW 14.0* HW M 6X 6(NO HEAD)DIN914

DIN69871 50 MT1 DRW MT RING M24X14X6.5 SR M6X20 DIN912 HW 5.0*

DIN69871 50 MT2 DRW MT RING M24X18X10 SR M10X25 DIN912 HW 5.0* HW 8.0* SR M6X10 DIN914

DIN69871 50 MT3 DRW MT RING M24X16X12 SCREW M12X35 DIN7984 HW 3.0* HW 5.0* SR M6X10 DIN914

DIN69871 50 MT4 DRW MT RING M24X7X16.5 HW M16X35 20.9 DIN7984 HW 3.0* HW 8.0* SR M6X10 DIN914

DIN69871 50 MT5 DRW MT RING M33X13X20.5 SR M20X55DIN7984 HW 3.0* HW 10.0* SR M6X10 DIN914

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN69871-MT-DRW
!�&���$ - *���%����'� 

� '�����# Morse DIN 6364 

� ���@q��$# �&����&��# DIN 

228-2 c��#� B, � %���&���'�#� 

DIN 69871 c��#� A

1099-1100

1099-1100



955

D
IN

 6
9

8
7

1
-A

/B

  

0.05 1°CSI

SS DCONNWS
DCONXWS

LB
LB_2

BD_3

CRKS

LBX
LPR

BD BD_2

AT3 Taper 58-60 HRc

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LB LBX LB_2 BD BD_2 BD_3 CRKS kg

ADJ DIN69871 40 D70 ER32 40 ER32 2.0 20.0 124.50 52.50 105.4 89.50 50.00 70.00 46.00 M16 2.36

ADJ DIN69871 50 D70 ER32 50 ER32 2.0 20.0 124.50 52.50 105.4 - 50.00 70.00 - M24 4.29

• �����)@��" ��(�)����'� 0.05 ##. �()���" ��(�)����'� 1°.
(1) ����#�)@�$G ���#�&�
(2) ��'��#�)@�$G ���#�&�

 

�()���" ��(�)����'�

�����)@��" ��(�)����'�

�'�'��&� �'���

�$�#�'�����

ADJ DIN69871-ER NUT ER32 TOP* ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 SR M8X1X16 DIN916 SR M6X30 DIN912 ADJ ER32 NOSE

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

ADJ DIN69871-ER
FINEFIT, f��(��$� *�&���$ ER 

DIN 6499 � �()���G � �����G 

'�#*����f��G, � %���&���'�#� 

DIN 69871 c��#� AD/B

1099-1100 1102 1065-1069 932, 1063-1065



ISCAR956

D
IN

 6
9

8
7

1
-A

/B

FlfFlb

DCONNWS
DCONXWS

LPR 
LBX 

Flf

CSI
SS

CRKS Flb

BD

LB BD_2

AT3 Taper 58-60 HRc

�$�#�'����� SS CSI
@�'�
�  

min
@�'�
�  

max DCONNWS(1) DCONXWS(2) LPR LBX LB BD BD_2 Flf Flb CRKS kg

GTI DIN69871 40 ER16 40 ER16 M3 M10 0.5 10.0 81.20 62.1 24.60 28.00 29.50 8.0 3.0 M16 2.40

GTI DIN69871 40 ER32 40 ER32 M6 M20 2.0 20.0 111.40 92.3 33.00 50.00 56.50 9.0 4.0 M16 2.28

GTI DIN69871 40 ER40 40 ER40 M6 M28 3.0 26.0 129.40 110.3 51.00 63.00 56.50 9.0 4.0 M16 0.00

GTI DIN69871 50 ER16 50 ER16 M3 M10 0.5 10.0 104.80 85.7 24.60 28.00 29.50 8.0 3.0 M24 2.95

GTI DIN69871 50 ER32 50 ER32 M6 M20 2.0 20.0 113.30 94.4 33.00 50.00 56.50 9.0 4.0 M24 3.90

GTI DIN69871 50 ER40 50 ER40 M6 M28 3.0 26.0 132.40 113.3 51.00 63.00 56.50 9.0 4.0 M24 4.20

(1) ����#�)@�$G ���#�&�
(2) ��'��#�)@�$G ���#�&�

 

�'�'��&� �'���

�$�#�'�����

GTI DIN69871 40 ER16 NUT ER16 TOP WRENCH ER16*

GTI DIN69871 40 ER32 NUT ER32 TOP WRENCH ER32*

GTI DIN69871 40 ER40 NUT ER40 TOP WRENCH ER40*

GTI DIN69871 50 ER16 NUT ER16 TOP WRENCH ER16*

GTI DIN69871 50 ER32 NUT ER32 TOP WRENCH ER32*

GTI DIN69871 50 ER40 NUT ER40 TOP WRENCH ER40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

GTI DIN69871-ER (tapping)
:��(��$� *�&���$ ER DIN 6499 

�)" #�&+�'��, � %���&���'�#� 

DIN 69871 c��#� A

LB
LPR

DCONWS BD
CRKS

SS

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LPR LB BD CRKS kg

DIN69871 40 CF4-S 40 25.00 44.10 25.0 44.50 M16 0.93

DIN69871 40 CF4-L 40 25.00 100.00 80.9 44.50 M16 1.55

DIN69871 50 CF4-S 50 25.00 44.10 25.0 44.50 M24 2.70

DIN69871 50 CF4-S B (1) 50 25.00 44.10 25.0 44.50 M24 2.73

DIN69871 50 CF4-L 50 25.00 100.00 80.9 44.50 M24 3.54

DIN69871 50 CF4-L B (1) 50 25.00 100.00 80.9 44.50 M24 3.52

• ������ '���?��: 6 '( x #   
(1) ����'� “B” - ������& � *���+�G ��� +���� c)���f.

 

�'�'��&� �'���

�$�#�'�����

DIN69871-CF SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911 OR 15X3N WRENCH REAL C.F M8

  

DIN69871-CF
!�&���$ DIN69871 c��#� ADB  

� ����������# CLICKFIT

1099-1100

1099-1100

1065-1069

928

932, 1063-1065

1046



957

D
IN

 6
9

8
7

1
-A

/B

RE
DCONMS

BD

CRKS LU
LBX

LPR

THSZWS

�$�#�'����� DCONMS CRKS THSZWS BD LPR LBX LU RE
MM S-A-H040-SK 40-T06 40.00 M16 T06 9.25 40.00 21.0 15.00 6.0

MM S-A-H045-SK 40-T08 40.00 M16 T08 11.60 45.00 26.0 20.00 6.0

MM S-A-H050-SK 40-T10 40.00 M16 T10 15.30 50.00 31.0 25.00 6.0

MM S-A-H050-SK 40-T12 40.00 M16 T12 18.30 50.00 31.0 25.00 6.0

MM S-A-H050-SK 40-T15 40.00 M16 T15 23.90 50.00 31.0 25.00 6.0

• �� �#��$��&@ ���@q���� ����������.   •  >�����&$ ���������G �#. �&�. 39

 

 

 

MM S-A-SK
������$� %���&���'� DIN 69871 

�)" c������$% (�)���' 

MULTI- MASTER

SS
10

BD

THSZWS

BD_2
LB

LBX
LPR

CRKS

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS THSZWS BD BD_2 LPR LBX LB CRKS kg

DIN69871 40 ODP 6X58 40 M06 9.80 13.00 58.00 38.9 30.00 M16 0.82

DIN69871 40 ODP 6X98 40 M06 9.80 23.00 98.00 78.9 70.00 M16 0.91

DIN69871 40 ODP 8X58 40 M08 13.10 15.00 58.00 38.9 30.00 M16 0.82

DIN69871 40 ODP 8X98 40 M08 13.10 23.00 98.00 78.9 70.00 M16 0.92

DIN69871 40 ODP10X58 40 M10 18.00 20.00 58.00 38.9 30.00 M16 0.84

DIN69871 40 ODP10X98 40 M10 18.00 28.00 98.00 78.9 70.00 M16 1.00

DIN69871 40 ODP12X58 40 M12 21.00 24.00 58.00 38.9 30.00 M16 0.88

DIN69871 40 ODP12X98 40 M12 21.00 31.00 98.00 78.9 70.00 M16 1.07

DIN69871 40 ODP16X58 40 M16 29.00 28.60 58.00 38.9 35.00 M16 0.91

DIN69871 40 ODP16X98 40 M16 29.00 34.00 98.00 78.9 70.00 M16 1.15

DIN69871 50 ODP12X 78 50 M12 23.00 30.00 78.00 58.9 50.00 M24 2.74

DIN69871 50 ODP12X128 50 M12 23.00 40.00 128.00 108.9 100.00 M24 3.14

DIN69871 50 ODP12X178 50 M12 23.00 40.00 178.00 158.9 150.00 M24 3.38

DIN69871 50 ODP12X228 50 M12 23.00 46.00 228.00 208.9 200.00 M24 4.14

DIN69871 50 ODP16X 78 50 M16 29.00 34.00 78.00 58.9 50.00 M24 2.95

DIN69871 50 ODP16X128 50 M16 29.00 40.00 128.00 108.9 100.00 M24 3.20

DIN69871 50 ODP16X178 50 M16 29.00 55.00 178.00 158.9 150.00 M24 4.08

DIN69871 50 ODP16X228 50 M16 29.00 55.00 228.00 208.9 200.00 M24 4.64

 

  

DIN69871-ODP
!�&��� DIN69871 c��#� ADB 

#���)@��G ���&�#$ FLEXFIT

1099-1100

1099-1100 1102 1046-1048 1044



ISCAR958

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

DIN 69893 HSK A / E



959

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

b1d2 d5

l6

f3
f1

l1

d16

d10 max. d1d4

60°

f2

HSK-A d1 h10 D2 d4 H10 d5 H11 d10 max d16 l1-0.2 l6 Js10 b1±0.04(1) f1 -0.1 f2 min f3 ±0.1
 40  40 30 21 25.5 34 M12x1 20 11.42 8.05 20 35 16

 50  50 38 26 32.0 42 M16x1 25 14.13 10.54 26 42 18

 63  63 48 34 40.0 53 M18X1 32 18.13 12.54 (12.42) 26 42 18

 80  80 60 42 50.0 67 M20x1.5 40 22.85 16.04 26 42 18

100 100 75 53 63.0 85 M24X1.5 50 28.56 20.02 (19.9) 29 45 20

(1) ���#�� � �'�q'�% �&����&�" ' ���#��� b1 &�)@'� �)" ���&��#��&�� HSK A...WH.  

> ����$% ���&��#��&�% ��*��' � ����� ��*���)"<=�(� *��� �q��*�+���<& &�+���&@ *���f����������" ����=�G '��#'� &�'����(� ���f� *� �$��&�  

(� ���&��&�&��� � "*���'�# �&�����&�# ICTM � �&�����&�# ISO 12164/3).

DIN 69893 \���' A

d1d4 maxd16

f3
f1

f2l1

l4 60°

d8 d9d2

HSK-E d1 h10 D2 d4 max d8 H10 d9 H11 d16 l1-0.2 L4 Js10 f1-0.1 f2 min f3±0.1

32 32 24 26 17 19 M10X1 16 8.92 20 35 16

40 40 30 34 21 25.5 M12X1 20 11.42 20 35 16

50 50 38 42 26 32.0 M16X1 25 14.13 26 42 18

63 63 48 53 34 40.0 M18X1 32 18.13 26 42 18

DIN 69893 \���' E

DIN 69893 \���' F (1)

(1)  a�� *�*���+��(� �&����&�"

l4l2
60°

5 12

d4 max d1d8d9d2

f2
f1

f3
l1

HSK-F d1 h10 D2 d4 max d8 H10 d9 H11 l1-0.2 l2 l4 Js10 f1-0.1 f2 min f3±0.1

63  63 38 53 26 32 25 5.0 14.13 26 42 18

HSK DIN 69893 (��'�!'�� ISO 12164-1)



ISCAR960

D
IN

 6
9

8
9

3
 H

S
K

 A
/E ER25,32,40 ER16,20CSI

DCONMS

THID LB

BD_2

LPR

LPRLBX

LBX

DCONNWS
DCONXWS

BDBD

A0.003A 58-60 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS CSI DCONNWS(2) DCONXWS BD BD_2 LPR LBX LB THID kg

HSK E32 ER16X60 32.00 ER16 0.5 10.0 28.00 22.40 60.00 40.0 21.50 M10x1-6H 0.22

HSK E32 ER20X60 32.00 ER20 1.0 13.0 34.00 25.40 60.00 40.0 26.00 M10x1-6H 0.18

HSK E32 ER25X65 32.00 ER25 1.0 16.0 42.00 25.80 65.00 45.0 30.00 M10x1-6H 0.20

HSK E40 ER16X60 40.00 ER16 0.5 10.0 28.00 28.00 60.00 40.0 27.10 M12X1-6H 0.28

HSK E40 ER16X80 40.00 ER16 0.5 10.0 28.00 28.00 80.00 60.0 27.10 M10x1.5-6H 0.36

HSK E40 ER20X80 40.00 ER20 1.0 13.0 34.00 33.80 80.00 60.0 28.00 M12 0.44

HSK E40 ER25X80 40.00 ER25 1.0 16.0 42.00 33.80 80.00 60.0 28.00 M18X1.5 0.42

HSK E40 ER32X80 40.00 ER32 2.0 20.0 50.00 40.10 80.00 60.0 31.00 M22X1.5 0.41

HSK E50 ER16X100 50.00 ER16 0.5 10.0 28.00 28.00 100.00 74.0 27.00 M10 0.64

HSK E50 ER16X100M (1) 50.00 ER16 0.5 10.0 22.00 22.00 100.00 74.0 25.60 M10 0.55

HSK E50 ER16X80 50.00 ER16 0.5 10.0 28.00 28.00 80.00 54.0 27.10 M10 0.55

HSK E50 ER20X80 50.00 ER20 1.0 13.0 34.00 34.00 80.00 54.0 28.00 M12 0.60

HSK E50 ER25X80 50.00 ER25 1.0 16.0 42.00 32.40 80.00 54.0 28.00 M16 0.71

HSK E50 ER32X100 50.00 ER32 2.0 20.0 50.00 40.00 100.00 74.0 31.00 M22X1.5 0.78

HSK E50 ER32X80 50.00 ER32 2.0 20.0 50.00 40.00 80.00 54.0 31.00 M16X1-6H 0.63

HSK E63 ER16X100 63.00 ER16 0.5 10.0 28.00 28.00 100.00 74.0 27.10 M10 0.91

HSK E63 ER16X80 63.00 ER16 0.5 10.0 28.00 28.00 80.00 54.0 27.10 M10 0.92

HSK E63 ER20X75 63.00 ER20 1.0 13.0 34.00 34.00 75.00 49.0 28.00 M18X1-6H 0.90

HSK E63 ER32X100 63.00 ER32 2.0 20.0 50.00 50.00 100.00 75.0 36.00 M22X1.5 1.28

HSK E63 ER32X80 * 63.00 ER32 2.0 20.0 50.00 40.40 80.00 54.0 31.00 M18X1-6H 0.91

HSK E63 ER40X80 63.00 ER40 3.0 26.0 63.00 50.00 80.00 54.0 34.00 M18X1-6H 0.99

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) !��&��)"�&�" � (�G'�G ER 16 MINI
(2) ����#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

HSK E32 ER16X60 NUT ER16 TOP WRENCH ER16*

HSK E32 ER20X60 NUT ER20 TOP WRENCH ER20*

HSK E32 ER25X65 NUT ER25 TOP WRENCH ER25*

HSK E40 ER16X60 NUT ER16 TOP WRENCH ER16* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 ER16X80 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 ER20X80 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 ER25X80 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 18X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 ER32X80 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E50 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER16X100M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER16X80 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER20X80 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER25X80 NUT ER25 TOP WRENCH ER25* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 ER32X80 NUT ER32 TOP WRENCH ER32* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E63 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 ER16X80 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 ER20X75 NUT ER20 TOP WRENCH ER20* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 ER32X80 * NUT ER32 TOP WRENCH ER32* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 ER40X80 NUT ER40 TOP WRENCH ER40* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

 
HSK E-ER
:��(��$� *�&���$ ER 

DIN6499 � %���&���'�#� 

HSK DIN69893 c��#� E

1065-1069 1063-1065

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



961

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

 

CSI

LB

BD_2

DCONMS

LPR
LBX

DCONNWS
DCONXWS

THID

BD

.

A0.003A 58-60 HRc

G2.5 

G6.3 

HSK 40,50,63=20,000RPM

HSK 100=12,000 RPM

U<1.0 gmm

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) BD BD_2 LPR LBX LB THID kg

HSK A50 ER16X100M 50.00 ER16 0.5 10.0 22.00 - 100.00 74.0 - M10 0.50

HSK A50 ER20X100M 50.00 ER20 1.0 13.0 28.00 - 100.00 74.0 - M12 0.61

HSK A63 ER16X100M 63.00 ER16 0.5 10.0 22.00 - 100.00 74.0 - M10 0.80

HSK A63 ER16X120M 63.00 ER16 0.5 10.0 22.00 40.00 120.00 94.0 78.00 M10 0.94

HSK A63 ER16X160M 63.00 ER16 0.5 10.0 22.00 40.00 160.00 134.0 85.00 M10 1.26

HSK A63 ER20X100M 63.00 ER20 1.0 13.0 28.00 - 100.00 74.0 - M12 0.85

HSK A63 ER20X120M 63.00 ER20 1.0 13.0 28.00 - 120.00 94.0 - M12 0.92

HSK A63 ER20X160M 63.00 ER20 1.0 13.0 28.00 45.00 160.00 134.0 85.00 M12 1.46

HSK A100 ER16X100M 100.00 ER16 0.5 10.0 22.00 - 100.00 71.0 - M10 2.16

HSK A100 ER16X160M 100.00 ER16 0.5 10.0 22.00 40.00 160.00 131.0 85.00 M10 2.65

HSK A100 ER20X100M 100.00 ER20 1.0 13.0 28.00 - 100.00 71.0 - M12 2.22

HSK A100 ER20X160M 100.00 ER20 1.0 13.0 28.00 50.00 160.00 131.0 85.00 M12 2.82

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

HSK A50 ER16X100M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER20X100M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 ER16X100M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER16X120M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER16X160M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X100M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X120M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X160M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 ER16X100M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER16X160M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 10X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER20X100M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER20X160M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-ER-M (mini)
:��(��$� #���-*�&���$ 

ER DIN6499 � %���&���'�#� 

HSK DIN69893 c��#� A

1065-1069 1063-1065



ISCAR962

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

ER25-50

LB

BD_2

DCONMS

LPR
LBX

CSI ER16-20 DCONNWS
DCONXWS

THID

BD BD

A0.003A 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) BD BD_2 LPR LBX LB THID kg

HSK A40 ER16X60 40.00 ER16 0.5 10.0 28.00 - 60.00 40.0 - - 0.27

HSK A40 ER16X80 40.00 ER16 0.5 10.0 28.00 - 80.00 60.0 - M10 0.36

HSK A40 ER25X100 40.00 ER25 1.0 16.0 42.00 32.40 100.00 80.0 28.00 M16 0.49

HSK A40 ER25X60 40.00 ER25 1.0 16.0 42.00 32.40 60.00 40.0 28.00 - 0.41

HSK A40 ER25X80 40.00 ER25 1.0 16.0 42.00 32.40 80.00 60.0 28.00 M18X1.5 0.50

HSK A40 ER32X100 40.00 ER32 2.0 20.0 50.00 40.40 100.00 80.0 31.00 M22X1.5 0.58

HSK A50 ER16X100 50.00 ER16 0.5 10.0 28.00 - 100.00 74.0 - M10 0.61

HSK A50 ER20X100 50.00 ER20 1.0 13.0 34.00 - 100.00 74.0 - M12 0.70

HSK A50 ER20X120 50.00 ER20 1.0 13.0 34.00 - 120.00 94.0 - M12 0.84

HSK A50 ER25X100 50.00 ER25 1.0 16.0 42.00 41.80 100.00 74.0 28.50 M16 0.79

HSK A50 ER25X80 50.00 ER25 1.0 16.0 42.00 32.40 80.00 54.0 28.00 M8 0.53

HSK A50 ER32X100 50.00 ER32 2.0 20.0 50.00 40.40 100.00 74.0 31.00 M22X1.5 0.76

HSK A50 ER32X120 50.00 ER32 2.0 20.0 50.00 41.80 120.00 94.0 35.00 M22X1.5 0.96

HSK A50 ER32X160 50.00 ER32 2.0 20.0 50.00 40.00 160.00 134.0 - M22X1.5 1.00

HSK A63 ER16X100 63.00 ER16 0.5 10.0 28.00 - 100.00 74.0 - M10 0.86

HSK A63 ER16X120 63.00 ER16 0.5 10.0 28.00 - 120.00 94.0 - M10 0.96

HSK A63 ER16X160 63.00 ER16 0.5 10.0 28.00 40.00 160.00 134.0 85.60 M10 1.38

HSK A63 ER20X100 63.00 ER20 1.0 13.0 34.00 - 100.00 74.0 - M12 0.94

HSK A63 ER20X120 63.00 ER20 1.0 13.0 34.00 - 120.00 94.0 - M12 1.09

HSK A63 ER20X160 63.00 ER20 1.0 13.0 34.00 45.00 160.00 134.0 85.00 M12 1.59

HSK A63 ER25X100 63.00 ER25 1.0 16.0 42.00 - 100.00 74.0 - M16 1.10

HSK A63 ER25X120 63.00 ER25 1.0 16.0 42.00 - 120.00 94.0 - M16 1.29

HSK A63 ER25X160 63.00 ER25 1.0 16.0 42.00 - 160.00 134.0 - M16 1.68

HSK A63 ER25X80 63.00 ER25 1.0 16.0 42.00 - 80.00 54.0 - M8 0.92

HSK A63 ER32X100 63.00 ER32 2.0 20.0 50.00 - 100.00 74.0 - M22X1.5 1.18

HSK A63 ER32X120 63.00 ER32 2.0 20.0 50.00 - 120.00 94.0 - M22X1.5 1.46

HSK A63 ER32X160 63.00 ER32 2.0 20.0 50.00 - 160.00 134.0 - M22X1.5 1.99

HSK A63 ER32X80 63.00 ER32 2.0 20.0 50.00 40.40 80.00 54.0 31.00 - 0.84

HSK A63 ER40X 80 63.00 ER40 3.0 26.0 63.00 50.40 80.00 54.0 34.00 - 0.92

HSK A63 ER40X100 63.00 ER40 3.0 26.0 63.00 50.40 100.00 74.0 34.00 M28X1.5 1.16

HSK A63 ER40X120 63.00 ER40 3.0 26.0 63.00 50.40 120.00 94.0 34.00 M28X1.5 1.38

HSK A63 ER40X160 63.00 ER40 3.0 26.0 63.00 50.40 160.00 134.0 34.00 M28X1.5 1.99

HSK A100 ER16X100 100.00 ER16 0.5 10.0 28.00 - 100.00 71.0 - M10 2.21

HSK A100 ER16X160 100.00 ER16 0.5 10.0 28.00 40.00 160.00 131.0 85.00 M10 2.71

HSK A100 ER20X100 100.00 ER20 1.0 13.0 34.00 - 100.00 71.0 - M12 2.29

HSK A100 ER20X160 100.00 ER20 1.0 13.0 34.00 50.00 160.00 131.0 85.00 M12 3.08

HSK A100 ER25X100 100.00 ER25 1.0 16.0 42.00 - 100.00 71.0 - M16 2.47

HSK A100 ER25X120 100.00 ER25 1.0 16.0 42.00 - 120.00 91.0 - M16 2.65

HSK A100 ER25X160 100.00 ER25 1.0 16.0 42.00 - 160.00 134.0 - M16 3.02

HSK A100 ER32X100 100.00 ER32 2.0 20.0 50.00 - 100.00 71.0 - M22X1.5 2.69

HSK A100 ER32X120 100.00 ER32 2.0 20.0 50.00 - 120.00 91.0 - M22X1.5 2.80

HSK A100 ER32X160 100.00 ER32 2.0 20.0 50.00 - 160.00 131.0 - M22X1.5 3.32

HSK A100 ER40X100 100.00 ER40 3.0 26.0 63.00 - 100.00 71.0 - - 2.80

HSK A100 ER40X120 100.00 ER40 3.0 26.0 63.00 - 120.00 91.0 - M28X1.5 3.17

HSK A100 ER40X160 100.00 ER40 3.0 26.0 63.00 - 160.00 131.0 - M28X1.5 4.08

HSK A100 ER50X100 100.00 ER50 10.0 34.0 78.00 - 100.00 71.0 - M22X1.5 2.88

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

 
HSK A-ER
:��(��$� *�&���$ ER 

DIN6499 � %���&���'�#� 

HSK DIN69893 c��#� A

1065-1069 1063-1065



963

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

�'�'��&� �'���

�$�#�'�����

HSK A40 ER16X60 NUT ER16 TOP WRENCH ER16* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A40 ER16X80 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A40 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A40 ER25X60 NUT ER25 TOP WRENCH ER25* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A40 ER25X80 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 18X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A40 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK A50 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER20X120 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER25X80 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER32X120 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 ER32X160 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER16X120 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X120 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER20X160 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER25X120 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER25X160 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER25X80 NUT ER25 TOP WRENCH ER25* PRESET ER-JET  8X1.25* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER32X120 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER32X160 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER32X80 NUT ER32 TOP WRENCH ER32* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER40X 80 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER40X120 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ER40X160 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER20X160 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER25X120 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER25X160 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER32X120 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER32X160 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER40X120 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER40X160 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER50X100 NUT ER50 UM WRENCH ER50* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

HSK A-ER 



ISCAR964

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

ER32-40
CSI

ER16

LB

DCONMS

DCONNWS
DCONXWS

LPR
LBX

THID

BDBD

BD_2
A0.003A 58-60 HRc

G2.5 

33,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS CSI LPR DCONNWS(2) DCONXWS BD BD_2 LBX LB THID kg

HSK FM63 ER16X80 (1) 63.00 ER16 80.00 0.5 10.0 28.00 - 54.0 - M10 0.81

HSK FM63 ER16X100 (1) 63.00 ER16 100.00 0.5 10.0 28.00 - 74.0 - M10 0.87

HSK FM63 ER16X120 (1) 63.00 ER16 120.00 0.5 10.0 28.00 - 94.0 - M10 0.98

HSK FM63 ER16X160 (1) 63.00 ER16 160.00 0.5 10.0 28.00 40.00 134.0 85.60 M10 1.32

HSK FM63 ER32X80 (1) 63.00 ER32 80.00 2.0 20.0 50.00 - 54.0 - - 0.96

HSK FM63 ER32X100 (1) 63.00 ER32 100.00 2.0 20.0 50.00 - 74.0 - M22X1.5 1.19

HSK FM63 ER40X80 63.00 ER40 80.00 3.0 26.0 63.00 50.00 54.0 32.00 - 0.94

HSK FM63 ER40X100 (1) 63.00 ER40 100.00 3.0 26.0 63.00 50.00 74.0 32.00 M22X1.5 1.16

HSK FM80 ER16X85 80.00 ER16 85.00 0.5 10.0 28.00 - 59.0 - M10 3.00

HSK FM80 ER16X120 80.00 ER16 120.00 0.5 10.0 28.00 - 94.0 - M10 3.70

HSK FM80 ER20X85 80.00 ER20 85.00 1.0 13.0 34.00 - 59.0 - M8 3.00

HSK FM80 ER20X120 80.00 ER20 120.00 1.0 13.0 34.00 - 94.0 - M12 3.70

HSK FM80 ER32X85 80.00 ER32 85.00 2.0 20.0 50.00 - 59.0 - M8 3.00

HSK FM80 ER32X120 80.00 ER32 120.00 2.0 20.0 50.00 - 94.0 - M22X1.5 3.70

• ��*�)@��<&�" �� �&��'�% Makino #���)� MAG ����� A • ��"&�� *��&����'�)@�"=�% ?&�c&�� *������& *�&��� � *�)��� ���&��&�&��� 

�� �&�����&�$# &�*�# HSK F63 • !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) !������&@ ��)�+��
(2) ����#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

HSK FM63 ER16X80 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER16X120 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER32X80 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER40X80 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 16X2* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM80 ER16X85 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK FM80 ER16X120 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK FM80 ER20X85 NUT ER20 TOP WRENCH ER20* PRESET ER-JET  8X1.25* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK FM80 ER20X120 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK FM80 ER32X85 NUT ER32 TOP WRENCH ER32* PRESET ER-JET  8X1.25* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK FM80 ER32X120 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK FM-ER
:��(��$� *�&���$ ER 

DIN6499 � %���&���'�#� 

HSK DIN69893 FM � ���#" 

?&�c&�#�, �)" �&��'�� MAKINO 

#���)� MAG ����� A

1065-1069 1063-1065

 

  



965

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

BD
DCONXWS

DCONMS

LSCWS
ADJRGA

BD_2

LBX
LPR

DCONNWS
DCONXWS

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONXWS(1) DCONNWS(2) BD BD_2 LPR LBX ADJRGA LSCWS kg

HSK A63 MAXIN20X95 63.00 20.00 6.0 51.00 53.00 95.00 69.0 9.50 65.5 1.02

HSK A63 MAXIN32X113 63.00 32.00 6.0 69.00 70.00 113.00 87.0 15.00 85.0 1.32

HSK A100 MAXIN20X115 100.00 20.00 6.0 51.00 53.00 115.00 86.0 13.00 69.0 2.61

HSK A100 MAXIN32X110 100.00 32.00 6.0 69.00 70.00 110.00 81.0 8.00 78.0 2.72

HSK A100 MAXIN32X135 100.00 32.00 6.0 69.00 70.00 135.00 106.0 16.00 87.0 3.45

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��). • !�� ��*�)@������� ���&��#��&� 

�  #�'��#�)@�$# ���#�&��# �q��*�+���<&�" ���)�+?�� h'�*)��&�f����$� %���'&����&�'�, *��'�)@'� ���)�� ����#� � f��(� ������&�" �� 25%.
(1) ��'��#�)@�$G ���#�&� q�� *���%����(� *�&����
(2) ����#�)@�$G ���#�&� � *���%���$# *�&����#

 

�'�'��&� �'���

�$�#�'�����

HSK A63 MAXIN20X95 WRENCH MAXIN 20 HOOK* EXTRACTOR SC COLLETS* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 MAXIN32X113 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 MAXIN20X115 WRENCH MAXIN 20 HOOK* EXTRACTOR SC COLLETS* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 MAXIN32X135 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-MAXIN
��)��$� *�&���$ MAXIN 

� %���&���'�#� HSK 

DIN69893 c��#� A

G1

CSI LB

LPR
LBX

DCONNWS
DCONXWS

DCONMS BD

.

A0.003A 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS BD LPR LBX LB G1
kg

HSK A63 ER32 SHORT 63.00 ER32 2.0 20.0 50.00 81.00 55.0 9.50 M40X1.5 1.13

HSK A100 ER32 SHORT 100.00 ER32 2.0 20.0 50.00 89.50 60.5 9.50 M40X1.5 2.54

HSK A100 ER40 SHORT 100.00 ER40 3.0 26.0 70.00 104.50 75.5 9.50 M50X1.5 3.51

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) ����#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

HSK A63 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ER40 SHORT NUT ER40 SHORT WRENCH ER40 SHORT* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

  

HSK A-ER-SHORT
�'���+���$� f��(��$� *�&���$ 

ER DIN6499 � %���&���'�#� 

HSK DIN69893 c��#� A

1101

1102

1065-1069

1082, 1104

934, 1063-1065

930-931

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR966

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

  

  

���*���� d DCONWSDCONMS

.

SETS A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS W���"����� �����'�� d
KIT HSK A63 MAXIN20X95-6 63 20.00 6 6,8,10,12,14,16

KIT HSK A63MAXIN32X113-7 63 32.00 7 6,8,10,12,16,20,25

KIT HSK A100MAXIN20X115-6 100 20.00 6 6,8,10,12,14,16

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��). • > ��q�� �%���& ���� ��)���G 

*�&���, '�#*)�'& f��( SC-SPR, '�<' �)" ��/#� f��(� � (��+�$G ')<+.

 

  

KIT HSK A-MAXIN
> ��q�� �%���& ��)���G *�&��� 

� %���&���'�# HSK � '�#*)�'& 

f��( �����(� ���#�&��

DC

LB
LBX

THID

LPR

BDBTED
DCONWS

DCONMS

LSCWS
ADJRGA

BD_2

.

A0.003A 58-60 HRc

G2.5 

HSK A50, 63= 25,000RPM
HSK A80, 100= 18,000RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD BD_2 LPR LBX LB ADJRGA LSCWS THID kg

HSK A50 HYDRO 6X80 50.00 6.00 23.00 26.00 42.00 80.00 54.0 35.00 10.00 37.0 M5 0.75

HSK A50 HYDRO 8X80 50.00 8.00 25.00 28.00 42.00 80.00 54.0 36.00 10.00 37.0 M6 0.77

HSK A50 HYDRO 10X85 50.00 10.00 27.00 30.00 42.00 85.00 59.0 41.00 10.00 42.0 M8x1 0.80

HSK A50 HYDRO 12X90 50.00 12.00 29.00 32.00 42.00 90.00 64.0 47.00 10.00 47.0 M10X1 0.80

HSK A50 HYDRO 14X90 50.00 14.00 30.00 34.00 42.00 90.00 64.0 49.00 10.00 47.0 M10X1 0.80

HSK A50 HYDRO 16X95 50.00 16.00 34.00 38.00 42.00 95.00 69.0 52.00 10.00 52.0 M12X1 0.96

HSK A50 HYDRO 18X95 50.00 16.00 36.00 40.00 42.00 95.00 69.0 52.00 10.00 52.0 M12X1 0.98

HSK A50 HYDRO 20X100 50.00 20.00 38.00 42.00 42.00 100.00 74.0 74.00 10.00 52.0 M10X1 1.08

HSK A63 HYDRO 6X80 63.00 6.00 23.00 26.00 50.00 80.00 54.0 33.00 10.00 37.0 M5 1.09

HSK A63 HYDRO 8X80 63.00 8.00 25.00 28.00 50.00 80.00 54.0 33.00 10.00 37.0 M6 1.10

HSK A63 HYDRO 10X85 63.00 10.00 27.00 30.00 50.00 85.00 59.0 39.00 10.00 42.0 M8x1 1.13

HSK A63 HYDRO 12X90 63.00 12.00 29.00 32.00 50.00 90.00 64.0 44.00 10.00 47.0 M10X1 1.18

HSK A63 HYDRO 14X90 63.00 14.00 30.00 34.00 50.00 90.00 64.0 46.00 10.00 47.0 M10X1 1.13

HSK A63 HYDRO 16X95 63.00 16.00 34.00 38.00 50.00 95.00 69.0 52.00 10.00 52.0 M12X1 1.28

HSK A63 HYDRO 18X95 63.00 18.00 36.00 40.00 50.00 95.00 69.0 52.00 10.00 52.0 M12X1 1.32

HSK A63 HYDRO 20X100 63.00 20.00 38.00 42.00 50.00 100.00 74.0 58.00 10.00 52.0 M16X1 1.32

HSK A63 HYDRO 25X120 63.00 25.00 46.00 50.00 50.00 120.00 94.0 94.00 10.00 58.0 M16X1 1.83

HSK A63 HYDRO 32X125 63.00 32.00 56.00 60.00 53.00 125.00 99.0 83.00 10.00 62.0 M16X1 2.32

HSK A80 HYDRO 6X85 80.00 6.00 23.00 26.00 50.00 85.00 59.0 37.00 10.00 37.0 M5 1.25

HSK A80 HYDRO 14X95 80.00 14.00 30.00 34.00 50.00 95.00 69.0 47.00 10.00 47.0 M10X1 2.40

HSK A80 HYDRO 16X100 80.00 16.00 34.00 38.00 56.00 100.00 74.0 52.00 10.00 52.0 M12X1 1.91

HSK A80 HYDRO 18X100 80.00 18.00 36.00 40.00 50.00 100.00 74.0 52.00 10.00 52.0 M12X1 1.92

HSK A80 HYDRO 20X105 80.00 20.00 38.00 42.00 50.00 105.00 79.0 52.00 10.00 52.0 M16X1 2.09

HSK A80 HYDRO 25X115 80.00 25.00 46.00 50.00 50.00 115.00 89.0 58.00 10.00 58.0 M16X1 2.35

HSK A80 HYDRO 32X120 80.00 32.00 56.00 60.00 50.00 120.00 94.0 62.00 10.00 62.0 M16X1 2.65

HSK A100 HYDRO 6X85 100.00 6.00 23.00 26.00 50.00 85.00 56.0 29.00 10.00 37.0 M5 2.57

HSK A100 HYDRO 8X85 100.00 8.00 25.00 28.00 50.00 85.00 56.0 29.00 10.00 37.0 M6 2.54

HSK A100 HYDRO 10X90 100.00 10.00 27.00 30.00 50.00 90.00 61.0 35.00 10.00 42.0 M8x1 2.55

HSK A100 HYDRO 12X95 100.00 12.00 29.00 32.00 50.00 95.00 66.0 40.00 10.00 47.0 M10X1 2.60

HSK A100 HYDRO 14X95 100.00 14.00 30.00 34.00 63.00 95.00 66.0 42.00 10.00 47.0 M10X1 2.81

HSK A100 HYDRO 16X100 100.00 16.00 34.00 38.00 50.00 100.00 71.0 47.00 10.00 52.0 M12X1 2.73

HSK A100 HYDRO 18X100 100.00 18.00 36.00 40.00 50.00 100.00 71.0 48.00 10.00 52.0 M12X1 2.76

HSK A100 HYDRO 20X105 100.00 20.00 38.00 42.00 63.00 105.00 76.0 54.00 10.00 52.0 M16X1 2.83

HSK A100 HYDRO 25X115 100.00 25.00 46.00 50.00 63.00 115.00 86.0 51.00 10.00 58.0 M16X1 3.47

HSK A100 HYDRO 32X120 100.00 32.00 56.00 60.00 63.00 120.00 91.0 59.00 10.00 62.0 M16X1 3.73

• 	�)� ��*�)@��<&�" *���%���$� f��(�, ���)�� ����#� ������&�" �� 25%. • !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� 

*������ �%)������" (��'��$���&�" �&��)@��). • ���&�*�$ *���%���$� f��(� � ���&�����#� ���#�&��#� 12, 20, 25 � 32 ## (��'��$��<&�" �&��)@��).  

• [���#��G ')<+ (')<+ HYDRO HEX 4) � '��&��)@��" �*���'� ��'��$��<&�" �&��)@��.

 

  

HSK A-HYDRO
;�����)�+��'�� *�&���$ 

� %���&���'�#� HSK 

DIN69893 c��#� A

1085 937



967

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

�'�'��&� �'���

�$�#�'�����

HSK A50 HYDRO 6X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 8X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 10X85 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 12X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 14X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 16X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 18X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 HYDRO 20X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 HYDRO 6X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 8X80 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 10X85 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 12X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 14X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 16X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 18X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 20X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 25X120 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 32X125 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A80 HYDRO 6X85 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 14X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 16X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 18X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 20X105 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 25X115 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A80 HYDRO 32X120 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4* COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A100 HYDRO 6X85 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 8X85 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 10X90 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 12X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 14X95 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 16X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 18X100 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 20X105 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 25X115 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 32X120 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

HSK A-HYDRO 



ISCAR968

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

  

LB

BD_2

THID

LPR
LBX

BDBTED
DCONWS

DCONMS

LSCWS
ADJRGA

.

A0.003A 58-60 HRc

G2.5 

HSK A50, 63= 25,000RPM
HSK A80, 100= 18,000RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD BD_2 LPR LBX LB ADJRGA LSCWS THID kg

HSK A63 HYDRO 6X150 63.00 6.00 23.00 26.00 50.00 150.00 124.0 103.00 10.00 37.0 M5 1.36

HSK A63 HYDRO 6X200 63.00 6.00 23.00 26.00 50.00 200.00 174.0 153.00 10.00 37.0 M5 1.57

HSK A63 HYDRO 8X150 63.00 8.00 25.00 28.00 50.00 150.00 124.0 104.00 10.00 37.0 M6 1.41

HSK A63 HYDRO 8X200 63.00 8.00 25.00 28.00 50.00 200.00 174.0 154.00 10.00 37.0 M6 1.68

HSK A63 HYDRO 10X150 63.00 10.00 27.00 30.00 50.00 150.00 124.0 104.00 10.00 42.0 M8x1 1.45

HSK A63 HYDRO 10X200 63.00 10.00 27.00 30.00 50.00 200.00 174.0 154.00 10.00 42.0 M8x1 1.74

HSK A63 HYDRO 12X150 63.00 12.00 29.00 32.00 50.00 150.00 124.0 105.00 10.00 47.0 M10X1 1.49

HSK A63 HYDRO 12X200 63.00 12.00 29.00 32.00 50.00 200.00 174.0 155.00 10.00 47.0 M10X1 1.83

HSK A63 HYDRO 14X150 63.00 14.00 30.00 34.00 50.00 150.00 124.0 105.00 10.00 47.0 M10X1 1.58

HSK A63 HYDRO 14X200 63.00 14.00 30.00 34.00 50.00 200.00 174.0 155.00 10.00 47.0 M10X1 1.95

HSK A63 HYDRO 16X150 63.00 16.00 34.00 38.00 50.00 150.00 124.0 106.50 10.00 52.0 M12X1 1.74

HSK A63 HYDRO 16X200 63.00 16.00 34.00 38.00 50.00 200.00 174.0 156.50 10.00 52.0 M12X1 2.17

HSK A63 HYDRO 18X150 63.00 18.00 36.00 40.00 50.00 150.00 124.0 107.00 10.00 52.0 M12X1 1.81

HSK A63 HYDRO 18X200 63.00 18.00 36.00 40.00 50.00 200.00 174.0 157.00 10.00 52.0 M12X1 2.30

HSK A63 HYDRO 20X150 63.00 20.00 38.00 42.00 50.00 150.00 124.0 108.00 10.00 52.0 M12X1 1.89

HSK A63 HYDRO 20X200 63.00 20.00 38.00 42.00 50.00 200.00 174.0 158.00 10.00 52.0 M12X1 2.44

HSK A63 HYDRO 25X150 63.00 25.00 46.00 50.00 50.00 150.00 124.0 - 10.00 58.0 M16X1 2.56

HSK A63 HYDRO 25X200 63.00 25.00 46.00 50.00 50.00 200.00 174.0 - 10.00 58.0 M16X1 3.05

HSK A100 HYDRO 6X150 100.00 6.00 23.00 26.00 50.00 150.00 121.0 100.00 10.00 37.0 M5 3.00

HSK A100 HYDRO 6X200 100.00 6.00 23.00 26.00 63.00 200.00 171.0 144.00 10.00 37.0 M5 3.29

HSK A100 HYDRO 8X150 100.00 8.00 25.00 28.00 63.00 150.00 121.0 94.50 10.00 37.0 M6 3.07

HSK A100 HYDRO 8X200 100.00 8.00 25.00 28.00 63.00 200.00 171.0 144.50 10.00 37.0 M6 3.29

HSK A100 HYDRO 10X150 100.00 10.00 27.00 30.00 63.00 150.00 121.0 95.00 10.00 42.0 M8x1 3.11

HSK A100 HYDRO 10X200 100.00 10.00 27.00 30.00 50.00 200.00 171.0 151.00 10.00 42.0 M8x1 3.27

HSK A100 HYDRO 12X150 100.00 12.00 29.00 32.00 63.00 150.00 121.0 95.50 10.00 47.0 M10X1 3.15

HSK A100 HYDRO 12X200 100.00 12.00 29.00 32.00 63.00 200.00 171.0 145.50 10.00 47.0 M10X1 3.46

HSK A100 HYDRO 14X150 100.00 14.00 30.00 34.00 50.00 150.00 121.0 97.00 10.00 47.0 M10X1 3.05

HSK A100 HYDRO 14X200 100.00 14.00 30.00 34.00 50.00 200.00 171.0 147.00 10.00 47.0 M10X1 3.56

HSK A100 HYDRO 16X150 100.00 16.00 38.00 38.00 63.00 150.00 121.0 97.50 10.00 52.0 M12X1 3.15

HSK A100 HYDRO 16X200 100.00 16.00 38.00 38.00 63.00 200.00 171.0 147.50 10.00 52.0 M12X1 3.73

HSK A100 HYDRO 18X150 100.00 18.00 36.00 40.00 50.00 150.00 121.0 107.00 10.00 52.0 M12X1 3.25

HSK A100 HYDRO 18X200 100.00 18.00 36.00 40.00 63.00 200.00 171.0 148.00 10.00 52.0 M12X1 3.86

HSK A100 HYDRO 20X150 100.00 20.00 38.00 42.00 63.00 150.00 121.0 99.00 10.00 52.0 M12X1 3.46

HSK A100 HYDRO 20X200 100.00 20.00 38.00 42.00 63.00 200.00 171.0 149.00 10.00 52.0 M12X1 4.01

HSK A100 HYDRO 25X150 100.00 25.00 46.00 50.00 50.00 150.00 121.0 - 10.00 58.0 M16X1 3.65

HSK A100 HYDRO 25X200 100.00 25.00 46.00 50.00 63.00 200.00 171.0 136.00 10.00 58.0 M16X1 4.67

HSK A100 HYDRO 32X200 100.00 32.00 56.00 60.00 60.00 200.00 171.0 - 10.00 62.0 M16X1 5.36

• 	�)� ��*�)@��<&�" *���%���$� f��(�, ���)�� ����#� ������&�" �� 25%. • !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� 

*������ �%)������" (��'��$���&�" �&��)@��). • ���&�*�$ *���%���$� f��(� � ���&�����#� ���#�&��#� 12, 20, 25 � 32 ## (��'��$��<&�" �&��)@��).  

• [���#��G ')<+ (')<+ HYDRO HEX 4) � '��&��)@��" �*���'� ��'��$��<&�" �&��)@��

 

  

HSK A-HYDRO (long)
;�����)�+��'�� *�&���$ 

� ���)�+���$# �$)�&�# 

� %���&���'�#� HSK 

DIN69893 c��#� A

1085 937



969

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

�'�'��&� �'���

�$�#�'�����

HSK A63 HYDRO 6X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 6X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 8X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 8X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 10X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 10X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 12X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 12X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 14X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 14X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 16X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 16X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 18X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 18X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 20X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 20X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 25X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 25X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 HYDRO 6X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 6X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 6* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 8X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 8X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 8* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 10X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 10X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 10* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 12X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 12X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 12* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 14X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 14X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 14* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 16X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 16X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 16* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 18X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 18X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 18* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 20X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 20X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 20* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 25X150 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 25X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 25* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 32X200 HYDRO CLAMP SCREW M8X14 TEST BAR HYDRO 32* WRENCH HYDRO HEX 4* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

HSK A-HYDRO (long) 

LB
LBX

THID

LPR

BDBTED
DCONWS

DCONMS

LSCWS
ADJRGA

BD_2

A0.003A 58-60 HRc

G2.5 

HSK A50, 63= 25,000RPM
HSK A80, 100= 18,000RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD_2 BD LPR LB ADJRGA LSCWS THID kg

HSK A63 HYDRO 12X80 HD 63.0 12.00 32.00 53.00 42.00 80.00 34.50 10.00 46.0 M8x1 0.00

HSK A63 HYDRO 16X80 HD 63.0 16.00 38.00 0.00 52.50 80.00 0.00 8.00 51.0 M8x1 1.45

HSK A63 HYDRO 20X80 HD 63.0 20.00 38.00 0.00 53.00 80.00 0.00 8.00 51.0 M8x1 0.00

HSK A100 HYDRO 20X90 HD 100.0 20.00 38.00 0.00 52.50 90.00 0.00 8.00 51.0 M8x1 1.92

HSK A100 HYDRO 32X100 HD 100.0 32.00 58.50 0.00 72.00 100.00 0.00 9.00 61.0 M8x1 0.00

 

�'�'��&� �'���

�$�#�'�����

HSK A63 HYDRO 12X80 HD COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 16X80 HD COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 HYDRO 20X80 HD COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 HYDRO 20X90 HD COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 HYDRO 32X100 HD COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-HYDRO HD
�'���+���$� 

(�����)�+��'�� *�&���$ 

�)" &"��)���(�������G 

�q��q�&'� � %���&���'�#� 

HSK c��#� ADB



ISCAR970

D
IN

 6
9

8
9

3
 H

S
K

 A
/E LPR

��� DCONWS≥ 25

LBX LB

BD_2 BDBD DCONWSDCONWS
DCONMS

.

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD BD_2 LPR LBX LB kg

HSK A50 EM8X65* 50.00 8.00 28.00 - 65.00 39.0 - 0.56

HSK A50 EM10X80* 50.00 10.00 35.00 - 80.00 54.0 - 1.25

HSK A50 EM16X80* 50.00 16.00 48.00 - 80.00 54.0 - 1.00

HSK A50 EM18X80* 50.00 18.00 50.00 - 80.00 54.0 - 1.00

HSK A50 EM20X80* 50.00 20.00 52.00 - 80.00 54.0 - 0.99

HSK A63 EM6X65 63.00 6.00 25.00 - 65.00 39.0 - 0.77

HSK A63 EM8X65 63.00 8.00 28.00 - 65.00 39.0 - 0.79

HSK A63 EM10X65 63.00 10.00 35.00 - 65.00 39.0 - 0.88

HSK A63 EM12X80 63.00 12.00 42.00 - 80.00 54.0 - 1.13

HSK A63 EM14X80 63.00 14.00 44.00 - 80.00 54.0 - 1.16

HSK A63 EM16X80 63.00 16.00 48.00 - 80.00 54.0 - 1.28

HSK A63 EM18X80 63.00 18.00 50.00 - 80.00 54.0 - 1.29

HSK A63 EM20X80 63.00 20.00 52.00 - 80.00 54.0 - 1.32

HSK A63 EM25X110 63.00 25.00 65.00 52.00 110.00 84.0 65.50 2.21

HSK A63 EM32X110 63.00 32.00 72.00 52.00 110.00 84.0 65.50 2.41

HSK A100 EM6X80 100.00 6.00 25.00 - 80.00 51.0 - 2.20

HSK A100 EM8X80 100.00 8.00 28.00 - 80.00 51.0 - 2.24

HSK A100 EM10X80 100.00 10.00 35.00 - 80.00 51.0 - 2.36

HSK A100EM 12X80 100.00 12.00 42.00 - 80.00 51.0 - 2.45

HSK A100EM 14X80 100.00 14.00 44.00 - 80.00 51.0 - 2.00

HSK A100EM 16X100 100.00 16.00 48.00 - 100.00 71.0 - 2.86

HSK A100 EM18X100 100.00 18.00 50.00 - 100.00 71.0 - 2.93

HSK A100 EM20X100 100.00 20.00 52.00 - 100.00 71.0 - 2.93

HSK A100 EM25X100 100.00 25.00 65.00 - 100.00 71.0 - 3.45

HSK A100 EM32X100 100.00 32.00 72.00 - 100.00 71.0 - 3.67

HSK A100 EM40X110 100.00 40.00 85.00 - 110.00 81.0 - 4.50

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

`	�'� ��. ��	.: GD-DH (12-13.5) (723)

�'�'��&� �'���

�$�#�'�����

HSK A50 EM8X65* SR M8X10 DIN1835-B WRENCH COOL TUBE HSK50* COOLING TUBE HSK A50*

HSK A50 EM10X80* SR M10X12 DIN1835-B WRENCH COOL TUBE HSK50* COOLING TUBE HSK A50*

HSK A50 EM16X80* SR M14X16 DIN1835-B WRENCH COOL TUBE HSK50* COOLING TUBE HSK A50*

HSK A50 EM18X80* SR M14X16 DIN1835-B WRENCH COOL TUBE HSK50* COOLING TUBE HSK A50*

HSK A50 EM20X80* SR M16X16 DIN1835-B WRENCH COOL TUBE HSK50* COOLING TUBE HSK A50*

HSK A63 EM6X65 SR M6X10 DIN1835B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM8X65 SR M8X10 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM10X65 SR M10X12 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM12X80 SR M12X16 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM14X80 SR M12X16 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM16X80 SR M14X16 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM18X80 SR M14X16 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM20X80 SR M16X16 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM25X110 SR M18X2X20 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A63 EM32X110 SR M20X2X20 DIN1835-B WRENCH COOL TUBE HSK63* COOLING TUBE HSK A63*

HSK A100 EM6X80 SR M6X10 DIN1835B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM8X80 SR M8X10 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM10X80 SR M10X12 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100EM 12X80 SR M12X16 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100EM 14X80 SR M12X16 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100EM 16X100 SR M14X16 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM18X100 SR M14X16 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM20X100 SR M16X16 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM25X100 SR M18X2X20 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM32X100 SR M20X2X20 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

HSK A100 EM40X110 SR M20X2X20 DIN1835-B WRENCH COOL TUBE HSK100* COOLING TUBE HSK A100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-EM  

(DIN 1835 \���' B)
!�&���$ DIN6359 � q�'��$# 

��'��*)����# �)" %���&���'��  

Weldon DIN 1835 c��#� B 

� %���&���'�#� HSK 

DIN69893 c��#� A



971

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

DCONMS

LBX
LPR

BD_2

LSCWSLSCWS
ADJRGAADJRGA

LB

2°2°

BDBD
DCONWSDCONWS

2°

THID THID

��� DCONWS ≥ 25

.

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD BD_2 LPR LBX LB ADJRGA LSCWS THID(1) W�+"(2) kg

HSK A50 EM6X80 E* 50.00 6.00 25.00 - 80.00 54.0 - 8.00 38.0 M5 2.50 0.80

HSK A50 EM10X80 E* 50.00 10.00 35.00 - 80.00 54.0 - 5.00 44.0 M8 4.00 0.08

HSK A50 EM12X90 E* 50.00 12.00 42.00 - 90.00 64.0 - 5.00 49.0 M10 5.00 0.80

HSK A50 EM14X90 E* 50.00 14.00 44.00 - 90.00 64.0 - 5.00 49.0 M10 5.00 1.01

HSK A50 EM16X90 E* 50.00 16.00 48.00 - 90.00 64.0 - 5.00 52.0 M12 6.00 0.08

HSK A50 EM18X100 E* 50.00 18.00 50.00 - 100.00 74.0 - 7.00 54.0 M16 6.00 1.33

HSK A63 EM6X80 E 63.00 6.00 25.00 - 80.00 54.0 - 8.00 40.0 M5 2.50 0.82

HSK A63 EM8X80 E 63.00 8.00 28.00 - 80.00 54.0 - 5.00 40.0 M6 3.00 0.86

HSK A63 EM10X80 E 63.00 10.00 35.00 - 80.00 54.0 - 5.00 44.0 M8 4.00 1.00

HSK A63 EM12X90 E 63.00 12.00 42.00 - 90.00 64.0 - 5.00 49.0 M10 5.00 1.23

HSK A63 EM14X90 E 63.00 14.00 44.00 - 90.00 64.0 - 5.00 49.0 M10 5.00 1.29

HSK A63 EM16X100 E 63.00 16.00 48.00 - 100.00 74.0 - 5.00 52.0 M12 6.00 1.51

HSK A63 EM18X100 E 63.00 18.00 50.00 - 100.00 74.0 - 8.00 55.0 M12 6.00 1.60

HSK A63 EM20X100 E 63.00 20.00 52.00 - 100.00 74.0 - 5.00 54.0 M16 8.00 1.65

HSK A63 EM25X110 E 63.00 25.00 65.00 52.80 110.00 84.0 65.50 7.00 61.0 M16 8.00 2.23

HSK A63 EM32X110 E 63.00 32.00 72.00 52.80 110.00 84.0 65.50 5.00 63.0 M20X1.5 10.00 2.43

HSK A100 EM8X90 E 100.00 8.00 28.00 - 90.00 61.0 - 5.00 40.0 M6 3.00 2.29

HSK A100 EM12X100 E 100.00 12.00 42.00 - 100.00 71.0 - 10.00 54.0 M10 5.00 2.74

HSK A100EM 14X100 E 100.00 14.00 44.00 - 100.00 71.0 - 10.00 54.0 M10 5.00 2.71

HSK A100EM 16X100 E 100.00 16.00 48.00 - 100.00 71.0 - 5.00 52.0 M12 6.00 2.88

HSK A100EM 18X100 E 100.00 18.00 50.00 - 100.00 71.0 - 5.00 52.0 M12 6.00 2.93

HSK A100 EM20X110 E 100.00 20.00 52.00 - 110.00 81.0 - 5.00 54.0 M16 8.00 3.10

HSK A100 EM25X120 E 100.00 25.00 65.00 - 120.00 91.0 - 7.00 61.0 M20X1.5 10.00 3.88

HSK A100 EM32X120 E 100.00 32.00 72.00 - 120.00 91.0 - 5.00 63.0 M20X1.5 10.00 4.32

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
(1) ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���.
(2) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

 

�'�'��&� �'���

�$�#�'�����

HSK A50 EM6X80 E* SR M6X10 DIN1835B PRESET M5X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 EM10X80 E* SR M10X12 DIN1835-B PRESET CAP M8X12B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 EM12X90 E* SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 EM14X90 E* SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 EM16X90 E* SR M14X16 DIN1835-B PRESET M12X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 EM18X100 E* SR M14X16 DIN1835-B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 EM6X80 E SR M6X10 DIN1835B PRESET M5X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM8X80 E SR M8X10 DIN1835-B PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM10X80 E SR M10X12 DIN1835-B PRESET CAP M8X12B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM12X90 E SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM14X90 E SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM16X100 E SR M14X16 DIN1835-B PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM18X100 E SR M14X16 DIN1835-B PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM20X100 E SR M16X16 DIN1835-B PRESET M16X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM25X110 E SR M18X2X20 DIN1835-B PRESET M16X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 EM32X110 E SR M20X2X20 DIN1835-B PRESET M20X20E COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 EM8X90 E SR M8X10 DIN1835-B PRESET M6X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 EM12X100 E SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100EM 14X100 E SR M12X16 DIN1835-B PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100EM 16X100 E SR M14X16 DIN1835-B PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100EM 18X100 E SR M14X16 DIN1835-B PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 EM20X110 E SR M16X16 DIN1835-B PRESET M16X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 EM25X120 E SR M18X2X20 DIN1835-B PRESET M20X20E COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 EM32X120 E SR M20X2X20 DIN1835-B PRESET M20X20E COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

 
HSK A-EM  

(DIN 1835 \���' E)
!�&���$ DIN6359 � q�'��$# 

��'��*)����# �)" %���&���'��  

Weldon DIN 1835 c��#� E, 

� %���&���'�#� HSK 

DIN69893 c��#� A

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR972

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

M6 4˚30’

DCONMS DCONWS BTED

ADJRGA

THID

BD

LB
LBX

LPR

LSCWS A0.003A 50-52 HRc

G2.5 
HSK 50,63=25,000 RPM
HSK 100=20,000 RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

HSK A50 SRKIN6X80 50.00 6.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M5 2.50 0.56

HSK A50 SRKIN8X80 50.00 8.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M6 3.00 0.57

HSK A50 SRKIN10X85 50.00 10.00 24.00 32.00 85.00 59.0 51.00 11.00 42.0 M8 4.00 0.64

HSK A50 SRKIN12X90 50.00 12.00 24.00 32.00 90.00 64.0 51.00 11.00 47.0 M10 5.00 0.65

HSK A50 SRKIN14X90 50.00 14.00 27.00 34.00 90.00 64.0 45.00 11.00 47.0 M10 5.00 0.70

HSK A50 SRKIN16X95 50.00 16.00 27.00 34.00 95.00 69.0 45.00 11.00 50.0 M10 5.00 0.71

HSK A63 SRKIN6X120 63.00 6.00 21.00 27.00 120.00 94.0 38.00 11.00 36.0 M5 2.50 1.00

HSK A63 SRKIN6X160 63.00 6.00 21.00 27.00 160.00 134.0 38.00 11.00 36.0 M5 2.50 1.19

HSK A63 SRKIN6X80 63.00 6.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M5 2.50 0.83

HSK A63 SRKIN8X120 63.00 8.00 21.00 27.00 120.00 94.0 38.00 11.00 36.0 M6 3.00 0.98

HSK A63 SRKIN8X160 63.00 8.00 21.00 27.00 160.00 134.0 38.00 11.00 36.0 M6 3.00 1.16

HSK A63 SRKIN8X80 63.00 8.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M6 3.00 0.88

HSK A63 SRKIN10X120 63.00 10.00 24.00 32.00 120.00 94.0 51.00 11.00 42.0 M8 4.00 1.09

HSK A63 SRKIN10X160 63.00 10.00 24.00 32.00 160.00 134.0 51.00 11.00 42.0 M8 4.00 1.36

HSK A63 SRKIN10X85 63.00 10.00 24.00 32.00 85.00 59.0 51.00 11.00 42.0 M8 4.00 0.89

HSK A63 SRKIN12X120 63.00 12.00 24.00 32.00 120.00 94.0 51.00 11.00 47.0 M10 5.00 1.00

HSK A63 SRKIN12X160 63.00 12.00 24.00 32.00 160.00 134.0 51.00 11.00 47.0 M10 5.00 1.33

HSK A63 SRKIN12X90 63.00 12.00 24.00 32.00 90.00 64.0 51.00 6.00 42.0 M8 4.00 0.91

HSK A63 SRKIN14X120 63.00 14.00 27.00 34.00 120.00 94.0 45.00 11.00 47.0 M10 5.00 1.15

HSK A63 SRKIN14X160 63.00 14.00 27.00 34.00 160.00 134.0 45.00 11.00 47.0 M10 5.00 1.44

HSK A63 SRKIN14X90 63.00 14.00 27.00 34.00 90.00 64.0 45.00 11.00 47.0 M10 5.00 0.94

HSK A63 SRKIN16X120 63.00 16.00 27.00 34.00 120.00 94.0 44.00 11.00 50.0 M12 6.00 1.11

HSK A63 SRKIN16X160 63.00 16.00 27.00 34.00 160.00 134.0 44.00 11.00 50.0 M12 6.00 1.41

HSK A63 SRKIN16X75 63.00 16.00 27.00 34.00 75.00 49.0 - 11.00 50.0 - - 0.85

HSK A63 SRKIN16X95 63.00 16.00 27.00 34.00 95.00 69.0 44.00 11.00 50.0 M12 6.00 0.96

HSK A63 SRKIN18X120 63.00 18.00 33.00 42.00 120.00 94.0 57.00 11.00 50.0 M12 6.00 3.14

HSK A63 SRKIN18X160 63.00 18.00 33.00 42.00 160.00 134.0 57.00 11.00 50.0 M12 6.00 1.82

HSK A63 SRKIN18X95 63.00 18.00 33.00 42.00 95.00 69.0 57.00 11.00 50.0 M12 6.00 1.14

HSK A63 SRKIN20X100 63.00 20.00 33.00 42.00 100.00 74.0 57.00 11.00 52.0 M16 8.00 1.11

HSK A63 SRKIN20X120 63.00 20.00 33.00 42.00 120.00 94.0 57.00 11.00 52.0 M16 8.00 1.33

HSK A63 SRKIN20X160 63.00 20.00 33.00 42.00 160.00 134.0 57.00 11.00 52.0 M16 8.00 1.77

HSK A63 SRKIN20X75 63.00 20.00 33.00 41.00 75.00 49.0 - 9.00 50.0 - - 0.93

HSK A63 SRKIN25X115 63.00 25.00 44.00 53.00 115.00 89.0 55.00 11.00 58.0 M16 8.00 1.70

HSK A63 SRKIN25X85 63.00 25.00 44.00 53.00 85.00 59.0 - 11.00 58.0 - - 1.27

HSK A63 SRKIN32X120 63.00 32.00 44.00 53.00 120.00 94.0 55.00 11.00 58.0 M16 8.00 1.68

HSK A63 SRKIN32X85 63.00 32.00 44.00 53.00 85.00 59.0 - 11.00 58.0 - - 1.11

HSK A100 SRKIN6X120 100.00 6.00 21.00 27.00 120.00 91.0 38.00 11.00 36.0 M5 2.50 2.32

HSK A100 SRKIN6X160 100.00 6.00 21.00 27.00 160.00 131.0 38.00 11.00 36.0 M6 3.00 2.54

HSK A100 SRKIN6X85 100.00 6.00 21.00 27.00 85.00 56.0 38.00 11.00 36.0 M5 2.50 2.18

HSK A100 SRKIN8X120 100.00 8.00 21.00 27.00 120.00 91.0 38.00 11.00 36.0 M6 3.00 2.36

HSK A100 SRKIN8X160 100.00 8.00 21.00 27.00 160.00 131.0 38.00 11.00 36.0 M6 3.00 2.55

HSK A100 SRKIN8X85 100.00 8.00 21.00 27.00 85.00 56.0 38.00 11.00 36.0 M6 3.00 2.16

HSK A100 SRKIN10X120 100.00 10.00 24.00 32.00 120.00 91.0 51.00 11.00 42.0 M8 4.00 2.43

HSK A100 SRKIN10X160 100.00 10.00 24.00 32.00 160.00 131.0 51.00 11.00 42.0 M8 4.00 2.71

HSK A100 SRKIN10X90 100.00 10.00 24.00 32.00 90.00 61.0 51.00 11.00 42.0 M8 4.00 2.24

HSK A100 SRKIN12X120 100.00 12.00 24.00 32.00 120.00 91.0 51.00 11.00 47.0 M10 5.00 2.47

HSK A100 SRKIN12X160 100.00 12.00 24.00 32.00 160.00 131.0 51.00 11.00 47.0 M10 5.00 2.70

HSK A100 SRKIN12X95 100.00 12.00 24.00 32.00 95.00 66.0 51.00 11.00 47.0 M10 5.00 2.28

HSK A100 SRKIN14X120 100.00 14.00 27.00 34.00 120.00 91.0 45.00 11.00 47.0 M10 5.00 2.51

HSK A100 SRKIN14X160 100.00 14.00 27.00 34.00 160.00 131.0 45.00 11.00 47.0 M10 5.00 2.79

HSK A100 SRKIN14X95 100.00 14.00 27.00 34.00 95.00 66.0 45.00 11.00 47.0 M10 5.00 2.27

HSK A100 SRKIN16X100 100.00 16.00 27.00 34.00 100.00 71.0 45.00 11.00 50.0 M12 6.00 2.35

HSK A100 SRKIN16X120 100.00 16.00 27.00 34.00 120.00 91.0 45.00 11.00 50.0 M12 6.00 2.50

HSK A100 SRKIN16X160 100.00 16.00 27.00 34.00 160.00 131.0 45.00 11.00 50.0 M12 6.00 2.74

HSK A100 SRKIN18X100 100.00 18.00 33.00 42.00 100.00 71.0 57.00 11.00 50.0 M12 6.00 2.50

HSK A100 SRKIN18X160 100.00 18.00 33.00 42.00 160.00 131.0 57.00 11.00 50.0 M12 6.00 3.14

HSK A100 SRKIN20X105 100.00 20.00 33.00 42.00 105.00 76.0 57.00 11.00 52.0 M16 8.00 2.50

HSK A100 SRKIN20X120 100.00 20.00 33.00 42.00 120.00 91.0 57.00 11.00 52.0 M16 8.00 1.20

HSK A100 SRKIN20X160 100.00 20.00 33.00 42.00 160.00 131.0 57.00 11.00 52.0 M16 8.00 3.21

HSK A100 SRKIN25X115 100.00 25.00 44.00 53.00 115.00 86.0 57.00 11.00 58.0 M16 8.00 3.04

HSK A100 SRKIN32X120 100.00 32.00 44.00 53.00 120.00 91.0 57.00 11.00 58.0 M16 8.00 2.99

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.
(1) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

  

HSK A-SRKIN
:��(��$� *�&���$ 

� &��#�����#�# 

� %���&���'�#� HSK 

DIN69893 c��#� A

1076-1077 1070-1072



973

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

�'�'��&� �'���

�$�#�'�����

HSK A50 SRKIN6X80 PRESET M5X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 SRKIN8X80 PRESET M6X20B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 SRKIN10X85 PRESET M8X20B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 SRKIN12X90 PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 SRKIN14X90 PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A50 SRKIN16X95 PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 SRKIN6X120 PRESET M5X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN6X160 PRESET M5X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN6X80 PRESET M5X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN8X120 PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN8X160 PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN8X80 PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN10X120 PRESET M8X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN10X160 PRESET M8X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN10X85 PRESET M8X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN12X120 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN12X160 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN12X90 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN14X120 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN14X160 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN14X90 PRESET M10X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN16X120 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN16X160 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN16X75 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN16X95 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN18X120 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN18X160 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN18X95 PRESET M12X18B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN20X100 PRESET M16X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN20X120 PRESET M16X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN20X160 PRESET M16X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN25X115 PRESET M16X25B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN25X85 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN32X120 PRESET M16X25B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRKIN32X85 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 SRKIN6X120 PRESET M5X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN6X160 PRESET M5X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN6X85 PRESET M5X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN8X120 PRESET M6X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN8X160 PRESET M6X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN8X85 PRESET M6X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN10X120 PRESET M8X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN10X160 PRESET M8X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN10X90 PRESET M8X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN12X120 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN12X160 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN12X95 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN14X120 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN14X160 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN14X95 PRESET M10X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN16X100 PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN16X120 PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN16X160 PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN18X100 PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN18X160 PRESET M12X18B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN20X105 PRESET M16X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN20X120 PRESET M16X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN20X160 PRESET M16X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN25X115 PRESET M16X20B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SRKIN32X120 PRESET M16X25B COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

HSK A-SRKIN 



ISCAR974

D
IN

 6
9

8
9

3
 H

S
K

 A
/E M6

ADJRGA LSCWS

BDBTEDDCONWS
4.5°

DCONMS

LB
LBX

THID

LPR

A0.003A 50-52 HRc

G2.5 
HSK 50,63=25,000 RPM
HSK 100=20,000 RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

HSK A63 SRKIN6X80 CX 63.00 6.00 21.00 27.00 80.00 54.00 38.10 9.50 34.0 M5 2.50 0.83

HSK A63 SRKIN6X120 CX 63.00 6.00 21.00 27.00 120.00 94.00 38.10 9.50 34.0 M5 2.50 1.00

HSK A63 SRKIN8X80 CX 63.00 8.00 21.00 27.00 80.00 54.00 38.10 9.50 34.0 M6 3.00 0.85

HSK A63 SRKIN8X120 CX 63.00 8.00 21.00 27.00 120.00 94.00 38.10 9.50 34.0 M6 3.00 1.05

HSK A63 SRKIN10X85 CX 63.00 10.00 24.00 32.00 85.00 59.00 50.80 9.30 39.8 M8 4.00 0.87

HSK A63 SRKIN10X120 CX 63.00 10.00 24.00 32.00 120.00 94.00 50.80 9.30 39.8 M8 4.00 1.07

HSK A63 SRKIN12X90 CX 63.00 12.00 24.00 32.00 90.00 64.00 50.80 9.30 44.8 M10 5.00 0.90

HSK A63 SRKIN12X120 CX 63.00 12.00 24.00 32.00 120.00 94.00 50.80 9.30 44.8 M10 5.00 1.15

HSK A63 SRKIN14X90 CX 63.00 14.00 27.00 34.00 90.00 64.00 44.50 9.30 44.8 M10 5.00 1.02

HSK A63 SRKIN16X75 CX 63.00 16.00 27.00 34.00 75.00 49.00 44.50 7.50 46.0 M5 2.50 0.82

HSK A63 SRKIN16X95 CX 63.00 16.00 27.00 34.00 95.00 69.00 44.50 9.30 47.8 M12 6.00 1.00

HSK A63 SRKIN16X120 CX 63.00 16.00 27.00 34.00 120.00 94.00 44.50 9.30 47.8 M12 6.00 1.20

HSK A63 SRKIN18X95 CX 63.00 18.00 33.00 42.00 95.00 69.00 57.20 9.30 47.8 M12 6.00 1.20

HSK A63 SRKIN20X75 CX 63.00 20.00 33.00 41.00 75.00 49.00 - 5.50 46.0 M5 2.50 0.92

HSK A63 SRKIN20X100 CX 63.00 20.00 33.00 42.00 100.00 74.00 57.20 8.50 49.0 M16 8.00 1.18

HSK A63 SRKIN20X120 CX 63.00 20.00 33.00 42.00 120.00 94.00 57.20 8.50 49.0 M16 8.00 1.38

HSK A63 SRKIN25X85 CX 63.00 25.00 44.00 52.20 85.00 59.00 52.10 9.50 56.0 M5 2.50 1.26

HSK A63 SRKIN32X85 CX 63.00 32.00 44.00 52.20 85.00 59.00 52.10 9.50 56.0 M5 2.50 1.11

HSK A100 SRKIN6X85 CX 100.00 6.00 21.00 27.00 85.00 56.00 38.10 9.50 34.0 M5 2.50 2.21

HSK A100 SRKIN8X85 CX 100.00 8.00 21.00 27.00 85.00 56.00 38.10 9.50 34.0 M6 3.00 2.21

HSK A100 SRKIN10X90 CX 100.00 10.00 24.00 32.00 90.00 61.00 50.80 9.30 39.8 M8 4.00 2.29

HSK A100 SRKIN12X95 CX 100.00 12.00 24.00 32.00 95.00 66.00 50.80 9.30 44.8 M10 5.00 2.30

HSK A100 SRKIN14X95 CX 100.00 14.00 27.00 34.00 95.00 66.00 44.50 9.30 44.8 M10 5.00 2.36

HSK A100 SRKIN16X100 CX 100.00 16.00 27.00 34.00 100.00 71.00 44.50 9.30 47.8 M12 6.00 2.37

HSK A100 SRKIN18X100 CX 100.00 18.00 33.00 42.00 100.00 71.00 57.20 9.30 47.8 M12 6.00 2.53

HSK A100 SRKIN20X105 CX 100.00 20.00 33.00 42.00 105.00 76.00 57.20 8.50 49.0 M16 8.00 2.57

HSK A100 SRKIN25X115 CX 100.00 25.00 44.00 53.00 115.00 86.00 57.20 9.50 56.0 M16 8.00 3.07

HSK A100 SRKIN32X120 CX 100.00 32.00 44.00 53.00 120.00 91.00 57.20 8.50 59.0 M16 8.00 2.98

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��). • �)" �*����' SRKIN ��*�)@����&@ 

&�)@'� ��&��G�&�� ����'f�����(� ��(����. • >��& �\ *����)"�& ���=��&�)"&@ *����� �%)����<=�G ���'��&� +���� JET-'���)$ - �� ���#�G&� �(�.
(1) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

 

�'�'��&� �'���

�$�#�'�����

HSK A63 SRKIN6X80 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X13

HSK A63 SRKIN6X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X13

HSK A63 SRKIN8X80 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M6X12

HSK A63 SRKIN8X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M6X12

HSK A63 SRKIN10X85 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M8X16

HSK A63 SRKIN10X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M8X16

HSK A63 SRKIN12X90 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M10X16

HSK A63 SRKIN12X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M10X16

HSK A63 SRKIN14X90 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M10X16

HSK A63 SRKIN16X75 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X5

HSK A63 SRKIN16X95 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M12X16

HSK A63 SRKIN16X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M12X16

HSK A63 SRKIN18X95 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M12X16

HSK A63 SRKIN20X75 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X5

HSK A63 SRKIN20X100 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M16X14

HSK A63 SRKIN20X120 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M16X14

HSK A63 SRKIN25X85 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X5

HSK A63 SRKIN32X85 CX COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* PRESET CX M5X5

HSK A100 SRKIN6X85 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M5X13

HSK A100 SRKIN8X85 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M6X12

HSK A100 SRKIN10X90 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M8X16

HSK A100 SRKIN12X95 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M10X16

HSK A100 SRKIN14X95 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M10X16

HSK A100 SRKIN16X100 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M12X16

HSK A100 SRKIN18X100 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M12X16

HSK A100 SRKIN20X105 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M16X14

HSK A100 SRKIN25X115 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M16X14

HSK A100 SRKIN32X120 CX COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* PRESET CX M16X14

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

  

HSK A-SRKIN-CX
���#�*�&���$ � %���&���'�# 

HSK DIN69893 c��#� A 

� '���)�#� *���+� ��� 

���)@ %���&���'�



975

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

4°30’
BD

M6

LB
LBX

THID

LPR

LSCWSADJRGA

DCONMS

DCONWS

BTED

A0.003A 50-52 HRc

G2.5 

33,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

HSK FM63 SRKIN6X80 63.00 6.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M5 2.50 0.83

HSK FM63 SRKIN8X80 63.00 8.00 21.00 27.00 80.00 54.0 38.00 11.00 36.0 M6 3.00 0.88

HSK FM63 SRKIN12X90 63.00 12.00 24.00 32.00 90.00 64.0 50.50 11.00 47.0 M10 5.00 0.91

HSK FM63 SRKIN14X90 63.00 14.00 27.00 34.00 90.00 64.0 44.50 11.00 47.0 M10 5.00 0.96

HSK FM63 SRKIN18X95 63.00 18.00 33.00 42.00 95.00 69.0 57.00 11.00 50.0 M12 6.00 1.13

HSK FM63 SRKIN20X100 63.00 20.00 33.00 42.00 100.00 74.0 57.00 11.00 52.0 M16 8.00 1.14

HSK FM63 SRKIN32X120 63.00 32.00 44.00 52.70 120.00 94.0 55.00 11.00 58.0 M16 8.00 1.67

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��). • �)" ���&��#��&�� �� &�/���(� 

�*)���, �&�)� � q$�&������=�G �&�)� • �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����. • ��"&�� *��&����'�)@�"=�% ?&�c&�� 

*������& *�&��� � *�)��� ���&��&�&��� �� �&�����&�$# &�*�# HSK F63 • ISCAR �� #���& (����&�����&@ ���+���� ���q�)���� #���� +�# 1 (� x ##
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

HSK FM63 SRKIN6X80 PRESET M5X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN8X80 PRESET M6X20B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN12X90 PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN14X90 PRESET M10X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN18X95 PRESET M12X18B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN20X100 PRESET M16X20B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK FM63 SRKIN32X120 PRESET M16X25B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK FM-SRKIN
!�&���$ � &��#�����#�#, 

� %���&���'�#� HSK DIN69893 

FM � ���#" ?&�c&�#�, 

�)" �&��'�� MAKINO 

#���)� MAG ����� A

1076-1077 1070-1072



ISCAR976

D
IN

 6
9

8
9

3
 H

S
K

 A
/E 4˚

DCONWS

LSCWSADJRGA

BTED

BD THID
LB

LBX
LPR

DCONMS

A0.003A 50-52 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

HSK E32 SRK3X45 32.00 3.00 10.00 13.00 65.00 45.0 30.00 6.00 16.0 M4 2.00 0.17

HSK E32 SRK4X45 32.00 4.00 10.00 15.00 65.00 45.0 35.00 6.00 18.0 M5 2.00 0.17

HSK E32 SRK5X45 32.00 5.00 10.00 15.00 65.00 45.0 35.00 10.00 25.0 M4 2.00 0.17

HSK E32 SRK6X45 32.00 6.00 11.00 16.00 65.00 45.0 35.00 10.00 28.0 M4 2.00 0.17

HSK E32 SRK8X45 * 32.00 8.00 14.00 20.00 65.00 45.0 42.00 10.00 35.0 M4 2.00 0.19

HSK E32 SRK10X45 32.00 10.00 16.00 22.00 65.00 45.0 42.00 10.00 40.0 M4 2.00 0.20

HSK E32 SRK12X45 32.00 12.00 20.00 25.00 65.00 45.0 35.60 8.00 40.0 M4 2.00 0.23

HSK E40 SRK3X45 40.00 3.00 10.00 13.00 65.00 45.0 30.00 6.00 16.0 M5 2.50 0.24

HSK E40 SRK3X80 40.00 3.00 10.00 19.00 100.00 80.0 64.00 6.00 16.0 M5 2.50 0.30

HSK E40 SRK4X45 40.00 4.00 10.00 15.00 65.00 45.0 35.00 6.00 18.0 M5 2.50 0.24

HSK E40 SRK4X80 40.00 4.00 10.00 19.00 100.00 80.0 64.00 6.00 18.0 M5 2.50 0.31

HSK E40 SRK5X45 40.00 5.00 10.00 15.00 65.00 45.0 35.00 10.00 25.0 M4 2.00 0.24

HSK E40 SRK5X80 40.00 5.00 10.00 19.00 100.00 80.0 64.00 10.00 25.0 M4 2.00 0.32

HSK E40 SRK6X45 40.00 6.00 11.00 16.00 65.00 45.0 35.00 10.00 28.0 M5 2.50 0.23

HSK E40 SRK6X80 40.00 6.00 11.00 20.00 100.00 80.0 64.00 10.00 28.0 M5 2.50 0.32

HSK E40 SRK8X45 40.00 8.00 14.00 20.00 65.00 45.0 42.00 10.00 35.0 M5 2.50 0.27

HSK E40 SRK10X45 40.00 10.00 16.00 22.00 65.00 45.0 42.00 10.00 40.0 M5 2.50 0.27

HSK E40 SRK10X80 40.00 10.00 16.00 24.50 100.00 80.0 60.00 10.00 40.0 M8 4.00 0.39

HSK E40 SRK12X45 40.00 12.00 20.00 26.00 65.00 45.0 42.00 10.00 42.0 M5 2.50 0.32

HSK E40 SRK12X80 40.00 12.00 20.00 28.00 100.00 80.0 56.00 10.00 42.0 M10 5.00 0.46

HSK E50 SRK3X45 50.00 3.00 10.00 15.00 71.00 45.0 36.00 6.00 16.0 M5 2.50 0.45

HSK E50 SRK3X80 50.00 3.00 10.00 19.00 106.00 80.0 64.00 6.00 16.0 M5 2.50 0.51

HSK E50 SRK4X45 50.00 4.00 10.00 15.00 71.00 45.0 36.00 6.00 18.0 M5 2.50 0.49

HSK E50 SRK4X80 50.00 4.00 10.00 19.00 106.00 80.0 64.00 6.00 18.0 M5 2.50 0.50

HSK E50 SRK5X80 50.00 5.00 10.00 19.00 106.00 80.0 64.00 10.00 25.0 M6 3.00 0.51

HSK E50 SRK6X45 50.00 6.00 11.00 16.00 71.00 45.0 36.00 10.00 28.0 M5 2.50 0.45

HSK E50 SRK6X80 50.00 6.00 11.00 20.00 106.00 80.0 64.00 10.00 28.0 M5 2.50 0.51

HSK E50 SRK8X 45 50.00 8.00 14.00 20.00 71.00 45.0 43.00 10.00 35.0 M6 3.00 0.47

HSK E50 SRK8X 80 50.00 8.00 14.00 23.00 106.00 80.0 64.00 10.00 35.0 M6 3.00 0.56

HSK E50 SRK10X45 50.00 10.00 16.00 22.00 71.00 45.0 42.00 10.00 40.0 M6 3.00 0.48

HSK E50 SRK10X80 50.00 10.00 16.00 24.50 106.00 80.0 60.00 10.00 40.0 M8 4.00 0.60

HSK E50 SRK12X45 50.00 12.00 20.00 26.00 71.00 45.0 42.00 10.00 42.0 M6 3.00 0.50

HSK E50 SRK12X80 50.00 12.00 20.00 28.00 106.00 80.0 57.00 10.00 42.0 M10 5.00 0.60

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• ��*�)@����&@ &�)@'� �)" &������*)����(� ���&��#��&�.
(1) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

 

  

HSK E-SRK
!�&���$ � &��#�����#�# 

� %���&���'�#� HSK 

DIN69893 c��#� E, 

&�)@'� �)" ���&��#��&�� 

�� &�/���(� �*)���

1076-1077 1070-1072



977

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

HSK E-SRK 

�'�'��&� �'���

�$�#�'�����

HSK E32 SRK3X45 SR M4X10 DIN913 COOLING TUBE HSK A32* WRENCH COOL TUBE HSK32*

HSK E32 SRK4X45 SR M5X20 DIN913 COOLING TUBE HSK A32* WRENCH COOL TUBE HSK32*

HSK E32 SRK6X45 SR M4X20 DIN916 COOLING TUBE HSK A32* WRENCH COOL TUBE HSK32*

HSK E32 SRK10X45 SR M4X20 DIN916 COOLING TUBE HSK A32* WRENCH COOL TUBE HSK32*

HSK E40 SRK3X45 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK3X80 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK4X45 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK4X80 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK5X45 SR M4X20 DIN916 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK5X80 SR M4X20 DIN916 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK6X45 SR M5X20 DIN913 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK6X80 SR M5X20 DIN913 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK8X45 SR M5X20 DIN913 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK10X45 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK10X80 SR M8X20 DIN913 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK12X45 SR M5X10 DIN913DE COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SRK12X80 SR M10X18 DIN913 COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E50 SRK3X45 SR M5X10 DIN913DE COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK3X80 SR M5X10 DIN913DE COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK4X45 SR M5X10 DIN913DE COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK4X80 SR M5X10 DIN913DE COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK5X80 SR M6X10 DIN916 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK6X45 SR M5X20 DIN913 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK6X80 SR M5X20 DIN913 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK8X 45 SR M6X10 DIN916 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK8X 80 PRESET M6X20B COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK10X45 SR M6X10 DIN916 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK10X80 SR M8X20 DIN913 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK12X45 SR M6X10 DIN916 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E50 SRK12X80 SR M10X18 DIN913 COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*



ISCAR978

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

4˚

DCONWS
DCONMS

ADJRGABD

THID

BTED

LB
LBX

LPR

LSCWS A0.003A 50-52 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

HSK A63 SRK 3X50 63.00 3.00 10.00 17.00 76.00 50.0 - 6.00 16.0 M6 3.00 0.68

HSK A63 SRK 3X85 63.00 3.00 10.00 21.00 111.00 85.0 79.00 6.00 16.0 M6 3.00 0.74

HSK A63 SRK 4X50 63.00 4.00 10.00 17.00 76.00 50.0 - 6.00 18.0 M6 3.00 0.68

HSK A63 SRK 4X85 63.00 4.00 10.00 21.00 111.00 85.0 79.00 6.00 18.0 M6 3.00 0.73

HSK A63 SRK 5X50 63.00 5.00 10.00 17.00 76.00 50.0 - 6.00 21.0 M6 3.00 0.68

HSK A63 SRK 5X85 63.00 5.00 10.00 21.00 111.00 85.0 79.00 6.00 21.0 M6 3.00 0.76

HSK A63 SRK 6X50 63.00 6.00 11.00 18.00 76.00 50.0 - 6.00 24.0 M8 4.00 0.67

HSK A63 SRK 6X85 63.00 6.00 11.00 22.00 111.00 85.0 79.00 6.00 24.0 M8 4.00 0.74

HSK A63 SRK 8X50 63.00 8.00 14.00 20.00 76.00 50.0 43.00 11.00 36.0 M6 3.00 0.71

HSK A63 SRK 8X85 63.00 8.00 14.00 23.00 111.00 85.0 64.00 11.00 36.0 M6 3.00 0.80

HSK A63 SRK 10X50 63.00 10.00 16.00 23.00 76.00 50.0 - 11.00 41.0 M8 4.00 0.72

HSK A63 SRK 10X85 63.00 10.00 16.00 26.00 111.00 85.0 72.00 11.00 41.0 M8 4.00 0.82

HSK A63 SRK 12X50 63.00 12.00 20.00 27.00 76.00 50.0 - 11.00 43.0 M8 4.00 0.75

HSK A63 SRK 12X85 63.00 12.00 20.00 30.00 111.00 85.0 72.00 11.00 43.0 M8 4.00 0.92

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• ��*�)@����&@ &�)@'� �)" &������*)����(� ���&��#��&�.
(1) �)<+ �)" ��(�)�����+��(� ���&�.

 

�'�'��&� �'���

�$�#�'�����

HSK A63 SRK 3X50 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 3X85 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 4X50 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 4X85 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 5X50 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 5X85 SR M6X10 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 6X50 SR M8X12 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 6X85 SR M8X12 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 8X50 PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 8X85 PRESET M6X20B COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 10X50 SR M8X12 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 10X85 SR M8X20 DIN913 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 12X50 SR M8X12 DIN916 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SRK 12X85 SR M8X20 DIN913 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-SRK
!�&���$ � &��#�����#�# 

� %���&���'�#� HSK 

DIN69893 c��#� A, 

&�)@'� �)" ���&��#��&�� 

�� &�/���(� �*)���

1076-1077 1070-1072



979

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

LF

DCONWS

LSCWS

BD

LB

DCONMS

A0.005A 58-60 HRc

G2.5 

15,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BD LF LB LSCWS kg

HSK E40 SEM 16X50 40.00 16.00 38.00 50.00 30.0 17.00 0.45

HSK E40 SEM 22X50 40.00 22.00 47.00 50.00 30.0 19.00 0.54

HSK E50 SEM 22X60 50.00 22.00 47.00 60.00 34.0 19.00 0.85

HSK E63 SEM 16X50 63.00 16.00 38.00 50.00 24.0 17.00 0.90

HSK E63 SEM 22X50 63.00 22.00 47.00 50.00 24.0 19.00 1.03

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).
 

�'�'��&� �'���

�$�#�'�����

HSK E40 SEM 16X50 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E40 SEM 22X50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A40* WRENCH COOL TUBE HSK40*

HSK E50 SEM 22X60 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK E63 SEM 16X50 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK E63 SEM 22X50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK E-SEM
!�&���$ �)" ������$% c��� 

ISO 3937 � %���&���'�#� 

HSK E DIN69893 c��#� E

DCONMS BDDCONWS

LB LSCWS

LF
.

A0.005A 58-60 HRc

G2.5 

G6.3 

HSK 40,50,63=15,000RPM

HSK 100=12,000 RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS BD LF LSCWS LB kg

HSK A50 SEM16X50* 50.00 16.00 38.00 50.00 17.00 24.0 0.60

HSK A50 SEM22X60* 50.00 22.00 47.00 60.00 19.00 34.0 0.80

HSK A50 SEM27X60* 50.00 27.00 58.00 60.00 21.00 34.0 0.96

HSK A63 SEM16X50 63.00 16.00 38.00 50.00 17.00 24.0 0.86

HSK A63 SEM22X50 63.00 22.00 47.00 50.00 19.00 24.0 0.60

HSK A63 SEM27X60 63.00 27.00 58.00 60.00 21.00 34.0 1.30

HSK A63 SEM32X60 63.00 32.00 66.00 60.00 24.00 34.0 1.41

HSK A63 SEM40X60 63.00 40.00 82.00 60.00 27.00 24.0 1.76

HSK A100 SEM22X50 100.00 22.00 47.00 50.00 19.00 21.0 2.30

HSK A100 SEM27X50 100.00 27.00 58.00 50.00 21.00 21.0 2.48

HSK A100 SEM32X50 100.00 32.00 66.00 50.00 24.00 21.0 2.63

HSK A100 SEM40X60 100.00 40.00 82.00 60.00 27.00 31.0 3.37

HSK A100 SEM50X70 100.00 50.00 81.00 70.00 30.00 41.0 4.29

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

�'�'��&� �'���

�$�#�'�����

HSK A50 SEM16X50* M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50* DR.DOG 8S SR M3X10 DIN912

HSK A50 SEM22X60* M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50* SR M4X10 DIN912

HSK A50 SEM27X60* M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50* DR.DOG 12S

HSK A63 SEM16X50 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* DR.DOG 8S SR M3X10 DIN912

HSK A63 SEM22X50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* DR.DOG 10S SR M4X10 DIN912

HSK A63 SEM27X60 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* DR.DOG 12S SR M5X14 DIN912

HSK A63 SEM32X60 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* DR.DOG 14X13S SR M5X14 DIN912

HSK A63 SEM40X60 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* DR.DOG 16X18S SR M6X20 DIN912

HSK A100 SEM22X50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* DR.DOG 10S SR M4X10 DIN912

HSK A100 SEM27X50 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* DR.DOG 12S SR M5X14 DIN912

HSK A100 SEM32X50 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* DR.DOG 14X13S SR M5X14 DIN912

HSK A100 SEM40X60 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* DR.DOG 16X18S SR M6X20 DIN912

HSK A100 SEM50X70 M24 CLAMP SCREW SEM50 SR M6X16 DIN912

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-SEM
!�&���$ �)" ������$% c��� 

ISO 3937 � %���&���'�#� 

HSK DIN69893 c��#� A



ISCAR980

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

 

 

DCONMS

THIDDBC

DCONWS BD

LSCWS
LF

.

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD LF LSCWS DBC THID kg

HSK A100 FM60X70 100.00 60.00 128.00 70.00 40.00 101.60 M16 5.77

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• !���c���G�$� ����#�$� ���&$ �� *��&��)"<&�".

 

�'�'��&� �'���

�$�#�'�����

HSK A-FM DR. DOG 1E SR DIN 912 M12X25

 
HSK A-FM
!�&���$ �)" ������$% c��� 

DIN 6353 � %���&���'�#� 

HSK DIN69893 c��#� A

M6

BD

LB
LF

LSCWS

DCONMS DCONWS

A0.005A 58-60 HRc

G2.5 

33,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS LF BD LSCWS LB kg

HSK FM63 SEM 22X60 63.00 22.00 60.00 47.00 19.00 34.0 1.13

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��). • ��"&�� ?&�c&�� *������& *�&��� 

� *�)��� ���&��&�&��� �� �&�����&�$# &�*�# HSK F63.

�'�'��&� �'���

�$�#�'�����

HSK FM63 SEM 22X60 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK FM-SEM
!�&���$ �)" ������$% c��� 

� %���&���'�#� HSK DIN69893 

FM � ���#" ?&�c&�#�, 

�)" �&��'�� MAKINO 

#���)� MAG ����� A

1102



981

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

DCONWSDCONMS

LPR
LB

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS LPR LB kg

C4 AD HSK A63WHX080 63.00 40.00 80.00 54.00 1.10

C5 AD HSK A63WHX90 63.00 50.00 90.00 64.00 1.44

C5 AD HSK A100WHX100 100.00 50.00 100.00 71.00 2.90

C6 AD HSK A100WHX110 100.00 63.00 110.00 81.00 3.61

C8 AD HSK A100WHX120 100.00 80.00 120.00 91.00 4.79

C8 AD HSK A125WHX130 125.00 80.00 130.00 101.00 6.50

• �	���"����: �)" &�(�, +&�q$ ��c�'������&@ ��&����)����#�< ��&�)@, ���+�)� ����� ��"&@ &��q'� �%)������"

�'�'��&� �'���

�$�#�'�����

C4 AD HSK A63WHX080 SR M14X58 C4 HW 8.0* MT RING M22X17XC4 COOLING TUBE HSK A63 C5 WRENCH COOL TUBE HSK63* WRENCH C4 DRW NUT*

C5 AD HSK A63WHX90 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE HSK A63 C5 WRENCH COOL TUBE HSK63* WRENCH C5 DRW NUT*

C5 AD HSK A100WHX100 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE HSK A100C6/8 WRENCH COOL TUBE HSK100* WRENCH C5 DRW NUT*

C6 AD HSK A100WHX110 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE HSK A100C6/8 WRENCH COOL TUBE HSK100* WRENCH C6-8 DRW NUT*

C8 AD HSK A100WHX120 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE HSK A100C6/8 WRENCH COOL TUBE HSK100* WRENCH C6-8 DRW NUT*

C8 AD HSK A125WHX130 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE HSK A125C8 WRENCH COOL TUBE HSK125* WRENCH C6-8 DRW NUT*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK-C#
!�&���$ CAMFIX (ISO 26623-1)  

� %���&���'�#� HSK DIN 69893 

c��#� A

DCONMS

LF
LB

DCONWS BD

LSCWS

LSCWS_2

A0.005A 58-60 HRc

G2.5 

15,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BD LF LB LSCWS LSCWS_2 kg

HSK A50 SEMC16X50* 50.00 16.00 32.00 50.00 24.0 17.00 27.00 0.80

HSK A63 SEMC16X60 63.00 16.00 32.00 60.00 34.0 17.00 27.00 0.82

HSK A63 SEMC22X60 63.00 22.00 40.00 60.00 34.0 19.00 31.00 0.91

HSK A63 SEMC27X60 63.00 27.00 48.00 60.00 34.0 21.00 33.00 1.00

HSK A63 SEMC32X60 63.00 32.00 58.00 60.00 34.0 24.00 38.00 1.13

HSK A63 SEMC40X70 63.00 40.00 70.00 70.00 44.0 27.00 41.00 1.52

HSK A100 SEMC16X60 100.00 16.00 32.00 60.00 31.0 17.00 27.00 2.17

HSK A100 SEMC22X60 100.00 22.00 40.00 60.00 31.0 19.00 31.00 2.24

HSK A100 SEMC27X60 100.00 27.00 48.00 60.00 31.0 21.00 33.00 2.35

HSK A100 SEMC32X60 100.00 32.00 58.00 60.00 31.0 24.00 38.00 2.50

HSK A100 SEMC40X70 100.00 40.00 70.00 70.00 41.0 27.00 41.00 3.04

HSK A100 SEMC50X80 100.00 50.00 90.00 80.00 51.0 30.00 46.00 4.03

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• �����" ������" ?*��'� �� *��&��)"�&�". • !�� ��&����'� *������$% c��� ��"&@ *����'� � ��*�)@����&@ '�)@f��$� *���&��'�.  

• ����&�����&@�", +&� ��� ���&��#��&� � �q��� �� *���$?��& ��*��&�#�< ��(���'� �� ?*����)@ �&��'�.

�'�'��&� �'���

�$�#�'�����

HSK A50 SEMC16X50* 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A50* WRENCH COOL TUBE HSK50*

HSK A63 SEMC16X60 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* KEY SEMC 16 4X4X20

HSK A63 SEMC22X60 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* KEY SEMC 22 6X6X25

HSK A63 SEMC27X60 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* KEY SEMC 27 7X7X25

HSK A63 SEMC32X60 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* KEY SEMC 32 8X7X28

HSK A63 SEMC40X70 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* KEY SEMC 40 10X8X32

HSK A100 SEMC16X60 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 16 4X4X20

HSK A100 SEMC22X60 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 22 6X6X25

HSK A100 SEMC27X60 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 27 7X7X25

HSK A100 SEMC32X60 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 32 8X7X28

HSK A100 SEMC40X70 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 40 10X8X32

HSK A100 SEMC50X80 50 D.RING SEMC M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50* COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100* KEY SEMC 50 12X8X36

 
HSK A-SEMC
!�&���$ �)" ������$% 

c��� DIN 6358 COMBI 

� %���&���'�#� HSK 

DIN 69893 c��#� A

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR982

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

Tt˚

LB

DCONMS

LPR

BD

A0.01A 58-60 HRc

�$�#�'����� DCONMS Tt° BD LPR LB kg

HSK A63 MT1X110 63.00 MT1 25.00 110.00 84.0 0.92 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 MT2X120 63.00 MT2 32.00 120.00 94.0 1.09 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 MT3X140 63.00 MT3 40.00 140.00 114.0 1.45 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 MT4X160 63.00 MT4 48.00 160.00 134.0 1.89 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 MT1X110 100.00 MT1 25.00 110.00 81.0 2.27 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 MT2X120 100.00 MT2 32.00 120.00 91.0 2.39 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 MT3X150 100.00 MT3 40.00 150.00 121.0 2.83 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 MT4X170 100.00 MT4 48.00 170.00 141.0 3.31 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 MT5X200 100.00 MT5 63.00 200.00 171.0 4.60 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-MT
!�&���$-*���%����'�  

DIN 6383/DIN 228-2 c��#� D, 

�)" ���&��#��&� � '�����# 

����� � %���&���'�#� 

HSK DIN 69893/A



983

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

BDDCONWSDCONMS

LSCWSLB
LF A0.005A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONWS BD LF LB LSCWS kg

HSK A63 SEM16X100C 63.00 16.00 38.00 100.00 74.0 17.00 1.16

HSK A63 SEM16X50C 63.00 16.00 38.00 50.00 24.0 17.00 0.84

HSK A63 SEM22X100C 63.00 22.00 47.00 100.00 74.0 19.00 1.68

HSK A63 SEM22X50C 63.00 22.00 47.00 50.00 24.0 19.00 0.97

HSK A63 SEM27X100C 63.00 27.00 58.00 100.00 74.0 21.00 2.00

HSK A63 SEM27X60C 63.00 27.00 58.00 60.00 34.0 21.00 1.28

HSK A63 SEM32X60C 63.00 32.00 66.00 60.00 34.0 24.00 1.38

HSK A100 SEM16X100C 100.00 16.00 38.00 100.00 71.0 17.00 2.59

HSK A100 SEM16X50C 100.00 16.00 38.00 50.00 21.0 17.00 2.20

HSK A100 SEM22X100C 100.00 22.00 47.00 100.00 71.0 19.00 3.15

HSK A100 SEM22X50C 100.00 22.00 47.00 50.00 21.0 19.00 1.50

HSK A100 SEM27X100C 100.00 27.00 58.00 100.00 71.0 21.00 3.46

HSK A100 SEM27X50C 100.00 27.00 58.00 50.00 21.0 21.00 2.70

HSK A100 SEM32X100C 100.00 32.00 66.00 100.00 71.0 24.00 2.81

HSK A100 SEM32X50C 100.00 32.00 66.00 50.00 21.0 24.00 2.60

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• �q�)��������� �� G2.5/ HSK A63=20,000 �q/#��, HSK A100=15,000 �q/#��

 

 HSK A-SEM-C
 �	����*�����
• ���)�+����" �&�G'��&@ *)��&�� (���q���� *�� �q��q�&'� &�&��� � �)<#���") 

• ��##�&��+��" '���&��'f�" – #���& ��q�&�&@ � 
���f�% "������% �	�*����
• ���)���$� ?*��'� �)" *�����+� q�)@?�(� '��&"=�(� #�#��&�

• [��+�&�)@�� �)�+?����" h��'��f�" �&���'�

• >$��'�� '�+��&�� *����%���&� 

�'�'��&� �'���

�$�#�'�����

HSK A63 SEM16X100C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM16X50C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM22X100C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM22X50C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM27X100C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM27X60C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 SEM32X60C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 SEM16X100C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM16X50C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM22X100C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM22X50C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM27X100C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM27X50C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM32X100C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 SEM32X50C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-SEM-C
!�&���$ �)" ������$% 

c��� � '���)�#� *������ 

���, � %���&���'�#� HSK 

DIN69893 c��#� A



ISCAR984

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

0.05 1°
CSI

LB
LB_2

LBX

DCONMS
DCONNWS
DCONXWS

LPR

BD BD_2

BD_3

58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) BD_2 BD_3 BD LPR LBX LB LB_2 kg

ADJ HSK A63 D70 ER32 63.00 ER32 2.0 20.0 70.00 46.00 50.00 134.50 108.5 52.50 92.50 2.25

ADJ HSK A100 D70 ER32 100.00 ER32 2.0 20.0 70.00 - 50.00 130.00 101.0 53.00 - 3.64

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).  

• �����)@��" ��(�)����'� 0.05 ##, �()���" ��(�)����'� 1°.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�()���" ��(�)����'�

�����)@��" 

��(�)����'�

�'�'��&� �'���

�$�#�'�����

ADJ HSK A-ER NUT ER32 TOP* ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 SR M8X1X16 DIN916 SR M6X30 DIN912 ADJ ER32 NOSE

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

ADJ HSK A-ER
:��(��$� *�&���$ ER DIN6499  

� �����)@��G � �()���G 

��(�)����'�G (FINEFIT) 

� %���&���'�#�  

HSK DIN69893/A

CSILB
LPR

DCONMS BD

.

A0.003A 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS CSI LPR LB BD kg

HSK A63 ER32 CLICK-IN 63.00 32 SRF 85.00 59.0 41.00 1.06

• ������ '���?��: 24 '( ·# • !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

 

�'�'��&� �'���

�$�#�'�����

HSK A63 ER32 CLICK-IN SR M16-M19.5 CLICK-IN PIN 3X4MM COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63* SR M16X10CLICK-IN SR M4X4 DIN913

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-ER-CLICKIN
!�&���$ HSK DIN 69893/A 

#���)@��G ���&�#$ CLICKIN

1078

932,

1063-1065

110411051065-1069



985

D
IN

 6
9

8
9

3
 H

S
K

 A
/ELB

LPR

DCONMS DCONWS BD

.

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS LPR LB BD kg

HSK A63 CF4-S 63.00 25.00 70.00 44.0 44.50 1.00

HSK A80 CF4-S 80.00 25.00 73.00 47.0 44.50 1.50

HSK A100 CF4-S 100.00 25.00 76.00 47.0 44.50 2.42

• ������ '���?��: 6 '( ·# • !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

 

�'�'��&� �'���

�$�#�'�����

HSK A63 CF4-S SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911 OR 15X3N WRENCH REAL C.F M8 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A80 CF4-S SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911 OR 15X3N WRENCH REAL C.F M8 COOLING TUBE HSK A 80* WRENCH COOL TUBE HSK80*

HSK A100 CF4-S SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911 OR 15X3N WRENCH REAL C.F M8 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-CF (CLICKFIT)
!�&���$ HSK DIN69893/A 

#���)@��G ���&�#$ CLICKFIT

LPR

RE

BDDCONMS

LU

LBX

THSZWS

�$�#�'����� DCONMS THSZWS BD LPR LBX LU RE
MM S-A-H035-HSK A40-T05 40 T05 7.60 35.00 15.0 10.00 5.0

MM S-A-H040-HSK A40-T06 40 T06 9.25 40.00 20.0 15.00 5.0

MM S-A-H045-HSK A40-T08 40 T08 11.60 45.00 25.0 20.00 5.0

MM S-A-H050-HSK A40-T10 40 T10 15.30 50.00 30.0 25.00 5.0

MM S-A-H050-HSK A40-T12 40 T12 18.30 50.00 30.0 25.00 5.0

MM S-A-H050-HSK A63-T06 63 T06 9.25 50.00 24.0 18.00 6.0

MM S-A-H050-HSK A63-T08 63 T08 11.60 50.00 24.0 18.00 6.0

MM S-A-H055-HSK A63-T10 63 T10 15.30 55.00 29.0 23.00 6.0

MM S-A-H055-HSK A63-T12 63 T12 18.30 55.00 29.0 23.00 6.0

MM S-A-H060-HSK A63-T15 63 T15 23.90 60.00 34.0 28.00 6.0

• �� �#��$��&@ ���@q���� ����������. • >�����&$ ���������G �#. �&�. 1044
 

  

MM S-A-HSK
\���&���'� � ���@q��$# 

����������# MULTI-MASTER 

� ��&�����$# ���*&���# 

HSK DIN 69893 c��#� A

928



ISCAR986

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

10

LB

BD_2 THSZWS

DCONMS

LPR
LBX

BD

.

A0.003A 58-60 HRc

G2.5 

G6.3 

HSK A63=20,000RPM

HSK A100=12,000RPM

U<1.0 gmm

�$�#�'����� DCONMS THSZWS BD BD_2 LPR LBX LB kg

HSK A63 ODP6X109 63.00 M06 9.80 23.00 109.00 83.0 75.00 0.74

HSK A63 ODP6X59 63.00 M06 9.80 11.50 59.00 33.0 25.00 0.66

HSK A63 ODP8X109 63.00 M08 13.10 23.00 109.00 83.0 75.00 0.77

HSK A63 ODP8X59 63.00 M08 13.10 15.00 59.00 33.0 25.00 0.68

HSK A63 ODP10X109 63.00 M10 18.00 28.00 109.00 83.0 75.00 0.87

HSK A63 ODP10X59 63.00 M10 18.00 20.00 59.00 33.0 25.00 0.70

HSK A63 ODP12X109 63.00 M12 21.00 31.00 109.00 83.0 75.00 0.93

HSK A63 ODP12X59 63.00 M12 21.00 24.00 59.00 33.0 25.00 0.71

HSK A63 ODP16X109 63.00 M16 29.00 34.00 109.00 83.0 75.00 1.05

HSK A63 ODP16X59 63.00 M16 29.00 34.60 59.00 33.0 25.00 0.79

HSK A100 ODP12X137 100.00 M12 23.00 30.00 137.00 108.0 100.00 2.58

HSK A100 ODP12X187 100.00 M12 23.00 40.00 187.00 158.0 150.00 2.86

HSK A100 ODP12X237 100.00 M12 23.00 46.00 237.00 208.0 200.00 3.40

HSK A100 ODP12X87 100.00 M12 23.00 30.00 87.00 58.0 50.00 2.23

HSK A100 ODP16X137 100.00 M16 29.00 41.50 137.00 108.0 100.00 2.68

HSK A100 ODP16X187 100.00 M16 29.00 55.00 187.00 158.0 150.00 3.58

HSK A100 ODP16X237 100.00 M16 29.00 55.00 237.00 208.0 200.00 4.07

HSK A100 ODP16X87 100.00 M16 29.00 31.50 87.00 58.0 50.00 2.20

• !�� *������ �%)������" +���� ?*����)@ HSK ���q%���#� ��*�)@����&@ &��q'� *������ �%)������" (��'��$���&�" �&��)@��).

 

�'�'��&� �'���

�$�#�'�����

HSK A63 ODP6X109 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP6X59 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP8X109 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP8X59 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP10X109 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP10X59 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP12X109 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP12X59 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP16X109 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A63 ODP16X59 COOLING TUBE HSK A63* WRENCH COOL TUBE HSK63*

HSK A100 ODP12X137 COOLING TUBE HSK A100 WRENCH COOL TUBE HSK100

HSK A100 ODP12X187 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP12X237 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP12X87 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP16X137 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP16X187 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP16X237 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

HSK A100 ODP16X87 COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

HSK A-ODP (FLEXFIT)
!�&���$ HSK DIN69893/A 

#���)@��G ���&�#$ FLEXFIT

1044 1046-1048



987

D
IN

 6
9

8
9

3
 H

S
K

 A
/E

LB

BD_2

DCONMS

LPR
LBX

BD

.

58-60 HRc

�$�#�'����� DCONMS BD BD_2 LPR LBX LB kg

HSK A50 B16MN 100 50.00 53.00 41.80 100.00 74.0 58.00 1.56

HSK A50 B16MN 200 50.00 53.00 41.80 200.00 174.0 158.00 3.29

HSK A63 B16MN 100 63.00 63.00 52.80 100.00 74.0 55.50 2.31

HSK A63 B16MN 200 63.00 63.00 52.80 200.00 174.0 155.50 4.75

HSK A100 B16MN 100 100.00 102.00 85.00 100.00 71.0 54.80 6.22

HSK A100 B16MN 200 100.00 102.00 85.00 200.00 171.0 154.80 12.90

• ��&����): ��'�)/���" )�(��������" �&�)@, &�/����&@ �&�)� %���&���'� 22-30 HRC, &�/����&@ ������G +��&� 57-60 HRC  

• !��+���&@ �� ����$�: #��. 760 �*�

�'�'��&� �'���

�$�#�'�����

HSK A-B-MN (blanks) COOLING TUBE HSK A100* WRENCH COOL TUBE HSK100*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
HSK A-B-MN (blanks)
[�(�&��'� � %���&���'�#� 

HSK DIN69893/A



ISCAR988

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

CAMFIX DIN 26623-1



989

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1l7
l8 A

C

d

A

C

d2

l2 l3
l6

l11

l1
d5

d1

b2

4

��� A-A
2e

Dm

��� C-C

CAMFIX ISO 26623-1
�&�����&�$� ���#��$

CAMFIX - ISO 26623-1 

��'�!'���&� 

$&���������&� 

����������

���
�������
• ;�����	�"��� �����	��
��: q)�(����" ��##�&��+��G '���&��'f�� ��(���'�, ��������#�" '��&"=�# #�#��&�#, �����#���� 

���*����)"�&�" *� #��(��(�)@��'�, �q��*�+���" ��#�f��&���������.

• P��������: #�%����# ��'��*)���" CAMFIX ��&�G+�� ' +���#���$# ��(�q�<=�# ���)�"#.

• !�"�����: '���� � &��f���G '��&�'& �q��*�+����& �$��'�< &�+���&@ *���f����������" *�� ��*�)@������� ���&�#$ 

��&�#�&�+��'�G �#��$ ���&��#��&� �� 2 #�'���.

CAMFIX b2 d1 ±0.1 d2 d4 d5 ±0.1 Dm e l1 l2 ±0.1 l3 min l6 ±0.15 l7 ±0.15 l8 min
C3 28,3 32 15 M12x1.5 3,6 22 0,7 2,5 19 15 6 13 25

C4 35,3 40 18 M14x1.5 4,6 28 0,9 2,5 24 20 8 15 30

C5 44,4 50 21 M16x1.5 6,1 35 1,12 3 30 20 10 20 37

C6 55,8 63 28 M20x2 8,1 44 1,4 3 38 22 12 27 47

C8 71,1 80 32 M20x2 9,1 55 2 3 48 30 12 28 48

C8X 88,7 100 32 M20x2 9,1 55 2 3 48 32 16 28 48

��+'� �$���������" �*���'� � ��)���&�)"#�
(�)" #���)@�$% ���&�#��%��)�(�+��'�� 

�&����&�� �)" ���

!�� �)" *���f����������" 
� ���&��#��&�)@��# #�(����� 
� ?*����)� �&��'� 

V-�q����$G *�� �)" ATC 

(���&�#� ��&�#�&�+��'�G �#��$ ���&��#��&�)



ISCAR990

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

��(�)�����+�$G ���&

���&�'& *� &��f�
[���#�$� (�q'�

[���#�$� (�q'�

���*�)����$ ��*����)@��

��& '��&�'&� *� &��f�

���	��� ER
> '�+��&�� ����/#��(� �(����+�&�)" 

��*�)@���&�" �*�f��)@��" ?�Gq�.

���&��'f�� *� ��*�)@������< *�&����� CAMFIX
��q)<��G&� #��$ *�����&�������&�, 

����#�" ���&��#��& � f�)�����+��'�#� 

%���&���'�#� � *�&����% CAMFIX, &�'�% 

'�' f��(��$� *�&���$ ER �)� *�&���$ EM.

	�)� ���#�&� %���&���'� #��@?� ���#�&�� �&����&�" 

*�&���� CAMFIX, %���&���' #���& *�*��&@ � #�%����# 

����#�, *��*"&�&��" '����'&��#� ��'��*)���<.

� f�)@< *����&���&�&@ *���$?���� �)��$  

��&����'� ���&��#��&�, �'���+���$� 

f��(��$� *�&���$ ER16, 20, 25, 32, 40 
� �*���'� �)" '��f��$% c��� EM 6-50 ## 

����=�<&�" ����/#�$#� �(����+�&�)"#�.

�	�������� '�?����
��&�����&� ��(�)�����+�$G ���& &�'�# 

�q����#, +&�q$ %���&���' ���&��#��&� 

�� *�*���) � ���� #�%����#� ����#�, 

� ����#�$� (�q'� �%���)��@ '����'&��.

���	�������� '�?����
\���&���' ���&��#��&� *�*����& � ���� 

#�%����#� ����#�, � #�?��& ����#�$# 

(�q'�# ���"&@ *����)@��� *�)������.

�&�*����" ?�Gq�

��������



991

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1CSI

LB

DCONMS

DCONNWS
DCONXWS

LPR

THID

BD

A0.003A 58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(2) DCONXWS(3) BD LPR LB THID kg

C3 ER16X45 32.00 ER16 1.0 10.0 28.00 45.00 30.0 M10 0.20

C3 ER20X45 32.00 ER20 1.0 13.0 34.00 45.00 30.0 - 0.22

C4 ER16X70 40.00 ER16 1.0 10.0 28.00 70.00 50.0 M10 0.38

C4 ER20X35 (1) 40.00 ER20 1.0 13.0 34.00 35.00 27.0 - 0.16

C4 ER20X52 40.00 ER20 1.0 13.0 34.00 52.00 32.0 - 0.29

C4 ER25X38 (1) 40.00 ER25 1.0 16.0 42.00 38.00 30.0 - 0.18

C4 ER25X52 40.00 ER25 1.0 16.0 42.00 52.00 32.0 - 0.30

C4 ER32X54 40.00 ER32 2.0 20.0 50.00 54.00 34.0 - 0.48

C5 ER16X100 50.00 ER16 1.0 10.0 28.00 100.00 80.0 M10 0.78

C5 ER16X130 50.00 ER16 1.0 10.0 28.00 130.00 110.0 M10 0.79

C5 ER20X055 50.00 ER20 1.0 13.0 34.00 55.00 35.0 - 0.50

C5 ER20X100 50.00 ER20 1.0 13.0 34.00 100.00 80.0 M12 0.79

C5 ER20X130 50.00 ER20 1.0 13.0 34.00 130.00 110.0 M12 0.97

C5 ER25X055 50.00 ER25 1.0 16.0 42.00 55.00 35.0 - 0.52

C5 ER25X100 50.00 ER25 1.0 16.0 42.00 100.00 80.0 M16 0.93

C5 ER32X057 50.00 ER32 2.0 20.0 50.00 57.00 36.0 - 0.50

C5 ER32X100 50.00 ER32 2.0 20.0 50.00 100.00 36.0 M22X1.5 1.05

C6 ER16X100 63.00 ER16 1.0 10.0 28.00 100.00 78.0 M10 0.99

C6 ER16X130 63.00 ER16 1.0 10.0 28.00 130.00 108.0 M10 1.12

C6 ER16X160 63.00 ER16 1.0 10.0 28.00 160.00 138.0 M10 1.24

C6 ER20X060 63.00 ER20 1.0 13.0 34.00 60.00 38.0 - 0.84

C6 ER20X100 63.00 ER20 1.0 13.0 34.00 100.00 78.0 M12 1.09

C6 ER20X130 63.00 ER20 1.0 13.0 34.00 130.00 108.0 M12 1.26

C6 ER20X160 63.00 ER20 1.0 13.0 34.00 160.00 138.0 M12 1.47

C6 ER25X060 63.00 ER25 1.0 16.0 42.00 60.00 38.0 - 0.86

C6 ER25X100 63.00 ER25 1.0 16.0 42.00 100.00 78.0 M16 1.39

C6 ER25X130 63.00 ER25 1.0 16.0 42.00 130.00 108.0 M16 1.68

C6 ER25X160 63.00 ER25 1.0 16.0 42.00 160.00 138.0 M16 1.83

C6 ER32X060 63.00 ER32 2.0 20.0 50.00 60.00 36.0 - 1.06

C6 ER32X100 63.00 ER32 2.0 20.0 50.00 100.00 78.0 M22X1.5 1.38

C6 ER32X130 63.00 ER32 2.0 20.0 50.00 130.00 108.0 M22X1.5 1.75

C6 ER32X160 63.00 ER32 2.0 20.0 50.00 160.00 138.0 M22X1.5 2.21

C6 ER40X065 63.00 ER40 3.0 26.0 63.00 65.00 37.0 - 0.93

C6 ER40X100 63.00 ER40 3.0 26.0 63.00 100.00 78.0 M28X1.5 1.59

C6 ER40X130 63.00 ER40 3.0 26.0 63.00 130.00 108.0 M28X1.5 2.18

C8 ER32X100 80.00 ER32 2.0 20.0 50.00 100.00 70.0 M22x1.5 2.20

C8 ER32X160 80.00 ER32 2.0 20.0 50.00 160.00 130.0 M22x1.5 3.08

C8 ER32X70 80.00 ER32 2.0 20.0 50.00 70.00 40.0 - 1.81

C8 ER40X100 80.00 ER40 3.0 26.0 63.00 100.00 70.0 M28x1.5 0.86

C8 ER40X160 80.00 ER40 3.0 26.0 63.00 160.00 130.0 M28x1.5 3.80

C8 ER40X70 80.00 ER40 3.0 26.0 63.00 70.00 40.0 - 1.82

(1) W�	����% ���	�� 
�' '�$�����$ �������: &�)@'� �)" ��+��(� ��*�)@������" (�� �)" ��&��G�&� ATC). �� *��%���& �)" ��*�)@������" � #���)@�$#� ���&�#�#� 

Camfix (��)���&�)�, *���%����'� � �#��@?����# ���#�&��, � &.*.)
(2) ����#�)@�$G ���#�&� ���������"
(3) ��'��#�)@�$G ���#�&� ���������"

 

 
C#-ER
:��(��$� *�&���$ ER 

DIN6499 � %���&���'�#� 

CAMFIX (ISO 26623-1)

1065-1069 1101 1063-1065



ISCAR992

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

C#-ER 

�'�'��&� �'���

�$�#�'�����

C3 ER16X45 NUT ER16 TOP WRENCH ER16* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 ER20X45 NUT ER20 TOP WRENCH ER20* COOLING TUBE C3* WRENCH COOL TUBE C3*

C4 ER16X70 NUT ER16 TOP WRENCH ER16* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ER20X35 NUT ER20 TOP WRENCH ER20* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ER20X52 NUT ER20 TOP WRENCH ER20* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ER25X38 NUT ER25 TOP WRENCH ER25* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ER25X52 NUT ER25 TOP WRENCH ER25* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ER32X54 NUT ER32 TOP WRENCH ER32* COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 ER16X100 NUT ER16 TOP WRENCH ER16* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER16X130 NUT ER16 TOP WRENCH ER16* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER20X055 NUT ER20 TOP WRENCH ER20* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER20X100 NUT ER20 TOP WRENCH ER20* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER20X130 NUT ER20 TOP WRENCH ER20* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER25X055 NUT ER25 TOP WRENCH ER25* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER25X100 NUT ER25 TOP WRENCH ER25* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER32X057 NUT ER32 TOP WRENCH ER32* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER32X100 NUT ER32 TOP WRENCH ER32* COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 ER16X100 NUT ER16 TOP WRENCH ER16* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER16X130 NUT ER16 TOP WRENCH ER16* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER16X160 NUT ER16 TOP WRENCH ER16* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER20X060 NUT ER20 TOP WRENCH ER20* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER20X100 NUT ER20 TOP WRENCH ER20* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER20X130 NUT ER20 TOP WRENCH ER20* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER20X160 NUT ER20 TOP WRENCH ER20* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER25X060 NUT ER25 TOP WRENCH ER25* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER25X100 NUT ER25 TOP WRENCH ER25* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER25X130 NUT ER25 TOP WRENCH ER25* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER25X160 NUT ER25 TOP WRENCH ER25* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER32X060 NUT ER32 TOP WRENCH ER32* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER32X100 NUT ER32 TOP WRENCH ER32* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER32X130 NUT ER32 TOP WRENCH ER32* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER32X160 NUT ER32 TOP WRENCH ER32* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER40X065 NUT ER40 TOP WRENCH ER40* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER40X100 NUT ER40 TOP WRENCH ER40* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER40X130 NUT ER40 TOP WRENCH ER40* COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 ER32X100 NUT ER32 TOP WRENCH ER32* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 ER32X160 NUT ER32 TOP WRENCH ER32* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 ER32X70 NUT ER32 TOP WRENCH ER32* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 ER40X100 NUT ER40 TOP WRENCH ER40* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 ER40X160 NUT ER40 TOP WRENCH ER40* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 ER40X70 NUT ER40 TOP WRENCH ER40* COOLING TUBE C8* WRENCH COOL TUBE C8*



993

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

 

  

  

CSI

LB

DCONMS

THID

DCONNWS
DCONXWS

LPR

BD

A0.003A 58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) BD LPR LB THID kg

C4 ER16X70 M 40.00 ER16 0.5 10.0 22.00 70.00 50.0 M10 0.32 NUT ER16 MINI COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 ER16X100 M 50.00 ER16 0.5 10.0 22.00 100.00 80.0 M10 0.57 NUT ER16 MINI COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ER16X130 M 50.00 ER16 0.5 10.0 22.00 130.00 110.0 M10 0.56 NUT ER16 MINI COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 ER16X100 M 63.00 ER16 0.5 10.0 22.00 100.00 78.0 M10 0.90 NUT ER16 MINI COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER16X130 M 63.00 ER16 0.5 10.0 22.00 130.00 108.0 M10 1.07 NUT ER16 MINI COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ER16X160 M 63.00 ER16 0.5 10.0 22.00 160.00 138.0 M10 1.07 NUT ER16 MINI COOLING TUBE C6* WRENCH COOL TUBE C6*

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

 
C#-ER-M
:��(��$� #���-*�&���$ 

ER DIN6499 � %���&���'�#� 

CAMFIX (ISO 26623-1)

d min
max

BDDCONWSDCONMS

LSCWS
ADJRGA
BD_2THID

LB
LPR

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONNWS(1) DCONWS BD BD_2 LPR LB ADJRGA LSCWS THID kg

C5 MAXIN 20X100 50.00 6.0 20.00 51.00 53.00 96.00 75.0 12.00 67.0 M16 0.87

C6 MAXIN20X95 63.00 6.0 20.00 51.00 53.00 96.00 73.0 12.00 67.0 M16 1.10

C6 MAXIN32X115 63.00 6.0 32.00 69.00 70.00 115.00 93.0 12.00 82.0 M16 2.88

C8 MAXIN20X95 80.00 6.0 20.00 51.00 53.00 96.00 65.0 12.00 67.0 M16 2.05

C8 MAXIN32X115 80.00 6.0 32.00 69.00 70.00 115.00 85.0 12.00 82.0 M16 2.83

• ����& *��#��"&@�" �)" ���&��#��&�� �� &�/��$% �*)���� � q$�&������=�G �&�)� • ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���  

• !��#������ ���&��#��&�� � ���#�&��# dmax �q��*�+����& ���)�+?�� h'�*)��&�f����$� %���'&����&�'�, *��'�)@'� ���)�� ����#� � f��(� ������&�" �� 25%
(1) ����#�)@�$G ���#�&� � *���%���$# *�&����#

 

�'�'��&� �'���

�$�#�'�����

C5 MAXIN 20X100 COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 MAXIN20X95 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 MAXIN32X115 COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 MAXIN20X95 COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 MAXIN32X115 COOLING TUBE C8* WRENCH COOL TUBE C8*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

C#-MAXIN
��)���G *�&��� MAXIN 

� %���&���'�#� CAMFIX 

(ISO 26623-1)

1102 1065-1069 1063-1065 1101

1102 1082, 1104 930-931



ISCAR994

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1  

 

M16x1.5

LB

DCONMS

CRKS

DCONWS

LPR
LBX

BD

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS LPR LBX LB BD CRKS kg

C5 CF4-S 50.00 25.00 60.00 40.0 35.00 44.50 M16 0.13 COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 CF4-S 63.00 25.00 70.00 48.0 32.00 44.50 M20 1.24 SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911 COOLING TUBE C6* WRENCH COOL TUBE C6*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

  

C#-CF4 (CLICKFIT)
!�&��� CAMFIX (ISO 26623-1) 

� ����������# CLICKFIT

DCONWS≥ 25

LBLB

CRKS

LPRLPR

BDBD DCONWSDCONWS
DCONMSDCONMS

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD LPR LB CRKS kg

C3 EM 6X45 32.00 6.00 25.00 45.00 30.0 M12 0.23 SR M6X10 DIN1835B HW 3.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM 8X45 32.00 8.00 28.00 45.00 30.0 M12 0.25 SR M8X10 DIN1835-B HW 4.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM10X50 32.00 10.00 35.00 50.00 35.0 M12 0.35 SR M10X12 DIN1835-B HW 5.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM12X55 32.00 12.00 42.00 55.00 40.0 M12 0.40 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C4 EM6X50 40.00 6.00 25.00 50.00 30.0 M14 0.35 SR M6X10 DIN1835B HW 3.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM8X50 40.00 8.00 28.00 50.00 30.0 M14 0.37 SR M8X10 DIN1835-B HW 4.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM10X50 40.00 10.00 35.00 50.00 30.0 M14 0.42 SR M10X12 DIN1835-B HW 5.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM12X55 40.00 12.00 42.00 55.00 35.0 M14 0.54 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM14X55 40.00 14.00 44.00 55.00 35.0 M14 0.57 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM16X60 40.00 16.00 48.00 60.00 40.0 M14 0.68 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 EM6X50 50.00 6.00 25.00 50.00 30.0 M16 0.52 SR M6X10 DIN1835B HW 3.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM8X50 50.00 8.00 28.00 50.00 30.0 M16 0.54 SR M8X10 DIN1835-B HW 4.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM10X55 50.00 10.00 35.00 55.00 35.0 M16 0.69 SR M10X12 DIN1835-B HW 5.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM12X60 50.00 12.00 42.00 60.00 40.0 M16 0.83 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM14X60 50.00 14.00 44.00 60.00 40.0 M16 0.87 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM16X60 50.00 16.00 48.00 60.00 40.0 M16 0.85 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM18X60 50.00 18.00 50.00 60.00 40.0 M16 0.46 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM20X60 50.00 20.00 52.00 60.00 40.0 M16 0.90 SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM25X85 50.00 25.00 65.00 85.00 65.0 M16 1.66 SR M18X2X20 DIN1835-B HW 10.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 EM6X55 63.00 6.00 25.00 55.00 33.0 M20 0.86 SR M6X10 DIN1835B HW 3.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM8X55 63.00 8.00 28.00 55.00 33.0 M20 0.89 SR M8X10 DIN1835-B HW 4.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM10X60 63.00 10.00 35.00 60.00 38.0 M20 1.00 SR M10X12 DIN1835-B HW 5.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM12X60 63.00 12.00 42.00 60.00 38.0 M20 1.08 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM14X60 63.00 14.00 44.00 60.00 38.0 M20 1.11 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM16X65 63.00 16.00 48.00 65.00 43.0 M20 1.25 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM18X65 63.00 18.00 50.00 65.00 43.0 M20 1.20 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM20X65 63.00 20.00 52.00 65.00 43.0 M20 1.26 SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM25X80 63.00 25.00 65.00 80.00 58.0 M20 1.83 SR M18X2X20 DIN1835-B HW 10.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM32X90 63.00 32.00 72.00 90.00 68.0 M20 2.28 SR M20X2X20 DIN1835-B HW 10.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM40X100 63.00 40.00 90.00 100.00 78.0 M20 3.43 SR M20X2X20 DIN1835-B HW 10.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 EM6X70 80.00 6.00 25.00 70.00 40.0 M20 1.86 SR M6X10 DIN1835B HW 3.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM8X70 80.00 8.00 28.00 70.00 40.0 M20 1.90 SR M8X10 DIN1835-B HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM10X70 80.00 10.00 35.00 70.00 40.0 M20 2.00 SR M10X12 DIN1835-B HW 5.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM12X70 80.00 12.00 42.00 70.00 40.0 M20 2.20 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM14X70 80.00 14.00 44.00 70.00 40.0 M20 2.10 SR M12X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM16X70 80.00 16.00 48.00 70.00 40.0 M20 2.16 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM18X70 80.00 18.00 50.00 70.00 40.0 M20 2.16 SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM20X70 80.00 20.00 52.00 70.00 40.0 M20 2.18 SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM25X90 80.00 25.00 65.00 90.00 60.0 M20 2.89 SR M18X2X20 DIN1835-B HW 10.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM32X95 80.00 32.00 72.00 95.00 65.0 M20 3.20 SR M20X2X20 DIN1835-B HW 10.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM40X110 80.00 40.00 90.00 110.00 80.0 M20 4.73 SR M20X2X20 DIN1835-B HW 10.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM50X120 80.00 50.00 98.00 120.00 90.0 M20 5.30 SR M24X2X25 DIN1835-B HW 12.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

`	�'� ��. ��	.: GD-DH (12-13.5) (723)

 

 
C#-EM
!�&���$ �)" '��f��$% c��� 

� %���&���'�# Weldon DIN 

1835 c��#� B, � %���&���'�#� 

CAMFIX (ISO 26623-1)



995

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

2°

DCONWS≥25

2°
2°

BDBD
DCONWSDCONWS DCONMSDCONMS

LSCWSLSCWS ADJRGA
ADJRGA

THIDTHIDCRKS

LBLB
LPRLPR

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD LPR ADJRGA LSCWS LB CRKS THID kg

C3 EM 6X70 E 32.00 6.00 25.00 70.00 5.00 35.0 50.0 M12 M5 0.30

C3 EM 8X70 E 32.00 8.00 28.00 70.00 0.00 43.0 50.0 M12 M6 0.35

C3 EM 10X70 E 32.00 10.00 35.00 70.00 0.00 45.0 50.0 M12 M8 0.66

C3 EM 12X75 E 32.00 12.00 42.00 75.00 5.00 49.0 55.0 M12 M10 0.66

C4 EM6X70 E 40.00 6.00 25.00 70.00 5.00 35.0 50.0 M14 M5 0.42

C4 EM8X70 E 40.00 8.00 28.00 70.00 8.00 43.0 50.0 M14 M6 0.46

C4 EM10X70 E 40.00 10.00 35.00 70.00 6.00 45.0 50.0 M14 M8 0.57

C4 EM12X75 E 40.00 12.00 42.00 75.00 5.00 49.0 55.0 M14 M10 0.75

C4 EM14X75 E 40.00 14.00 44.00 75.00 5.00 49.0 55.0 M14 M10 0.79

C5 EM10X70 E 50.00 10.00 35.00 70.00 6.00 45.0 50.0 M16 M8 0.75

C5 EM12X75 E 50.00 12.00 42.00 75.00 5.00 49.0 55.0 M16 M10 1.01

C5 EM14X75 E 50.00 14.00 44.00 75.00 5.00 49.0 55.0 M16 M10 0.97

C5 EM16X80 E 50.00 16.00 48.00 80.00 5.00 52.0 60.0 M16 M12 1.21

C5 EM18X80 E 50.00 18.00 50.00 80.00 5.00 52.0 60.0 M16 M12 1.18

C5 EM20X85 E 50.00 20.00 52.00 85.00 6.00 55.0 65.0 M16 M16 1.29

C6 EM6X75 E 63.00 6.00 25.00 75.00 6.00 36.0 53.0 M20 M5 0.93

C6 EM8X75 E 63.00 8.00 28.00 75.00 8.00 43.0 53.0 M20 M6 1.00

C6 EM10X75 E 63.00 10.00 35.00 75.00 7.00 46.0 53.0 M20 M8 1.17

C6 EM12X80 E 63.00 12.00 42.00 80.00 5.00 49.0 58.0 M20 M10 1.37

C6 EM14X80 E 63.00 14.00 44.00 80.00 5.00 49.0 58.0 M20 M10 1.34

C6 EM16X85 E 63.00 16.00 48.00 85.00 5.00 52.0 63.0 M20 M12 1.49

C6 EM18X85 E 63.00 18.00 50.00 85.00 5.00 52.0 63.0 M20 M12 1.63

C6 EM20X85 E 63.00 20.00 52.00 85.00 6.00 55.0 63.0 M20 M16 1.57

C6 EM25X90 E 63.00 25.00 65.00 90.00 6.00 60.0 68.0 M20 M20 2.10

C6 EM32X95 E 63.00 32.00 72.00 95.00 5.00 63.0 73.0 M20 M20 2.50

C8 EM8X65E 80.00 8.00 28.00 65.00 8.00 43.0 35.0 M20 M6 1.90

C8 EM10X65E 80.00 10.00 35.00 65.00 7.00 46.0 35.0 M20 M8 1.96

C8 EM12X70E 80.00 12.00 42.00 70.00 5.00 49.0 40.0 M20 M10 2.10

C8 EM14X70E 80.00 14.00 44.00 70.00 5.00 49.0 40.0 M20 M10 2.12

C8 EM16X75E 80.00 16.00 48.00 75.00 5.00 52.0 45.0 M20 M12 2.10

C8 EM18X75E 80.00 18.00 50.00 75.00 5.00 52.0 45.0 M20 M12 2.26

C8 EM20X80E 80.00 20.00 52.00 80.00 8.00 57.0 50.0 M20 M16 2.36

C8 EM25X90E 80.00 25.00 65.00 90.00 6.00 60.0 60.0 M20 M20 2.89

C8 EM32X95E 80.00 32.00 72.00 95.00 6.00 64.0 65.0 M20 M20 3.24

• ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���.

 
C#-EM-E
����)�)@�$� *�&���$ DIN 

1835 c��#� E � %���&���'�#� 

CAMFIX (ISO 26623-1)



ISCAR996

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

C#-EM-E

�'�'��&� �'���

�$�#�'�����

C3 EM 6X70 E SR M6X10 DIN1835B PRESET M5X18B HW 3.0* HW 2.5* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM 8X70 E SR M8X10 DIN1835-B PRESET M6X20B HW 3.0* HW 4.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM 10X70 E SR M10X12 DIN1835-B PRESET CAP M8X12B HW 4.0* HW 5.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 EM 12X75 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C3* WRENCH COOL TUBE C3*

C4 EM6X70 E SR M6X10 DIN1835B PRESET M5X18B HW 3.0* HW 2.5* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM8X70 E SR M8X10 DIN1835-B PRESET CAP M6X12B HW 3.0* HW 4.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM10X70 E SR M10X12 DIN1835-B PRESET CAP M8X12B HW 4.0* HW 5.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM12X75 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 EM14X75 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 EM10X70 E SR M10X12 DIN1835-B PRESET CAP M8X12B HW 4.0* HW 5.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM12X75 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM14X75 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM16X80 E SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM18X80 E SR M14X16 DIN1835-B PRESET CX M12X16 HW 6.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 EM20X85 E SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 EM6X75 E SR M6X10 DIN1835B PRESET M5X18B HW 3.0* HW 2.5* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM8X75 E SR M8X10 DIN1835-B PRESET CAP M6X12B HW 3.0* HW 4.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM10X75 E SR M10X12 DIN1835-B PRESET CAP M8X12B HW 4.0* HW 5.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM12X80 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM14X80 E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM16X85 E SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM18X85 E SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM20X85 E SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM25X90 E SR M18X2X20 DIN1835-B PRESET M20X20E HW 10.0* HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 EM32X95 E SR M20X2X20 DIN1835-B PRESET M20X20E HW 10.0* HW 6.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 EM8X65E SR M8X10 DIN1835-B PRESET CAP M6X12B HW 3.0* HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM10X65E SR M10X12 DIN1835-B PRESET CAP M8X12B HW 4.0* HW 5.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM12X70E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM14X70E SR M12X16 DIN1835-B HW 5.0* HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM16X75E SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM18X75E SR M14X16 DIN1835-B HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM20X80E SR M16X16 DIN1835-B HW 8.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM25X90E SR M18X2X20 DIN1835-B PRESET M20X20E HW 10.0* HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 EM32X95E SR M20X2X20 DIN1835-B PRESET M20X20E HW 10.0* HW 6.0* COOLING TUBE C8* WRENCH COOL TUBE C8*



997

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

  

4.5°

BDBTED

DCONWS

DCONMS

LSCWSADJRGA
THID

LB
LBX

LPR

A0.003A 50-52 HRc

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) kg

C4 SRKIN 6X75 40.00 6.00 21.00 27.00 75.00 55.0 38.10 11.00 36.0 M5 2.50 0.45

C4 SRKIN 8X75 40.00 8.00 21.00 27.00 75.00 55.0 38.10 11.00 36.0 M6 3.00 0.46

C4 SRKIN 10X75 40.00 10.00 24.00 32.00 75.00 55.0 50.80 11.00 42.0 M8 4.00 0.49

C4 SRKIN 12X75 40.00 12.00 24.00 32.00 75.00 55.0 50.80 11.00 47.0 M10 5.00 0.48

C4 SRKIN 14X80 40.00 14.00 27.00 34.00 80.00 60.0 44.50 11.00 47.0 M10 5.00 0.55

C4 SRKIN 16X80 40.00 16.00 27.00 34.00 80.00 60.0 44.50 11.00 50.0 M12 6.00 0.53

C4 SRKIN 18X80 40.00 18.00 33.00 42.00 80.00 60.0 57.20 11.00 50.0 M12 6.00 0.66

C4 SRKIN 20X85 40.00 20.00 33.00 42.00 85.00 65.0 57.20 11.00 52.0 M16 8.00 0.70

C5 SRKIN 6X75 50.00 6.00 21.00 27.00 75.00 55.0 38.10 11.00 36.0 M5 2.50 0.62

C5 SRKIN 8X75 50.00 8.00 21.00 27.00 75.00 55.0 38.10 11.00 36.0 M6 3.00 0.63

C5 SRKIN 10X75 50.00 10.00 24.00 32.00 75.00 55.0 51.30 11.00 42.0 M8 4.00 0.67

C5 SRKIN 12X75 50.00 12.00 24.00 32.00 75.00 55.0 51.30 11.00 47.0 M10 5.00 0.64

C5 SRKIN 14X80 50.00 14.00 27.00 34.00 80.00 60.0 44.50 11.00 47.0 M10 5.00 0.73

C5 SRKIN 16X80 50.00 16.00 27.00 34.00 80.00 60.0 44.50 11.00 50.0 M12 6.00 0.68

C5 SRKIN 18X80 50.00 18.00 33.00 42.00 80.00 60.0 57.20 11.00 50.0 M12 6.00 0.84

C5 SRKIN 20X85 50.00 20.00 33.00 42.00 85.00 65.0 57.20 11.00 52.0 M16 8.00 0.85

C5 SRKIN 25X90 50.00 25.00 44.00 53.00 90.00 70.0 57.20 11.00 58.0 M16 8.00 1.13

C6 SRKIN 6X80 63.00 6.00 21.00 27.00 80.00 58.0 38.10 11.00 36.0 M5 2.50 0.95

C6 SRKIN 8X80 63.00 8.00 21.00 27.00 80.00 58.0 38.10 11.00 36.0 M6 3.00 0.94

C6 SRKIN 10X80 63.00 10.00 24.00 32.00 80.00 58.0 50.80 11.00 42.0 M8 4.00 1.07

C6 SRKIN 12X80 63.00 12.00 24.00 32.00 80.00 58.0 50.80 11.00 47.0 M10 5.00 1.01

C6 SRKIN 14X85 63.00 14.00 27.00 34.00 85.00 63.0 44.50 11.00 47.0 M10 5.00 1.08

C6 SRKIN 16X85 63.00 16.00 27.00 34.00 85.00 63.0 44.50 11.00 50.0 M12 6.00 1.06

C6 SRKIN 18X85 63.00 18.00 33.00 42.00 85.00 63.0 57.20 11.00 50.0 M12 6.00 1.21

C6 SRKIN 20X85 63.00 20.00 33.00 42.00 85.00 63.0 57.20 11.00 52.0 M16 8.00 1.16

C6 SRKIN 25X90 63.00 25.00 44.00 53.00 90.00 68.0 57.20 11.00 58.0 M16 8.00 1.50

C6 SRKIN 32X95 63.00 32.00 44.00 53.00 95.00 73.0 57.20 11.00 58.0 M16 8.00 1.46

• ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���. • �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

  

C#-SRKIN
!�&���$ � &��#�����#�#, 

� %���&���'�#� CAMFIX (ISO 

26623-1), �)" ���&��#��&�� 

�� &�/��$% �*)����, �&�)� 

� q$�&������=�G �&�)�

�'�'��&� �'���

�$�#�'�����

C4 SRKIN 6X75 PRESET M5X18B COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 8X75 PRESET M6X20B COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 10X75 PRESET CX M8X16 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 12X75 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 14X80 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 16X80 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 18X80 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SRKIN 20X85 COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 SRKIN 6X75 PRESET M5X18B COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 8X75 PRESET M6X20B COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 10X75 PRESET CX M8X16 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 12X75 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 14X80 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 16X80 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 18X80 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 20X85 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SRKIN 25X90 COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 SRKIN 6X80 PRESET M5X18B COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 8X80 PRESET M6X20B COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 10X80 PRESET CX M8X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 12X80 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 14X85 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 16X85 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 18X85 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 20X85 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 25X90 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 32X95 COOLING TUBE C6* WRENCH COOL TUBE C6*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

1070-1072 1076-1077



ISCAR998

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

BDBTEDDCONWS

ADJRGA
LSCWS

LBX
LB

LPR

THID

DCONMS
4.5°

A0.003A 50-52 HRc

AT3 Taper

�$�#�'����� DCONMS DCONWS BTED BD LPR LBX LB LSCWS ADJRGA THID W�+"(1) kg

C6 SRKIN 6X80 CX 63.00 6.00 21.00 27.00 80.00 58.00 38.10 34.0 9.50 M5 2.50 0.95

C6 SRKIN 8X80 CX 63.00 8.00 21.00 27.00 80.00 58.00 38.10 34.0 9.50 M6 3.00 0.94

C6 SRKIN 10X80 CX 63.00 10.00 24.00 32.00 80.00 58.00 50.80 39.8 9.30 M8 4.00 1.07

C6 SRKIN 12X80 CX 63.00 12.00 24.00 32.00 80.00 58.00 50.80 44.8 9.30 M10 5.00 1.01

C6 SRKIN 14X85 CX 63.00 14.00 27.00 34.00 85.00 63.00 44.50 44.8 9.30 M10 5.00 1.08

C6 SRKIN 16X85 CX 63.00 16.00 27.00 34.00 85.00 63.00 44.50 47.8 9.30 M12 6.00 1.06

C6 SRKIN 18X85 CX 63.00 18.00 33.00 42.00 85.00 63.00 57.20 47.8 9.30 M12 6.00 1.21

C6 SRKIN 20X85 CX 63.00 20.00 33.00 42.00 85.00 63.00 57.20 49.0 8.50 M16 8.00 1.16

C6 SRKIN 25X90 CX 63.00 25.00 44.00 53.00 90.00 68.00 57.20 55.0 8.50 M16 8.00 1.50

C6 SRKIN 32X95 CX 63.00 32.00 44.00 53.00 95.00 73.00 57.20 59.0 8.50 M16 8.00 1.46

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.  

• >��& �\ *����)"�& ���=��&�)"&@ *����� �%)����<=�G ���'��&� +���� JET-'���)$ - �� ���#�G&� �(�
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

C6 SRKIN 6X80 CX PRESET CX M5X13 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 8X80 CX PRESET CX M6X12 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 10X80 CX PRESET CX M8X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 12X80 CX PRESET CX M10X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 14X85 CX PRESET CX M10X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 16X85 CX PRESET CX M12X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 18X85 CX PRESET CX M12X16 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 20X85 CX PRESET CX M16X14 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 25X90 CX PRESET CX M16X14 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SRKIN 32X95 CX PRESET CX M16X14 COOLING TUBE C6* WRENCH COOL TUBE C6*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

  

C#-SRKIN-CX
���#�*�&���$ � %���&���'�# 

CAMFIX (ISO 26623-1) 

� '���)�#� *���+� ��� 

���)@ %���&���'�



999

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

BDDCONWSDCONMS

CRKS

LSCWS
LB

LF A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS BD LSCWS LB LF CRKS kg

C3 SEM 16X30 C 32.00 16.00 38.00 17.00 13.0 30.00 M12 0.30

C4 SEM16X32 C 40.00 16.00 38.00 17.00 12.0 32.00 M14 0.36

C4 SEM16X55 C 40.00 16.00 38.00 17.00 35.0 55.00 M14 0.54

C4 SEM22X40 C 40.00 22.00 47.00 19.00 20.0 40.00 M14 0.52

C4 SEM22X55 C 40.00 22.00 47.00 19.00 33.0 55.00 M14 0.80

C5 SEM16X35 C 50.00 16.00 38.00 17.00 15.0 35.00 M16 0.57

C5 SEM16X70 C 50.00 16.00 38.00 17.00 50.0 70.00 M16 0.85

C5 SEM22X35 C 50.00 22.00 47.00 19.00 15.0 35.00 M16 0.65

C5 SEM22X70 C 50.00 22.00 47.00 19.00 50.0 70.00 M16 1.09

C5 SEM27X40 C 50.00 27.00 58.00 21.00 20.0 40.00 M16 0.85

C5 SEM32X40 C 50.00 32.00 63.00 24.00 20.0 40.00 M16 0.93

C6 SEM16X100 C 63.00 16.00 38.00 17.00 78.0 100.00 M20 1.41

C6 SEM16X50 C 63.00 16.00 38.00 17.00 28.0 50.00 M20 1.00

C6 SEM22X100 C 63.00 22.00 47.00 19.00 78.0 100.00 M20 1.81

C6 SEM22X50 C 63.00 22.00 47.00 19.00 28.0 50.00 M20 1.15

C6 SEM27X100 C 63.00 27.00 58.00 21.00 78.0 100.00 M20 2.33

C6 SEM27X60 C 63.00 27.00 58.00 21.00 37.0 60.00 M20 1.52

C6 SEM32X60 C 63.00 32.00 66.00 24.00 37.0 60.00 M16 1.79

C6 SEM40X60 C 63.00 40.00 82.00 27.00 37.0 60.00 M20 2.34

C8 SEM16X50 C 80.00 16.00 38.00 17.00 20.0 50.00 M20 1.90

C8 SEM16X100C 80.00 16.00 38.00 17.00 70.0 100.00 M20 2.32

C8 SEM22X50 C 80.00 22.00 47.00 19.00 20.0 50.00 M20 2.01

C8 SEM22X100C 80.00 22.00 47.00 19.00 70.0 100.00 M20 2.88

C8 SEM27X50 C 80.00 27.00 58.00 21.00 20.0 50.00 M20 2.18

C8 SEM27X100C 80.00 27.00 58.00 21.00 70.0 100.00 M20 3.14

C8 SEM32X50 C 80.00 32.00 66.00 24.00 20.0 50.00 M16 2.28

C8 SEM32X100C 80.00 32.00 66.00 24.00 70.0 100.00 M16 3.56

C8 SEM40X60 C 80.00 40.00 82.00 27.00 30.0 60.00 M20 2.99

`	�'� ��. ��	.: FF NM (306) • FFQ4 D-17 (309) • FFV-D-R-VN07 (305) • FFX4 FD (303) • HSM90S FAL-22 (380) • SDK-12-C/HP (244) • T890HT FLN-R13 (195) • TR6 FR (306)

�'�'��&� �'���

�$�#�'�����

C3 SEM 16X30 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* WRENCH COOL TUBE C3*

C4 SEM16X32 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SEM16X55 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SEM22X40 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 SEM22X55 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 SEM16X35 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SEM16X70 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SEM22X35 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SEM22X70 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SEM27X40 C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 WRENCH M12 SEMC 27* HW 4.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 SEM32X40 C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 WRENCH M16 SEMC 32* HW 4.0* COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 SEM16X100 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM16X50 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM22X100 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 2.5* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM22X50 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM27X100 C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 WRENCH M12 SEMC 27* HW 4.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM27X60 C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X14DIN912 WRENCH M12 SEMC 27* HW 4.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM32X60 C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 WRENCH M16 SEMC 32* HW 4.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 SEM40X60 C M20 CLAMP SCREW SEM40 DR.DOG 16X18S SR M6X20 DIN912 WRENCH M20 SEMC 40* HW 5.0* COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 SEM16X50 C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM16X100C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16* HW 2.5* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM22X50 C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM22X100C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22* HW 3.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM27X50 C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 WRENCH M12 SEMC 27* HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM27X100C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X12 DIN912 WRENCH M12 SEMC 27* HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM32X50 C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 WRENCH M16 SEMC 32* HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM32X100C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 WRENCH M16 SEMC 32* HW 4.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 SEM40X60 C M20 CLAMP SCREW SEM40 DR.DOG 16X18S SR M6X20 DIN912 WRENCH M20 SEMC 40* HW 5.0* COOLING TUBE C8* WRENCH COOL TUBE C8*

 
C#-SEM-C
!�&���$ �)" ������$% c��� 

ISO 3937 � %���&���'�#� 

CAMFIX (ISO 26623-1)

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR1000

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

 

 

LF LSCWS

DCONWSDCONMS

CRKS

BD

DBC THID A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS LSCWS LF BD DBC THID CRKS kg

C8 FM 60X60 80.00 60.00 40.00 60.00 128.00 101.60 M16 M20 5.22

• !���c���G�$� ����#�$� ���&$ �� *��&��)"<&�".

 

�'�'��&� �'���

�$�#�'�����

C#-FM COOLING TUBE C8* WRENCH COOL TUBE C8*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
C#-FM
!�&���$ �)" &��f��$% c��� 

DIN 6357 � %���&���'�#� 

CAMFIX (ISO 26623-1)

LSCWS_2

LF
LB

CRKS
LSCWS

DCONWSDCONMS BD

A0.005A 58-60 HRc

�$�#�'����� DCONMS DCONWS LF BD LB LSCWS LSCWS_2 CRKS kg

C3 SEMC 16X30 32.00 16.00 30.00 32.00 10.0 17.00 27.00 M12 0.40

C4 SEMC16X45 40.00 16.00 45.00 32.00 25.0 17.00 27.00 M14 0.36

C4 SEMC22X45 40.00 22.00 45.00 40.00 25.0 19.00 31.00 M14 0.40

C4 SEMC27X50 40.00 27.00 50.00 48.00 30.0 21.00 33.00 M14 0.33

C5 SEMC16X55 50.00 16.00 55.00 32.00 35.0 17.00 27.00 M16 0.60

C5 SEMC16X85 50.00 16.00 85.00 32.00 65.0 17.00 27.00 M16 0.77

C5 SEMC22X65 50.00 22.00 65.00 40.00 45.0 19.00 31.00 M16 0.79

C5 SEMC27X85 50.00 27.00 85.00 48.00 65.0 21.00 33.00 M16 1.22

C6 SEMC16X60 63.00 16.00 60.00 32.00 38.0 17.00 27.00 M20 1.08

C6 SEMC16X100 63.00 16.00 100.00 32.00 78.0 17.00 27.00 M20 1.28

C6 SEMC22X60 63.00 22.00 60.00 40.00 38.0 19.00 31.00 M20 1.25

C6 SEMC22X100 63.00 22.00 100.00 40.00 78.0 19.00 31.00 M20 1.40

C6 SEMC27X60 63.00 27.00 60.00 48.00 38.0 21.00 33.00 M20 1.21

C6 SEMC27X100 63.00 27.00 100.00 48.00 78.0 21.00 33.00 M20 1.69

C6 SEMC32X60 63.00 32.00 60.00 58.00 38.0 24.00 38.00 M20 1.35

C6 SEMC40X70 63.00 40.00 70.00 70.00 48.0 27.00 41.00 M20 1.95

• �����" ������" ?*��'� �� *��&��)"�&�".

�'�'��&� �'���

�$�#�'�����

C3 SEMC 16X30 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE C3* WRENCH COOL TUBE C3* KEY SEMC 16 4X4X20

C4 SEMC16X45 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16 COOLING TUBE C4* WRENCH COOL TUBE C4* KEY SEMC 16 4X4X20

C4 SEMC22X45 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22 COOLING TUBE C4* WRENCH COOL TUBE C4* KEY SEMC 22 6X6X25

C4 SEMC27X50 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27 COOLING TUBE C4* WRENCH COOL TUBE C4* KEY SEMC 27 7X7X25

C5 SEMC16X55 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16 COOLING TUBE C5* WRENCH COOL TUBE C5* KEY SEMC 16 4X4X20

C5 SEMC16X85 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16 COOLING TUBE C5* WRENCH COOL TUBE C5* KEY SEMC 16 4X4X20

C5 SEMC22X65 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22 COOLING TUBE C5* WRENCH COOL TUBE C5* KEY SEMC 22 6X6X25

C5 SEMC27X85 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27 COOLING TUBE C5* WRENCH COOL TUBE C5* KEY SEMC 27 7X7X25

C6 SEMC16X60 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 16 4X4X20

C6 SEMC16X100 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 16 4X4X20

C6 SEMC22X60 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 22 6X6X25

C6 SEMC22X100 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 22 6X6X25

C6 SEMC27X60 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 27 7X7X25

C6 SEMC27X100 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 27 7X7X25

C6 SEMC32X60 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 32 8X7X28

C6 SEMC40X70 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* COOLING TUBE C6* WRENCH COOL TUBE C6* KEY SEMC 40 10X8X32

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
C#-SEMC
!�&���$ �)" ������$% 

c��� DIN 6358 COMBI 

� %���&���'�#� CAMFIX 

(ISO 26623-1)

1102 1103



1001

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

  
10

LB

DCONMS

LPR
LBX

BD

BD_2 THSZWS A0.003A 58-60 HRc

G6.3 

15,000 RPM

�$�#�'����� DCONMS THSZWS BD BD_2 LPR LBX LB kg

C4 ODP 10X 53 40.00 M10 18.00 23.00 53.00 33.0 23.00 0.33

C4 ODP 12X 53 40.00 M12 21.00 26.00 53.00 33.0 23.00 0.33

C4 ODP 16X 53 40.00 M16 29.00 34.00 53.00 33.0 23.00 0.40

C5 ODP 10X 53 50.00 M10 18.00 19.50 53.00 33.0 25.00 0.49

C5 ODP 10X103 50.00 M10 18.00 28.00 103.00 83.0 75.00 0.10

C5 ODP 12X 53 50.00 M12 21.00 23.50 53.00 33.0 25.00 0.50

C5 ODP 12X103 50.00 M12 21.00 31.00 103.00 83.0 75.00 0.72

C5 ODP 16X 53 50.00 M16 29.00 34.00 53.00 33.0 25.00 0.57

C5 ODP 16X103 50.00 M16 29.00 36.00 103.00 83.0 75.00 0.85

C6 ODP 10X 55 63.00 M10 18.00 19.50 55.00 33.0 25.00 0.82

C6 ODP 10X105 63.00 M10 18.00 28.00 105.00 83.0 75.00 1.00

C6 ODP 10X130 63.00 M10 18.00 32.00 130.00 108.0 100.00 1.20

C6 ODP 12X 55 63.00 M12 21.00 23.50 55.00 33.0 25.00 0.84

C6 ODP 12X105 63.00 M12 21.00 31.00 105.00 83.0 75.00 1.07

C6 ODP 12X130 63.00 M12 21.00 36.00 130.00 108.0 100.00 1.26

C6 ODP 16X 55 63.00 M16 29.00 34.00 55.00 33.0 25.00 0.89

C6 ODP 16X105 63.00 M16 29.00 34.00 105.00 83.0 75.00 1.20

C6 ODP 16X130 63.00 M16 29.00 41.00 130.00 108.0 100.00 1.49

 

�'�'��&� �'���

�$�#�'�����

C4 ODP 10X 53 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ODP 12X 53 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 ODP 16X 53 COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 ODP 10X 53 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ODP 10X103 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ODP 12X 53 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ODP 12X103 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ODP 16X 53 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 ODP 16X103 COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 ODP 10X 55 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 10X105 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 10X130 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 12X 55 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 12X105 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 12X130 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 16X 55 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 16X105 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 ODP 16X130 COOLING TUBE C6* WRENCH COOL TUBE C6*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

C#-ODP (FLEXFIT)
!�&���$ � %���&���'�# CAMFIX 

(ISO 26623-1) �)" ���&�#$ 

FLEXFIT

1046-1048 1044



ISCAR1002

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1
 

0.05 1°

CSI
LB

DCONMS

DCONNWS
DCONXWS

LPR
LBX

BD BD_2

58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) BD_2 BD LPR LBX LB kg

ADJ C4 ER32 40.00 ER32 2.0 20.0 70.00 50.00 110.00 89.5 52.50 1.58

ADJ C5 ER32 50.00 ER32 2.0 20.0 70.00 50.00 115.00 95.0 52.50 2.12

ADJ C6 ER32 63.00 ER32 2.0 20.0 70.00 50.00 111.50 89.5 52.50 2.07

• �����)@��" ��(�)����'� 0.05 ##. �()���" ��(�)����'� 1°.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

���������	

��
��
���� ������	 
��
��
����

�'�'��&� �'���

�$�#�'�����

ADJ C4 ER32 NUT ER32 TOP SR M8X1X16 DIN916 SR M6X25 DIN912 ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 ADJ ER32 NOSE OR 21X4N

ADJ C5 ER32 NUT ER32 TOP* SR M8X1X16 DIN916 SR M6X25 DIN912 ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 ADJ ER32 NOSE OR 21X4N

ADJ C6 ER32 NUT ER32 TOP* SR M8X1X16 DIN916 SR M6X25DIN912 ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 ADJ ER32 NOSE OR 21X4N

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

ADJ C-ER
FINEFIT - *�&��� CAMFIX 

(ISO 26623-1) � �����)@��G 

� �()���G ��(�)����'�G 

�)" '��*)���" �*�f��)@��(� 

���&��#��&�

DCONWSDCONMS

CRKS

LPR

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS LPR CRKS kg

C3 EX C3X060 32.00 32.00 60.00 M12 0.40

C3 EX C3X080 32.00 32.00 80.00 M12 0.50

C4 EX C4X060 40.00 40.00 60.00 M14 0.50

C4 EX C4X080 40.00 40.00 80.00 M14 0.70

C5 EX C5X080 50.00 50.00 80.00 M16 1.13

C5 EX C5X100 50.00 50.00 100.00 M16 1.42

C6 EX C6X100 63.00 63.00 100.00 M20 2.23

C6 EX C6X140 63.00 63.00 140.00 M20 3.13

C8 EX C8X100 80.00 80.00 100.00 M20 3.65

C8 EX C8X125 80.00 80.00 125.00 M20 4.60

�'�'��&� �'���

�$�#�'�����

C3 EX C3X060 SR M12X50 C3 HW 7.0* MT RING M18X15XC3 COOLING TUBE C3* WRENCH COOL TUBE C3* WRENCH C3 DRW NUT*

C3 EX C3X080 SR M12X50 C3 HW 7.0* MT RING M18X15XC3 COOLING TUBE C3* WRENCH COOL TUBE C3* WRENCH C3 DRW NUT*

C4 EX C4X060 SR M14X58 C4 HW 8.0* MT RING M22X17XC4 COOLING TUBE C4* WRENCH COOL TUBE C4* WRENCH C4 DRW NUT*

C4 EX C4X080 SR M14X58 C4 HW 8.0* MT RING M22X17XC4 COOLING TUBE C4* WRENCH COOL TUBE C4* WRENCH C4 DRW NUT*

C5 EX C5X080 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE C5* WRENCH COOL TUBE C5* WRENCH C5 DRW NUT*

C5 EX C5X100 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE C5* WRENCH COOL TUBE C5* WRENCH C5 DRW NUT*

C6 EX C6X100 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C6* WRENCH COOL TUBE C6* WRENCH C6-8 DRW NUT*

C6 EX C6X140 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C6* WRENCH COOL TUBE C6* WRENCH C6-8 DRW NUT*

C8 EX C8X100 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C6-8 DRW NUT*

C8 EX C8X125 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C6-8 DRW NUT*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
EX C#  

(�!�������" CAMFIX)
��)���&�)� CAMFIX

1065-1069 1063-1065



1003

C
A

M
F

IX
 D

IN
 2

6
6

2
3

-1

DCONWSDCONMS

LPR
LB

A0.003A 58-60 HRc

�$�#�'����� DCONMS DCONWS LPR LB kg

C4 RE C3X070 40.00 32.00 70.00 12.00 0.50

C6 RE C3X070 63.00 32.00 70.00 39.00 1.10

C6 RE C4X080 63.00 40.00 80.00 51.40 1.20

C6 RE C5X080 63.00 50.00 80.00 51.50 1.50

C8 RE C3X060 80.00 32.00 60.00 29.30 1.70

C8 RE C4X070 80.00 40.00 70.00 36.50 1.90

C8 RE C5X080 80.00 50.00 80.00 49.30 2.20

C8 RE C6X080 80.00 63.00 80.00 53.10 2.50

C8 RE C6X120 80.00 63.00 120.00 12.00 4.00

�'�'��&� �'���

�$�#�'�����

C4 RE C3X070 SR M12X50 C3 HW 7.0* MT RING M18X15XC3 COOLING TUBE C4* WRENCH COOL TUBE C4* WRENCH C3 DRW NUT*

C6 RE C3X070 SR M12X50 C3 HW 7.0* MT RING M18X15XC3 COOLING TUBE C6* WRENCH COOL TUBE C6* WRENCH C3 DRW NUT*

C6 RE C4X080 SR M14X58 C4 HW 8.0* MT RING M22X17XC4 COOLING TUBE C6* WRENCH COOL TUBE C6* WRENCH C4 DRW NUT*

C6 RE C5X080 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE C6* WRENCH COOL TUBE C6* WRENCH C5 DRW NUT*

C8 RE C3X060 SR M12X50 C3 HW 7.0* MT RING M18X15XC3 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C3 DRW NUT*

C8 RE C4X070 SR M14X58 C4 HW 8.0* MT RING M22X17XC4 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C4 DRW NUT*

C8 RE C5X080 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C5 DRW NUT*

C8 RE C6X080 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C6-8 DRW NUT*

C8 RE C6X120 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 COOLING TUBE C8* WRENCH COOL TUBE C8* WRENCH C6-8 DRW NUT*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
RE-C#
!���%���$� ���*&��$ CAMFIX

[��� ��'�)'� ���&��������#

HRc 42-44
N5

LB

DCONMS

LPR

BD

�$�#�'����� DCONMS BD LPR LB kg

C3 B4340 032090 32.00 32.00 90.00 - 0.60 COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 B4340 040110 32.00 40.00 110.00 93.2 1.00 COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 B4340 050125 32.00 50.00 125.00 108.2 1.81 COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 B4340 060090 32.00 60.00 90.00 73.2 2.00 COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 B4340 070060 32.00 70.00 60.00 43.2 1.30 COOLING TUBE C3* WRENCH COOL TUBE C3*

C3 B4340 090070 32.00 90.00 70.00 53.0 2.81 COOLING TUBE C3* WRENCH COOL TUBE C3*

C4 B4340 040055 40.00 40.00 55.00 35.0 0.60 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 040095 40.00 40.00 95.00 75.0 1.00 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 052065 40.00 52.00 65.00 44.0 0.99 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 060165 40.00 60.00 165.00 144.0 3.47 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 066055 40.00 66.00 55.00 35.0 1.16 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 080050 40.00 80.00 50.00 28.2 1.38 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 080075 40.00 80.00 75.00 54.0 2.38 COOLING TUBE C4* WRENCH COOL TUBE C4*

C4 B4340 100085 40.00 100.00 85.00 64.0 4.10 COOLING TUBE C4* WRENCH COOL TUBE C4*

C5 B4340 050125 50.00 50.00 125.00 105.0 2.06 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 075065 50.00 75.00 65.00 43.2 3.80 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 075175 50.00 75.00 175.00 154.0 5.79 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 090050 50.00 90.00 50.00 28.2 2.03 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 090065 50.00 90.00 65.00 43.2 1.95 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 090080 50.00 90.00 80.00 59.0 3.37 COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 B4340 110090 50.00 110.00 90.00 69.0 5.61 COOLING TUBE C5* WRENCH COOL TUBE C5*

C6 B4340 063100 63.00 63.00 100.00 78.0 2.72 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 B4340 075195 63.00 75.00 195.00 172.0 6.78 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 B4340 095050 63.00 95.00 50.00 26.2 2.25 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 B4340 110085 63.00 110.00 85.00 62.0 5.38 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 B4340 120180 63.00 120.00 180.00 157.0 14.73 COOLING TUBE C6* WRENCH COOL TUBE C6*

C6 B4340 130095 63.00 130.00 95.00 72.0 8.24 COOLING TUBE C6* WRENCH COOL TUBE C6*

C8 B4340 080200 80.00 80.00 200.00 170.0 8.45 COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 B4340 120160 80.00 120.00 160.00 129.0 13.21 COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 B4340 130090 80.00 130.00 90.00 59.0 7.89 COOLING TUBE C8* WRENCH COOL TUBE C8*

C8 B4340 145200 80.00 145.00 200.00 169.0 23.95 COOLING TUBE C8* WRENCH COOL TUBE C8*

• ��&����) SAE 4340

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

 
C#-B4340 (#'%�����')
[�(�&��'� � %���&���'�#� 

CAMFIX (ISO 26623-1)



ISCAR1004

B
T

 M
A

S
-4

0
3

BT MAS-403



1005

B
T

 M
A

S
-4

0
3

_�������� f3 L1 ±0.2 L4 min L6-0.2 e1 ±0.1 d12 W��#; AT3
BT 30 20  48.4 24 16.3 21 4 0.002

BT 40 25  65.4 30 22.6 27 4 0.003

BT 50 35 101.8 45 35.4 42 6 0.004

_�������� a b (H12) d D1 G d3 (H8) d5 d6 (H8) f1 ±0.1

BT 30 2 16.1  8 31.75 M12 12.5  56.144  46 13.6

BT 40 2 16.1 10 44.45 M16 17.0  75.679  63 16.6

BT 50 3 25.7 15 69.85 M24 25.0 119.020 100 23.2

d

d3 G

L1

8° 17'50"

a

20º

d12
 max. 35º

L6

d6 d5

d1

L4

f3

f1

b

e1

e1

!�� A
d�' �$��?�����

!�� AD
/���	������ ����	���� ��� ;�P

!�� B
������ ;�P 
"�	�' &����


!�� ADB
/���	������ ����	���� 
��� ������ ;�P "�	�' &����


 
��'�!'���&� �'����&

”

!�&���$ “ADB” �#�<& �q� 

������&� *���+� ��� - c��#� 

“AD” (+���� f��&��)@��� 

�&����&��) � c��#� “B” (+���� 

�&����&�" �� c)��f�)



ISCAR1006

B
T

 M
A

S
-4

0
3 CSISS

CRKS

ER16-20 ER25-50

LB

BD_2

LPR
LBX

DCONNWS
DCONXWS

THID

BD BD

A0.003A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� SS CSI DCONNWS(3) DCONXWS LPR LBX LB BD BD_2 THID CRKS kg

BT30 ER16X 70 (1) 30 ER16 0.5 10.0 70.00 48.0 - 28.00 - M10 M12 0.47

BT30 ER16X100 (1) 30 ER16 0.5 10.0 100.00 73.0 - 28.00 - M10 M12 0.61

BT30 ER20X 70 (1) 30 ER20 1.0 13.0 70.00 48.0 - 34.00 - M12 M12 0.51

BT30 ER25X 60 (1) 30 ER25 1.0 16.0 60.00 38.0 - 42.00 - M16 M12 0.46

BT30 ER32X 60 (1) 30 ER32 2.0 20.0 60.00 38.0 - 50.00 - M18X1.5 M12 0.42

BT40 ER11X100 M 40 ER11 0.5 7.0 100.00 73.0 - 16.00 - M6 M16 1.06

BT40 ER16X 70 40 ER16 0.5 10.0 70.00 43.0 - 28.00 - M12 M16 1.06

BT40 ER16X100 40 ER16 0.5 10.0 100.00 73.0 - 28.00 - M12 M16 1.20

BT40 ER16X150 40 ER16 0.5 10.0 150.00 123.0 86.00 28.00 40.00 M12 M16 1.56

BT40 ER16X200 (2) 40 ER16 0.5 10.0 200.00 173.0 110.00 28.00 40.00 M10 M16 1.84

BT40 ER20X 70 40 ER20 1.0 13.0 70.00 43.0 - 34.00 - M12 M16 1.07

BT40 ER20X100 40 ER20 1.0 13.0 100.00 73.0 - 34.00 - M12 M16 1.27

BT40 ER20X120 40 ER20 1.0 13.0 120.00 93.0 - 34.00 - M12 M16 1.39

BT40 ER20X150 40 ER20 1.0 13.0 150.00 123.0 - 34.00 - M12 M16 1.61

BT40 ER25X 60 40 ER25 1.0 13.0 60.00 33.0 - 42.00 - M16 M16 1.00

BT40 ER25X100 40 ER25 1.0 16.0 100.00 73.0 - 42.00 - M16 M16 1.40

BT40 ER25X150 40 ER25 1.0 16.0 150.00 123.0 - 42.00 - M16 M16 2.07

BT40 ER32X 60 40 ER32 2.0 20.0 60.00 33.0 - 50.00 - M22X1.5 M16 0.90

BT40 ER32X100 40 ER32 2.0 20.0 100.00 73.0 - 50.00 - M22X1.5 M16 1.45

BT40 ER32X120 40 ER32 2.0 20.0 120.00 93.0 - 50.00 - M22X1.5 M16 1.74

BT40 ER32X150 40 ER32 2.0 20.0 150.00 123.0 - 50.00 - M22X1.5 M16 2.19

BT40 ER32X200 (2) 40 ER32 2.0 20.0 200.00 173.0 113.00 50.00 57.00 M22X1.5 M16 3.02

BT40 ER40X 80 40 ER40 3.0 26.0 80.00 53.0 - 63.00 - M28X1.5 M16 1.33

BT40 ER40X100 40 ER40 3.0 26.0 100.00 73.0 - 63.00 - M28X1.5 M16 1.32

BT40 ER40X150 40 ER40 3.0 26.0 150.00 123.0 - 63.00 - M28X1.5 M16 2.03

BT40 ER50X 90 40 ER50 10.0 34.0 90.00 63.0 - 78.00 - M28X1.5 M16 1.27

BT50 ER16X100 50 ER16 0.5 10.0 100.00 62.0 - 28.00 - M12 M24 3.70

BT50 ER16X125 50 ER16 0.5 10.0 125.00 87.0 - 28.00 - M12 M24 3.94

BT50 ER16X150 50 ER16 0.5 10.0 150.00 112.0 - 28.00 - M12 M24 3.99

BT50 ER16X200 (2) 50 ER16 0.5 10.0 200.00 162.0 85.00 28.00 40.00 M10 M24 4.51

BT50 ER20X100 50 ER20 1.0 10.0 100.00 62.0 - 34.00 - M12 M24 3.81

BT50 ER20X125 50 ER20 1.0 13.0 125.00 87.0 - 34.00 - M12 M24 3.89

BT50 ER20X150 50 ER20 1.0 13.0 150.00 112.0 - 34.00 - M12 M24 4.06

BT50 ER20X200 (2) 50 ER20 1.0 13.0 200.00 162.0 85.00 34.00 50.00 M12 M24 5.04

BT50 ER25X100 50 ER25 1.0 16.0 100.00 62.0 - 42.00 - M16 M24 3.90

BT50 ER25X150 50 ER25 1.0 16.0 150.00 112.0 - 42.00 - M16 M24 4.31

BT50 ER25X200 (2) 50 ER25 1.0 16.0 200.00 162.0 87.00 42.00 55.00 M16 M24 5.29

BT50 ER32X100 50 ER32 2.0 20.0 100.00 62.0 - 50.00 - M22X1.5 M24 4.01

BT50 ER32X125 50 ER32 2.0 20.0 125.00 87.0 - 50.00 - M12 M24 4.24

BT50 ER32X150 50 ER32 2.0 20.0 150.00 112.0 - 50.00 - M22X1.5 M24 4.64

BT50 ER32X200 (2) 50 ER32 2.0 20.0 200.00 162.0 88.00 50.00 63.00 M22X1.5 M24 5.80

BT50 ER40X100 50 ER40 3.0 26.0 100.00 62.0 - 63.00 - M28X1.5 M24 4.03

BT50 ER40X150 50 ER40 3.0 26.0 150.00 112.0 - 63.00 - M28X1.5 M24 5.05

BT50 ER40X200 (2) 50 ER40 3.0 26.0 200.00 162.0 - 63.00 - M28X1.5 M24 6.23

BT50 ER50X100 50 ER50 3.0 26.0 100.00 62.0 - 78.00 - M36X1.5 M24 3.65

BT50 ER50X150 50 ER50 10.0 34.0 150.00 112.0 - 78.00 - M36X1.5 M24 5.50

• ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) Z��#� AD
(2) �q�)��������� �� G6.3/12,000 �q/#��.
(3) ����#�)@�$G ���#�&� ���������"

 

 
BT-ER
:��(��$� *�&���$ ER 

DIN6499 � %���&���'�#� 

BT MAS-403 c��#� ADB

1099-1100 1065-1069 1063-1065



1007

B
T

 M
A

S
-4

0
3

�'�'��&� �'���

�$�#�'�����

BT30 ER16X 70 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

BT30 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

BT30 ER20X 70 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT30 ER25X 60 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT30 ER32X 60 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

BT40 ER11X100 M NUT ER11 MINI WRENCH ER11 MINI*

BT40 ER16X 70 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER16X150 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER16X200 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

BT40 ER20X 70 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER20X120 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER20X150 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER25X 60 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT40 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT40 ER25X150 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT40 ER32X 60 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT40 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT40 ER32X120 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT40 ER32X150 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT40 ER32X200 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT40 ER40X 80 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT40 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT40 ER40X150 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT40 ER50X 90 NUT ER50 UM WRENCH ER50* PRESET ER-JET 28X1.5*

BT50 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER16X125 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER16X150 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER16X200 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

BT50 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER20X125 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER20X150 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER20X200 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT50 ER25X100 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT50 ER25X150 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT50 ER25X200 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT50 ER32X100 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT50 ER32X125 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT50 ER32X150 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT50 ER32X200 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT50 ER40X100 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT50 ER40X150 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT50 ER40X200 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

BT50 ER50X100 NUT ER50 UM WRENCH ER50* PRESET ER-JET 28X1.5*

BT50 ER50X150 NUT ER50 UM WRENCH ER50* PRESET ER-JET 28X1.5*

BT-ER

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR1008

B
T

 M
A

S
-4

0
3 SS CSI

LB
LPR

CRKS

THID

BD

A0.003A 58-60 HRc AT3 Taper

G2.5 

U<1.0 gmm

Size 30, 40= 25,000RPM
Size 50= 15,000RPM

�$�#�'����� SS CSI BD LPR LB THID CRKS kg

BT30 FC ER16X70 30 ER16 28.00 70.00 48.0 M10 M12 0.60 NUT ER16 TOP

BT30 FC ER16X100 30 ER16 28.00 100.00 78.0 M10 M12 0.61 NUT ER16 TOP

BT30 FC ER20X70 30 ER20 34.00 70.00 48.0 M12 M12 0.51 NUT ER20 TOP

BT30 FC ER25X60 30 ER25 42.00 60.00 38.0 M16 M12 0.47 NUT ER25 TOP

BT30 FC ER32X60 30 ER32 50.00 60.00 38.0 M18 M12 0.46 NUT ER32 TOP

BT40 FC ER16X70 40 ER16 28.00 70.00 44.0 M12 M16 1.05 NUT ER16 TOP

BT40 FC ER16X100 40 ER16 28.00 100.00 74.0 M12 M16 1.17 NUT ER16 TOP

BT40 FC ER32X60 40 ER32 50.00 60.00 34.0 M22X1.5 M16 0.92 NUT ER32 TOP

BT40 FC ER32X100 40 ER32 50.00 100.00 74.0 M22X1.5 M16 1.54 NUT ER32 TOP

BT40 FC ER40X80 40 ER40 63.00 80.00 54.0 M28X1.5 M16 1.09 NUT ER40 TOP

BT50 FC ER16X100 50 ER16 28.00 100.00 63.5 M12 M24 3.91 NUT ER16 TOP

BT50 FC ER16X150 50 ER16 28.00 150.00 113.5 M12 M24 3.96 NUT ER16 TOP

BT50 FC ER32X100 50 ER32 50.00 100.00 63.5 M22X1.5 M24 3.98 NUT ER32 TOP

BT50 FC ER32X150 50 ER32 50.00 150.00 113.5 M22X1.5 M24 4.65 NUT ER32 TOP

BT50 FC ER40X100 50 ER40 63.00 100.00 63.5 M28X1.5 M24 4.03 NUT ER40 TOP

BT50 FC ER40X150 50 ER40 63.00 150.00 113.5 M28X1.5 M24 5.60 NUT ER40 TOP

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

 
BT-FC-ER
:��(��$� *�&���$ ER 

�)" %���&���'��  

BT MAS-403 c��#� AD, 

� '��&�'&�# *� &��f�

G1

CSI
SS

CRKS

THID

LBLPR

DCONNWS
DCONXWS

BD

A0.003A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LB BD THID CRKS G1
kg

BT30 ER20 SHORT 30 ER20 1.0 13.0 23.70 5.2 25.00 M12 M12 M25X1.5 0.30

BT40 ER32 SHORT 40 ER32 2.0 20.0 36.50 6.0 40.00 M16 M16 M40X1.5 0.74

BT40 ER40 SHORT 40 ER40 3.0 26.0 43.00 6.0 50.00 M16 M16 M50X1.5 0.78

BT50 ER32 SHORT 50 ER32 2.0 20.0 44.00 6.0 40.00 M22X1.5 M24 M40X1.5 3.36

BT50 ER40 SHORT 50 ER40 3.0 26.0 44.00 6.0 50.00 M28X1.5 M24 M50X1.5 3.09

• ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

BT30 ER20 SHORT NUT ER20 SHORT PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

BT40 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT40 ER40 SHORT NUT ER40 SHORT WRENCH ER40 SHORT* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

BT50 ER32 SHORT NUT ER32 SHORT WRENCH ER32 SHORT* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

BT50 ER40 SHORT NUT ER40 SHORT WRENCH ER40 SHORT* PRESET ER-JET 28X1.5*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

BT-ER-SHORT
����&'�� f��(��$� *�&���$ 

ER SHORTIN �)" %���&���'�� 

BT MAS-403 c��#� AD

1099-1100 1102 1065-1069 1101 1063-1065

934, 1063-10651065-106911011099-1100



1009

B
T

 M
A

S
-4

0
3

���*���� dDCONWS

SS SETS

�$�#�'����� SS DCONWS W���"����� �����'�� d
KIT BT40 MAXIN 20X85    6 40 20.00 6 6,8,10,12,14,16

KIT BT40 MAXIN 32X108   7 40 32.00 7 6,8,10,12,16,20,25

KIT BT50 MAXIN 20X105   6 50 20.00 6 6,8,10,12,14,16

KIT BT50 MAXIN 32X106   7 50 32.00 7 6,8,10,12,16,20,25

• > ��q�� �%���& ���� ��)���G *�&���, ��q�� f��( SC-SPR, '�<' �)" ��/#� f��(� � (��+�$G ')<+.

 

  

KIT BT-MAXIN
> ��q�� �%���& ��)���G *�&��� 

� %���&���'�# BT � ��q�� 

f��( �����(� ���#�&��

SS

DCONXWS

DCONNWS
DCONXWS

CRKS
BD

ADJRGA

THID
LB

BD_2

LPR

LSCWS A0.003A 58-60 HRc

�$�#�'����� SS DCONXWS(1) DCONNWS(2) BD BD_2 LPR LB ADJRGA LSCWS THID CRKS kg

BT40 MAXIN 20X 85 40 20.00 6.0 51.00 52.00 85.00 58.0 12.00 68.0 M16 M16 1.12

BT40 MAXIN 32X108 40 32.00 6.0 69.00 70.00 108.00 81.0 13.00 83.0 M16 M16 1.60

BT50 MAXIN 20X105 50 20.00 6.0 51.00 52.00 105.00 67.0 13.00 69.0 M16 M24 3.90

BT50 MAXIN 20X105 ADB 50 20.00 6.0 51.00 52.00 105.00 67.0 13.00 69.0 M16 M24 0.00

BT50 MAXIN 32X106 50 32.00 6.0 69.00 70.00 106.00 68.0 14.00 83.0 M20x2 M24 3.80

BT50 MAXIN 32X106 ADB 50 32.00 6.0 69.00 70.00 106.00 68.0 14.00 83.0 M20x2 M24 0.00

BT50 MAXIN 32X135 50 32.00 6.0 69.00 70.00 135.00 97.0 15.00 84.0 M20x2 M24 4.60

BT50 MAXIN 32X135 ADB 50 32.00 6.0 69.00 70.00 135.00 97.0 15.00 84.0 M20x2 M24 0.00

(1) ��'��#�)@�$G ���#�&� q�� *���%����(� *�&����
(2) ����#�)@�$G ���#�&� � *���%���$# *�&����#

 

�'�'��&� �'���

�$�#�'�����

BT40 MAXIN 32X108 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

BT50 MAXIN 20X105 WRENCH MAXIN 20 HOOK* EXTRACTOR SC COLLETS*

BT50 MAXIN 32X106 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

BT50 MAXIN 32X135 WRENCH MAXIN 32 HOOK* EXTRACTOR SC COLLETS*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

BT-MAXIN
��)��$� *�&���$ 

MAXIN � %���&���'�#� 

BT MAS- 403 c��#� ADB

1099-1100 1102 1082 1102 930-931



ISCAR1010

B
T

 M
A

S
-4

0
3

  

SS

LB
CRKS

THID

DCONWS

ADJRGA LSCWS

LPR

BD

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD LPR LB ADJRGA LSCWS THID CRKS
BT40 FC MAXIN20X85 40 20.00 53.00 85.00 58.0 12.80 68.3 M16 M16

BT40 FC MAXIN32X108 40 32.00 70.00 108.00 80.5 13.00 83.0 M16 M16

BT50 FC MAXIN20X105 50 20.00 53.00 105.00 67.0 13.10 68.6 M16 M24

BT50 FC MAXIN32X106 50 32.00 69.90 106.00 68.0 14.30 83.3 M20x2 M24

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

  

BT-FC-MAXIN
��)��$� *�&���$ MAXIN 

� %���&���'�#�  

BT MAS-403 c��#� AD, 

� '��&�'&�# *� &��f�

SS

LBCRKS
LBX

THID

LPR

BDBTED
DCONWS

LSCWS
ADJRGA

BD_2

A0.003A 58-60 HRc

G2.5 

U<1.0 gmm

Size 30, 40= 18,000RPM
Size 50= 12,000RPM

�$�#�'����� SS DCONWS BTED BD BD_2 LPR LBX LB ADJRGA LSCWS THID CRKS kg

BT30 HYDRO 6X60 (1) 30 6.00 23.00 26.00 - 60.00 38.0 - 10.00 37.0 M5 M12 0.58

BT30 HYDRO 8X64 (1) 30 8.00 25.00 28.00 45.00 64.00 42.0 29.00 10.00 37.0 M6 M12 0.68

BT30 HYDRO 10X64 (1) 30 10.00 27.00 30.00 - 64.00 42.0 - 10.00 42.0 M8x1 M12 0.59

BT30 HYDRO 12X72 (1) 30 12.00 29.00 32.00 - 72.00 50.0 - 10.00 47.0 M10X1 M12 0.70

BT30 HYDRO 14X70 (1) 30 14.00 30.00 34.00 - 70.00 48.0 - 10.00 47.0 M10X1 M12 0.69

BT30 HYDRO 16X90 (1) 30 16.00 34.00 38.00 50.00 90.00 63.0 47.50 10.00 52.0 M12X1 M12 1.00

BT30 HYDRO 18X90 (1) 30 18.00 36.00 40.00 42.00 90.00 68.0 52.00 10.00 52.0 M12X1 M12 0.97

BT30 HYDRO 20X90 (1) 30 20.00 38.00 42.00 - 90.00 68.0 - 10.00 52.0 M12X1 M12 0.56

BT40 HYDRO 6X90 40 6.00 23.00 26.00 50.00 90.00 63.0 43.00 10.00 37.0 M5 M16 1.39

BT40 HYDRO 8X90 40 8.00 25.00 28.00 50.00 90.00 63.0 43.50 10.00 37.0 M6 M16 1.40

BT40 HYDRO 10X90 40 10.00 27.00 30.00 50.00 90.00 63.0 44.00 10.00 42.0 M8x1 M16 1.44

BT40 HYDRO 12X90 40 12.00 29.00 32.00 50.00 90.00 63.0 44.50 10.00 47.0 M10X1 M16 1.45

BT40 HYDRO 14X90 40 14.00 30.00 34.00 50.00 90.00 63.0 47.50 10.00 47.0 M10X1 M16 1.35

BT40 HYDRO 16X90 40 16.00 34.00 38.00 50.00 90.00 63.0 47.50 10.00 52.0 M12X1 M16 1.51

BT40 HYDRO 18X90 40 18.00 36.00 40.00 50.00 90.00 63.0 47.50 10.00 52.0 M12X1 M16 1.54

BT40 HYDRO 20X90 40 20.00 38.00 42.00 50.00 90.00 63.0 47.50 10.00 52.0 M12X1 M16 1.56

BT40 HYDRO 25X90 40 25.00 46.00 50.00 63.00 90.00 55.0 55.00 10.00 58.0 M12X1 M16 1.67

BT40 HYDRO 32X110 40 32.00 56.00 60.00 60.00 110.00 81.5 81.50 10.00 62.0 M16X1 M16 1.15

BT50 HYDRO 6X110 50 6.00 23.00 26.00 80.00 110.00 72.0 43.00 10.00 37.0 M5 M24 4.73

BT50 HYDRO 8X110 50 8.00 25.00 28.00 80.00 110.00 72.0 43.50 10.00 37.0 M6 M24 4.76

BT50 HYDRO 10X110 50 10.00 27.00 30.00 80.00 110.00 72.0 44.00 10.00 42.0 M8x1 M24 4.77

BT50 HYDRO 12X110 50 12.00 29.00 32.00 80.00 110.00 72.0 42.00 10.00 47.0 M10X1 M24 4.80

BT50 HYDRO 14X110 50 14.00 30.00 34.00 80.00 110.00 72.0 42.00 10.00 47.0 M10X1 M24 4.69

BT50 HYDRO 16X110 50 16.00 34.00 38.00 80.00 110.00 72.0 45.00 10.00 52.0 M12X1 M24 4.80

BT50 HYDRO 18X110 50 18.00 36.00 40.00 80.00 110.00 72.0 45.00 10.00 52.0 M12X1 M24 3.20

BT50 HYDRO 20X110 50 20.00 38.00 42.00 80.00 110.00 72.0 47.50 10.00 52.0 M12X1 M24 4.83

BT50 HYDRO 25X110 50 25.00 46.00 50.00 80.00 110.00 72.0 47.50 10.00 58.0 M12X1 M24 4.95

BT50 HYDRO 32X110 50 32.00 56.00 60.00 80.00 110.00 72.0 47.50 10.00 64.0 M12X1 M24 5.12

• 	�)� ��*�)@��<&�" *���%���$� f��(�, ���)�� ����#� ������&�" �� 25%. • ���&�*�$ *���%���$� f��(� � ���&�����#� ���#�&��#� 12, 20, 25 � 32 ## 

(��'��$��<&�" �&��)@��). • �&����&�" �)" �%)����<=�G ���'��&� �� c)��f�% &�*� > ��'�$��<&�" ���&�#�, '�&��$� *�� ���q%���#��&� #���� ��"&@.  

• [���#��G ')<+ (WRENCH HYDRO HEX 4) � '��&��)@��" �*���'� ��'��$��<&�" �&��)@��.
(1) a�� �&����&�G �)" *���+� ��� +���� c)���f.

 

  

BT-HYDRO
;�����)�+��'�� *�&���$ 

� %���&���'�#�  

BT MAS c��#� ADB

1102 1082 1099-1100 1102 930-931

9371099-11001082



1011

B
T

 M
A

S
-4

0
3

�'�'��&� �'���

�$�#�'�����

BT30 HYDRO 6X60 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 6*

BT30 HYDRO 8X64 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 8*

BT30 HYDRO 10X64 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 10*

BT30 HYDRO 12X72 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 12*

BT30 HYDRO 14X70 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 14*

BT30 HYDRO 16X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 16*

BT30 HYDRO 18X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 18*

BT30 HYDRO 20X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 20*

BT40 HYDRO 6X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 6*

BT40 HYDRO 8X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 8*

BT40 HYDRO 10X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 10*

BT40 HYDRO 12X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 12*

BT40 HYDRO 14X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 14*

BT40 HYDRO 16X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 16*

BT40 HYDRO 18X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 18*

BT40 HYDRO 20X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 20*

BT40 HYDRO 25X90 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 25*

BT40 HYDRO 32X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 32*

BT50 HYDRO 6X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 6*

BT50 HYDRO 8X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 8*

BT50 HYDRO 10X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 10*

BT50 HYDRO 12X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 12*

BT50 HYDRO 14X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 14*

BT50 HYDRO 16X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 16*

BT50 HYDRO 18X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 18*

BT50 HYDRO 20X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 20*

BT50 HYDRO 25X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 25*

BT50 HYDRO 32X110 HYDRO CLAMP SCREW M8X14 WRENCH HYDRO HEX 4* TEST BAR HYDRO 32*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

BT-HYDRO

SS

LB
CRKS THID

LPR

BDBTEDDCONWS

LSCWS
ADJRGA

A0.003A 58-60 HRc

G2.5 

BT 40= 18,000 RPM
BT 50= 12,000 RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR BD_2 LB ADJRGA LSCWS THID kg CRKS
BT40 HYDRO 12X58 HD 40.0 12.00 32.00 42.00 58.00 999.00 31.0 10.00 46.0 M8x1 1.23 M16

BT40 HYDRO 16X72.5 HD 40.0 16.00 38.00 49.25 72.50 999.00 45.5 8.00 51.0 M8x1 0.00 M16

BT40 HYDRO 20X72.5 HD 40.0 20.00 38.00 49.25 72.50 999.00 45.5 8.00 51.0 M8x1 1.49 M16

BT50 HYDRO 20X83.5 HD 50.0 20.00 38.00 49.25 83.50 999.00 45.5 8.00 51.0 M8x1 4.22 M24

BT50 HYDRO 32X90 HD 50.0 32.00 58.50 72.00 90.00 999.00 52.0 9.00 61.0 M8x1 0.00 M24

 

  

BT-HYDRO HD
�'���+���$� (�����)�+��'�� 

*�&���$ �)" &"��)���(�������G 

�q��q�&'� � %���&���'�#� 

BT MAS c��#� ADB



ISCAR1012

B
T

 M
A

S
-4

0
3

  

  

 

SS

BTED BD BD_2
DCONWS

CRKS

LSCWS
ADJRGA

THID LB

LPR
LBX

A0.003A 58-60 HRc

G2.5 

U<1.0 gmm

18,000RPM

�$�#�'����� SS DCONWS LPR BTED BD BD_2 LBX LB ADJRGA LSCWS THID CRKS kg

BT30 FC HYDRO 6X60 30 6.00 60.00 23.00 26.00 - 38.0 33.00 10.00 37.0 M5 M12 0.50

BT30 FC HYDRO 8X64 30 8.00 64.00 25.00 28.00 45.00 42.0 29.00 6.00 37.0 M6 M12 0.60

BT30 FC HYDRO 10X64 30 10.00 64.00 27.00 30.00 - 42.0 37.00 10.00 42.0 M8x1 M12 0.50

BT30 FC HYDRO 12X72 30 12.00 72.00 29.00 32.00 - 50.0 43.00 10.00 50.0 M10x1 M12 0.60

BT30 FC HYDRO 14X70 30 14.00 70.00 30.00 34.00 - 48.0 33.00 10.00 48.0 M8x1 M12 0.70

BT30 FC HYDRO 16X90 30 16.00 90.00 34.00 38.00 - 68.0 52.00 10.00 52.0 M10x1 M12 0.90

BT30 FC HYDRO 18X90 30 18.00 90.00 36.00 40.00 - 68.0 52.00 10.00 52.0 M10x1 M12 0.90

BT30 FC HYDRO 20X90 30 20.00 90.00 38.00 42.00 42.00 68.0 - 10.00 52.0 M10x1 M12 0.90

• 	�)� ��*�)@��<&�" *���%���$� f��(�, ���)�� ����#� ������&�" �� 25% • ���&�*�$ *���%���$� f��(� � ���&�����#� ���#�&��#� 12 � 20 ## (��'��$��<&�" 

�&��)@��) • [���#��G ')<+ (')<+ HYDRO HEX 4) � '��&��)@��" �*���'� ��'��$��<&�" �&��)@��.

 

�'�'��&� �'���

�$�#�'�����

BT-FC-HYDRO HYDRO CLAMP SCREW M8X14

  

BT-FC-HYDRO
;�����)�+��'�� *�&���$ 

� %���&���'�#� BT-MAS 

c��#� AD, � '��&�'&�# *� &��f�

LPR

BD

CRKS

LBSS

DCONWS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LPR LB BD CRKS kg

BT40 EM 10X 45 40 10.00 45.00 18.0 35.00 M16 1.05 SR M10X12 DIN1835-B

BT40 EM 12X 45 40 12.00 45.00 18.0 42.00 M16 1.08 SR M12X16 DIN1835-B

BT40 EM 14X 45 40 14.00 45.00 18.0 44.00 M16 1.06 SR M12X16 DIN1835-B

BT40 EM 16X 45 40 16.00 45.00 18.0 48.00 M16 1.16 SR M14X16 DIN1835-B

BT40 EM 18X 45 40 18.00 45.00 18.0 50.00 M16 1.10 SR M14X16 DIN1835-B

BT40 EM 20X 45 40 20.00 45.00 18.0 52.00 M16 1.13 SR M16X10.3 EM SHORT

BT40 EM 25X 45 40 25.00 45.00 - 63.00 M16 1.12 SR M18X2X10 EM SHORT

• ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.

 

 
BT-EM (���������&�)
�'���+���$� *�&���$ Weldon

�)" '��f��$% c���  

DIN6359 / DIN 1835 c��#� B, 

� %���&���'�#� BT MAS-403 

c��#� AD

1099-1100



1013

B
T

 M
A

S
-4

0
3

DCONWSDCONWS
BDBD

��� DCONWS≥ 25

LB

BD_2

LPR
LBXSS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LPR BD BD_2 LBX LB CRKS kg

BT30 EM 6X 50 30 6.00 50.00 25.00 - 28.0 - M12 0.46 SR M6X10 DIN1835B

BT30 EM 8X 60 30 8.00 60.00 28.00 - 38.0 - M12 0.52 SR M8X10 DIN1835-B

BT30 EM 10X 60 30 10.00 60.00 35.00 - 38.0 - M12 0.61 SR M10X12 DIN1835-B

BT30 EM 12X 60 30 12.00 60.00 42.00 - 38.0 - M12 0.73 SR M12X16 DIN1835-B

BT30 EM 14X50 30 14.00 60.00 44.00 - 38.0 - M12 0.73 SR M12X16 DIN1835-B

BT30 EM 16X 60 30 16.00 60.00 46.00 - 38.0 - M12 0.79 SR M14X16 DIN1835-B

BT30 EM 18X 60 30 18.00 60.00 50.00 - 38.0 - M12 0.76 SR M14X16 DIN1835-B

BT30 EM 20X 80 30 20.00 80.00 52.00 - 58.0 - M12 1.04 SR M16X16 DIN1835-B

BT40 EM 6X 50 40 6.00 50.00 25.00 - 23.0 - M16 1.02 SR M6X10 DIN1835B

BT40 EM 8X 50 40 8.00 50.00 28.00 - 23.0 - M16 1.01 SR M8X10 DIN1835-B

BT40 EM 10X 65 40 10.00 65.00 35.00 - 38.0 - M16 1.17 SR M10X12 DIN1835-B

BT40 EM 12X 65 40 12.00 65.00 42.00 - 38.0 - M16 1.29 SR M12X16 DIN1835-B

BT40 EM 14X 65 40 14.00 65.00 44.00 - 38.0 - M16 1.30 SR M12X16 DIN1835-B

BT40 EM 16X 65 40 16.00 65.00 48.00 - 38.0 - M16 1.35 SR M14X16 DIN1835-B

BT40 EM 18X 65 40 18.00 65.00 50.00 - 38.0 - M16 1.39 SR M14X16 DIN1835-B

BT40 EM 20X 75 40 20.00 75.00 52.00 - 48.0 - M16 1.54 SR M16X16 DIN1835-B

BT40 EM 20X120 40 20.00 120.00 52.00 - 93.0 - M16 2.25 SR M16X16 DIN1835-B

BT40 EM 25X105 40 25.00 105.00 65.00 61.00 78.0 68.00 M16 2.61 SR M18X2X20 DIN1835-B

BT40 EM 32X110 40 32.00 110.00 71.00 61.00 83.0 73.00 M16 2.84 SR M20X2X20 DIN1835-B

BT50 EM 6X 70 50 6.00 70.00 25.00 - 32.0 - M24 3.68 SR M6X10 DIN1835B

BT50 EM 8X 70 50 8.00 70.00 28.00 - 32.0 - M24 3.58 SR M8X10 DIN1835-B

BT50 EM 10X 70 50 10.00 70.00 35.00 - 32.0 - M24 3.68 SR M10X12 DIN1835-B

BT50 EM 10X100 50 10.00 100.00 35.00 - 62.0 - M24 3.97 SR M10X12 DIN1835-B

BT50 EM 12X100 50 12.00 100.00 42.00 - 62.0 - M24 4.01 SR M12X16 DIN1835-B

BT50 EM 14X100 50 14.00 100.00 44.00 - 62.0 - M24 4.13 SR M12X16 DIN1835-B

BT50 EM 16X100 50 16.00 100.00 48.00 - 62.0 - M24 4.17 SR M14X16 DIN1835-B

BT50 EM 18X100 50 18.00 100.00 50.00 - 62.0 - M24 4.29 SR M14X16 DIN1835-B

BT50 EM 20X100 50 20.00 100.00 52.00 - 62.0 - M24 4.28 SR M16X16 DIN1835-B

BT50 EM 25X115 50 25.00 115.00 65.00 - 77.0 - M24 5.06 SR M18X2X20 DIN1835-B

BT50 EM 32X115 50 32.00 115.00 71.00 - 77.0 - M24 5.28 SR M20X2X20 DIN1835-B

BT50 EM 40X115 50 40.00 115.00 90.00 - 77.0 - M24 6.17 SR M20X2X20 DIN1835-B

BT50 EM 50X125 50 50.00 125.00 98.00 - 87.0 - M24 6.94 SR M24X2X25 DIN1835-B

 

 
BT-EM (DIN 1835 \���' B)
!�&���$ Weldon �)" '��f��$% 

c��� DIN6359 / DIN 1835, 

c��#� >, � %���&���'�#� 

BT MAS-403 c��#� ADB

1099-1100



ISCAR1014

B
T

 M
A

S
-4

0
3

 

��� DCONWS≥25

SS

BDBD

LB

BD_2
DCONWSDCONWSCRKS

LBX
LPR

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD BD_2 LPR LBX LB CRKS kg

BT30 FC EM12X60 30 12.00 42.00 - 60.00 38.0 - M12 0.73

BT30 FC EM16X60 30 16.00 45.90 - 60.00 38.0 - M12 0.80

BT30 FC EM20X80 30 20.00 52.00 44.40 80.00 58.0 48.00 M12 1.04

BT40 FC EM10X65 40 10.00 35.00 - 65.00 39.0 - M16 1.25

BT40 FC EM12X65 40 12.00 42.00 - 65.00 39.0 - M16 1.29

BT40 FC EM16X65 40 16.00 48.00 - 65.00 39.0 - M16 1.37

BT40 FC EM20X75 40 20.00 52.00 - 75.00 49.0 - M16 1.56

BT40 FC EM25X105 40 25.00 65.00 61.00 105.00 79.0 68.00 M16 2.54

BT40 FC EM32X110 40 32.00 71.00 61.00 110.00 83.0 73.00 M16 1.87

BT50 FC EM12X100 50 12.00 42.00 - 100.00 62.0 - M24 1.20

BT50 FC EM16X100 50 16.00 48.00 - 100.00 63.5 - M24 4.22

BT50 FC EM20X100 50 20.00 52.00 - 100.00 63.5 - M24 4.33

BT50 FC EM25X115 50 25.00 65.00 - 115.00 78.5 - M24 4.50

BT50 FC EM32X115 50 32.00 71.00 - 115.00 78.5 - M24 5.38

BT50 FC EM40X115 50 40.00 90.00 - 115.00 78.5 - M24 6.29

BT50 FC EM50X125 50 50.00 100.00 - 125.00 87.0 - M24 3.24

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

 
BT-FC-EM
!�&���$ �)" '��f��$% c���  

DIN1835 c��#� B, 

� %���&���'�#� BT MAS-403 

c��#� AD � '��&�'&�# *� &��f�

1099-1100 1105



1015

B
T

 M
A

S
-4

0
3

ADJRGA
LSCWSLSCWS ADJRGA

SS

CRKS

BD_2

2˚ 2˚ 2˚

BDBD
DCONWSDCONWS

��� DCONWS≥ 25
LBLBX

LPR
THID

THID

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD BD_2 LPR LBX LB ADJRGA LSCWS THID(1) W�+"(2) CRKS kg

BT40 EM 12X63 E* 40 12.00 42.00 - 65.00 38.0 - 10.00 54.0 M10 5.00 M16 1.27

BT40 EM 16X 65 E 40 16.00 48.00 - 65.00 38.0 - 10.00 57.0 M12 6.00 M16 1.38

BT40 EM 18X63 E 40 18.00 50.00 - 65.00 38.0 - 10.00 57.0 M12 6.00 M16 1.39

BT40 EM 20X 75 E 40 20.00 52.00 - 75.00 48.0 - 10.00 59.0 M16 8.00 M16 1.55

BT40 EM 25X105 E 40 25.00 65.00 61.00 105.00 78.0 68.00 10.00 64.0 M20X1.5 10.00 M16 2.45

BT40 EM 32X110 E 40 32.00 71.00 61.00 110.00 83.0 73.00 10.00 68.0 M20X1.5 10.00 M16 2.80

BT40 EM 6X 50 E 40 6.00 25.00 - 50.00 23.0 - 10.00 45.0 M5 2.50 M16 1.06

BT50 EM 10X 70 E 50 10.00 35.00 - 70.00 32.0 - 10.00 49.0 M8 4.00 M24 3.70

BT50 EM 12X100 E 50 12.00 42.00 - 100.00 62.0 - 10.00 54.0 M10 5.00 M24 4.06

BT50 EM 14X100 E 50 14.00 44.00 - 100.00 62.0 - 10.00 54.0 M10 5.00 M24 4.20

BT50 EM 16X100 E 50 16.00 48.00 - 100.00 62.0 - 10.00 57.0 M12 6.00 M24 4.27

BT50 EM 18X100 E 50 18.00 50.00 - 100.00 62.0 - 10.00 57.0 M12 6.00 M24 4.33

BT50 EM 20X100 E 50 20.00 52.00 - 100.00 62.0 - 10.00 59.0 M16 8.00 M24 4.36

BT50 EM 25X115 E 50 25.00 65.00 - 115.00 77.0 - 10.00 64.0 M20X1.5 10.00 M24 5.08

BT50 EM 32X115 E 50 32.00 71.00 - 115.00 77.0 - 10.00 68.0 M20X1.5 10.00 M24 5.25

BT50 EM 40X115 E 50 40.00 90.00 - 115.00 77.0 - 10.00 78.0 M20X1.5 10.00 M24 6.14

BT50 EM 50X125 E 50 50.00 98.00 - 125.00 67.0 - 10.00 88.0 M20X1.5 10.00 M24 6.94

BT50 EM 50X125 E B 50 50.00 98.00 - 125.00 67.0 - 10.00 88.0 M20X1.5 10.00 M24 7.00

BT50 EM 6X 70 E 50 6.00 25.00 - 70.00 32.0 - 10.00 45.0 M5 2.50 M24 3.70

• ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) ��(�)�����+�$G ���& �#��& ���&������ �&����&�� �)" *���+� ���.
(2) ���#�� ')<+� �)" ��(�)�����+��(� ���&�

 

�'�'��&� �'���

�$�#�'�����

BT40 EM 12X63 E* SR M12X16 DIN1835-B PRESET M10X18B

BT40 EM 16X 65 E SR M14X16 DIN1835-B PRESET M12X18B

BT40 EM 18X63 E SR M14X16 DIN1835-B PRESET M12X18B

BT40 EM 20X 75 E SR M16X16 DIN1835-B PRESET M16X20B

BT40 EM 25X105 E SR M18X2X20 DIN1835-B PRESET M20X20E

BT40 EM 32X110 E SR M20X2X20 DIN1835-B PRESET M20X20E

BT40 EM 6X 50 E SR M6X10 DIN1835B PRESET M5X18B

BT50 EM 10X 70 E SR M10X12 DIN1835-B PRESET M8X20B

BT50 EM 12X100 E SR M12X16 DIN1835-B PRESET M10X18B

BT50 EM 14X100 E SR M12X16 DIN1835-B PRESET M10X18B

BT50 EM 16X100 E SR M14X16 DIN1835-B PRESET M12X18B

BT50 EM 18X100 E SR M14X16 DIN1835-B PRESET M12X18B

BT50 EM 20X100 E SR M16X16 DIN1835-B PRESET M16X20B

BT50 EM 25X115 E SR M18X2X20 DIN1835-B PRESET M20X20E

BT50 EM 32X115 E SR M20X2X20 DIN1835-B PRESET M20X20E

BT50 EM 40X115 E SR M20X2X20 DIN1835-B PRESET M20X20E

BT50 EM 50X125 E SR M24X2X25 DIN1835-B PRESET M20X20E

BT50 EM 50X125 E B SR M24X2X25 DIN1835-B

BT50 EM 6X 70 E SR M6X10 DIN1835B PRESET M5X18B

 
BT-EM (DIN 1835 \���' E)
����)�)@�$� *�&���$ 

DIN6359 / DIN 1835 c��#� E, 

� %���&���'�#� BT MAS-403 

c��#� AD

1099-1100



ISCAR1016

B
T

 M
A

S
-4

0
3

   
M6

SS

4°30’

DCONWSCRKS
BTED BD

ADJRGA

THID
LB

LBX
LPR

LSCWS A0.003A AT3 Taper 50-52 HRc

G2.5 

BT 40=25,000RPM
BT 50=20,000  RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BD BTED LPR LBX LB ADJRGA LSCWS THID W�+"(1) CRKS kg

BT40 SRKIN 6X 90 40 6.00 27.00 21.00 90.00 63.0 38.00 11.00 36.0 M5 2.50 M16 1.13

BT40 SRKIN 8X 90 40 8.00 27.00 21.00 90.00 63.0 38.00 11.00 36.0 M6 3.00 M16 1.07

BT40 SRKIN 10X 90 40 10.00 32.00 24.00 90.00 63.0 50.50 11.00 42.0 M8 4.00 M16 1.23

BT40 SRKIN 12X 90 40 12.00 32.00 24.00 90.00 63.0 50.50 11.00 47.0 M10 5.00 M16 1.13

BT40 SRKIN 14X 90 40 14.00 34.00 27.00 90.00 63.0 44.50 11.00 47.0 M10 5.00 M16 1.26

BT40 SRKIN 16X 90 40 16.00 34.00 27.00 90.00 63.0 44.50 11.00 50.0 M12 6.00 M16 1.23

BT40 SRKIN 16X120 40 16.00 34.00 27.00 120.00 93.0 44.50 11.00 50.0 M12 6.00 M16 1.43

BT40 SRKIN 18X 90 40 18.00 42.00 33.00 90.00 63.0 57.00 11.00 50.0 M12 6.00 M16 1.40

BT40 SRKIN 20X 90 40 20.00 42.00 33.00 90.00 63.0 57.00 11.00 52.0 M16 8.00 M16 1.30

BT40 SRKIN 25X110 40 25.00 53.00 44.00 110.00 83.0 57.00 11.00 58.0 M16 8.00 M16 1.84

BT50 SRKIN 6X100 50 6.00 26.00 21.00 100.00 62.0 32.00 11.00 36.0 M5 2.50 M24 3.67

BT50 SRKIN 8X100 50 8.00 27.00 21.00 100.00 62.0 38.00 11.00 36.0 M6 3.00 M24 3.78

BT50 SRKIN 10X100 50 10.00 32.00 24.00 100.00 62.0 51.00 11.00 42.0 M8 4.00 M24 3.78

BT50 SRKIN 12X100 50 12.00 32.00 24.00 100.00 62.0 51.00 11.00 47.0 M10 5.00 M24 3.74

BT50 SRKIN 14X100 50 14.00 34.00 27.00 100.00 62.0 44.50 11.00 47.0 M10 5.00 M24 3.80

BT50 SRKIN 16X100 50 16.00 34.00 27.00 100.00 62.0 44.50 11.00 50.0 M12 6.00 M24 3.70

BT50 SRKIN 18X100 50 18.00 42.00 33.00 100.00 62.0 57.00 11.00 50.0 M12 6.00 M24 3.92

BT50 SRKIN 20X100 50 20.00 42.00 33.00 100.00 62.0 57.00 11.00 52.0 M16 8.00 M24 3.77

BT50 SRKIN 25X120 50 25.00 53.00 44.00 120.00 82.0 57.00 11.00 58.0 M16 8.00 M24 4.50

BT50 SRKIN 32X120 50 32.00 53.00 44.00 120.00 82.0 57.00 11.00 58.0 M16 8.00 M24 4.34

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

BT40 SRKIN 6X 90 PRESET M5X18B

BT40 SRKIN 8X 90 PRESET M6X20B

BT40 SRKIN 10X 90 PRESET M8X20B

BT40 SRKIN 12X 90 PRESET M10X18B

BT40 SRKIN 14X 90 PRESET M10X18B

BT40 SRKIN 16X 90 PRESET M12X18B

BT40 SRKIN 16X120 PRESET M12X18B

BT40 SRKIN 18X 90 PRESET M12X18B

BT40 SRKIN 20X 90 PRESET M16X20B

BT40 SRKIN 25X110 PRESET M16X25B

BT50 SRKIN 6X100 PRESET M5X18B

BT50 SRKIN 8X100 PRESET M6X20B

BT50 SRKIN 10X100 PRESET M8X20B

BT50 SRKIN 12X100 PRESET M10X18B

BT50 SRKIN 14X100 PRESET M10X18B

BT50 SRKIN 16X100 PRESET M12X18B

BT50 SRKIN 18X100 PRESET M12X18B

BT50 SRKIN 20X100 PRESET M16X20B

BT50 SRKIN 25X120 PRESET M16X25B

BT50 SRKIN 32X120 PRESET M16X25B

  

BT-SRKIN
!�&���$ � &��#�����#�# 

� %���&���'�#� BT MAS-403 

c��#� AD, �)" ���&��#��&�� 

�� &�/���(� �*)���, �&�)� 

� q$�&������=�G �&�)�

1099-1100 1070-1072 1076-1077



1017

B
T

 M
A

S
-4

0
3

  

BDBTED
DCONWS

LPR

CRKS
SS LBX

LB
THID

4.5°

ADJRGA
LSCWSM6

A0.003A AT3 Taper 50-52 HRc

G2.5 

BT 40=25,000RPM
BT 50=20,000  RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR LBX LB LSCWS ADJRGA THID W�+"(1) CRKS kg

BT40 SRKIN 6X90 CX 40 6.00 21.00 27.00 90.00 63.00 38.00 34.0 9.50 M5 2.50 M16 1.13

BT40 SRKIN 8X90 CX 40 8.00 21.00 27.00 90.00 63.00 38.00 34.0 9.50 M6 3.00 M16 1.07

BT40 SRKIN 10X90 CX 40 10.00 24.00 32.00 90.00 63.00 50.80 39.8 9.30 M8 4.00 M16 1.23

BT40 SRKIN 12X90 CX 40 12.00 24.00 32.00 90.00 63.00 50.80 44.8 9.30 M10 5.00 M16 1.13

BT40 SRKIN 14X90 CX 40 14.00 27.00 34.00 90.00 63.00 44.50 44.8 9.30 M10 5.00 M16 1.26

BT40 SRKIN 16X90 CX 40 16.00 27.00 34.00 90.00 63.00 44.50 47.8 9.30 M12 6.00 M16 1.23

BT40 SRKIN 18X90 CX 40 18.00 33.00 42.00 90.00 63.00 57.00 47.8 9.30 M12 6.00 M16 1.40

BT40 SRKIN 20X90 CX 40 20.00 33.00 42.00 90.00 63.00 57.00 49.0 8.50 M16 8.00 M16 1.30

BT40 SRKIN 25X110 CX 40 25.00 44.00 53.00 110.00 83.00 57.00 55.0 8.50 M16 8.00 M16 1.84

BT50 SRKIN 6X100 CX 50 6.00 21.00 26.00 100.00 62.00 32.00 34.0 9.50 M5 2.50 M24 3.67

BT50 SRKIN 8X100 CX 50 8.00 21.00 27.00 100.00 62.00 38.00 34.0 9.50 M6 3.00 M24 3.78

BT50 SRKIN 10X100 CX 50 10.00 24.00 32.00 100.00 62.00 50.80 39.8 9.30 M8 4.00 M24 3.78

BT50 SRKIN 12X100 CX 50 12.00 24.00 32.00 100.00 62.00 50.80 44.8 9.30 M10 5.00 M24 3.74

BT50 SRKIN 14X100 CX 50 14.00 27.00 34.00 100.00 62.00 44.50 44.8 9.30 M10 5.00 M24 3.80

BT50 SRKIN 16X100 CX 50 16.00 27.00 34.00 100.00 62.00 44.50 47.8 9.30 M12 6.00 M24 3.70

BT50 SRKIN 18X100 CX 50 18.00 33.00 42.00 100.00 62.00 57.00 47.8 9.30 M12 6.00 M24 3.92

BT50 SRKIN 20X100 CX 50 20.00 33.00 42.00 100.00 62.00 57.00 49.0 8.50 M16 8.00 M24 3.77

BT50 SRKIN 25X120 CX 50 25.00 44.00 53.00 120.00 82.00 57.00 55.0 8.50 M16 8.00 M24 4.50

BT50 SRKIN 32X120 CX 50 32.00 44.00 53.00 120.00 82.00 57.00 59.0 8.50 M16 8.00 M24 4.35

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.  

• >��& �\ *����)"�& ���=��&�)"&@ *����� �%)����<=�G ���'��&� +���� JET-'���)$ - �� ���#�G&� �(�
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

BT40 SRKIN 6X90 CX PRESET CX M5X13

BT40 SRKIN 8X90 CX PRESET CX M6X12

BT40 SRKIN 10X90 CX PRESET CX M8X16

BT40 SRKIN 12X90 CX PRESET CX M10X16

BT40 SRKIN 16X90 CX PRESET CX M12X16

BT40 SRKIN 20X90 CX PRESET CX M16X14

BT40 SRKIN 25X110 CX PRESET CX M16X14

BT50 SRKIN 6X100 CX PRESET CX M5X13

BT50 SRKIN 8X100 CX PRESET CX M6X12

BT50 SRKIN 10X100 CX PRESET CX M8X16

BT50 SRKIN 12X100 CX PRESET CX M10X16

BT50 SRKIN 16X100 CX PRESET CX M12X16

BT50 SRKIN 20X100 CX PRESET CX M16X14

BT50 SRKIN 25X120 CX PRESET CX M16X14

BT50 SRKIN 32X120 CX PRESET CX M16X14

 

  

BT-SRKIN-CX
���#�*�&���$ � %���&���'�# 

BT MAS-403 c��#� AD 

� '���)�#� *���+� ��� 

���)@ %���&���'�



ISCAR1018

B
T

 M
A

S
-4

0
3

  M6

4.5°

SS

BDBTEDDCONWSCRKS

LSCWS

ADJRGA

THID LB

LPR
LBX

A0.005A AT3 Taper 50-52 HRc

G2.5 

SK 40=20,000 RPM
SK 50=15,000 RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID CRKS
BT40 FC SRKIN 6X90 40 6.00 21.00 27.00 90.00 64.0 38.00 11.00 36.0 M5 M16

BT40 FC SRKIN 8X90 40 8.00 21.00 27.00 90.00 64.0 38.00 11.00 36.0 M6 M16

BT40 FC SRKIN10X90 40 10.00 24.00 32.00 90.00 64.0 50.80 11.00 42.0 M8 M16

BT40 FC SRKIN12X90 40 12.00 24.00 32.00 90.00 64.0 50.80 11.00 47.0 M10 M16

BT40 FC SRKIN14X90 40 14.00 27.00 34.00 90.00 64.0 44.50 11.00 47.0 M10 M16

BT40 FC SRKIN16X90 40 16.00 27.00 34.00 90.00 64.0 44.50 11.00 50.0 M12 M16

BT40 FC SRKIN18X90 40 18.00 33.00 42.00 90.00 64.0 57.20 11.00 50.0 M12 M16

BT40 FC SRKIN20X90 40 20.00 33.00 42.00 90.00 64.0 57.20 11.00 52.0 M16 M16

BT40 FC SRKIN25X110 40 25.00 44.00 53.00 110.00 84.0 57.20 11.00 58.0 M16 M16

BT50 FC SRKIN 6X100 50 6.00 21.00 27.00 100.00 63.5 38.00 11.00 36.0 M6 M24

BT50 FC SRKIN 8X100 50 8.00 21.00 27.00 100.00 63.5 38.00 11.00 36.0 M5 M24

BT50 FC SRKIN10X100 50 10.00 24.00 32.00 100.00 63.5 50.80 11.00 42.0 M8 M24

BT50 FC SRKIN12X100 50 12.00 24.00 32.00 100.00 63.5 50.80 11.00 47.0 M10 M24

BT50 FC SRKIN14X100 50 14.00 27.00 34.00 100.00 63.5 44.50 11.00 47.0 M10 M24

BT50 FC SRKIN16X100 50 16.00 27.00 34.00 100.00 63.5 44.50 11.00 50.0 M12 M24

BT50 FC SRKIN18X100 50 18.00 33.00 42.00 100.00 63.5 57.20 11.00 50.0 M12 M24

BT50 FC SRKIN20X100 50 20.00 33.00 42.00 100.00 63.5 57.20 11.00 52.0 M16 M24

BT50 FC SRKIN25X120 50 25.00 44.00 53.00 120.00 83.5 57.20 11.00 58.0 M16 M24

BT50 FC SRKIN32X120 50 32.00 44.00 53.00 120.00 83.5 57.20 11.50 62.0 M16 M24

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

�'�'��&� �'���

�$�#�'�����

BT40 FC SRKIN 6X90 PRESET M5X18B

BT40 FC SRKIN 8X90 PRESET M6X20B

BT40 FC SRKIN10X90 PRESET M8X20B

BT40 FC SRKIN12X90 PRESET M10X18B

BT40 FC SRKIN14X90 PRESET M10X18B

BT40 FC SRKIN16X90 PRESET M12X18B

BT40 FC SRKIN18X90 PRESET M12X18B

BT40 FC SRKIN20X90 PRESET M16X20B

BT40 FC SRKIN25X110 PRESET M16X25B

BT50 FC SRKIN 6X100 PRESET M5X18B

BT50 FC SRKIN 8X100 PRESET M6X20B

BT50 FC SRKIN10X100 PRESET M8X20B

BT50 FC SRKIN12X100 PRESET M10X18B

BT50 FC SRKIN14X100 PRESET M10X18B

BT50 FC SRKIN16X100 PRESET M12X18B

BT50 FC SRKIN18X100 PRESET M12X18B

BT50 FC SRKIN20X100 PRESET M16X20B

BT50 FC SRKIN25X120 PRESET M16X25B

BT50 FC SRKIN32X120 PRESET M16X25B

  

BT-FC-SRKIN
���#�*�&���$ � %���&���'�#� 

BT MAS-403 c��#� AD 

� '��&�'&�# *� &��f�

1099-1100 1070-1072 1076-1077



1019

B
T

 M
A

S
-4

0
3

4˚
SS

DCONWS

ADJRGA
BD

THID

BTED

LB
LBX

LPR

CRKS

LSCWS A0.003A AT3 Taper 50-52 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID W�+"(1) CRKS kg

BT30 SRK 3X50 30 3.00 10.00 15.00 72.00 50.0 36.30 10.00 20.0 M6 3.00 M12 0.43

BT30 SRK 4X50 30 4.00 10.00 15.00 72.00 50.0 36.30 10.00 22.0 M6 3.00 M12 0.43

BT30 SRK 5X50 30 5.00 10.00 15.00 72.00 50.0 36.30 10.00 25.0 M6 3.00 M12 0.42

BT30 SRK 6X50 30 6.00 11.00 16.00 72.00 50.0 36.60 10.00 28.0 M8 4.00 M12 0.43

BT30 SRK 8X50 30 8.00 14.00 20.00 72.00 50.0 43.30 10.00 35.0 M10 5.00 M12 0.45

BT30 SRK10X50 30 10.00 16.00 22.00 72.00 50.0 42.80 10.00 40.0 M8 4.00 M12 0.47

BT30 SRK12X50 30 12.00 20.00 26.00 72.00 50.0 42.70 10.00 42.0 M10 5.00 M12 0.51

BT40 SRK 3X50 40 3.00 10.00 15.00 77.00 50.0 35.55 6.00 16.0 M6 3.00 M16 1.00

BT40 SRK 3X85 40 3.00 10.00 19.00 112.00 85.0 64.15 6.00 16.0 M6 3.00 M16 1.00

BT40 SRK 4X50 40 4.00 10.00 15.00 77.00 50.0 35.55 6.00 18.0 M6 3.00 M16 0.98

BT40 SRK 4X85 40 4.00 10.00 19.00 112.00 85.0 64.15 6.00 18.0 M6 3.00 M16 1.06

BT40 SRK 5X50 40 5.00 10.00 15.00 77.00 50.0 35.55 6.00 21.0 M6 3.00 M16 1.00

BT40 SRK 5X85 40 5.00 10.00 19.00 112.00 85.0 64.15 6.00 21.0 M6 3.00 M16 1.00

BT40 SRK 6X50 40 6.00 11.00 16.00 77.00 50.0 35.50 6.00 24.0 M8 4.00 M16 0.98

BT40 SRK 6X85 40 6.00 11.00 20.00 112.00 85.0 64.15 6.00 24.0 M8 4.00 M16 1.00

BT40 SRK 8X50 40 8.00 14.00 20.00 77.00 50.0 42.50 6.00 31.0 M10 5.00 M16 1.00

BT40 SRK 8X85 40 8.00 14.00 23.00 112.00 85.0 63.95 6.00 31.0 M10 5.00 M16 1.15

BT40 SRK 10X50 40 10.00 16.00 22.00 77.00 50.0 42.40 6.00 36.0 M12 6.00 M16 1.04

BT40 SRK 10X85 40 10.00 16.00 24.50 112.00 85.0 60.28 6.00 36.0 M12 6.00 M16 1.12

BT40 SRK 12X50 40 12.00 20.00 26.00 77.00 50.0 42.30 10.00 42.0 M10 5.00 M16 1.06

BT40 SRK 12X85 40 12.00 20.00 28.00 112.00 85.0 56.60 10.00 42.0 M10 5.00 M16 1.22

• ��(�)�����+�$G ���& q�� �&����&�" �)" *���+� ���.
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

�'�'��&� �'���

�$�#�'�����

BT30 SRK 3X50 SR M6X10 DIN916

BT30 SRK 4X50 SR M6X10 DIN916

BT30 SRK 5X50 SR M6X10 DIN916

BT30 SRK 6X50 SR M8X12 DIN916

BT30 SRK 8X50 SR M10X10 DIN913

BT30 SRK10X50 PRESET M8X20B

BT30 SRK12X50 PRESET M10X18B

BT40 SRK 3X50 SR M6X10 DIN916

BT40 SRK 3X85 SR M6X10 DIN916

BT40 SRK 4X50 SR M6X10 DIN916

BT40 SRK 4X85 SR M6X10 DIN916

BT40 SRK 5X50 SR M6X10 DIN916

BT40 SRK 5X85 SR M6X10 DIN916

BT40 SRK 6X50 SR M8X12 DIN916

BT40 SRK 6X85 SR M8X12 DIN916

BT40 SRK 8X50 SR M10X10 DIN913

BT40 SRK 8X85 SR M10X10 DIN913

BT40 SRK 10X50 SR M12X10 DIN913

BT40 SRK 10X85 SR M12X10 DIN913

BT40 SRK 12X50 SR M10X18 DIN913

BT40 SRK 12X85 SR M10X18 DIN913

  

BT-SRK
���#�*�&���$ � %���&���'�#� 

BT MAS-403  

�)" &������*)���$% 

���&��#��&��

1099-1100 1070-1072 1076-1077



ISCAR1020

B
T

 M
A

S
-4

0
3

4˚
SS

BTEDDCONWSCRKS

LSCWS
ADJRGA

THID
LB

BD

LPR
LBX

A0.003A AT3 Taper 50-52 HRc

G2.5 

25,000 RPM
U<1.0 gmm

�$�#�'����� SS DCONWS BTED BD LPR LBX LB ADJRGA LSCWS THID CRKS
BT30 FC SRK 3X50 30 3.00 9.93 15.00 72.00 50.0 36.30 0.00 10.0 M6 M12

BT30 FC SRK 4X50 30 4.00 9.93 15.00 72.00 50.0 36.30 0.00 12.0 M6 M12

BT30 FC SRK 5X50 30 5.00 9.93 15.00 72.00 50.0 36.30 0.00 15.0 M6 M12

BT30 FC SRK 6X50 30 6.00 10.88 16.00 72.00 50.0 36.60 0.00 18.0 M8 M12

BT30 FC SRK 8X50 30 8.00 13.95 20.00 72.00 50.0 43.30 0.00 25.0 M10 M12

BT30 FC SRK10X50 30 10.00 16.01 22.00 72.00 50.0 42.80 10.00 40.0 M8 M12

BT30 FC SRK12X50 30 12.00 20.03 26.00 72.00 50.0 42.70 10.00 42.0 M10 M12

• �)" �*����' SRKIN ��*�)@����&@ &�)@'� ��&��G�&�� ����'f�����(� ��(����.

 

�'�'��&� �'���

�$�#�'�����

BT30 FC SRK 3X50 SR M6X10 DIN916

BT30 FC SRK 4X50 SR M6X10 DIN916

BT30 FC SRK 5X50 SR M6X10 DIN916

BT30 FC SRK 6X50 SR M8X12 DIN916

BT30 FC SRK 8X50 SR M10X10 DIN913

BT30 FC SRK10X50 PRESET M8X20B

BT30 FC SRK12X50 PRESET M10X18B

  

BT-FC-SRK
���#�*�&���$ � %���&���'�#� 

BT MAS-403 c��#� AD 

� '��&�'&�# *� &��f�



1021

B
T

 M
A

S
-4

0
3LF

SS LB
LSCWS

DCONWS BD

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LF BD LSCWS LB CRKS kg

BT30 SEM 16X50 30 16.00 50.00 38.00 17.00 28.0 M12 0.62

BT30 SEM 22X50 30 22.00 50.00 47.00 19.00 28.0 M12 0.77

BT30 SEM 27X50 30 27.00 50.00 58.00 21.00 18.0 M12 0.88

BT40 SEM 16X120 40 16.00 120.00 38.00 17.00 93.0 M16 1.82

BT40 SEM 16X60 40 16.00 60.00 38.00 17.00 33.0 M16 1.29

BT40 SEM 22X120 40 22.00 120.00 47.00 19.00 93.0 M16 2.38

BT40 SEM 22X60 40 22.00 60.00 47.00 19.00 33.0 M16 1.45

BT40 SEM 27X105 40 27.00 105.00 58.00 21.00 78.0 M16 2.62

BT40 SEM 27X45 40 27.00 45.00 58.00 21.00 18.0 M16 1.39

BT40 SEM 32X60 40 32.00 60.00 65.50 24.00 23.0 M16 1.88

BT40 SEM 32X75 40 32.00 75.00 65.00 24.00 36.0 M16 2.26

BT40 SEM 40X60 40 40.00 60.00 82.00 27.00 23.0 M16 2.25

BT40 SEM 40X75 40 40.00 75.00 82.00 27.00 38.0 M16 3.10

BT50 SEM 16X120 50 16.00 120.00 38.00 17.00 82.0 M24 4.40

BT50 SEM 16X75 50 16.00 75.00 38.00 17.00 37.0 M24 3.86

BT50 SEM 22X120 50 22.00 120.00 47.00 19.00 82.0 M24 4.63

BT50 SEM 22X50X220 50 22.00 220.00 50.00 19.00 182.0 M24 6.52

BT50 SEM 22X64X320 50 22.00 320.00 64.00 19.00 282.0 M24 10.51

BT50 SEM 22X75 50 22.00 75.00 47.00 19.00 37.0 M24 4.10

BT50 SEM 27X105 50 27.00 105.00 58.00 21.00 67.0 M24 5.08

BT50 SEM 27X60 50 27.00 60.00 58.00 21.00 22.0 M24 4.15

BT50 SEM 32X48 50 32.00 48.00 66.00 24.00 10.0 M24 3.96

BT50 SEM 32X75 50 32.00 75.00 66.00 24.00 37.0 M24 4.65

BT50 SEM 40X48 50 40.00 48.00 82.00 27.00 10.0 M24 4.27

BT50 SEM 40X75 50 40.00 75.00 82.00 27.00 37.0 M24 5.33

 

�'�'��&� �'���

�$�#�'�����

BT30 SEM 16X50 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10 DIN912

BT30 SEM 22X50 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912

BT30 SEM 27X50 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14 DIN912

BT40 SEM 16X120 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10 DIN912 SR M4X4 DIN913

BT40 SEM 16X60 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10 DIN912 SR M4X4 DIN913

BT40 SEM 22X120 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT40 SEM 22X60 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT40 SEM 27X105 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14 DIN912 SR M4X4 DIN913

BT40 SEM 27X45 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14 DIN912 SR M4X4 DIN913

BT40 SEM 32X60 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14 DIN912 SR M4X4 DIN913

BT40 SEM 32X75 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14 DIN912 SR M4X4 DIN913

BT40 SEM 40X60 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* DR.DOG 16X18S SR M6X20 DIN912 SR M4X4 DIN913

BT40 SEM 40X75 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* DR.DOG 16X18S SR M6X20 DIN912 SR M4X4 DIN913

BT50 SEM 16X120 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10 DIN912 SR M4X4 DIN913

BT50 SEM 16X75 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10 DIN912 SR M4X4 DIN913

BT50 SEM 22X120 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT50 SEM 22X50X220 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT50 SEM 22X64X320 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT50 SEM 22X75 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10 DIN912 SR M4X4 DIN913

BT50 SEM 27X105 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14 DIN912 SR M4X4 DIN913

BT50 SEM 27X60 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14 DIN912 SR M4X4 DIN913

BT50 SEM 32X48 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* SR M5X14 DIN912 SR M4X4 DIN913

BT50 SEM 32X75 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14 DIN912 SR M4X4 DIN913

BT50 SEM 40X48 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* DR. DOG 16 E SR M5X16 DIN912 SR M4X4 DIN913

BT50 SEM 40X75 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* DR.DOG 16X18S SR M6X20 DIN912 SR M4X4 DIN913

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-SEM
!�&���$ �)" ������$% c��� 

ISO 3937 � %���&���'�#� 

BT MAS-403 c��#� ADB

1099-1100



ISCAR1022

B
T

 M
A

S
-4

0
3

 

 

LB
LF LSCWS

CRKS

BDDCONWS

SS
(a)

1 2 A0.005A AT3 Taper 58-60 HRc

G2.5 

BT 40= 20,000RPM
BT 50= 15,000RPM

U<1.0 gmm

�$�#�'����� SS DCONWS BD LF LSCWS LB CRKS kg @��.

BT40 SEM 16X100C 40 16.00 38.00 100.00 17.00 73.0 M16 1.57 1.

BT40 SEM 16X60C 40 16.00 38.00 60.00 17.00 33.0 M16 1.21 1.

BT40 SEM 22X100C 40 22.00 47.00 100.00 19.00 73.0 M16 2.03 1.

BT40 SEM 22X60C 40 22.00 47.00 60.00 19.00 33.0 M16 1.10 1.

BT40 SEM 27X100C 40 27.00 58.00 100.00 21.00 73.0 M16 2.44 1.

BT40 SEM 27X45C 40 27.00 58.00 45.00 21.00 18.0 M16 1.32 1.

BT40 SEM 32X60C 40 32.00 66.00 60.00 24.00 33.0 M16 1.84 1.

BT50 SEM 16X100C 50 16.00 38.00 100.00 17.00 62.0 M24 4.00 1.

BT50 SEM 16X75C 50 16.00 38.00 75.00 17.00 37.0 M24 3.82 1.

BT50 SEM 22X100C 50 22.00 47.00 100.00 19.00 62.0 M24 4.30 1.

BT50 SEM 22X48X220C (1) 50 22.00 48.00 220.00 19.00 182.0 M24 5.98 2.

BT50 SEM 22X61X320C (1) 50 22.00 61.00 320.00 19.00 282.0 M24 9.91 2.

BT50 SEM 22X75C 50 22.00 47.00 75.00 19.00 37.0 M24 4.00 1.

BT50 SEM 27X100C 50 27.00 58.00 100.00 21.00 62.0 M24 4.72 1.

BT50 SEM 27X60C 50 27.00 58.00 60.00 21.00 22.0 M24 3.96 1.

BT50 SEM 27X61X320C (1) 50 27.00 61.00 320.00 21.00 282.0 M24 9.78 2.

BT50 SEM 32X100C 50 32.00 66.00 100.00 24.00 62.0 M24 5.04 1.

BT50 SEM 32X75C 50 32.00 66.00 75.00 24.00 37.0 M24 4.50 1.

BT50 SEM 32X78X390C (1) 50 32.00 78.00 390.00 24.00 352.0 M24 16.66 2.

• (a) �)" *���+� ��� +���� c)���f, �� �&����&�" �)" *���+� ��� ����� �$'��&�&@ ���@q���< *��q'� (� *�#�=@< ?��&�(�����(� ')<+� 2 ##)
(1) ��##�&��+��" '���&��'f�". �)" h&�(� ���&��#��&� �� (����&���<&�" ���+���" q�)����, ��*�)@���#$� �� ��/# #���)@��# �"��.

 

�'�'��&� �'���

�$�#�'�����

BT40 SEM 16X100C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912 SR M4X4 DIN913

BT40 SEM 16X60C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912 SR M4X4 DIN913

BT40 SEM 22X100C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT40 SEM 22X60C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT40 SEM 27X100C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14DIN912 SR M4X4 DIN913

BT40 SEM 27X45C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14DIN912 SR M4X4 DIN913

BT40 SEM 32X60C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912 SR M4X4 DIN913

BT50 SEM 16X100C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 SR M4X4 DIN913

BT50 SEM 16X75C M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* DR.DOG 8S SR M3X10DIN912 SR M4X4 DIN913

BT50 SEM 22X100C M10 CLAMP SCREW SEM22 WRENCH M8 SEMC16* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT50 SEM 22X48X220C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT50 SEM 22X61X320C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT50 SEM 22X75C M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* DR.DOG 10S SR M4X10DIN912 SR M4X4 DIN913

BT50 SEM 27X100C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14DIN912 SR M4X4 DIN913

BT50 SEM 27X60C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X14DIN912 SR M4X4 DIN913

BT50 SEM 27X61X320C M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* DR.DOG 12S SR M5X12 DIN912 SR M4X4 DIN913

BT50 SEM 32X100C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912 SR M4X4 DIN913

BT50 SEM 32X75C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X13S SR M5X14DIN912 SR M4X4 DIN913

BT50 SEM 32X78X390C M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* DR.DOG 14X16S SR M5X20DIN912 SR M4X4 DIN913

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-SEM-C
!�&���$ �)" ������$% c��� 

ISO 3937 � �&����&�"#� 

�)" *������ �%)����<=�G 

���'��&�, � %���&���'�#� 

BT MAS-403 c��#� ADB

1099-1100



1023

B
T

 M
A

S
-4

0
3

 

SS

BDDCONWS
CRKS

LSCWSLB
LF

A0.005A AT3 Taper 58-60 HRc

G2.5 

U<1.0 gmm

Size 30, 40= 20,000RPM
Size 50= 15,000RPM

�$�#�'����� SS DCONWS BD LF LB LSCWS CRKS
BT30 FC SEM16X50C 30 16.00 38.00 50.00 28.0 17.00 M12

BT30 FC SEM22X50C 30 22.00 47.00 50.00 28.0 19.00 M12

BT30 FC SEM27X50C 30 27.00 58.00 50.00 28.0 21.00 M12

BT40 FC SEM16X60C 40 16.00 38.00 60.00 34.0 17.00 M16

BT40 FC SEM22X60C 40 22.00 47.00 60.00 34.0 19.00 M16

BT40 FC SEM22X120C 40 22.00 47.00 120.00 94.0 19.00 M16

BT40 FC SEM27X45C 40 27.00 58.00 45.00 19.0 21.00 M16

BT40 FC SEM32X60C 40 32.00 66.00 60.00 34.0 24.00 M16

BT50 FC SEM16X75C 50 16.00 38.00 75.00 38.5 17.00 M24

BT50 FC SEM16X120C 50 16.00 38.00 120.00 83.5 17.00 M24

BT50 FC SEM22X75C 50 22.00 47.00 75.00 38.5 19.00 M24

BT50 FC SEM22X120C 50 22.00 47.00 120.00 83.5 19.00 M24

BT50 FC SEM27X60C 50 27.00 58.00 60.00 23.5 21.00 M24

BT50 FC SEM27X105C 50 27.00 58.00 105.00 68.5 21.00 M24

BT50 FC SEM32X60 C 50 32.00 66.00 60.00 11.5 24.00 M24

BT50 FC SEM40X60 C 50 40.00 82.00 60.00 11.5 27.00 M24

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

�'�'��&� �'���

�$�#�'�����

BT30 FC SEM16X50C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16*

BT30 FC SEM22X50C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22*

BT30 FC SEM27X50C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X14DIN912 WRENCH M12 SEMC 27*

BT40 FC SEM16X60C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912

BT40 FC SEM22X60C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912

BT40 FC SEM22X120C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912

BT40 FC SEM27X45C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X14DIN912

BT40 FC SEM32X60C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912

BT50 FC SEM16X75C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16*

BT50 FC SEM16X120C M8 CLAMP SCREW SEM16 DR.DOG 8S SR M3X10DIN912 WRENCH M8 SEMC16*

BT50 FC SEM22X75C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22*

BT50 FC SEM22X120C M10 CLAMP SCREW SEM22 DR.DOG 10S SR M4X10DIN912 WRENCH M10 SEMC 22*

BT50 FC SEM27X60C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X14DIN912 WRENCH M12 SEMC 27*

BT50 FC SEM27X105C M12 CLAMP SCREW SEM27 DR.DOG 12S SR M5X14DIN912 WRENCH M12 SEMC 27*

BT50 FC SEM32X60 C M16 CLAMP SCREW SEM32 DR.DOG 14X13S SR M5X14DIN912 WRENCH M16 SEMC 32*

BT50 FC SEM40X60 C M20 CLAMP SCREW SEM40 DR.DOG 16X18S SR M6X20 DIN912 WRENCH M20 SEMC 40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-FC-SEM-C
!�&���$ �)" ������$% c��� 

� �&����&�"#� �)" *������ 

�%)������", � %���&���'�#� 

BT MAS-403 c��#� AD, 

� '��&�'&�# *� &��f�

1099-1100



ISCAR1024

B
T

 M
A

S
-4

0
3 THSZWS

CRKS

LB
LF

BDDCONWS

LSCWS

DBC THIDDBC THID
SS G.L.

12 A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LSCWS LF LB BD DBC THID THSZWS CRKS @��.
kg

BT40 FM 40X60 (1) 40 40.00 27.00 60.00 33.0 88.00 66.70 M12 M20 M16 1. 2.33

BT50 FM 40X50 (1) 50 40.00 27.00 50.00 12.0 88.00 66.70 M12 M20 M24 1. 4.19

BT50 FM 60X88 (2) 50 60.00 38.00 88.00 40.0 128.00 101.60 M16 - M24 2. 8.60

• !���c���G�$� ����#�$� ���&$ �� *��&��)"<&�".
(1) Z��#� AD
(2) Z��#� A

 

�'�'��&� �'���

�$�#�'�����

BT40 FM 40X60 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

BT50 FM 40X50 M20 CLAMP SCREW SEM40

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-FM
!�&���$ �)" &��f��$% c��� 

DIN 6357 � %���&���'�#� 

BT MAS-403 c��#� A/AD

SS
12

BDDCONWS
THSZWSCRKS

THIDTHID DBCDBC

LSCWS
LB

LF

A0.005A 58-60 HRc AT3 Taper

G2.5 

SK 40=20,000 RPM
SK 50=15,000 RPM

U<1.0 gmm

�$�#�'����� SS BD DCONWS DBC LF LSCWS LB CRKS THSZWS THID @��.

BT40 FC FM40 (1) 40 88.00 40.00 66.70 60.00 27.00 23.0 M16 M20 M12 �� 1.

BT50 FC FM40 (1) 50 88.00 40.00 66.70 50.00 27.00 13.5 M24 M20 M12 �� 1.

BT50 FC FM60 (2) 50 128.00 60.00 101.60 88.00 40.00 41.5 M24 - M16 ��& 2.

(1) Z��#� AD
(2) Z��#� A

 

BT-FC � ��������� 	� ��
��

�*����)@ 
� '��&�'&�# 
*� &��f�

�&�����&�$G
?*����)@

�&�����&�$G 
*�&���

!�&��� 
� '��&�'&�# 
*� &��f�

 
BT-FC-FM
!�&���$ �)" &��f��$% c��� 

� %���&���'�#� BT MAS-403 

c��#� A/AD, � '��&�'&�# 

*� &��f�

1099-1100

1099-1100 1102 1103



1025

B
T

 M
A

S
-4

0
3

BDDCONWS

LF
LB LSCWS

SS

CRKS

LSCWS_2

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LSCWS BD LF LB LSCWS_2 CRKS kg

BT40 SEMC 16X100 40 16.00 17.00 32.00 100.00 73.0 27.00 M16 1.42

BT40 SEMC 16X50 40 16.00 17.00 32.00 50.00 23.0 27.00 M16 1.09

BT40 SEMC 22X100 40 22.00 19.00 40.00 100.00 73.0 31.00 M16 1.68

BT40 SEMC 22X53 40 22.00 19.00 40.00 53.00 26.0 31.00 M16 1.18

BT40 SEMC 27X100 40 27.00 21.00 48.00 100.00 73.0 33.00 M16 2.02

BT40 SEMC 27X55 40 27.00 21.00 48.00 55.00 28.0 33.00 M16 1.29

BT40 SEMC 32X100 40 32.00 24.00 58.00 100.00 73.0 38.00 M16 2.26

BT40 SEMC 32X60 40 32.00 24.00 58.00 60.00 33.0 38.00 M16 1.51

BT40 SEMC 40X80 40 40.00 27.00 70.00 80.00 53.0 41.00 M16 2.29

BT50 SEMC 16X100 50 16.00 17.00 32.00 100.00 62.0 27.00 M24 3.86

BT50 SEMC 16X150 50 16.00 17.00 32.00 150.00 112.0 27.00 M24 4.30

BT50 SEMC 22X100 50 22.00 19.00 40.00 100.00 62.0 31.00 M24 4.14

BT50 SEMC 22X150 50 22.00 19.00 40.00 150.00 112.0 31.00 M24 5.23

BT50 SEMC 22X68 50 22.00 19.00 40.00 68.00 30.0 31.00 M24 2.80

BT50 SEMC 27X100 50 27.00 21.00 48.00 100.00 62.0 33.00 M24 4.32

BT50 SEMC 27X150 50 27.00 21.00 48.00 150.00 112.0 33.00 M24 5.48

BT50 SEMC 27X78 50 27.00 21.00 48.00 78.00 40.0 33.00 M24 3.97

BT50 SEMC 32X100 50 32.00 24.00 58.00 100.00 62.0 38.00 M24 4.60

BT50 SEMC 32X150 50 32.00 24.00 58.00 150.00 112.0 38.00 M24 5.82

BT50 SEMC 32X78 50 32.00 24.00 58.00 78.00 40.0 38.00 M24 4.50

BT50 SEMC 40X78 50 40.00 27.00 70.00 78.00 40.0 41.00 M24 4.62

BT50 SEMC 40X100 50 40.00 27.00 70.00 100.00 62.0 41.00 M24 5.06

BT50 SEMC 40X150 50 40.00 27.00 70.00 150.00 112.0 41.00 M24 6.46

BT50 SEMC 50X79 50 50.00 30.00 90.00 79.00 41.0 46.00 M24 6.40

BT50 SEMC 50X150 50 50.00 30.00 90.00 150.00 112.0 46.00 M24 8.41

• �����" ������" ?*��'� �� *��&��)"�&�".

 

�'�'��&� �'���

�$�#�'�����

BT40 SEMC 16X100 KEY SEMC 16 4X4X20 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* 16 D.RING SEMC

BT40 SEMC 16X50 KEY SEMC 16 4X4X20 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* 16 D.RING SEMC

BT40 SEMC 22X100 KEY SEMC 22 6X6X25 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* 22 D.RING SEMC

BT40 SEMC 22X53 KEY SEMC 22 6X6X25 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* 22 D.RING SEMC

BT40 SEMC 27X100 KEY SEMC 27 7X7X25 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* 27 D.RING SEMC

BT40 SEMC 27X55 KEY SEMC 27 7X7X25 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* 27 D.RING SEMC

BT40 SEMC 32X100 KEY SEMC 32 8X7X28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* 32 D.RING SEMC

BT40 SEMC 32X60 KEY SEMC 32 8X7X28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* 32 D.RING SEMC

BT40 SEMC 40X80 KEY SEMC 40 10X8X32 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* 40 D.RING SEMC

BT50 SEMC 16X100 KEY SEMC 16 4X4X20 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* 16 D.RING SEMC

BT50 SEMC 16X150 KEY SEMC 16 4X4X20 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* 16 D.RING SEMC

BT50 SEMC 22X100 KEY SEMC 22 6X6X25 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* 22 D.RING SEMC

BT50 SEMC 22X150 KEY SEMC 22 6X6X25 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* 22 D.RING SEMC

BT50 SEMC 22X68 KEY SEMC 22 6X6X25 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* 22 D.RING SEMC

BT50 SEMC 27X100 KEY SEMC 27 7X7X25 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* 27 D.RING SEMC

BT50 SEMC 27X150 KEY SEMC 27 7X7X25 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* 27 D.RING SEMC

BT50 SEMC 27X78 KEY SEMC 27 7X7X25 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* 27 D.RING SEMC

BT50 SEMC 32X100 KEY SEMC 32 8X7X28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* 32 D.RING SEMC

BT50 SEMC 32X150 KEY SEMC 32 8X7X28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* 32 D.RING SEMC

BT50 SEMC 32X78 KEY SEMC 32 8X7X28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* 32 D.RING SEMC

BT50 SEMC 40X78 KEY SEMC 40 10X8X32 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* 40 D.RING SEMC

BT50 SEMC 40X100 KEY SEMC 40 10X8X32 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* 40 D.RING SEMC

BT50 SEMC 40X150 KEY SEMC 40 10X8X32 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* 40 D.RING SEMC

BT50 SEMC 50X79 KEY SEMC 50 12X8X36 M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50* 50 D.RING SEMC

BT50 SEMC 50X150 KEY SEMC 50 12X8X36 M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50* 50 D.RING SEMC

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-SEMC
!�&���$ �)" ������$% c��� 

COMBI � %���&���'�#� 

BT MAS-403 c��#� AD

1099-1100



ISCAR1026

B
T

 M
A

S
-4

0
3 SS

DCONWS

CRKS

LPR

AT3 Taper A0.003A 58-60 HRc

�$�#�'����� SS DCONWS LPR CRKS kg

C4 AD BT40X030 ADB 40 40.00 30.00 M16 1.00

C5 AD BT40X30 40 50.00 30.00 M16 1.00

C5 AD BT50X40 ADB 50 50.00 40.00 M24 3.46

C6 AD BT50X40 50 63.00 40.00 M24 3.44

C8 AD BT50X70 ADB 50 80.00 70.00 M24 4.05

 

�'�'��&� �'���

�$�#�'�����

C4 AD BT40X030 ADB SR M14X58 C4 HW 8.0* MT RING M22X17XC4 WRENCH C4 DRW NUT*

C5 AD BT40X30 SR M16X70 C5 HW 10.0* MT RING M25X20XC5 WRENCH C5 DRW NUT* COOLING TUBE C5* WRENCH COOL TUBE C5*

C5 AD BT50X40 ADB SR M16X70 C5 HW 10.0* MT RING M25X20XC5 SR M4X4 DIN913 HW 2.0* WRENCH C5 DRW NUT*

C6 AD BT50X40 SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 WRENCH C6-8 DRW NUT*

C8 AD BT50X70 ADB SR M20X87 C6/8 HW 14.0* MT RING M30X24XC6/8 SR M4X4 DIN913 HW 2.0* WRENCH C6-8 DRW NUT*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

BT-C#
!�&���$ CAMFIX (ISO 26623- 1) 

� %���&���'�#� BT MAS- 403 

c��#� AD/ADB

LF
LB

Tt˚

BD

SS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS Tt° LF BD LB CRKS kg

BT30 DC B12X 30 30 B12 30.00 - 8.0 M12 0.42

BT30 DC B16X 30 30 B16 30.00 - 8.0 M12 0.44

BT40 DC B12X 45 40 B12 45.00 24.00 18.0 M16 1.04

BT40 DC B12X 90 40 B12 90.00 24.00 63.0 M16 1.22

BT40 DC B16X 45 40 B16 45.00 30.00 18.0 M16 1.09

BT40 DC B16X 90 40 B16 90.00 30.00 63.0 M16 1.34

BT40 DC B18X 90 40 B18 90.00 30.00 63.0 M16 1.38

BT50 DC B12X 45 50 B12 45.00 - 6.7 M24 3.67

BT50 DC B16X 45 50 B16 45.00 - 7.0 M24 3.72

BT50 DC B16X105 50 B16 105.00 50.00 67.0 M24 4.64

BT50 DC B18X 45 50 B18 45.00 - 7.0 M24 3.73

BT50 DC B18X105 50 B18 105.00 30.00 67.0 M24 4.08

 

 
BT-DC-B
�*���'� �)" 

����)�)@�$% *�&����� 

DIN 238 � %���&���'�#� 

BT MAS- 403 c��#� A

1099-1100

1099-1100



1027

B
T

 M
A

S
-4

0
3LF

LBSS

BD

CSIG1
CRKS

A0.01A AT3 Taper 58-60 HRc

�$�#�'����� SS CSI LF LB BD G1 CRKS kg

BT50 AD 40 50 DIN2080 75.00 32.0 63.00 M16 M24 3.85

BT50 AD BT/SK40 50 DIN69871/A, BT MAS 75.00 37.0 66.00 M16 M24 4.05

 

�'�'��&� �'���

�$�#�'�����

BT50 AD 40 SR M6X10 DIN914 HW M16X35 20.9 DIN7984 MT RING M24X12X14

BT50 AD BT/SK40 SR M6X10 DIN914 HW M16X60 20.9 DIN7984 MT RING M24X12X14

 
BT-AD
!�&���$-*���%����'� DIN 

2080 /DIN 69871 c��#� A 

� BT MAS-403 � %���&���'�#� 

BT MAS-403 c��#� A

BD

Tt˚

LB
LPR

CRKS

SS

A0.01A AT3 Taper 58-60 HRc

�$�#�'����� SS Tt° LPR LB BD CRKS kg

BT30 MT1X 45 30 MT1 45.00 23.0 25.00 M12 0.43

BT30 MT2X 60 30 MT2 60.00 38.0 32.00 M12 0.51

BT40 MT1X 45 40 MT1 45.00 18.0 25.00 M16 1.00

BT40 MT1X120 40 MT1 120.00 93.0 25.00 M16 1.28

BT40 MT2X 60 40 MT2 60.00 33.0 32.00 M16 0.50

BT40 MT2X120 40 MT2 120.00 93.0 32.00 M16 1.43

BT40 MT3X 75 40 MT3 75.00 48.0 40.00 M16 1.15

BT40 MT3X139 40 MT3 139.00 112.0 40.00 M16 1.78

BT40 MT4X 95 40 MT4 95.00 68.0 50.00 M16 1.44

BT50 MT1X 45 50 MT1 45.00 7.0 25.00 M24 3.59

BT50 MT1X120 50 MT1 120.00 82.0 25.00 M24 3.94

BT50 MT1X180 50 MT1 180.00 142.0 25.00 M24 4.18

BT50 MT2X 45 50 MT2 45.00 7.0 32.00 M24 3.50

BT50 MT2X135 50 MT2 135.00 97.0 32.00 M24 4.14

BT50 MT2X180 50 MT2 180.00 142.0 32.00 M24 4.40

BT50 MT3X 45 50 MT3 45.00 7.0 40.00 M24 3.49

BT50 MT3X150 50 MT3 150.00 112.0 40.00 M24 4.46

BT50 MT3X180 50 MT3 180.00 142.0 40.00 M24 4.79

BT50 MT4X 75 50 MT4 75.00 37.0 50.00 M24 3.64

BT50 MT4X180 50 MT4 180.00 142.0 50.00 M24 5.20

BT50 MT5X105 50 MT5 105.00 67.0 70.00 M24 4.17

 

 
BT-MT
!�&���$-*���%����'� 

DIN 6383 / DIN 228-2 c��#� D, 

�)" ���&��#��&� � '�����# 

����� � )�*'�G, � %���&���'�#� 

BT MAS-403 c��#� A

1099-1100

1099-1100



ISCAR1028

B
T

 M
A

S
-4

0
3 LPR

LB
LB_2LPR

LBSS

Tt˚G1CRKS

BD

1 2
A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS Tt° LPR LB LB_2 BD G1 CRKS @��.
kg

BT40 MT1 DRW 40 MT1 50.00 23.0 - 25.00 M6 M16 1. 1.04

BT40 MT2 DRW 40 MT2 50.00 23.0 - 32.00 M10 M16 1. 1.04

BT40 MT3 DRW 40 MT3 70.00 43.0 - 40.00 M12 M16 1. 1.16

BT40 MT4 DRW (1) 40 MT4 95.00 68.0 15.00 63.00 M16 M16 2. 2.27

BT50 MT1 DRW 50 MT1 45.00 7.0 - 25.00 M6 M24 1. 3.64

BT50 MT2 DRW 50 MT2 60.00 22.0 - 32.00 M10 M24 1. 3.82

BT50 MT3 DRW 50 MT3 65.00 27.0 - 40.00 M12 M24 1. 3.67

BT50 MT4 DRW (1) 50 MT4 70.00 32.0 15.00 63.00 M16 M24 2. 4.33

BT50 MT5 DRW (1) 50 MT5 100.00 62.0 18.00 78.00 M20 M24 2. 4.81

(1) DIN 2201

 

�'�'��&� �'���

�$�#�'�����

BT40 MT1 DRW SR M6X20 DIN912 HW 5.0* MT RING M16X10X6.5

BT40 MT2 DRW HW M10X25 13.8 DIN7984 HW 3.0* MT RING M16X8X8.5 SR M6X6DIN914 HW 8.0*

BT40 MT3 DRW SR M12X35DIN7984 HW 3.0* MT RING M20X10X12.5 SR M6X6DIN914 HW 8.0*

BT40 MT4 DRW HW M16X40 20.9 DIN7984 HW 3.0* MT RING M24X1.5X7X16.5 SR M6X6DIN914 HW 14.0*

BT50 MT1 DRW SR M6X20 DIN912 HW 5.0* MT RING M24X14X6.5

BT50 MT2 DRW SR M10X25 DIN912 HW 3.0* MT RING M24X18X10 SR M6X10 DIN914 HW 8.0*

BT50 MT3 DRW SR M12X35DIN912 HW 3.0* MT RING M24X16X12 SR M6X10 DIN914 HW 10.0*

BT50 MT4 DRW HW M16X35 20.9 DIN7984 HW 3.0* MT RING M24X7X16.5 SR M6X10 DIN914 HW 14.0*

BT50 MT5 DRW SR M20X55DIN7984 HW 3.0* MT RING M33X13X20.5 SR M6X10 DIN914 HW 14.0*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
BT-MT-DRW
!�&���$ - *���%����'� 

�)" ���&��#��&� � '�����# 

����� DIN 6364 � ���@q��$# 

�&����&��# DIN 228-2 c��#� B, 

� %���&���'�#� BT MAS-403 

c��#� A

0.05 1°

SS

CSI

LB
LB_2

LBX

CRKS
DCONNWS
DCONXWS

LPR

BD BD_2

BD_3 THID

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LBX LB_2 LB BD BD_2 BD_3 THID CRKS kg

ADJ BT40 D70 ER32 40 ER32 2.0 20.0 129.50 102.5 92.50 52.50 50.00 70.00 62.50 M22X1.5 M16 2.56

ADJ BT50 D70 ER32 50 ER32 2.0 20.0 144.50 106.5 106.50 52.50 50.00 70.00 70.00 M22X1.5 M24 5.90

• �����)@��" ��(�)����'� 0.05 ##, �()���" ��(�)����'� 1° • ����'� “B” �q����+��& ������& � *���+�G ��� +���� c)���f.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�()���" ��(�)����'�

�����)@��" ��(�)����'�

1°

0.05

�'�'��&� �'���

�$�#�'�����

ADJ BT-ER NUT ER32 TOP* ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 SR M8X1X16 DIN916 SR M6X30 DIN912 ADJ ER32 NOSE

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

ADJ BT-ER
:��(��$� *�&���$ 

ER DIN 6499 � ���#�����&@< 

�����)@��G � �()���G 

��(�)����'�, � %���&���'�#� 

BT MAS-403 c��#� ADB

1099-1100

1099-1100 1102 1065-1069 932, 1063-1065



1029

B
T

 M
A

S
-4

0
3  

  CSISS

Flb FlfCRKS

LB

BD_2

LPR
LBX

DCONNWS
DCONXWS

BD

AT3 Taper 58-60 HRc

�$�#�'����� SS CSI
@�'�
� 

min
@�'�
� 

max DCONNWS(1) DCONXWS(2) LPR LBX LB BD BD_2 Flf Flb CRKS kg

GTI BT40 ER16 40 ER16 M3 M10 0.5 10.0 84.20 52.7 24.60 28.00 29.50 8.0 3.0 M16 1.17

GTI BT40 ER32 40 ER32 M6 M20 2.0 20.0 106.80 79.8 33.00 50.00 56.50 9.0 4.0 M16 2.52

GTI BT40 ER40 40 ER40 M6 M28 3.0 26.0 124.80 97.8 51.00 63.00 56.50 9.0 4.0 M16 2.24

GTI BT50 ER16 50 ER16 M3 M10 0.5 10.0 106.80 68.8 24.60 28.00 29.50 8.0 3.0 M24 3.85

GTI BT50 ER32 50 ER32 M6 M20 2.0 20.0 114.20 77.2 33.00 50.00 56.50 9.0 4.0 M24 2.28

GTI BT50 ER40 50 ER40 M6 M28 3.0 26.0 133.20 95.2 51.00 63.00 56.50 9.0 4.0 M24 2.28

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

GTI BT40 ER16 NUT ER16 TOP WRENCH ER16*

GTI BT40 ER32 NUT ER32 TOP WRENCH ER32*

GTI BT40 ER40 NUT ER40 TOP WRENCH ER40*

GTI BT50 ER16 NUT ER16 TOP WRENCH ER16*

GTI BT50 ER32 NUT ER32 TOP WRENCH ER32*

GTI BT50 ER40 NUT ER40 TOP WRENCH ER40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

GTI BT-ER (tapping)
!�&���$ �)" #�&+�'��  

ER DIN 6499 � %���&���'�#�  

BT MAS-403 c��#� A

SS

CRKS
DCONWS

LB
LPR

BD

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LPR LB BD CRKS kg

BT40 CF4-L 40 25.00 110.00 83.0 44.50 M16 1.74

BT40 CF4-S 40 25.00 52.00 25.0 44.50 M16 1.08

BT50 CF4-L 50 25.00 115.00 77.0 44.50 M24 1.20

BT50 CF4-S 50 25.00 63.00 25.0 44.50 M24 3.71

• ������ '���?��: 6 '( ·#

 

�'�'��&� �'���

�$�#�'�����

BT-CF (CLICKFIT) SCREW M16X1.5 FOR CF4 WRENCH HW 8 200X36 DIN911

  

BT-CF (CLICKFIT)
!�&���$ BT MAS-403 c��#� AD 

#���)@��G ���&�#$ CLICKFIT

1099-1100

1099-1100

1065-1069

928

1059, 1063-1065

1046



ISCAR1030

B
T

 M
A

S
-4

0
3

  

 

SS CSI

CRKS

LPR

BD

A0.003A AT3 Taper 58-60 HRc

G2.5 

20,000 RPM
U<1.0 gmm

�$�#�'����� SS CSI LPR BD CRKS kg

BT40 ER32 CLICK-IN 40 32 SRF 28.00 41.00 M16 0.83

BT50 ER32 CLICK-IN 50 32 SRF 39.00 41.00 M24 3.46

• ������ '���?��: 24 '( ·#

 

�'�'��&� �'���

�$�#�'�����

BT40 ER32 CLICK-IN SR M16-M19.5 CLICK-IN SR M16X10CLICK-IN PIN 3X4MM SR M4X4 DIN913

BT50 ER32 CLICK-IN SR M16-M19.5 CLICK-IN SR M16X10CLICK-IN PIN 3X4MM SR M4X10 DIN913

  

BT-ER-CLICKIN
!�&���$ BT MAS 403 c��#� AD 

#���)@��G ���&�#$ CLICKIN

10

SS

CRKS

LB

BD_2

LPR
LBX

BD

THSZWS

A0.003A AT3 Taper 58-60 HRc

G2.5 

G6.3 

BT 40=20,000RPM

RPMBT 50=12,000

U<1.0 gmm

�$�#�'����� SS THSZWS BD BD_2 LPR LBX LB CRKS kg

BT40 ODP 6X 66 40 M06 9.80 13.00 66.00 39.0 30.00 M16 0.98

BT40 ODP 6X106 40 M06 9.80 23.00 106.00 79.0 70.00 M16 0.14

BT40 ODP 8X 66 40 M08 13.00 15.00 66.00 30.0 30.00 M16 0.99

BT40 ODP 8X106 40 M08 13.00 23.00 106.00 79.0 70.00 M16 1.09

BT40 ODP10X 66 40 M10 18.00 20.00 66.00 30.0 30.00 M16 1.03

BT40 ODP10X106 40 M10 18.00 28.00 106.00 79.0 70.00 M16 1.24

BT40 ODP12X 66 40 M12 21.00 24.00 66.00 39.0 30.00 M16 1.05

BT40 ODP12X106 40 M12 21.00 31.00 106.00 79.0 70.00 M16 1.23

BT40 ODP16X 66 40 M16 29.00 28.60 66.00 39.0 35.00 M16 1.06

BT40 ODP16X106 40 M16 29.00 34.00 106.00 79.0 70.00 M16 1.32

BT50 ODP 12X 94 50 M12 23.00 30.00 94.00 56.0 50.00 M24 3.85

BT50 ODP 12X144 50 M12 23.00 40.00 144.00 106.0 100.00 M24 4.25

BT50 ODP 12X194 50 M12 23.00 40.00 194.00 156.0 150.00 M24 4.57

BT50 ODP 12X244 50 M12 23.00 46.00 244.00 206.0 200.00 M24 5.12

BT50 ODP 16X 94 50 M16 29.00 34.00 94.00 56.0 50.00 M24 3.75

BT50 ODP 16X144 50 M16 29.00 40.00 144.00 106.0 100.00 M24 4.19

BT50 ODP 16X194 50 M16 29.00 55.00 194.00 156.0 150.00 M24 5.24

BT50 ODP 16X244 50 M16 29.00 60.00 244.00 206.0 200.00 M24 5.60

• �&����&�" �)" ��� �� c)��f� c��#$ “>” ��'�$��<&�" ���&�#�, '�&��$� *�� ���q%���#��&� #���� ��"&@.

 

  

BT-ODP (FLEXFIT)
!�&���$ BT MAS-403 

c��#� ADB #���)@��G 

���&�#$ FLEXFIT

1099-1100

1099-1100

1102

1102

1079

1046-1048

1078

1044



1031

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	

DIN2080 • ����� ���[	



ISCAR1032

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	

L7

bd7

k
aL1

L4

d1

8˚17'50"

d2G

 

 
DIN2080-ER

_�������� a±0.2 b (H12) D1 D2 G d7 K±0.15

SK 30 1.6 16.1 31.75 17.4 M12 50  8

SK 40 1.6 16.1 44.45 25.3 M16 63 10

SK 50 3.2 25.7 69.85 39.6 M24 97.5 12

_�������� L1 L4 L7 max W���� AT3
SK 30  68.4 24 16.2 0.002

SK 40  93.4 32 22.5 0.003

SK 50 126.8 47 35.3 0.004



1033

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	 

DCONNWS
DCONXWS

ER32, 40, 50ER16, 20

BD

LBXLBX
LPR

LB
CSI

SS
LB

CRKS THID
BD_2

BD

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LBX LB BD BD_2 THID CRKS kg

DIN2080 30 ER16X 75 30 ER16 0.5 10.0 75.00 65.4 - 28.00 - M10 M12 0.48

DIN2080 30 ER32X 55 30 ER32 2.0 20.0 55.00 45.4 - 50.00 - M18X1.5 M12 0.36

DIN2080 30 ER40X 83 30 ER40 3.0 26.0 83.00 69.4 - 63.00 - M22X1.5 M12 0.79

DIN2080 40 ER16X 63 40 ER16 0.5 10.0 63.00 51.4 - 28.00 - M12 M16 0.85

DIN2080 40 ER16X100 40 ER16 0.5 10.0 100.00 88.4 - 28.00 - M12 M16 0.99

DIN2080 40 ER20X 63 40 ER20 1.0 13.0 63.00 51.4 - 34.00 - M12 M16 0.90

DIN2080 40 ER20X100 40 ER20 1.0 13.0 100.00 88.4 - 34.00 - M12 M16 1.12

DIN2080 40 ER25X 50 40 ER25 1.0 16.0 50.00 38.4 - 42.00 - M16x1.5 M16 0.82

DIN2080 40 ER25X 90 40 ER25 1.0 16.0 90.00 78.4 - 42.00 - M16x1.5 M16 1.21

DIN2080 40 ER32X 50 40 ER32 2.0 20.0 50.00 38.4 - 50.00 - M22X1.5 M16 0.73

DIN2080 40 ER40X 55 40 ER40 3.0 26.0 55.00 43.4 - 63.00 - M22X1.5 M16 0.80

DIN2080 40 ER50X 80 40 ER50 10.0 34.0 80.00 68.4 - 78.00 - M22X1.5 M24 1.20

DIN2080 50 ER16X100 50 ER16 0.5 10.0 100.00 84.8 - 28.00 - M12 M24 2.80

DIN2080 50 ER16X160 50 ER16 0.5 10.0 160.00 144.8 95.00 28.00 40.00 M12 M24 3.28

DIN2080 50 ER20X100 50 ER20 1.0 13.0 100.00 84.8 - 34.00 - M16 M24 2.89

DIN2080 50 ER20X160 50 ER20 1.0 13.0 160.00 144.8 - 34.00 - M12 M24 3.30

DIN2080 50 ER40X 58 50 ER40 3.0 26.0 58.00 42.8 - 63.00 - M28X1.5 M24 2.51

DIN2080 50 ER50X 63 50 ER50 10.0 34.0 63.00 47.8 - 78.00 - M36X1.5 M24 2.40

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

DIN2080 30 ER16X 75 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 10X1.5*

DIN2080 30 ER32X 55 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

DIN2080 30 ER40X 83 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN2080 40 ER16X 63 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 40 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 40 ER20X 63 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 40 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 40 ER25X 50 WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN2080 40 ER32X 50 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN2080 40 ER40X 55 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN2080 40 ER50X 80 NUT ER50 UM WRENCH ER50* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

DIN2080 50 ER16X100 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 50 ER16X160 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 50 ER20X100 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

DIN2080 50 ER20X160 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

DIN2080 50 ER40X 58 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

DIN2080 50 ER50X 63 NUT ER50 UM WRENCH ER50*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN2080-ER
:��(��$� *�&���$ DIN 6499 ER 

� '���+��'�#� %���&���'�#� 

DIN 2080 c��#� AD

1065-1069



ISCAR1034

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	

DCONNWS
DCONXWS

CSI
SS

SETS A0.005A AT3 Taper

46-48 HRc
58-60 HRc

�$�#�'����� SS CSI DCONNWS DCONXWS kg

KIT DIN2080 30 18 ER32 30 ER32 2.00 20 4.17

KIT DIN2080 40 18 ER32 40 ER32 2.00 20 0.00

KIT DIN2080 40 23 ER40 40 ER40 3.00 26 0.01

KIT DIN2080 50 23 ER40 50 ER40 3.00 26 10.00

• > '���$G ��q�� �%���& ���� f��(��$G *�&���, *�)�$G '�#*)�'& f��( ER � (��+�$G ')<+.

 

 
KIT DIN2080-ER
> ��q�� �%���& f��(��$G 

*�&��� DIN 2080 � ��q�� 

*������$% f��( ER

LPR
SS

��� DCONWS≥25

LB LB

BDBD
DCONWSDCONWS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS BD LPR LB CRKS kg

DIN2080 30 EM 6X 40 30 6.00 25.00 40.00 30.4 M12 0.39 SR M6X10 DIN1835B

DIN2080 30 EM 8X 40 30 8.00 28.00 40.00 30.4 M12 0.41 SR M8X10 DIN1835-B

DIN2080 30 EM10X 40 30 10.00 35.00 40.00 30.4 M12 0.47 SR M10X12 DIN1835-B

DIN2080 30 EM20X 63 30 20.00 52.00 63.00 53.4 M12 0.96 SR M16X16 DIN1835-B

DIN2080 40 EM 6X 50 40 6.00 25.00 50.00 38.4 M16 0.84 SR M6X10 DIN1835B

DIN2080 40 EM 8X 50 40 8.00 28.00 50.00 38.4 M16 0.87 SR M8X10 DIN1835-B

DIN2080 40 EM10X 50 40 10.00 35.00 50.00 38.4 M16 0.95 SR M10X12 DIN1835-B

DIN2080 40 EM12X 50 40 12.00 42.00 50.00 38.4 M16 1.05 SR M12X16 DIN1835-B

DIN2080 40 EM16X 63 40 16.00 48.00 63.00 51.4 M16 1.30 SR M14X16 DIN1835-B

DIN2080 40 EM20X 63 40 20.00 52.00 63.00 51.4 M16 1.42 SR M16X16 DIN1835-B

DIN2080 40 EM25X 80 40 25.00 65.00 80.00 68.4 M16 2.06 SR M18X2X20 DIN1835-B

DIN2080 40 EM32X 80 40 32.00 72.00 80.00 68.4 M16 2.24 SR M20X2X20 DIN1835-B

DIN2080 50 EM 6X 63 50 6.00 25.00 63.00 47.8 M24 2.69 SR M6X10 DIN1835B

DIN2080 50 EM 8X 63 50 8.00 28.00 63.00 47.8 M24 2.75 SR M8X10 DIN1835-B

DIN2080 50 EM10X 63 50 10.00 35.00 63.00 47.8 M24 2.79 SR M10X12 DIN1835-B

DIN2080 50 EM12X 63 50 12.00 42.00 63.00 47.8 M24 2.95 SR M12X16 DIN1835-B

DIN2080 50 EM16X 63 50 16.00 48.00 63.00 47.8 M24 3.03 SR M14X16 DIN1835-B

DIN2080 50 EM20X 63 50 20.00 52.00 63.00 47.8 M24 3.12 SR M16X16 DIN1835-B

DIN2080 50 EM25X 80 50 25.00 65.00 80.00 64.8 M24 3.78 SR M18X2X20 DIN1835-B

DIN2080 50 EM32X 80 50 32.00 72.00 80.00 64.8 M24 4.00 SR M20X2X20 DIN1835-B

DIN2080 50 EM40X 90 50 40.00 90.00 90.00 74.8 M24 5.08 SR M20X2X20 DIN1835-B

DIN2080 50 EM50X100 50 50.00 100.00 100.00 84.8 M24 5.94 SR M24X2X25 DIN1835-B
 

 
DIN2080-EM
!�&���$ Weldon �)" '��f��$% 

c��� DIN 6359/DIN 1835 

c��#� B, � %���&���'�#� 

DIN 2080 c��#� AD



1035

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	LF
LB

LSCWS
•

BDDCONWS

SS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LSCWS LF LB BD CRKS kg

DIN2080 30 SEM 16X 28 30 16.00 17.00 28.00 18.4 38.00 M12 0.47 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN2080 30 SEM 22X 28 30 22.00 19.00 28.00 18.4 47.00 M12 0.57 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN2080 30 SEM 27X 32 30 27.00 21.00 32.00 22.4 58.00 M12 0.76 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27*

DIN2080 30 SEM 32X 32 30 32.00 24.00 32.00 22.4 66.00 M12 0.91 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32*

DIN2080 40 SEM 16X 28 40 16.00 17.00 28.00 16.4 38.00 M16 0.87 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN2080 40 SEM 22X 27 40 22.00 19.00 27.00 15.4 47.00 M16 0.94 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN2080 40 SEM 27X 26 40 27.00 21.00 26.00 14.4 58.00 M16 1.08 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27*

DIN2080 40 SEM 32X 23 40 32.00 24.00 23.00 11.4 66.00 M16 1.05 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32*

DIN2080 40 SEM 40X 34 40 40.00 27.00 34.00 22.4 82.00 M16 1.65 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

DIN2080 50 SEM 16X 38 50 16.00 17.00 38.00 22.8 38.00 M24 3.07 M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16*

DIN2080 50 SEM 22X 38 50 22.00 19.00 38.00 22.8 47.00 M24 2.90 M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22*

DIN2080 50 SEM 27X 38 50 27.00 21.00 38.00 22.8 58.00 M24 3.00 M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27*

DIN2080 50 SEM 32X 36 50 32.00 24.00 36.00 20.8 66.00 M24 3.28 M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32*

DIN2080 50 SEM 40X 40 50 40.00 27.00 40.00 24.8 82.00 M24 3.76 M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN2080-SEM
�*���'� �)" ������$% c��� 

DIN 3937 � %���&���'�#� 

DIN 2080 c��#� A

DBCDBC THIDTHID

DCONWS BD DF

CRKS

LF
LB LSCWS

THSZWS

12

SS
G.L.

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LSCWS LF LB DF DBC BD THSZWS THID CRKS @��.
kg

DIN2080 50 FM 40 50 40.00 27.00 36.00 20.8 97.30 66.70 88.00 M20 M12 M24 1. 3.61

DIN2080 50 FM 60 50 60.00 40.00 36.00 - 128.00 101.60 - - M16 M24 2. 5.60

• !���c���G�$� ����#�$� ���&$ �� *��&��)"<&�".

�'�'��&� �'���

�$�#�'�����

DIN2080-FM M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
DIN2080-FM
!�&���$ �)" ������$% c��� 

DIN6357 � %���&���'�#� 

DIN2080 c��#� A



ISCAR1036

D
IN

 2
0

8
0

 •
 �

�
�

�
�

 �
�

�
[

	

LSCWS_2

BDDCONWS

LF
LB

LSCWS
SS

CRKS

A0.005A AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LSCWS LF LB LSCWS_2 BD CRKS kg

DIN2080 40 SEMC 22X 52 40 22.00 19.00 52.00 40.4 31.00 40.00 M16 1.01

DIN2080 40 SEMC 27X 52 40 27.00 21.00 52.00 40.4 33.00 48.00 M16 1.26

DIN2080 40 SEMC 32X 52 40 32.00 24.00 52.00 40.4 38.00 58.00 M16 1.42

DIN2080 40 SEMC 40X 52 40 40.00 27.00 52.00 40.4 41.00 70.00 M16 1.76

DIN2080 50 SEMC 16X 55 50 16.00 17.00 55.00 39.8 27.00 32.00 M24 2.89

DIN2080 50 SEMC 22X 55 50 22.00 19.00 55.00 39.8 31.00 40.00 M24 3.29

DIN2080 50 SEMC 27X 55 50 27.00 21.00 55.00 39.8 33.00 48.00 M24 3.13

DIN2080 50 SEMC 32X 55 50 32.00 24.00 55.00 39.8 38.00 58.00 M24 3.35

DIN2080 50 SEMC 40X 55 50 40.00 27.00 55.00 39.8 41.00 70.00 M24 3.66

DIN2080 50 SEMC 50X 55 50 50.00 30.00 55.00 39.8 46.00 90.00 M24 4.18

• >�����" ?*��'� �� *��&��)"�&�".

�'�'��&� �'���

�$�#�'�����

DIN2080 40 SEMC 22X 52 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN2080 40 SEMC 27X 52 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN2080 40 SEMC 32X 52 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN2080 40 SEMC 40X 52 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* KEY SEMC 40 10X8X32

DIN2080 50 SEMC 16X 55 16 D.RING SEMC M8 CLAMP SCREW SEM16 WRENCH M8 SEMC16* KEY SEMC 16 4X4X20

DIN2080 50 SEMC 22X 55 22 D.RING SEMC M10 CLAMP SCREW SEM22 WRENCH M10 SEMC 22* KEY SEMC 22 6X6X25

DIN2080 50 SEMC 27X 55 27 D.RING SEMC M12 CLAMP SCREW SEM27 WRENCH M12 SEMC 27* KEY SEMC 27 7X7X25

DIN2080 50 SEMC 32X 55 32 D.RING SEMC M16 CLAMP SCREW SEM32 WRENCH M16 SEMC 32* KEY SEMC 32 8X7X28

DIN2080 50 SEMC 40X 55 40 D.RING SEMC M20 CLAMP SCREW SEM40 WRENCH M20 SEMC 40* KEY SEMC 40 10X8X32

DIN2080 50 SEMC 50X 55 50 D.RING SEMC M24 CLAMP SCREW SEM50 WRENCH M24 SEMC 50* KEY SEMC 50 12X8X36

 
DIN2080-SEMC
!�&���$ �)" ������$% c��� 

DIN6358 COMBI � %���&���'�#� 

DIN2080 c��#� A

LS LPR

CRKS
THID

DRVS

A

CSI

BD

A
SS

A-A

A0.003A AT3 Taper 58-60 HRc

�$�#�'����� SS CSI DCONNWS(1) DCONXWS(2) LPR LS BD THID CRKS DRVS(3) kg

MT 2 ER20X48.5 2 ER20 1.0 13.0 48.50 64.00 34.00 M10 M10 22.0 0.16

MT 2 ER25X52 2 ER25 1.0 16.0 52.00 64.00 42.00 M10 M10 28.0 0.21

MT 3 ER32X 69 3 ER32 2.0 20.0 69.00 81.00 50.00 M12 M12 24.0 0.47

MT 3 ER40X 79 3 ER40 3.0 26.0 79.00 81.00 63.00 M12 M12 24.0 0.64

MT 4 ER32X 61 4 ER32 2.0 20.0 60.50 102.50 50.00 M16 M16 32.0 0.62

MT 4 ER40X 82 4 ER40 3.0 26.0 81.50 102.50 63.00 M16 M16 32.0 0.82

MT 4 ER50X108 4 ER50 10.0 34.0 107.50 102.50 78.00 M16 M16 32.0 1.44

MT 5 ER40X 82 5 ER40 3.0 26.0 82.00 129.50 63.00 M28X1.5 M20 45.0 1.54

MT 5 ER50X 85 5 ER50 10.0 34.0 85.00 129.50 78.00 M28X1.5 M20 45.0 0.70

(1) ����#�)@�$G ���#�&� ���������"
(2) ���#�� ')<+�
(3) ���#�� ')<+�

 

�'�'��&� �'���

�$�#�'�����

MT 2 ER20X48.5 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 10X1.5*

MT 2 ER25X52 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 10X1.5*

MT 3 ER32X 69 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

MT 3 ER40X 79 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

MT 4 ER32X 61 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

MT 4 ER40X 82 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

MT 4 ER50X108 NUT ER50 UM

MT 5 ER40X 82 NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

MT 5 ER50X 85 NUT ER50 UM WRENCH ER50* PRESET ER-JET 28X1.5*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
MT-ER
:��(��$� *�&���$ ER DIN 6499 

� %���&���'�#� � '�����# 

����� DIN 228-2

1065-1069 1063-1065

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



1037

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

!�"#$� %���&���'� 

� %���&���'� VDI



ISCAR1038

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

LS OHN

BD

DRVS

DCONMS

CSI
DCONNWS
DCONXWS

THID

A0.005A 58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) LS OHN(3) THID BD DRVS(4) kg

ST 12X 80 ER11 M 12.00 ER11 0.5 7.0 80.00 26.50 - 16.00 11.0 0.06

ST 16X100 ER11 M 16.00 ER11 0.5 7.0 100.00 18.50 M8 16.00 13.0 0.10

ST 16X150 ER11 M 16.00 ER11 0.5 7.0 150.00 18.50 M8 16.00 13.0 0.19

ST 12X 80 ER16 M 12.00 ER16 0.5 10.0 80.00 36.50 - 22.00 17.0 0.13

ST 20X100 ER16 M 20.00 ER16 0.5 10.0 100.00 25.00 M12 22.00 17.0 0.21

ST 20X150 ER16 M 20.00 ER16 0.5 10.0 150.00 25.00 M12 22.00 17.0 0.29

ST 20X100 ER20 M 20.00 ER20 1.0 13.0 100.00 40.00 M12 28.00 21.0 0.27

ST 20X150 ER20 M 20.00 ER20 1.0 13.0 150.00 40.00 M12 28.00 21.0 0.31

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"
(3) ����#�)@�$G �$)�&
(4) ���#�� ')<+�

 

�'�'��&� �'���

�$�#�'�����

ST 12X 80 ER11 M NUT ER11 MINI WRENCH ER11 MINI*

ST 16X100 ER11 M NUT ER11 MINI WRENCH ER11 MINI* PRESET ER-JET  8X1.25*

ST 16X150 ER11 M NUT ER11 MINI WRENCH ER11 MINI* PRESET ER-JET  8X1.25*

ST 12X 80 ER16 M NUT ER16 MINI WRENCH ER16 MINI*

ST 20X100 ER16 M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X150 ER16 M NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER20 M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X150 ER20 M NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
ST-ER-M (mini)
:��(��$� #���-*�&���$ ER 

DIN 6499 � f�)�����+��'�#� 

%���&���'�#�

DCONNWS
DCONXWSCSI

DCONMS

SETS A0.005A 46-48 HRc
58-60 HRc

�$�#�'����� DCONMS CSI W���"����� DCONNWS(1) DCONXWS
KIT ST12X80      7 ER11 M 12 ER11 7 0.50 7.00

KIT ST12X80     10 ER16 M 12 ER16 10 0.50 10.00

KIT ST16X50      7 ER11MF 16 ER11 7 0.50 7.00

KIT ST16X100     7 ER11 M 16 ER11 7 0.50 7.00

KIT ST16X150     7 ER11 M 16 ER11 7 0.50 7.00

KIT ST20X100    10 ER16 M 20 ER16 10 0.50 10.00

KIT ST20X150    10 ER16 M 20 ER16 10 0.50 10.00

KIT ST20X100    12 ER20 M 20 ER20 12 1.00 12.00

KIT ST20X150    12 ER20 M 20 ER20 12 1.00 12.00

• ����'� “F” � �q����+���� �'��$���& �� %���&���' � )$�'�G • > '���$G ��q�� �%���& ���� f��(��$G *�&���, *�)�$G '�#*)�'& f��( ER � (��+�$G ')<+
(1) ����#�)@�$G ���#�&� ���������"

 

 
KIT ST-ER-M/MF
> ��q�� �%���& f��(��$G 

#���- *�&��� ER 

� f�)�����+��'�# 

%���&���'�# � '�#*)�'& 

f��( �����(� ���#�&��

D

1065-1069 1063-1065



1039

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

THIDTHID A - A

DRVS

DRVS

OHN OHNCSI

BD BD

DCONNWS
DCONXWS

LS
A

DCONMS

A

1 2

A0.005A 58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) LS OHN(3) THID BD DRVS(4) @��.
kg

ST 16X 50 ER11 F 16.00 ER11 0.5 7.0 50.00 18.50 M8 19.00 13.0 1. 0.06

ST 20X 50 ER11 F 20.00 ER11 0.5 7.0 50.00 18.50 M10 19.00 17.0 1. 0.10

ST 20X100 ER11 20.00 ER11 0.5 7.0 100.00 18.50 M10 19.00 17.0 1. 0.20

ST 20X150 ER11 20.00 ER11 0.5 7.0 150.00 18.50 M10 19.00 17.0 1. 0.25

ST 20X 50 ER16 F 20.00 ER16 0.5 10.0 50.00 32.30 M12 28.00 19.0 1. 0.07

ST 20X100 ER16 20.00 ER16 0.5 10.0 100.00 30.00 M12 28.00 19.0 1. 0.20

ST 20X100 ER16 F 20.00 ER16 0.5 10.0 100.00 30.00 M12 28.00 19.0 1. 0.25

ST 20X150 ER16 20.00 ER16 0.5 10.0 150.00 30.00 M12 28.00 19.0 1. 0.28

ST 20X 50 ER20 F 20.00 ER20 1.0 13.0 50.00 42.50 M12 34.00 22.0 1. 0.15

ST 25X100 ER20 25.00 ER20 1.0 13.0 100.00 36.00 M16 34.00 22.0 1. 0.30

ST 25X150 ER20 25.00 ER20 1.0 13.0 150.00 36.00 M16 34.00 22.0 1. 0.39

ST 20X 50 ER25 F 20.00 ER25 1.0 16.0 50.00 46.00 M12 42.00 28.0 2. 0.34

ST 20X100 ER25 20.00 ER25 1.0 16.0 100.00 46.00 M12 42.00 28.0 2. 0.29

ST 20X100 ER25 F 20.00 ER25 1.0 16.0 100.00 46.00 M12 42.00 28.0 2. 0.09

ST 25X 50 ER25 F 25.00 ER25 1.0 16.0 50.00 46.00 M16 42.00 28.0 2. 0.22

ST 25X100 ER25 25.00 ER25 1.0 16.0 100.00 46.00 M16 42.00 28.0 2. 0.36

ST 20X 50 ER32 F 20.00 ER32 2.0 20.0 50.00 54.00 M12 50.00 36.0 2. 0.30

ST 20X100 ER32 20.00 ER32 2.0 20.0 100.00 54.00 M12 50.00 36.0 2. 0.40

ST 25X 50 ER32 F 25.00 ER32 2.0 20.0 50.00 52.00 M16X2 50.00 36.0 2. 0.32

ST 30X 50 ER32 F 30.00 ER32 2.0 20.0 50.00 52.00 M18X1.5 50.00 36.0 2. 0.39

ST 32X 50 ER32 F 32.00 ER32 2.0 20.0 50.00 52.00 M18X1.5 50.00 36.0 2. 0.42

ST 32X150 ER32 32.00 ER32 2.0 20.0 150.00 52.00 M18X1.5 50.00 36.0 2. 0.88

ST 40X 75 ER32 F 40.00 ER32 2.0 20.0 75.00 46.00 M22X1.5 50.00 44.0 2. 0.72

ST 25X 50 ER40 F 25.00 ER40 3.0 26.0 50.00 60.00 M16X2 63.00 45.0 2. 0.52

ST 30X 50 ER40 F 30.00 ER40 3.0 26.0 50.00 60.00 M18X1.5 63.00 45.0 2. 0.57

ST 32X 50 ER40 F 32.00 ER40 3.0 26.0 50.00 60.00 M18X1.5 63.00 45.0 2. 0.80

ST 40X 75 ER40 F 40.00 ER40 3.0 26.0 75.00 55.00 M22X1.5 63.00 45.0 2. 0.94

ST 50X 80 ER40 F 50.00 ER40 3.0 26.0 80.00 60.00 M28X1.5 63.00 54.0 2. 1.30

ST 50X 80 ER50 F 50.00 ER50 10.0 34.0 80.00 77.00 M36X1.5 78.00 58.0 2. 1.32

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"
(3)����#�)@�$G �$)�& 
(4) ���#�� ')<+�

 

 
ST-ER
:��(��$� *�&���$ ER DIN 6499 

� *�"#$#� %���&���'�#�

�'�'��&� �'���

�$�#�'�����

ST 16X 50 ER11 F NUT ER11 UM WRENCH ER11* PRESET ER-JET  8X1.25*

ST 20X 50 ER11 F NUT ER11 UM WRENCH ER11* PRESET ER-JET 10X1.5*

ST 20X100 ER11 NUT ER11 UM WRENCH ER11* PRESET ER-JET 10X1.5*

ST 20X150 ER11 NUT ER11 UM WRENCH ER11* PRESET ER-JET 10X1.5*

ST 20X 50 ER16 F NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER16 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER16 F NUT ER16 TOP WRENCH ER16*

ST 20X150 ER16 NUT ER16 TOP WRENCH ER16* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X 50 ER20 F NUT ER20 TOP WRENCH ER20* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 25X100 ER20 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 25X150 ER20 NUT ER20 TOP WRENCH ER20* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 20X 50 ER25 F NUT ER25 TOP WRENCH ER25* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER25 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER25 F NUT ER25 TOP WRENCH ER25*

ST 25X 50 ER25 F NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 25X100 ER25 NUT ER25 TOP WRENCH ER25* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 20X 50 ER32 F NUT ER32 TOP WRENCH ER32* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 20X100 ER32 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 12X1.75* PRESET ER-JET 12X1.75L*

ST 25X 50 ER32 F NUT ER32 TOP WRENCH ER32* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 30X 50 ER32 F NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

ST 32X 50 ER32 F NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

1065-1069 1063-1065



ISCAR1040

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

�'�'��&� �'���

�$�#�'�����

ST 32X150 ER32 NUT ER32 TOP WRENCH ER32* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

ST 40X 75 ER32 F NUT ER32 TOP WRENCH ER32* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

ST 25X 50 ER40 F NUT ER40 TOP WRENCH ER40* PRESET ER-JET 16X2* PRESET ER-JET 16X2L*

ST 30X 50 ER40 F NUT ER40 TOP WRENCH ER40* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

ST 32X 50 ER40 F NUT ER40 TOP WRENCH ER40* PRESET ER-JET 18X1.5* PRESET ER-JET 18X1.5L*

ST 40X 75 ER40 F NUT ER40 TOP WRENCH ER40* PRESET ER-JET 22X1.5* PRESET ER-JET 22X1.5L*

ST 50X 80 ER40 F NUT ER40 TOP WRENCH ER40* PRESET ER-JET 28X1.5*

ST 50X 80 ER50 F NUT ER50 UM WRENCH ER50*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

DCONNWS
DCONXWS

A - A
A

A

DCONMS

CSI

SETS A0.005A 46-48 HRc
58-60 HRc

�$�#�'����� DCONMS CSI W���"����� DCONNWS(1) DCONXWS
KIT ST16X50      7 ER11 F 16 ER11 7 0.50 7.00

KIT ST20X100     7 ER11 20 ER11 7 0.50 7.00

KIT ST20X150     7 ER11 20 ER11 7 0.50 7.00

KIT ST20X50     10 ER16 F 20 ER16 10 0.50 10.00

KIT ST20X100    10 ER16 20 ER16 10 0.50 10.00

KIT ST20X150    10 ER16 20 ER16 10 0.50 10.00

KIT ST20X50     12 ER20 F 20 ER20 12 1.00 12.00

KIT ST25X100    12 ER20 25 ER20 12 1.00 12.00

KIT ST25X150       ER20 25 ER20 12 1.00 12.00

• > '���$G ��q�� �%���& ���� f��(��$G *�&���, *�)�$G '�#*)�'& f��( ER � (��+�$G ')<+ • ����'� “F” � �q����+���� �'��$���& �� %���&���' � )$�'�G
(1) ����#�)@�$G ���#�&� ���������"

 

 
KIT ST-ER
> ��q�� �%���& 1 f��(��$G 

*�&��� ER � f�)�����+��'�# 

%���&���'�# � '�#*)�'& 

f��( �����(� ���#�&��

DC

ST-ER (���!��;����)



1041

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

 

CSI

BD
THID

DRVS

LS OHN

DCONNWS
DCONXWS

DCONMS

A0.005A 58-60 HRc

�$�#�'����� DCONMS CSI LS DCONNWS(6) DCONXWS(7) OHN(8) THID BD DRVS(9) kg

ST 16X 38 ER11 MF (1) 16.00 ER11 38.00 0.5 7.0 18.50 M8x1 16.00 14.0 0.05

ST 16X 50 ER11 MF 16.00 ER11 50.00 0.5 7.0 18.50 M8x1 16.00 13.0 0.07

ST 16X140 ER11 MF 16.00 ER11 140.00 0.5 7.0 18.50 M8x1 16.00 14.0 0.18

ST 16X 35 ER16 MF (1) 16.00 ER16 35.00 0.5 10.0 36.00 M8x1 22.00 17.0 0.12

ST 20X 50 ER16 MF (2) 20.00 ER16 50.00 0.5 10.0 26.00 M12X1 22.00 17.0 0.10

ST 20X 70 ER16 MF (2) 20.00 ER16 70.00 0.5 10.0 26.00 M12X1 22.00 17.0 0.17

ST 20X120 ER16 MF (2) 20.00 ER16 120.00 0.5 10.0 26.00 M12X1 22.00 17.0 0.19

ST 20X140 ER16 MF (2) 20.00 ER16 140.00 0.5 10.0 26.00 M12X1 22.00 17.0 0.40

ST 22X 38 ER16 MF (1) 22.00 ER16 38.00 0.5 10.0 26.00 M12X1 22.00 19.0 0.10

ST 22X 70 ER16 MF (1) 22.00 ER16 70.00 0.5 10.0 26.00 M12X1 22.00 19.0 0.16

ST 22X100 ER16 MF (1) 22.00 ER16 100.00 0.5 10.0 28.00 M12X1 22.00 19.0 0.27

ST 22X 80 ER20 MF (1) 22.00 ER20 80.00 1.0 13.0 39.00 M12X1 28.00 21.0 0.21

ST 22X 70 ER25 MF (1) 22.00 ER25 70.00 1.0 16.0 47.00 M12X1 35.00 27.0 0.25

ST 25X 65 ER16 MF 25.00 ER16 65.00 0.5 10.0 28.00 M14X1 22.00 22.0 0.22

ST 25X100 ER20 MF (3) 25.00 ER20 100.00 1.0 13.0 28.00 M14X1 28.00 22.0 0.15

ST 25X154 ER20 MF (3) 25.00 ER20 154.00 1.0 13.0 28.00 M14X1 28.00 22.0 0.40

ST 25X 75 ER25 MF (4) 25.00 ER25 75.00 1.0 16.0 48.00 M14X1 35.00 27.0 0.36

ST 25X145 ER25 MF (3) 25.00 ER25 145.00 1.0 16.0 36.00 M14X1 35.00 27.0 0.08

ST 32X 70 ER25 MF (5) 32.00 ER25 70.00 1.0 16.0 30.00 M18X1 35.00 27.0 0.35

(1) �)" �&��'�� Star
(2) �)" �&��'�� Citizen
(3) �)" �&��'�� Tornos-Bechler
(4) �)" �&��'�� Manurhin
(5) �)" �&��'�� Schutte
(6) ����#�)@�$G ���#�&� ���������"
(7) ��'��#�)@�$G ���#�&� ���������"
(8) ����#�)@�$G �$)�&
(9) ���#�� ')<+�

 

�'�'��&� �'���

�$�#�'�����

ST 16X 38 ER11 MF NUT ER11 MINI WRENCH ER11 MINI* PRESET ER-JET  8X1*

ST 16X 50 ER11 MF NUT ER11 MINI WRENCH ER11 MINI* PRESET ER-JET  8X1*

ST 16X140 ER11 MF NUT ER11 MINI WRENCH ER11 MINI* PRESET ER-JET  8X1*

ST 16X 35 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET  8X1*

ST 20X 50 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 20X 70 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 20X120 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 20X140 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 22X 38 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 22X 70 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 22X100 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 22X 80 ER20 MF NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 12X1*

ST 22X 70 ER25 MF NUT ER25 MINI WRENCH ER25 MINI* PRESET ER-JET 12X1*

ST 25X 65 ER16 MF NUT ER16 MINI WRENCH ER16 MINI* PRESET ER-JET 12X1*

ST 25X100 ER20 MF NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 14X1*

ST 25X154 ER20 MF NUT ER20 MINI WRENCH ER20 MINI* PRESET ER-JET 14X1*

ST 25X 75 ER25 MF NUT ER25 MINI WRENCH ER25 MINI* PRESET ER-JET 14X1*

ST 25X145 ER25 MF NUT ER25 MINI WRENCH ER25 MINI* PRESET ER-JET 14X1*

ST 32X 70 ER25 MF NUT ER25 MINI WRENCH ER25 MINI* PRESET ER-JET 18X1*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
ST-ER-MF (mini flat)
:��(��$� #���-*�&���$ ER 

DIN 6499 � f�)�����+��'�#� 

%���&���'�#� � )$�'�G �)" 

��*�)@������" �� &�'���$% 

�&��'�%-��&�#�&�% 

?��Gf���'�(� &�*� � W!�

1065-1069 1063-1065



ISCAR1042

!
�



�

Q
	

 \
>

�
�

�
�

>
�

�
�

 �
 \

>
�

�
�

�
>

�
�

�
 V

D
I

4°

LSCWSADJRGA

DCONMS
CND

OAL
LB

DCONWS BTED

A0.003A 58-60 HRc

�$�#�'����� DCONWS DCONMS BTED CND OAL LB ADJRGA LSCWS kg

ST 12X160 SRK 3 3.00 12.00 10.00 4.0 160.00 14.8 - 10.0 0.10

ST 16X160 SRK 3 3.00 16.00 10.00 6.0 160.00 43.4 - 10.0 0.20

ST 12X160 SRK 4 4.00 12.00 10.00 4.5 160.00 14.8 - 12.0 0.12

ST 16X160 SRK 4 4.00 16.00 10.00 6.0 160.00 43.4 - 12.0 0.20

ST 16X160 SRK 5 5.00 16.00 10.00 6.0 160.00 43.4 - 15.0 0.20

ST 20X200 SRK 5 5.00 20.00 10.00 6.0 200.00 72.0 - 15.0 0.38

ST 16X160 SRK 6 6.00 16.00 11.00 6.0 160.00 36.6 17.00 35.0 0.19

ST 20X200 SRK 6 6.00 20.00 11.00 6.0 200.00 65.2 22.00 40.0 0.30

ST 25X200 SRK 6 6.00 25.00 11.00 8.0 200.00 100.9 17.00 35.0 0.51

ST 20X200 SRK 8 8.00 20.00 14.00 6.0 200.00 43.3 15.00 40.0 0.43

ST 25X200 SRK 8 8.00 25.00 14.00 8.0 200.00 79.0 15.00 40.0 0.58

ST 25X200 SRK10 10.00 25.00 16.00 8.0 200.00 64.3 20.00 50.0 0.61

ST 25X200 SRK12 12.00 25.00 20.00 8.0 200.00 35.5 20.00 52.0 0.63

• ��)@'� �)" &������*)���$% ���&��#��&��.

 

 

ST-SRK
:�)�����+��'�G %���&���' 

�)" ��'��*)���" ���&��#��&� 

� *�#�=@< &��#�����#�

CSICSIDRVS DCONNWS
DCONXWS

BD

DRVS

OHN
CND

LSOHN

DCONMS BD

A0.005A 58-60 HRc

�$�#�'����� DCONMS LS CSI DCONNWS(3) DCONXWS(4) BD CND OHN(5) DRVS(6) kg

ST 16X 50 ER11 MF D 16.00 50.00 ER11 0.5 7.0 16.00 7.5 18.50 14.0 0.07

ST 20X 30 ER11 MF D (1) 20.00 30.00 ER11 0.5 7.0 16.00 7.5 18.50 17.0 0.09

ST 20X 50 ER11 MF D (1) 20.00 50.00 ER11 0.5 7.0 16.00 7.5 18.50 17.0 0.13

ST 20X 55 ER16 MF D (1) 20.00 55.00 ER16 0.5 10.0 22.00 10.5 25.00 17.0 0.12

ST 22X 55 ER16 MF D (2) 22.00 55.00 ER16 0.5 10.0 22.00 10.5 28.00 19.0 0.17

ST 22X 75 ER16 MF D (2) 22.00 75.00 ER16 0.5 10.0 22.00 10.5 28.00 19.0 0.21

ST 25X 62 ER16 MF D 25.00 62.00 ER16 0.5 10.0 22.00 10.5 28.00 22.0 0.23

ST 32X 55 ER20 MF D (2) 32.00 55.00 ER20 1.0 13.0 28.00 13.5 28.00 27.0 0.34

ST 32X 75 ER20 MF D (2) 32.00 75.00 ER20 1.0 13.0 28.00 13.5 28.00 27.0 0.44

(1) �)" �&��'�� Citizen
(2) �)" �&��'�� Star
(3) ����#�)@�$G ���#�&� ���������"
(4) ��'��#�)@�$G ���#�&� ���������"
(5) ����#�)@�$G �$)�&
(6) ���#�� ')<+�

 

�'�'��&� �'���

�$�#�'�����

ST 16X 50 ER11 MF D NUT ER11 MINI WRENCH ER11 MINI*

ST 20X 30 ER11 MF D NUT ER11 MINI WRENCH ER11 MINI*

ST 20X 50 ER11 MF D NUT ER11 MINI WRENCH ER11 MINI*

ST 20X 55 ER16 MF D NUT ER16 MINI WRENCH ER16 MINI*

ST 22X 55 ER16 MF D NUT ER16 MINI WRENCH ER16 MINI*

ST 22X 75 ER16 MF D NUT ER16 MINI WRENCH ER16 MINI*

ST 25X 62 ER16 MF D NUT ER16 MINI WRENCH ER16 MINI*

ST 32X 55 ER20 MF D NUT ER20 MINI WRENCH ER20 MINI*

ST 32X 75 ER20 MF D NUT ER20 MINI WRENCH ER20 MINI*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
ST-ER-MF-D (!������������)
���%�&������� 

f��(��$� #���- *�&���$ 

� f�)�����+��'�#� 

%���&���'�#� � )$�'�G

11011065-1069

1076-1077

1063-1065



10431043

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

FLEXFIT • CLICKFIT



ISCAR1044

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1044

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

MULTI-MASTER � FLEXFIT �'��'��& ���!������

`@�>�@�\� <�^��W� ��@�_����W� _��;!���W�

���
�������
• ����)@��" ���&�#� 

*����)"�& �����&@ ��&��&$ 

�� ���������� �')���, 

*��'�)@'� ���� (�)��'� #���& 

��*�)@����&@�" � ���)�+�$#� 

������&�#� %���&���'��

• !����)"�& �$*�)�"&@ �q��q�&'� 

� ���)�+���$# �$)�&�#

• ���� (�)��'� #���& 

��*�)@����&@�" �� #�&��+��'�% 

� �� �<G#��$% '�#q���f�"% 

���&��#��&�

FLEXFIT (M)

MULTI-MASTER (MM)

��������



10451045

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT  

  
BDTHSZWS

LDRED
OAL

DCONMS

BHTA

A B

A0.005A 58-60 HRc

�$�#�'����� OAL LDRED DCONMS _�������� BD BHTA THSZWS !�� kg

S M06-L60 C10 60.00 20.0 10.00 C 9.70 - M06 A 0.03

S M06-L105-C12 105.00 60.0 12.00 C 9.70 1.2 M06 B 0.06

S M06-L125-C16 125.00 60.0 16.00 C 9.70 3.3 M06 B 0.13

S M08-L73 C16 73.00 25.0 16.00 C 13.00 - M08 A 0.09

S M08-L128-C16 128.00 80.0 16.00 C 13.00 0.9 M08 B 0.15

S M08-L170-C20 170.00 66.8 20.00 C 13.00 3.3 M08 B 0.33

S M10-L80 C20 80.00 30.0 20.00 C 18.00 - M10 A 0.16

S M10-L130-C20 130.00 80.0 20.00 C 18.00 0.6 M10 B 0.25

S M10-L200-C25 200.00 57.2 25.00 C 19.00 3.3 M10 B 0.65

S M12-L86-C25 86.00 30.0 25.00 C 21.00 5.1 M12 A 0.27

S M12-L200-C32 200.00 78.0 32.00 C 21.00 4.4 M12 B 1.02

S M16-L95-C32 95.00 35.0 32.00 C 29.00 1.7 M16 A 0.50

S M16-L230-C32 230.00 50.0 32.00 C 29.00 1.8 M16 B 1.27

 

 

 

S M
\���&���'� �)" ���&��#��&� 

� ���@q��$# ����������#  

FLEXFIT

BD DCONMS

LU
OAL

THSZWS

�$�#�'����� DCONMS THSZWS OAL LU BD kg

S M08-L150-C16-C-H 16.00 M08 150.00 80.0 15.30 0.39

S M08-L200-C16-C-H 16.00 M08 200.00 140.0 15.30 0.59

S M08-L250-C16-C-H 16.00 M08 250.00 180.0 15.30 0.84

S M10-L150-C20-C-H 20.00 M10 150.00 80.0 18.50 0.73

S M10-L200-C20-C-H 20.00 M10 200.00 140.0 18.50 0.91

S M10-L250-C20-C-H 20.00 M10 250.00 180.0 18.50 1.04

S M12-L200-C25-C-H 25.00 M12 200.00 100.0 24.00 1.41

S M12-L250-C25-C-H 25.00 M12 250.00 180.0 24.00 1.78

S M12-L300-C25-C-H 25.00 M12 300.00 180.0 24.00 2.04

S M16-L200-C32-C-H 32.00 M16 200.00 100.0 29.00 2.11

S M16-L250-C32-C-H 32.00 M16 250.00 180.0 29.00 2.36

S M16-L300-C32-C-H 32.00 M16 300.00 180.0 29.00 2.81

• ��c��#�f�" *� ���������"# �#. �&�. 1044
 

 

 

S M-C-H
�������*)���$� %���&���'� 

� '���)�#� �)" *������ ��� 

�)" ���&��#��&�� � ���@q��$# 

����������# FLEXFIT

1044



ISCAR1046

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1046

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

BDDCONWS

LSCWSLSCMS

THSZMSDCONMS

LF

DRVS

A0.005A 58-60 HRc

�$�#�'����� THSZMS DCONWS LF BD LSCWS DCONMS LSCMS DRVS(1)

CAB M16 SEM 16 C M16 (2) 16.00 23.00 38.00 17.0 29.00 25.00 32.0

(1) !�������G ���#��
(2) ������ '���?��: #�'��#�# 30 �·#

�'�'��&� �'���

�$�#�'�����

CAB M16 SEM 16 C SR M3X10DIN912 SR M8X25DIN912

 
CAB M-SEM
FLEXFIT - *���%����' 

�)" �������G c���$ 

� �&����&�"#� �)" *���+� ���

LSCMS
LSCMS

LPR

LUDRVS

BD

BD

DCONMSTHSZMS THSZWS THSZMS THSZWS

LPR

CAB M-M

BHTA

CAB M-M-C

DRVS
2 1 A0.005A 58-60 HRc

�$�#�'����� THSZWS THSZMS BD LPR LU DCONMS LSCMS DRVS(1) @��. BHTA kg

CAB M06M08 M06 M08 9.70 30.00 24.80 13.00 17.50 9.5 1. 5.7 0.02

CAB M08M08-C M08 M08 13.00 30.00 - - 17.50 9.6 2. - 0.02

CAB M08M10 M08 M10 13.00 40.00 33.40 18.00 20.20 15.0 1. 5.2 0.07

CAB M10M10-C M10 M10 18.00 35.00 - - 20.00 15.0 2. - 0.06

CAB M10M12 M10 M12 18.00 45.00 36.40 21.00 22.00 17.0 1. 2.5 0.09

CAB M12M12-C M12 M12 21.00 40.00 - - 22.00 17.0 2. - 0.08

CAB M12M16 M12 M16 21.00 50.00 42.50 29.00 25.00 25.0 1. 6.3 0.18

CAB M16M16-C M16 M16 29.00 40.00 - - 25.00 25.0 2. - 0.16

• ��c��#�f�" *� ���������"# �#. �&�. 1044
(1) !�������G ���#��

 

_�������� CAB... HCM-M

 
CAB M-M (FLEXFIT)
!���%����'� � �&����&�"#� 

�)" *���+� ��� �)" #���)@��G 

���&�#$ FLEXFIT

BDTHSZWS

LBX8
LU

BHTA

LSCMS

DCONMSDF

A0.005A 58-60 HRc

�$�#�'����� THSZWS BD LBX LU DF LSCMS BHTA DCONMS kg

S M12-L85/3.30-CF4 M12 21.00 85.0 81.30 44.00 42.00 4.4 25.00 0.23

S M12-L140/5.50-CF4 M12 21.00 140.0 139.10 44.00 42.00 4.4 25.00 0.98

S M16-L130/5.11-CF4 M16 29.00 130.0 126.80 44.00 42.00 2.6 25.00 0.23

S M16-L170/6.70-CF4 M16 29.00 170.0 168.60 44.00 42.00 2.0 25.00 1.30

• ��c��#�f�" *� ���������"# �#. �&�. 1044

 

_�������� SM...CF4 CDP...

  

S M-CF
!���%����'� � CLICKFIT 

�� FLEXFIT



10471047

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

DCONMS THSZMS

LSCMS LPR
LU

BHTADRVS

BD

THSZWS

�$�#�'����� THSZWS THSZMS LPR LU BD DCONMS LSCMS DRVS(1) BHTA kg

MM CAB T06M06-16/.63 T06 M06 16.00 11.60 9.30 9.70 14.50 8.0 1.5 0.01

MM CAB T06M08-16/.63 T06 M08 16.00 13.70 9.60 13.00 17.50 11.0 6.0 0.02

MM CAB T06M08-25/1.0 T06 M08 25.00 11.30 9.30 13.00 17.50 11.0 1.5 0.02

MM CAB T06M10-25/1.0 T06 M10 25.00 16.60 9.60 18.00 20.00 11.0 5.0 0.04

MM CAB T08M08-16/.63 T08 M08 16.00 5.40 11.70 13.00 17.50 11.0 11.4 0.03

MM CAB T08M08-25/1.0 T08 M08 25.00 19.50 11.70 13.00 17.50 11.0 1.5 0.03

MM CAB T08M10-20/.75 T08 M10 20.00 11.30 11.70 18.00 20.00 13.0 7.0 0.04

MM CAB T08M10-25/1.0 T08 M10 25.00 14.20 11.70 18.00 20.00 11.0 1.5 0.03

MM CAB T08M12-20/.75 T08 M12 20.00 9.30 11.70 21.00 22.00 13.0 7.0 0.05

MM CAB T08M12-25/1.0 T08 M12 25.00 12.50 11.70 21.00 22.00 13.0 1.5 0.04

• �� ������&� �#��'� �� ���@q���� ����������.
(1) !�������G ���#��

 

 

 

MM CAB
!���%����'� �)" ���������" 

%���&���'�� FLEXFIT 

� c������$% (�)���' 

MULTI- MASTER

THSZMSDCONMS BTED
DCONWS

LPR
LBX

DRVS
LSCWS

ADJRGA
4˚

LB

BD

THID

A0.005A 58-60 HRc

�$�#�'����� DCONWS THSZMS LPR LBX LB ADJRGA LSCWS BTED BD DCONMS THID W�+"(1) DRVS(2) kg

CDP M10 SRK 3X40 3.00 M10 40.00 31.5 28.40 6.00 16.0 10.00 14.00 18.00 M4 2.00 15.0 0.05

CDP M12 SRK 3X45 3.00 M12 45.00 36.5 28.80 6.00 16.0 10.00 14.00 21.00 M5 2.50 17.0 0.06

CDP M10 SRK 4X40 4.00 M10 40.00 31.5 28.40 7.00 19.0 10.00 14.00 18.00 M4 2.00 15.0 0.05

CDP M12 SRK 4X45 4.00 M12 45.00 36.5 28.80 6.00 18.0 10.00 14.00 21.00 M5 2.50 17.0 0.06

CDP M10 SRK 5X40 5.00 M10 40.00 31.5 28.40 10.00 25.0 10.00 14.00 18.00 M4 2.00 15.0 0.05

CDP M12 SRK 5X45 5.00 M12 45.00 36.5 28.80 10.00 25.0 10.00 14.00 21.00 M5 2.50 17.0 0.06

CDP M10 SRK 6X40 6.00 M10 40.00 31.5 28.40 10.00 28.0 11.00 15.00 18.00 M4 2.00 15.0 0.05

CDP M12 SRK 6X45 6.00 M12 45.00 36.5 28.40 10.00 28.0 11.00 15.00 21.00 M5 2.50 17.0 0.06

CDP M12 SRK 8X45 8.00 M12 45.00 36.5 28.80 10.00 35.0 14.00 18.00 21.00 M5 2.50 17.0 0.08

CDP M12 SRK 10X45 10.00 M12 45.00 - 35.60 10.00 40.0 16.00 21.00 21.00 M5 2.50 17.0 0.09

CDP M12 SRK 12X45 12.00 M12 45.00 - 36.00 10.00 42.0 20.00 25.00 21.00 M5 2.50 18.0 0.11

• ��)@'� �)" &������*)���$% ���&��#��&��.
(1) ���#�� ')<+� �)" ��(�)�����+��(� ���&�
(2) ���#�� ')<+�

 

  

CDP M-SRK
���#�*�&���$ � ����������# 

FLEXFIT �)" &������*)���$% 

#���)�&�$% ���&��#��&��

1044

1070-10721076-1077957, 986, 987, 

1001, 1030,  

1045-1046, 

1048



ISCAR1048

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1048

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

SS

10

�%)������� JET2

BD

THSZWS

BD_2

LB
LBX

Bar Max

A0.003A 58-60 HRc

�$�#�'����� THSZWS SS BD BD_2 LBX LB kg

ER32 ODP M 6X25 M06 ER32 9.80 14.00 25.00 22.00 0.15

ER32 ODP M 6X50 M06 ER32 9.80 20.00 50.00 48.00 0.19

ER32 ODP M 6X75 M06 ER32 9.80 23.00 75.00 74.00 0.24

ER32 ODP M 8X25 M08 ER32 13.10 15.00 25.00 22.00 0.15

ER32 ODP M 8X50 M08 ER32 13.10 23.00 50.00 49.00 0.21

ER32 ODP M 8X75 M08 ER32 13.10 23.00 75.00 74.00 0.26

ER25 ODP M10X25 M10 ER25 18.00 17.60 25.00 23.00 0.11

ER32 ODP M10X25 M10 ER32 18.00 20.00 25.00 23.00 0.17

ER32 ODP M10X50 M10 ER32 18.00 24.00 50.00 49.00 0.24

ER32 ODP M12X25 M12 ER32 21.00 24.00 25.00 24.00 0.18

ER32 ODP M12X50 M12 ER32 21.00 24.00 50.00 49.00 0.26
 

  

ER-ODP
\���&���'� � ���@q��$# 

����������# FLEXFIT 

�)" ��'��*)���" 

� f��(���# *�&���� ER

BD

LSCMS OHN

DRVS

THSZMS DCONNWS
DCONXWS

CSI

A0.003A 58-60 HRc

�$�#�'����� CSI THSZMS DCONNWS(1) DCONXWS(2) OHN(3) LSCMS BD DRVS(4) kg

CDP ER11 M10 M ER11 M10 0.5 7.0 27.0 20.00 16.00 15.0 0.03

CDP ER11 M12 M ER11 M12 0.5 7.0 27.0 22.00 16.00 17.0 0.04

CDP ER16 M10 M ER16 M10 0.5 10.0 38.1 20.00 22.00 17.0 0.05

CDP ER16 M12 M ER16 M12 0.5 10.0 37.1 22.00 22.00 17.0 0.06

CDP ER16 M16 ER16 M16 0.5 10.0 36.6 25.00 28.00 25.0 0.10

CDP ER20 M16 ER20 M16 1.0 13.0 45.5 25.00 34.00 25.0 0.19

CDP ER25 M16 ER25 M16 1.0 16.0 44.5 25.00 42.00 28.0 0.15

• ��c��#�f�" *� ���������"# �#. �&�. 1044
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"
(3) ����#�)@�$G �$)�&
(4) ���#�� ')<+�

 

_�������� SM...CF4 CDP...

 
CDP ER-M
:��(��$� *�&���$ ER 

DIN 6499 � ���@q��$# 

����������# FLEXFIT



10491049

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q

�	;�����	�Q	 !
����Q



ISCAR1050

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1050

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q

4x90º

45º

D44x90º

LBLSCMS

DBC

THID LPR

BD DFBTEDDCONWSDCONMS

LSCWS 58-60 HRc

�$�#�'����� DCONWS DCONMS BTED BD DF LPR LB LSCWS LSCMS DBC D4 THID
ADJ HYDRO 20 D70 20.00 35.00 38.00 42.00 70.00 50.00 35.0 52.0 10.00 53.00 11.00 M6

• 	�)� ��*�)@��<&�" *���%���$� f��(�, ���)�� ����#� ������&�" �� 25%. • �#�<&�" *���%���$� f��(� � ���&�����# ���#�&��# 3-16 ## (��'��$��<&�" �&��)@��).

 

ADJ ST25 D70

ADJ ST32 D70

ADJ HSK A 63 D70

ADJ HSK A 100 D70

ADJ DIN69871 40 D70

ADJ DIN69871 50 D70

ADJ BT40 D70

ADJ BT50 D70

�
�'��"����

;�	���
� 1051

;�	���
� 1052

;�	���
� 1052

�'�'��&� �'���

�$�#�'�����

ADJ HYDRO WRENCH HYDRO HEX 4* HYDRO CLAMP SCREW M8X14

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
ADJ HYDRO
;�����)�+��'�� *�&���$ 

c)��f���(� &�*� � �����)@��G 

� �()���G ��(�)����'�G

1085 937



10511051

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q

 

  4x90º D4

4x90º

45º

1

2

LBLSCMS

DBC

THID

LPR

BD DF

DCONNWS
DCONXWS

DCONMS

(1)��(�)�����+�$G ���& (2)[�&"���G ���&

58-60 HRc

�$�#�'����� DCONNWS(1) DCONXWS(2) LPR LB LSCMS BD DF DBC DCONMS D4 THID
ADJ ER32 NOSE 2.0 20.0 75.00 53.0 10.00 50.00 70.00 53.00 35.00 6.60 M8x1

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

ADJ ST25 D70

ADJ ST32 D70

ADJ HSK A 63 D70

ADJ HSK A 100 D70

ADJ DIN69871 40 D70

ADJ DIN69871 50 D70 

ADJ BT40 D70

ADJ BT50 D70

>������� "����
1 - ��(�)�����+�$G ���&

2 - [���#��G ���&

�
�'��"����

;�	���
� 1051

;�	���
� 1052

;�	���
� 1052

�'�'��&� �'���

�$�#�'�����

ADJ ER NOSE NUT ER32 TOP ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 SR M8X1X16 DIN916

 
ADJ ER NOSE
:��(��$G *�&��� c)��f���(� 

&�*� � �����)@��G 

� �()���G ��(�)����'�G

(1)

BDDCONWSDCONMS

LS LF
58-60 HRc

�$�#�'����� DCONMS LF LS BD DCONWS
ADJ ST25 D70 25.00 20.00 80.00 70.00 35.00 SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

ADJ ST32 D70 32.00 20.00 80.00 70.00 35.00 SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

• (1) ��(�)����'� ���&� �$*�)�"�&�" � *�#�=@< ?��&�(�����(� ')<+� 4 ##.

 

 
ADJ ST
FINEFIT - :�)�����+��'�� 

%���&���'� � f��&���'�G 

� ���������# �)" *�&����� 

�*�f��)@��(� ���#���

1065-1069 932, 1063-1065



ISCAR1052

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1052

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q
 

 

  

(1)
LB

DCONMS DCONWS

LPR
LBX

BD

BD_2

58-60 HRc

�$�#�'����� DCONMS LPR LBX LB DCONWS BD BD_2 kg

ADJ HSK A63 D70 63.00 60.00 34.0 18.00 35.00 70.00 46.00 1.24 SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

ADJ HSK A100 D70 100.00 55.00 26.0 - 35.00 70.00 - 2.63 SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

• (1) ��(�)����'� ���&� �$*�)�"�&�" � *�#�=@< ?��&�(�����(� ')<+� 4 ##. • ���q'� �%)������" ��)��� ��*�)@����&@�" �� ���#� ?*����)"#� HSK � *���+�G 

��� (��'��$��<&�" �&��)@��).

 

  

ADJ HSK A
FINEFIT - \���&���' 

� f��&���'�G � ���������# 

� %���&���'�#� HSK 

DIN69893 �)" *�&����� 

�*�f��)@��(� ���#���

SS

(1)

0.05 1°

LPR
LBX

LB

DCONWS

CRKS
BD_2

BD

AT3 Taper 58-60 HRc

�$�#�'����� SS DCONWS LPR LBX LB BD BD_2 CRKS kg

ADJ DIN69871 40 D70 40 35.00 50.00 30.9 15.00 70.00 46.00 M16 1.28

ADJ DIN69871 50 D70 50 35.00 50.00 30.9 - 70.00 - M24 3.32

• (1) ��(�)����'� ���&� �$*�)�"�&�" � *�#�=@< ?��&�(�����(� ')<+� 4 ##.

�'�'��&� �'���

�$�#�'�����

ADJ DIN69871 SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

 
ADJ DIN69871
FINEFIT - \���&���' 

� f��&���'�G � ���������# 

� %���&���'�#� DIN 69871 

c��#� AD �)" *�&����� 

�*�f��)@��(� ���#���

(1)SS LB

CRKS

DCONWS

LPR
LBX

BDBD_2

AT3 Taper 58-60 HRc

�$�#�'����� SS LPR LBX LB BD BD_2 DCONWS CRKS kg

ADJ BT40 D70 40 55.00 28.0 18.00 70.00 62.50 35.00 M16 1.56

ADJ BT50 D70 50 70.00 32.0 - 70.00 - 35.00 M24 4.34

• (1) ��(�)����'� ���&� �$*�)�"�&�" � *�#�=@< ?��&�(�����(� ')<+� 4 ##. • 	�)� &��q��&�" ������& � *���+�G ���, ��q���&@ � �q����+���� ����'� “B”.

�'�'��&� �'���

�$�#�'�����

ADJ BT SR M8X1X16 DIN916 SR M6X30 DIN912 OR 21X4N

 
ADJ BT
FINEFIT - \���&���'� 

� f��&���'�G � ���������# 

� %���&���'�#� BT MAS- 403 

ADB �)" *�&����� 

�*�f��)@��(� ���#���



10531053

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q 

  

0.2 1°
CSI DCONNWS

DCONXWSDCONMS BD DF

LB
LPRLS

58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(1) DCONXWS(2) LPR LB LS BD DF kg

ADJ ST25 D70 ER32 25.00 ER32 2.0 20.0 94.50 52.5 80.00 50.00 70.00 1.74

ADJ ST32 D70 ER32 32.00 ER32 2.0 20.0 94.50 52.5 80.00 50.00 70.00 1.91

• �����)@��" ��(�)����'� 0.2 ##. �()���" ��(�)����'� 1°
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

 

�()���" 

��(�)����'�

�����)@��" 

��(�)����'�

�'�'��&� �'���

�$�#�'�����

ADJ ST-ER NUT ER32 TOP* ADJUST SPACER 9.5X5 PRESET ER-JET 22X1.5 SR M8X1X16 DIN916 SR M6X30 DIN912 ADJ ER32 NOSE

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

 

ADJ ST-ER
:��(��$� *�&���$ ER DIN 6499  

� f��&���'�G � f�)�����+��'�#� 

%���&���'�#� FINEFIT � �����)@��G 

� �()���G ��(�)����'�G

5 3 typ.x2(1)

DCONMS

DCONWS

DF

OAL

�$�#�'����� DCONWS DCONMS DF OAL
ECCENTER SLEEVE 20X25 20.00 25.00 40.00 44.00

ECCENTER SLEEVE 25X32 25.00 32.00 50.00 46.00

ECCENTER SLEEVE 32X40 32.00 40.00 65.00 55.00

ECCENTER SLEEVE 40X50 40.00 50.00 75.00 77.00

• (1) �&����&�" �)" ��&��'� ?&�c&�, ��*�)@���#�(� �)" �q)�(+���" �����)@��G ��(�)����'� �&�)'� (?&�c& � '�#*)�'& *��&��'� �� �%���&)

 

����

���	 ��	 �������
������ ��
���

+0.4

0

9
0

+
0
.2

+
0

.2

-0
.2

M

L
0

0.0

+0.2

+0.2

0


���
��� ������

L

L

L

�!'����

������ DR

 q��*��������'�
�����'

����
��� ������

DC��#+0.2

0.2

��@ ����)�

��@ �&��'�
DC��#

��� ����)� � ����)@�����G 

(�)��'� ���*���<&

+
1
6 0

+1
2

+
4

+8
0

+8

-8

X
.0

0
1
”

-4+4

M
L

+0.4

0 +0.2
0

+
0
.2

-0.2
M

L

�� &�'���$% �&��'�% #���� �#��&�&@ ��@ ����)� �&����&�)@�� 

��� ?*����)" *�� *�#�=� h'�f��&��'���G �&�)'�.

>&�)'� *����)"�& �#��&�&@ ��@ � ���*����� 0.2 ## 

(*������&@ �&�)'� *��&�� +�����G �&��)'�).

 
q��*��������&� ������
>&�)'� �)" ���)�+���" 

�)� �#��@?���" ��#���)@��(� 

���#�&�� ����)� DR *�&/# 

�#�=���" f��&�� ����)���"

11021065-1069 933, 1063-1065



ISCAR1054

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1054

�
	

;
�

�
�

�
�

	
�

Q
	

 !



�
�

�
�

Q

+0.4

0 +0.2

0+0.2

-0.2L

+0.4

0

+
0
.2

0

+
0

.2

-0.2L

 �
���
���
������

90

DC+0.4 ��

DC-0.2 ��

 DC

M
M

DC+0.4

DC-0.2

[�����	

 ���
���	������
������

;��	�� DR

�� c�������# �&��'� ��#���)@�$G 

���#�&� ���&��#��&� #���& q$&@ 

��#��/� *�&/# �#�=���" ��� 

���&��#��&� �&����&�)@�� ?*����)"

����� �����	
��
 
����	������
 (�� �%���& 

� '�#*)�'& 

*��&��'�)

������'������ ��  
&	�'�	��� ������

-0.2 M
L

+0.2

0

+0
.2

0.
4

+
0
.4 0

+0.2
0

+0.2

-0.2
M

L

+0.4

0 +0.2
0

+
0
.2

-0.2L

���#�&� ����)� = 30 ##

���#�&� �&����&�"

29.8 ##

���#�&� �&����&�"

30.4 ##

���#�&� ����)� = 30 ##

���#�&� �&����&�"

30 ##

���#�&� ����)� = 30 ##

@������������ ����"� �	� ������'������ 
c��
���	�����$ ������

100%

��'�#�����#�"

*���+�

���&�. �)��$

' ���#�&��

90%

80%

70%

60%

50%

40%

2xD 3xD 4xD 5xD

��(�)�����+�$� #�&'� ��)��$ 

���*�)�(�&@�" *��*����'�)"��� 

*)��'��&� *� *���#�&�� c)��f� DR

W&�q$ �q)�(+�&@ ���=���� �&�)'�, #���� 

��&���&@ � �&����&�� c)��f� h'�f��&��'���G 

�&�)'� #�&�))�+��'�G �&�����@ �)� �&�/�&'�. 

!���� ��(�)����'�G �&�)'� ����� 

���q)�'�����&@ *���%����G q�)&.

�)" ���)�+���" ���#�&�� *������&� �&�)'� 

*� +�����G �&��)'�.



10551055

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

!
����Q ��
 �	�W���> 

� �
[>�����



ISCAR1056

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1056

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

DCONNWS
DCONXWS

LS OHN
LB CSI

BD

Flf

Flf

Flb

Flb

BD_2

DCONMS

58-60 HRc

�$�#�'����� DCONMS CSI
���. 

	�'�
�
����. 

	�'�
� DCONNWS(2) DCONXWS(3) BD BD_2 LB OHN(4) LS Flf Flb kg

GTI ER11 ST16X150 M (1) 16.00 ER11 M2 M7 0.5 7.0 16.00 - 19.0 - 150.00 6.0 3.0 0.00

GTI ER16 ST20X80 20.00 ER16 M3 M10 0.5 10.0 28.00 29.50 24.6 41.60 80.00 8.0 3.0 0.00

GTI ER20 ST20X80 20.00 ER20 M4 M14 1.0 13.0 34.00 33.50 28.0 49.00 80.00 8.0 3.0 0.35

GTI ER25 ST25X80 25.00 ER25 M5 M16 1.0 16.0 42.00 40.50 32.0 53.00 80.00 9.0 4.0 0.55

GTI ER32 ST25X80 25.00 ER32 M6 M20 1.0 16.0 50.00 56.50 32.0 77.20 80.00 9.0 4.0 1.16

GTI ER40 ST32X80 32.00 ER40 M6 M27 2.0 20.0 63.00 56.50 51.0 95.20 80.00 9.0 4.0 1.66

(1) a�� )$�'�
(2) ����#�)@�$G ���#�&� ���������"
(3) ��'��#�)@�$G ���#�&� ���������"
(4) ����#�)@�$G �$)�&

 

�'�'��&� �'���

�$�#�'�����

GTI ER11 ST16X150 M NUT ER11 MINI

GTI ER16 ST20X80 NUT ER16 TOP WRENCH ER16*

GTI ER20 ST20X80 NUT ER20 TOP WRENCH ER20*

GTI ER25 ST25X80 NUT ER25 TOP WRENCH ER25*

GTI ER32 ST25X80 NUT ER32 TOP WRENCH ER32*

GTI ER40 ST32X80 NUT ER40 TOP WRENCH ER40*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

GTI ER-ST (�'��#'��� 

��#"$&)
��(�)����#$G f��(��$G *�&��� 

ER DIN 6499 �)" '�#*����f�� 

�����*�����" ��� ?*����)" � 

�q��q�&$���#�(� �&����&�"

DCONMS

CSI
d min

max

SETS 58-60 HRc

�$�#�'����� DCONMS CSI �����'�� d
KIT GTI ER11 ST16X150 4M 16 ER11 3,4,5,6

KIT GTI ER16 ST20X80 4 20 ER16 4,5,6,7

KIT GTI ER20 ST20X80 4 20 ER20 5,6,8,9

KIT GTI ER25 ST25X80 5 25 ER25 6,7,9,11,12

KIT GTI ER32 ST25X80 6 32 ER32 6,7,9,11,12,16

• > ��q�� �%���& *�&��� GTI, f��(� � ')<+.

 

����
 GTI ER11 
��	 ��������

  

KIT GTI ER-ST
> ��q�� �%���& ��(�)����#$G 

f��(��$G *�&��� ER DIN 

6499 � '�#*)�'& *������$% 

f��( �����(� ���#�&��

11021065-1069 1059

11021100-11011065-1069 1059



10571057

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

 
LS LPR

LB

DRVS

DCONMS

CSI

DFBD

DCONNWS
DCONXWS

50
Bar Max

58-60 HRc

�$�#�'����� DCONMS CSI DCONNWS(3) DCONXWS(4) LS LPR LB BD DF RFl DRVS(5) kg

GFI ST20 ER20 (1) 20.00 ER20 1.0 13.0 65.00 55.50 31.0 34.00 50.00 1.00 22.0 0.56

GFI ST25 ER32 (2) 25.00 ER32 2.0 20.0 80.00 76.90 45.9 50.00 65.00 1.60 36.0 1.20

• ��'��#�# 2000 �q/#��!
(1) �����)@��� �#�=���� 1 ##
(2) �����)@��� �#�=���� 1.6 ##
(3) ����#�)@�$G ���#�&� ���������"
(4) ��'��#�)@�$G ���#�&� ���������"
(5) ���#�� ')<+�

 

GFI ER - ��������� �������� 	��
�� ��� 
����
���
!)���<=�G *�&��� - ��&���"�& �����*������ ���G ������&'� 

� �&����&�" � ��(�&��'�, �q��*�+���" ���q%���#�< &�+���&@ 

������&$����".

�
��������:
!)���<=�G *�&��� GFI – h&� ���'�)@��� *���*���q)���� �)" '��*)���"

���&��#��&�, '�#*������<=�� �����)@��� �#�=���� *�� �$*�)����� 

������&$����" �� ���&�'�)@�$% � (������&�)@�$% �&��'�%.

�����������:
�����)@�$G *)���<=�G #�%����# '�#*�������& 

�#�=���� ���G ������&'� � ��(�&��'�, �q��*�+���" ��*��', 

*�����#�&����$G ��#�G ������&'�G. 

�*�f��)@�$G ��#�f��&����<=�G #�%����# ��&���"�& 

'�������&@ � ���)�+���� ���#��� �&����&�".

�
���
!�����:
���'�)@�$G ?���'��$G *��?�*��' � '���&��'f�" ��)� *����)"<& 

���&� �q��q�&'� � ���&�'�)@��# � (������&�)@��# ��*���)����.

>$��'�&�+��� � hcc�'&����� ��'��*)���� f��(�#� ER �)� 

ER COOLIT.

�'�'��&� �'���

�$�#�'�����

GFI ST20 ER20 NUT ER20 TOP WRENCH ER20*

GFI ST25 ER32 NUT ER32 TOP WRENCH ER32*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

GFI ST-ER
!)���<=�� f��(��$� *�&���$ 

DIN 6499 � f�)�����+��'�#� 

%���&���'�#� �)" ����/�&�'

1065-1069



ISCAR1058

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1058

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

DCONNWS
DCONXWS

BD BD_2BD

CSI
SS

LPR
OAL

LB 80
Bar Max

�$�#�'����� CSI DCONNWS(1) DCONXWS OAL LPR LB BD BD_2 SS RFl(2) kg

GFIS ER32X70-ER32 32 12.00 20.00 133.00 87.00 29.50 50.00 68.00 ER32 0.22 1.69

• ! ��'��#�# 5000 �q./#��. • �()���� �#�=���� 1.0° • ���*���� ���#�&��� %���&���'�� &�)@'� �)" ����/�&$����" 12-20 ##
(1) ����#�)@�$G ���#�&� ���������"
(2) �����)@��� �#�=����

 

�'�'��&� �'���

�$�#�'�����

GFIS ER-ER NUT ER32 TOP PRESET ER-JET 12X1.75 SR M4X4 DIN913

  

GFIS ER-ER
!)���<=�� f��(��$� 

*�&���$ ER � %���&���'�#� 

ER �)" ����/�&�' � �$��'�G 

�'����&@< ������"

1100-11011065-1069 1102



10591059

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

��������

GTI / GTIN - ���'���' !�� ��������

��#*�'&�$� f��(��$� *�&���$ � �����G 

'�#*����f��G � *)���<=�# #�%����#�# 

�)" f��(��$% *�&����� ER32

���@q�������$� *�&���$ �)" �&�����&��(� 

� �/�&'�(� ��������" ���@q$ #�&+�'�#.

!�&��� GTIN ER32 ��)��& ��"&�� � ��#��� 

#�&+�'� q$�&�$# � ���/��$#. `&� *�&���$ 

*��%��"& �)" �*���f�G � ���=����# ���&��#��&� 

� � ��*������$# ���&��#��&�#.  

GTIN ER32 h'���#�+�$ � �$(���$ � *��#������, 

q)�(����" ���#�����&� ��*�)@������" 

� ��=��&��<=�#� �&�����&�$#� f��(��$#� 

*�&����#� ER32 ���)�+��(� &�*�.

�	��������
!�&���$ GTIN ER32 �����q�&��$ �*�f��)@��  

�)" c������$%/ &�'���$% �q��q�&$��<=�%  

f��&��� � W!�.

 �	����*�����
• a$�&��" ��#��� #�&+�'� q)�(����" 

c���&�)@��G ����#��G (�G'�

• ��#*�'&��" '���&��'f�" �)" �&��'�� � #���#�)@�$# 

����&�"���# #���� ?*����)�# � *�&����#

• !��%���& �)" )<q$% &�*�� f��(��$% *�&����� ER32
• !�����+� '��&"=�(� #�#��&� 

+���� ���&�����G '�����&

• ��#*����f�" �&')�����" *���+� �&��'� 

� ?�(� ���@q$ �*���q�&���& *��$?���< 

&�+���&� � '�+��&�� ���@q$

• !)���<=�G #�%����# '�#*�������& 

�����*������ ���G #�&+�'� � ��(�&��'�

• >$��'�" &�+���&@ q)�(����" #�%����#� 

�����G '�#*����f��

• !��%���& �)" ���% #�&+�'�� �� �&�����&�$#� 

%���&���'�#� (DIN, ISO, ANSI, JIS)
• ���*���� ���#���� �q��q�&$���#�G 

���@q$ M1-M16 (�& #0 �� 5/8”)
• ��'��=���� ���#��� �� ��#��� #�&+�'�.  

��& ���q%���#��&� ���#�&@ f��(� 

� *�&��� GTIN �� �&��'�

• �*&�#�)@��� ��?���� �)" �&��'�� � �(����+���$# 

����&�"���# #���� ?*����)�# � ��(�&��'�G

GTIN ER32 – @�'�
���	�'��� ���	���

BT MAS-403

�&�. 1029

GTI DIN69871

�&�. 956

!�
��U 

\>����>��

�&�. 1056

GTIN

�&�. 1060

11

22 33

��&�����&� *���+� � ���&��&�&��� � ?�(�# 

���@q$ (�)� �� 1-2 % ����). ��&�����&� ?*����)@ 

� ��+�)@��� *�)������ � ������# 0.08 ##.

1

[�*��&�&� ���=���� ?*����)" *� +�����G �&��)'�, 

� �*��'�G&� �� &��q��#�(� �����(� *�)�����".

2

��&�����&� *���+� � ���=����, ��#���&� 

��*���)���� �� �q��&���, � �����&� ?*����)@  

� ��%����� *�)������.

3

��	���� 	�
���
��������� ���@q$ � �'�����# � ()�%�# �&����&��:

��������
����&'�G ���@q��������G *�&��� �)" f��( ER. 

�	��������
���-'�#*����f����$G &�* �)" c������$% �&��'�� 

� J�# � &�'���$% �&��'�� � ���������$# ���(�&�)�#, 

�)" �/�&'�(� ��������" ���@q$. 

 ���
�������
• ��#*����f�" �&')�����" *���+� �&��'� � ?�(� ���@q$

• !)���<=�G #�%����# '�#*�������& 

�����*������ ���G #�&+�'� � ��(�&��'�

• ��������� *����G � )���G ���@q$

 �	����*�����
• !��'&�+��� � hcc�'&����� ��'��*)���� 

#�&+�'�� � *������$% f��(�% ER 
q�� ��*�)@������" ����#�$% (�q�'

• ��#*�'&��" '���&��'f�" �)" �&��'�� � #���#�)@�$# 

����&�"���# #���� ?*����)�# � ��(�&��'�G

• �+��@ *��+��" '���&��'f�" �)" ��q�&$ 

� q�)@?�# '��&"=�# #�#��&�#

#��&� 

��, 

��������
��&'�G ���@q��������G

�����
���f���

�$



ISCAR1060

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1060

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

 

 0.1 ##

0.8 ## 4 ##

0.1 ##

S 22
SS

DCONWS

DRVS
40 20

58-60 HRc

�$�#�'����� SS DCONWS S
@�'�
� 

MIN
@�'�
� 

MAX DRVS(1) kg

GTIN ER32 ISO 2.24X1.80 ER32 2.24 1.80 M3 M3 20.0 0.22

GTIN ER32 ISO 2.50X2.00 ER32 2.50 2.00 M3.5 M3.5 20.0 0.26

GTIN ER32 ISO 2.80X2.24 ER32 2.80 2.24 M2.2 M2.5 20.0 0.22

GTIN ER32 ISO 3.15X2.50 ER32 3.15 2.50 M3 M4 20.0 0.23

GTIN ER32 ISO 3.55X2.80 ER32 3.55 2.80 M3.5 M4.5 20.0 0.22

GTIN ER32 ISO 4.00X3.15 ER32 4.00 3.15 M4 M5 20.0 0.22

GTIN ER32 ISO 4.50X3.55 ER32 4.50 3.55 M6 M6 20.0 0.22

GTIN ER32 ISO 5.00X4.00 ER32 5.00 4.00 M5 M5 20.0 0.22

GTIN ER32 ISO 5.60X4.50 ER32 5.60 4.50 UNC#12-24 UNC (ONLY) 20.0 0.23

GTIN ER32 ISO 6.30X5.00 ER32 6.30 5.00 M6 M8 20.0 0.22

GTIN ER32 ISO 7.10X5.60 ER32 7.10 5.60 UNC#3/8-16 UNC (ONLY) 20.0 0.20

GTIN ER32 ISO 8.00X6.30 ER32 8.00 6.30 M8 M10 20.0 0.21

GTIN ER32 ISO 9.00X7.10 ER32 9.00 7.10 M12 M12 20.0 0.21

GTIN ER32 ISO 10.00X8.00 ER32 10.00 8.00 M10 M10 20.0 0.20

GTIN ER32 ISO 11.20X9.00 ER32 11.20 9.00 M14 M14 20.0 0.21

GTIN ER32 ISO 12.50X10.00 ER32 12.50 10.00 M16 M16 20.0 0.20

• [�*��=��� *�����&@ ��� +���� f��(� �)" #�&+�'��, *��'�)@'� h&� #���& *�����&� ' ����*������&� #�%����#�. • ��#*�������& �&')�����" *���+� �&��'� � ?�(� 

#�&+�'�. • !)���<=�G #�%����# '�#*�������& �����*������ ���G #�&+�'� � ��(�&��'�. • �/�&'�G *��' �)" �/�&'�(� ��������" ���@q$. • !�� ��&����'� f��(� ER 

� *�&��� ER, c�'&�+��'�" �$�&�*�<=�" �)��� *�&���� �&�����&�" '���+� �� 2.0 ## �)" f��(� ER20 � �� 3.0 ## �)" f��( ER25/ER32
(1) ���#�� ')<+�

 

 
GTIN ER-ISO (�'��#'��� 

��#"$&)
:��(��$� *�&���$ ER 

�)" #�&+�'�� &�*� ISO � �����G 

� �����)@��G '�#*����f��G, 

�)" c������$% �&��'�� � W!� 

� ����)@����$% &�'���$% �&��'��

0.1 ##

0.8 ## 4 ##

0.1 ##

S 22SS

40 20

DCONWS

DRVS

58-60 HRc

�$�#�'����� SS DCONWS S
@�'�
� 

MIN
@�'�
� 

MAX DRVS(1) kg

GTIN ER32 DIN 2.50X2.10 ER32 2.50 2.10 M1 M1.8 20.0 0.20

GTIN ER32 DIN 2.80X2.10 ER32 2.80 2.10 M2 M4 20.0 0.22

GTIN ER32 DIN 3.50X2.70 ER32 3.50 2.70 M3 M5 20.0 0.22

GTIN ER32 DIN 4.00X3.00 ER32 4.00 3.00 M3.5 M3.5 20.0 0.21

GTIN ER32 DIN 4.50X3.40 ER32 4.50 3.40 M4 M6 20.0 0.20

GTIN ER32 DIN 6.00X4.90 ER32 6.00 4.90 M5 M8 20.0 0.20

GTIN ER32 DIN 7.00X5.50 ER32 7.00 5.50 M7 M10 20.0 0.20

GTIN ER32 DIN 8.00X6.20 ER32 8.00 6.20 M8 M8 20.0 0.20

GTIN ER32 DIN 9.00X7.00 ER32 9.00 7.00 M12 M12 20.0 0.22

GTIN ER32 DIN 10.00X8.00 ER32 10.00 8.00 M10 M10 20.0 0.22

GTIN ER32 DIN 11.00X9.00 ER32 11.00 9.00 M14 M14 20.0 0.21

GTIN ER32 DIN 12.00X9.00 ER32 12.00 9.00 M16 M16 20.0 0.20

• [�*��=��� *�����&@ ��� +���� f��(� �)" #�&+�'��, *��'�)@'� h&� #���& *�����&� ' ����*������&� #�%����#�. • ��#*�������& �&')�����" *���+� �&��'� � ?�(� 

#�&+�'�. • !)���<=�G #�%����# '�#*�������& �����*������ ���G #�&+�'� � ��(�&��'�. • �/�&'�G *��' �)" �/�&'�(� ��������" ���@q$. • !�� ��&����'� f��(� ER 

� *�&��� ER, c�'&�+��'�" �$�&�*�<=�" �)��� *�&���� �&�����&�" '���+� �� 2.0 ## �)" f��(� ER20 � �� 3.0 ## �)" f��( ER25/ER32
(1) ���#�� ')<+�

 

 
GTIN ER-DIN (�'��#'��� 

��#"$&)
:��(��$� *�&���$ ER 

�)" #�&+�'�� &�*� DIN � �����G 

� �����)@��G '�#*����f��G, 

�)" c������$% �&��'�� � W!� 

� ����)@����$% &�'���$% �&��'��



10611061

!



�
�

�
�

Q
 �

�



 �
	

�
W

�
�

�
>

 �
 �



[

>
�

�
�

�
�

0.1 ##

0.8 ## 4 ##

0.1 ##

S 22SS

40 20

DCONWS

DRVS

58-60 HRc

�$�#�'����� SS DCONWS S
@�'�
� 

MIN
@�'�
� 

MAX DRVS(1) kg

GTIN ER32 JIS 3.00X2.50 ER32 3.00 2.50 M1 M2.6 20.0 0.21

GTIN ER32 JIS 4.00X3.20 ER32 4.00 3.20 M3 M3.5 20.0 0.21

GTIN ER32 JIS 5.00X4.00 ER32 5.00 4.00 M4 M4 20.0 0.21

GTIN ER32 JIS 5.50X4.50 ER32 5.50 4.50 M5 M5 20.0 0.22

GTIN ER32 JIS 6.00X4.50 ER32 6.00 4.50 M6 M6 20.0 0.22

GTIN ER32 JIS 6.20X5.00 ER32 6.20 5.00 M8 M8 20.0 0.22

GTIN ER32 JIS 7.00X5.50 ER32 7.00 5.50 M10 M10 20.0 0.21

GTIN ER32 JIS 8.50X6.50 ER32 8.50 6.50 M12 M12 20.0 0.20

GTIN ER32 JIS 10.50X8.00 ER32 10.50 8.00 M14 M14 20.0 0.20

GTIN ER32 JIS 12.50X10.00 ER32 12.50 10.00 M16 M16 20.0 0.20

• [�*��=��� *�����&@ ��� +���� f��(� �)" #�&+�'��, *��'�)@'� h&� #���& *�����&� ' ����*������&� #�%����#�. • ��#*�������& �&')�����" *���+� �&��'� � ?�(� 

#�&+�'�. • !)���<=�G #�%����# '�#*�������& �����*������ ���G #�&+�'� � ��(�&��'�. • �/�&'�G *��' �)" �/�&'�(� ��������" ���@q$. • !�� ��&����'� f��(� ER 

� *�&��� ER, c�'&�+��'�" �$�&�*�<=�" �)��� *�&���� �&�����&�" '���+� �� 2.0 ## �)" f��(� ER20 � �� 3.0 ## �)" f��( ER25/ER32
(1) ���#�� ')<+�

 

 
GTIN ER-JIS (�'��#'��� 

��#"$&)
:��(��$� *�&���$ ER 

�)" #�&+�'�� &�*� JIS � �����G 

� �����)@��G '�#*����f��G, 

�)" c������$% �&��'�� � W!� 

� ����)@����$% &�'���$% �&��'��



ISCAR1062

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1062

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

:
�;�>Q	 !
����Q ER, SC 

� !
����Q � �	���[
�����



10631063

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

��������

ER-SPR   

ER-SEAL

ER-SEAL JET2

ER-SRK

GTIN ER32

ER-ODP
MT - '���� �����

ST - :�)�����+��'�G %���&���'

CAMFIX DIN 26623-1

ISO A.N.S.I B5.18-DIN 2080

BT MAS-403

HSK DIN 69893 c��#� A/E

DIN 69871

ER-SPR  

ER-SEAL

ER-SEAL JET2

ER-SRK

GTIN ER32

ER-ODP

_��������� ��	����� 
��:



ISCAR1064

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1064

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

!�� A B
ER-11 11.5 18

ER-16 17 27

ER-20 21 31

ER-25 26 35

ER-32 33 40

ER-40 41 46

ER-50 52 60

L �� D �� ;�����	���� ��"����� AA - ����f����� ��"����� DIN 6499
 6 1.0-1.6 0.01 0.005

10 1.6-3.0 0.01 0.005 0.015

16 3.0-6.0 0.01 0.005 0.015

25 6.0-10.0 0.01 0.005 0.015

40 10.0-18.0 0.01 0.005 0.020

50 18.0-26.0 0.01 0.005 0.020

60 26.0-34.0 0.025

��� ����:
ER - Coolit ?��������&� *'�%�

<�	����"��� 
��:� Jet
�)" ����=�(� ���&��#��&� 

� f�)�����+��'�# 

%���&���'�# � �&����&��# 

�)" *���+� ;�P.

<�	����"��� 
��:� Jet2
��� ��')���$% ��*)�.  

�&��" ;�P ��*���)"�&�" 

�� ����=�< '��#'�. 

��*�)@���&�" 

�� �&�����&�$# 

����=�# ���&��#��&�# 

� f�)�����+��'�# 

%���&���'�# 

(q�� �&����&�G �)" ;�P).

��'�!'���&� ��������� !�� �����"#��'��� � %��������&�� *'�%'��

:�)�����+��'�G 

%���&���' Weldon DIN 1835 c��#� B Whistle Notch DIN 1835 c��#� E

!��#�+����. > �)�+�� ��'��*)���" %���&���'� c )$�'�#� (Weldon DIN 1835 c��#� B �)� c��#� 	), 

���q%���#� *�)���&@< *�#��&�&@ �(� �+��&�' � )$�'�G ���&�@ f��(�.

ER32 SPR 16-17

HSK

Lmin+0.1

Ø16HSK Ø16

ER32 SPR 15-16

Lmin
+0.1

LB

A D

8°30˚
 

��'�!'���&�

:'�%� ER ���' DIN 6499

��*��'� '��f��&��+���&�a����$� ���#��$



10651065

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

@����������  
�� c��������
��

 ��������
;�G'� ER � *��?�*��'�# �'�)@����" – h&� 

���'�)@��" '���&��'f�", ���&�"=�" �� 2-% 

+��&�G, *����)"<=�" �$*�)�"&@ �����)@��� 

� �()���� ��#�f��&����<=���" �������".

 ���
�������
• ���'�)@�$G *��?�*��' �'�)@����" �� 2-% +��&�G

• �����)@��� � �()���� *���#�=���" 

�)" �)�+?���" '��f��&��+���&�

• ���)�� ����#� ���)�+��� �� 50-100% 
*� ��������< �� �&�����&��G (�G'�G ER 
q)�(����" *��?�*��'� �'�)@����"

• a�)�������&�" �)" �$��'�% �'����&�G ?*����)", 

q)�(����" ���'�)@��G '���&��'f�� �$��#�$% ��q@��

• ��#*�'&��" '���&��'f�" — �q=�� ���#��$ 

� ���*���� '�' � �&�����&��G (�G'�.

• �)" ��q�&$ � (��#�&�+�$#� f��(�#� 

 !���� ��&����'�G �� f��(��$G *�&��� 

�q"��&�)@�� ��&��)"&@ f��(� � (�G'�.

ER-Top – #';���'� %'��' !�� *'�% DIN 6499

!�� f��(�

>$��#�$� 

��q@"

B

C

F

 ��?��: �� ��&��)"G&� f��(� *���))�)@�� ��/#��#� 

'�)@f�. ����� �&'�)�&@ �)� �)�#�&@ �$��#�$� ��q@".

 !�� �����#���� (�G'� f��(� ��#� �$G��& 

�� *�&���� q)�(����" �$��#�$# ��q@"#.

 ������������������ ������
1. ���#��&�&@ (����������$G ���+�' �� ����q���&�# 

'�)@f� (D) � )<q$# *���# (E) �� (�G'�.

�	���"����:
�)" )�+?�G ��q�&$ ����#��" *����%���&@ 

(�G'� � '���� f��(� ��)��$ q$&@ �+�=��$ 

�& (�"�� � �#����$ *���� ��*�)@�������#.
��'�#�����#$G #�#��& ��&"�'�  

�)" �&�����&��G (�G'� ER � ER-Top 

��?��:
�'�����$G #�#��& ����+�&$��)�" �� #�'��#�)@�$G 

���#�&� f��(�. 	�)� ��*�)@���&�" f��(� #��@?�(� 

���#�&��, #�#��& ����� �#��@?�&@.

!�� :�%�� �: $ �
ER-11 5

ER-11M 3

ER-16 7

ER-16M 4

ER-20 12

ER-20M 8

ER-25 20

ER-32 22

ER-40 25

ER-50 35

 ������������������ ���������
1. >�&���&@ f��(� *�� �()�#, *�*���" 

���#" �$�&�*�<=�#� �$��#�$#� 

��q@"#� (A) � *�� f��(� (B).
2. ��&�����&� (�G'� � f��(�G �� +��&�<  

(������&�)@��< *����%���&@.

3. ����&@ q�)@?�# *�)@f�# �� �����G 

&���f f��(� &�'�# �q����#, +&�q$ 

��� ��=/)'��)��@ �� #��&� (C).

2. ��&�����&@ (�G'� � f��(�G )�f���G *����%���&@< 

���� �� +��&�< (������&�)@��< *����%���&@.

3. >��&�'�)@�� ��&���&@ �&�/�&'� #���� 

*���# (�G'� � f��(�G � �q��&��G �&����$ 

�& (�����������(� ���+'� (D).
4. ��')���&@ �&�/�&'� ������ � ������&@ �� &���f 

f��(� � *��&���*�)����# ��*���)���� � ���� (F).

AA

E
D



ISCAR1066

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1066

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

� SS

DCONNWS
DCONXWS

0.01
46-48 HRc

 

 
ER-SPR
!������$� f��(� ER DIN 6499 

� *�'�$&��# HARD TOUCH

(1) �)" ���#�&�� %���&���'� 3-3.1 ��*�)@����&@ f��(� ER16 SPR 2-3
(2) ����#�)@�$G ���#�&� ���������"
(3) ��'��#�)@�$G ���#�&� ���������"

�$�#�'����� SS DCONNWS(2) DCONXWS(3)

ER11 SPR 0.5- 1 ER11 0.50 1.00

ER11 SPR 1-2 ER11 1.00 2.00

ER11 SPR 2-3 ER11 2.00 3.00

ER11 SPR 3-4 ER11 3.00 4.00

ER11 SPR 4-5 ER11 4.00 5.00

ER11 SPR 5-6 ER11 5.00 6.00

ER11 SPR 6-7 ER11 6.00 7.00

ER16 SPR 0.5-1 ER16 0.50 1.00

ER16 SPR 1-2 ER16 1.00 2.00

ER16 SPR 2-3 ER16 2.00 3.00

ER16 SPR 3-4 (1) ER16 3.20 4.00

ER16 SPR 4-5 ER16 4.00 5.00

ER16 SPR 5-6 ER16 5.00 6.00

ER16 SPR 6-7 ER16 6.00 7.00

ER16 SPR 7-8 ER16 7.00 8.00

ER16 SPR 8-9 ER16 8.00 9.00

ER16 SPR 9-10 ER16 9.00 10.00

ER20 SPR 1-2 ER20 1.00 2.00

ER20 SPR 2-3 ER20 2.00 3.00

ER20 SPR 3-4 ER20 3.00 4.00

ER20 SPR 4-5 ER20 4.00 5.00

ER20 SPR 5-6 ER20 5.00 6.00

ER20 SPR 6-7 ER20 6.00 7.00

ER20 SPR 7-8 ER20 7.00 8.00

ER20 SPR 8-9 ER20 8.00 9.00

ER20 SPR 9-10 ER20 9.00 10.00

ER20 SPR 10-11 ER20 10.00 11.00

ER20 SPR 11-12 ER20 11.00 12.00

ER20 SPR 12-13 ER20 12.00 13.00

ER25 SPR 1-2 ER25 1.00 2.00

ER25 SPR 2-3 ER25 2.00 3.00

ER25 SPR 3-4 ER25 3.00 4.00

ER25 SPR 4-5 ER25 4.00 5.00

ER25 SPR 5-6 ER25 5.00 6.00

ER25 SPR 6-7 ER25 6.00 7.00

ER25 SPR 7-8 ER25 7.00 8.00

ER25 SPR 8-9 ER25 8.00 9.00

ER25 SPR 9-10 ER25 9.00 10.00

ER25 SPR 10-11 ER25 10.00 11.00

ER25 SPR 11-12 ER25 11.00 12.00

ER25 SPR 12-13 ER25 12.00 13.00

ER25 SPR 13-14 ER25 13.00 14.00

ER25 SPR 14-15 ER25 14.00 15.00

ER25 SPR 15-16 ER25 15.00 16.00

ER32 SPR 2-3 ER32 2.00 3.00

ER32 SPR 3-4 ER32 3.00 4.00

ER32 SPR 4-5 ER32 4.00 5.00

ER32 SPR 5-6 ER32 5.00 6.00

ER32 SPR 6-7 ER32 6.00 7.00

�$�#�'����� SS DCONNWS(2) DCONXWS(3)

ER32 SPR 7-8 ER32 7.00 8.00

ER32 SPR 8-9 ER32 8.00 9.00

ER32 SPR 9-10 ER32 9.00 10.00

ER32 SPR 10-11 ER32 10.00 11.00

ER32 SPR 11-12 ER32 11.00 12.00

ER32 SPR 12-13 ER32 12.00 13.00

ER32 SPR 13-14 ER32 13.00 14.00

ER32 SPR 14-15 ER32 14.00 15.00

ER32 SPR 15-16 ER32 15.00 16.00

ER32 SPR 16-17 ER32 16.00 17.00

ER32 SPR 17-18 ER32 17.00 18.00

ER32 SPR 18-19 ER32 18.00 19.00

ER32 SPR 19-20 ER32 19.00 20.00

ER40 SPR 3-4 ER40 3.00 4.00

ER40 SPR 4-5 ER40 4.00 5.00

ER40 SPR 5-6 ER40 5.00 6.00

ER40 SPR 6-7 ER40 6.00 7.00

ER40 SPR 7-8 ER40 7.00 8.00

ER40 SPR 8-9 ER40 8.00 9.00

ER40 SPR 9-10 ER40 9.00 10.00

ER40 SPR 10-11 ER40 10.00 11.00

ER40 SPR 11-12 ER40 11.00 12.00

ER40 SPR 12-13 ER40 12.00 13.00

ER40 SPR 13-14 ER40 13.00 14.00

ER40 SPR 14-15 ER40 14.00 15.00

ER40 SPR 15-16 ER40 15.00 16.00

ER40 SPR 16-17 ER40 16.00 17.00

ER40 SPR 17-18 ER40 17.00 18.00

ER40 SPR 18-19 ER40 18.00 19.00

ER40 SPR 19-20 ER40 19.00 20.00

ER40 SPR 20-21 ER40 20.00 21.00

ER40 SPR 21-22 ER40 21.00 22.00

ER40 SPR 22-23 ER40 22.00 23.00

ER40 SPR 23-24 ER40 23.00 24.00

ER40 SPR 24-25 ER40 24.00 25.00

ER40 SPR 25-26 ER40 25.00 26.00

ER50 SPR 10-12 ER50 10.00 12.00

ER50 SPR 12-14 ER50 12.00 14.00

ER50 SPR 14-16 ER50 14.00 16.00

ER50 SPR 16-18 ER50 16.00 18.00

ER50 SPR 18-20 ER50 18.00 20.00

ER50 SPR 20-22 ER50 20.00 22.00

ER50 SPR 22-24 ER50 22.00 24.00

ER50 SPR 24-26 ER50 24.00 26.00

ER50 SPR 26-28 ER50 26.00 28.00

ER50 SPR 28-30 ER50 28.00 30.00

ER50 SPR 30-32 ER50 30.00 32.00

ER50 SPR 32-34 ER50 32.00 34.00

1080



10671067

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

 

SS

DCONNWS
DCONXWS

0.005
46-48 HRc

 

 
ER-SPR-AA
!������$� f��(� ER DIN 6499 ‘AA’  

*��$?����G &�+���&� 

� *�'�$&��# HARD TOUCH

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER11 SPR 0.5- 1 AA ER11 0.50 1.00

ER11 SPR 1-2 AA ER11 1.00 2.00

ER11 SPR 2-3 AA ER11 2.00 3.00

ER11 SPR 3-4 AA ER11 3.00 4.00

ER11 SPR 4-5 AA ER11 4.00 5.00

ER11 SPR 5-6 AA ER11 5.00 6.00

ER11 SPR 6-7 AA ER11 6.00 7.00

ER16 SPR 0.5-1 AA ER16 0.50 1.00

ER16 SPR 1-2 AA ER16 1.00 2.00

ER16 SPR 2-3 AA ER16 2.00 3.00

ER16 SPR 3-4 AA ER16 3.00 4.00

ER16 SPR 4-5 AA ER16 4.00 5.00

ER16 SPR 5-6 AA ER16 5.00 6.00

ER16 SPR 6-7 AA ER16 6.00 7.00

ER16 SPR 7-8 AA ER16 7.00 8.00

ER16 SPR 8-9 AA ER16 8.00 9.00

ER16 SPR 9-10 AA ER16 9.00 10.00

ER20 SPR 1-2 AA ER20 1.00 2.00

ER20 SPR 2-3 AA ER20 2.00 3.00

ER20 SPR 3-4 AA ER20 3.00 4.00

ER20 SPR 4-5 AA ER20 4.00 5.00

ER20 SPR 5-6 AA ER20 5.00 6.00

ER20 SPR 6-7 AA ER20 6.00 7.00

ER20 SPR 7-8 AA ER20 7.00 8.00

ER20 SPR 8-9 AA ER20 8.00 9.00

ER20 SPR 9-10 AA ER20 9.00 10.00

ER20 SPR 10-11 AA ER20 10.00 11.00

ER20 SPR 11-12 AA ER20 11.00 12.00

ER20 SPR 12-13 AA ER20 12.00 13.00

ER25 SPR 1-2 AA ER25 1.00 2.00

ER25 SPR 2-3 AA ER25 2.00 3.00

ER25 SPR 3-4 AA ER25 3.00 4.00

ER25 SPR 4-5 AA ER25 4.00 5.00

ER25 SPR 5-6 AA ER25 5.00 6.00

ER25 SPR 6-7 AA ER25 6.00 7.00

ER25 SPR 7-8 AA ER25 7.00 8.00

ER25 SPR 8-9 AA ER25 8.00 9.00

ER25 SPR 9-10 AA ER25 9.00 10.00

ER25 SPR 10-11 AA ER25 10.00 11.00

ER25 SPR 11-12 AA ER25 11.00 12.00

ER25 SPR 12-13 AA ER25 12.00 13.00

ER25 SPR 13-14 AA ER25 13.00 14.00

ER25 SPR 14-15 AA ER25 14.00 15.00

(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER25 SPR 15-16 AA ER25 15.00 16.00

ER32 SPR 2-3 AA ER32 2.00 3.00

ER32 SPR 3-4 AA ER32 3.00 4.00

ER32 SPR 4-5 AA ER32 4.00 5.00

ER32 SPR 5-6 AA ER32 5.00 6.00

ER32 SPR 6-7 AA ER32 6.00 7.00

ER32 SPR 7-8 AA ER32 7.00 8.00

ER32 SPR 8-9 AA ER32 8.00 9.00

ER32 SPR 9-10 AA ER32 9.00 10.00

ER32 SPR 10-11 AA ER32 10.00 11.00

ER32 SPR 11-12 AA ER32 11.00 12.00

ER32 SPR 12-13 AA ER32 12.00 13.00

ER32 SPR 13-14 AA ER32 13.00 14.00

ER32 SPR 14-15 AA ER32 14.00 15.00

ER32 SPR 15-16 AA ER32 15.00 16.00

ER32 SPR 16-17 AA ER32 16.00 17.00

ER32 SPR 17-18 AA ER32 17.00 18.00

ER32 SPR 18-19 AA ER32 18.00 19.00

ER32 SPR 19-20 AA ER32 19.00 20.00

ER40 SPR 3-4 AA ER40 3.00 4.00

ER40 SPR 4-5 AA ER40 4.00 5.00

ER40 SPR 5-6 AA ER40 5.00 6.00

ER40 SPR 6-7 AA ER40 6.00 7.00

ER40 SPR 7-8 AA ER40 7.00 8.00

ER40 SPR 8-9 AA ER40 8.00 9.00

ER40 SPR 9-10 AA ER40 9.00 10.00

ER40 SPR 10-11 AA ER40 10.00 11.00

ER40 SPR 11-12 AA ER40 11.00 12.00

ER40 SPR 12-13 AA ER40 12.00 13.00

ER40 SPR 13-14 AA ER40 13.00 14.00

ER40 SPR 14-15 AA ER40 14.00 15.00

ER40 SPR 15-16 AA ER40 15.00 16.00

ER40 SPR 16-17 AA ER40 16.00 17.00

ER40 SPR 17-18 AA ER40 17.00 18.00

ER40 SPR 18-19 AA ER40 18.00 19.00

ER40 SPR 19-20 AA ER40 19.00 20.00

ER40 SPR 20-21 AA ER40 20.00 21.00

ER40 SPR 21-22 AA ER40 21.00 22.00

ER40 SPR 22-23 AA ER40 22.00 23.00

ER40 SPR 23-24 AA ER40 23.00 24.00

ER40 SPR 24-25 AA ER40 24.00 25.00

ER40 SPR 25-26 AA ER40 25.00 26.00

1080



ISCAR1068

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1068

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

� SS

DCONNWS
DCONXWS

0.01
46-48 HRc

Bar Max

 

 
ER-SEAL
DIN 6499 ER COOLIT - 

;��#�&�+�$� *������$� f��(� 

� *�'�$&��# HARD TOUCH, 

�)" ���)���" �� 100 q��

• !�'�$&�� HARD TOUCH *��$?��& �������&�G'��&@ � '����������< ��=�&�, � *����)"�& ��)@?� ��%���"&@ '�+��&�� *����%���&� � &�+���&@ �q��q�&'�.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER16 SEAL 3- 4 ER16 3.00 4.00

ER16 SEAL 4- 5 ER16 4.00 5.00

ER16 SEAL 5- 6 ER16 5.00 6.00

ER16 SEAL 6- 7 ER16 6.00 7.00

ER16 SEAL 7- 8 ER16 7.00 8.00

ER16 SEAL 8- 9 ER16 8.00 9.00

ER16 SEAL 9-10 ER16 9.00 10.00

ER20 SEAL 3-4 ER20 3.00 4.00

ER20 SEAL 4-5 ER20 4.00 5.00

ER20 SEAL 5-6 ER20 5.00 6.00

ER20 SEAL 6-7 ER20 6.00 7.00

ER20 SEAL 7-8 ER20 7.00 8.00

ER20 SEAL 8-9 ER20 8.00 9.00

ER20 SEAL 9-10 ER20 9.00 10.00

ER20 SEAL 10-11 ER20 10.00 11.00

ER20 SEAL 11-12 ER20 11.00 12.00

ER20 SEAL 12-13 ER20 12.00 13.00

ER25 SEAL 3-4 ER25 3.00 4.00

ER25 SEAL 4-5 ER25 4.00 5.00

ER25 SEAL 5-6 ER25 5.00 6.00

ER25 SEAL 6-7 ER25 6.00 7.00

ER25 SEAL 7-8 ER25 7.00 8.00

ER25 SEAL 8-9 ER25 8.00 9.00

ER25 SEAL 9-10 ER25 9.00 10.00

ER25 SEAL 10-11 ER25 10.00 11.00

ER25 SEAL 11-12 ER25 11.00 12.00

ER25 SEAL 12-13 ER25 12.00 13.00

ER25 SEAL 13-14 ER25 13.00 14.00

ER25 SEAL 14-15 ER25 14.00 15.00

ER25 SEAL 15-16 ER25 15.00 16.00

ER32 SEAL 3- 4 ER32 3.00 4.00

ER32 SEAL 4- 5 ER32 4.00 5.00

ER32 SEAL 5- 6 ER32 5.00 6.00

ER32 SEAL 6- 7 ER32 6.00 7.00

ER32 SEAL 7- 8 ER32 7.00 8.00

ER32 SEAL 8- 9 ER32 8.00 9.00

"�
�������� ����� JET 
�)" ���&��#��&� � f�)�����+��'�# 

%���&���'�# � ���&�����#� 

'���)�#� *������ ���.

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER32 SEAL 9-10 ER32 9.00 10.00

ER32 SEAL 10-11 ER32 10.00 11.00

ER32 SEAL 11-12 ER32 11.00 12.00

ER32 SEAL 12-13 ER32 12.00 13.00

ER32 SEAL 13-14 ER32 13.00 14.00

ER32 SEAL 14-15 ER32 14.00 15.00

ER32 SEAL 15-16 ER32 15.00 16.00

ER32 SEAL 16-17 ER32 16.00 17.00

ER32 SEAL 17-18 ER32 17.00 18.00

ER32 SEAL 18-19 ER32 18.00 19.00

ER32 SEAL 19-20 ER32 19.00 20.00

ER40 SEAL 3- 4 ER40 3.00 4.00

ER40 SEAL 4- 5 ER40 4.00 5.00

ER40 SEAL 5- 6 ER40 5.00 6.00

ER40 SEAL 6- 7 ER40 6.00 7.00

ER40 SEAL 7- 8 ER40 7.00 8.00

ER40 SEAL 8- 9 ER40 8.00 9.00

ER40 SEAL 9-10 ER40 9.00 10.00

ER40 SEAL 10-11 ER40 10.00 11.00

ER40 SEAL 11-12 ER40 11.00 12.00

ER40 SEAL 12-13 ER40 12.00 13.00

ER40 SEAL 13-14 ER40 13.00 14.00

ER40 SEAL 14-15 ER40 14.00 15.00

ER40 SEAL 15-16 ER40 15.00 16.00

ER40 SEAL 16-17 ER40 16.00 17.00

ER40 SEAL 17-18 ER40 17.00 18.00

ER40 SEAL 18-19 ER40 18.00 19.00

ER40 SEAL 19-20 ER40 19.00 20.00

ER40 SEAL 20-21 ER40 20.00 21.00

ER40 SEAL 21-22 ER40 21.00 22.00

ER40 SEAL 22-23 ER40 22.00 23.00

ER40 SEAL 23-24 ER40 23.00 24.00

ER40 SEAL 24-25 ER40 24.00 25.00

ER40 SEAL 25-26 ER40 25.00 26.00

1080



10691069

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�SS

DCONNWS
DCONXWS

0.01
46-48 HRc

Bar Max

 
ER-SEAL-JET2
DIN 6499 ER COOLIT - 

;��#�&�+�$� f��(� 

� ��*)�#� �)" ��� 

� *�'�$&��# HARD TOUCH, 

�)" ���)���" �� 100 q��

• !�'�$&�� HARD TOUCH *��$?��& �������&�G'��&@ � '����������< ��=�&�, � *����)"�& ��)@?� ��%���"&@ '�+��&�� *����%���&� � &�+���&@ �q��q�&'�.
(1) ����#�)@�$G ���#�&� ���������"
(2) ��'��#�)@�$G ���#�&� ���������"

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER16 SEAL 3- 4 JET2 ER16 3.00 4.00

ER16 SEAL 4- 5 JET2 ER16 4.00 5.00

ER16 SEAL 5- 6 JET2 ER16 5.00 6.00

ER16 SEAL 6- 7 JET2 ER16 6.00 7.00

ER16 SEAL 7- 8 JET2 ER16 7.00 8.00

ER16 SEAL 8- 9 JET2 ER16 8.00 9.00

ER16 SEAL 9-10 JET2 ER16 9.00 10.00

ER20 SEAL 3-4 JET2 ER20 3.00 4.00

ER20 SEAL 4-5 JET2 ER20 4.00 5.00

ER20 SEAL 5-6 JET2 ER20 5.00 6.00

ER20 SEAL 6-7 JET2 ER20 6.00 7.00

ER20 SEAL 7-8 JET2 ER20 7.00 8.00

ER20 SEAL 8-9 JET2 ER20 8.00 9.00

ER20 SEAL 9-10 JET2 ER20 9.00 10.00

ER20 SEAL 10-11 JET2 ER20 10.00 11.00

ER20 SEAL 11-12 JET2 ER20 11.00 12.00

ER20 SEAL 12-13 JET2 ER20 12.00 13.00

ER25 SEAL 3-4 JET2 ER25 3.00 4.00

ER25 SEAL 4-5 JET2 ER25 4.00 5.00

ER25 SEAL 5-6 JET2 ER25 5.00 6.00

ER25 SEAL 6-7 JET2 ER25 6.00 7.00

ER25 SEAL 7-8 JET2 ER25 7.00 8.00

ER25 SEAL 8-9 JET2 ER25 8.00 9.00

ER25 SEAL 9-10 JET2 ER25 9.00 10.00

ER25 SEAL 10-11 JET2 ER25 10.00 11.00

ER25 SEAL 11-12 JET2 ER25 11.00 12.00

ER25 SEAL 12-13 JET2 ER25 12.00 13.00

ER25 SEAL 13-14 JET2 ER25 13.00 14.00

ER25 SEAL 14-15 JET2 ER25 14.00 15.00

ER25 SEAL 15-16 JET2 ER25 15.00 16.00

ER32 SEAL 3- 4 JET2 ER32 3.00 4.00

ER32 SEAL 4- 5 JET2 ER32 4.00 5.00

ER32 SEAL 5- 6 JET2 ER32 5.00 6.00

ER32 SEAL 6- 7 JET2 ER32 6.00 7.00

ER32 SEAL 7- 8 JET2 ER32 7.00 8.00

�$�#�'����� SS DCONNWS(1) DCONXWS(2)

ER32 SEAL 8- 9 JET2 ER32 8.00 9.00

ER32 SEAL 9-10 JET2 ER32 9.00 10.00

ER32 SEAL 10-11 JET2 ER32 10.00 11.00

ER32 SEAL 11-12 JET2 ER32 11.00 12.00

ER32 SEAL 12-13 JET2 ER32 12.00 13.00

ER32 SEAL 13-14 JET2 ER32 13.00 14.00

ER32 SEAL 14-15 JET2 ER32 14.00 15.00

ER32 SEAL 15-16 JET2 ER32 15.00 16.00

ER32 SEAL 16-17 JET2 ER32 16.00 17.00

ER32 SEAL 17-18 JET2 ER32 17.00 18.00

ER32 SEAL 18-19 JET2 ER32 18.00 19.00

ER32 SEAL 19-20 JET2 ER32 19.00 20.00

ER40 SEAL 3- 4 JET2 ER40 3.00 4.00

ER40 SEAL 4- 5 JET2 ER40 4.00 5.00

ER40 SEAL 5- 6 JET2 ER40 5.00 6.00

ER40 SEAL 6- 7 JET2 ER40 6.00 7.00

ER40 SEAL 7- 8 JET2 ER40 7.00 8.00

ER40 SEAL 8- 9 JET2 ER40 8.00 9.00

ER40 SEAL 9-10 JET2 ER40 9.00 10.00

ER40 SEAL 10-11 JET2 ER40 10.00 11.00

ER40 SEAL 11-12 JET2 ER40 11.00 12.00

ER40 SEAL 12-13 JET2 ER40 12.00 13.00

ER40 SEAL 13-14 JET2 ER40 13.00 14.00

ER40 SEAL 14-15 JET2 ER40 14.00 15.00

ER40 SEAL 15-16 JET2 ER40 15.00 16.00

ER40 SEAL 16-17 JET2 ER40 16.00 17.00

ER40 SEAL 17-18 JET2 ER40 17.00 18.00

ER40 SEAL 18-19 JET2 ER40 18.00 19.00

ER40 SEAL 19-20 JET2 ER40 19.00 20.00

ER40 SEAL 20-21 JET2 ER40 20.00 21.00

ER40 SEAL 21-22 JET2 ER40 21.00 22.00

ER40 SEAL 22-23 JET2 ER40 22.00 23.00

ER40 SEAL 23-24 JET2 ER40 23.00 24.00

ER40 SEAL 24-25 JET2 ER40 24.00 25.00

ER40 SEAL 25-26 JET2 ER40 25.00 26.00

1080



ISCAR1070

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1070

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�
@���������� �� 
c��������
��

 ���
�������
• ��)�(�q���&��" '���&��'f�" � ���)�+�$#� �$)�&�#�

• ��������)@���&@ - *��%���& 

�)" �&�����&�$% *�&����� ER
• !�����+� �$��'�(� '��&"=�(� #�#��&�

• �/�&'�� '��*)���� &������*)����(� ���&��#��&�

• >$��'�" &�+���&@

• �&�q�)@���&@ *���f����������"

• ;�?���� ��q��f��

• >��&����"" *���+� ;�P
• ���&�*�� #���)@ � �%)�������# - JET2
• ��##�&��+��" '���&��'f�" 

�)" �$�'����&��G �q��q�&'�

• a$�&��" � )/('�" ��#��� ���&��#��&�

• ���'�)@�$� ��&��G�&�� SHRINKIN 
�)" &�*)���(� � ����'f�����(� ��(����

LBX (��) ����. 	��������� 
�����
35 7 #'#

60 9 #'#

85 10 #'#

300˚ c

DCONMS

3XDCONMS

3XDCONMS

LBX

T.I.R

�	��� '�?���
15-45 ������

;������ �	������� � ��	��"����� '�?����
���#�*�&���$ SHRINKIN - h&� ������?���&������� 

��=��&��<=�G *�*�)"���G ���&�#$ f��(��$% 

*�&�����.  

!�&���$ SHRINKIN ��*�)@��<& *���f�* &�*)���(� 

���?�����" � ���&�" �)" �/�&'�(� ��'��*)���" 

���&��#��&� �� �&�)�, q$�&������=�G �&�)� 

� #���)�&��(� &������*)����(� ���&��#��&�. 

���#�*�&���$ SHRINKIN �q��*�+���<& 

�$��'�G #�#��&, &�+���&@ � *��&��"�#��&@.

a)�(����" '�#*�'&��G '���&��'f�� � ���)�+��G 

�)��� �$)�&�, *�&���$ SHRINKIN �q��*�+���<& 

�q��q�&'� � ()�q�'�% *�)��&"% � *����)"<& 

�$*�)�"&@ c����������� �� ��'�% �+��&'�%.

ISCAR *���)�(��& *�)�$G �����&�#��& 

*�&����� SHRINKIN � %���&���'�# ER 
� ���(�#� &�*�#� '���+��'�% %���&���'��.

�&�����&��� ��&��G�&�� &��#�����#�  

*��������+��� &�)@'� �)" #���)�&��(� 

&������*)����(� ���&��#��&�, ��&����)����(� 

� *�&���$ ER SRK.  
��&��G�&�� ����'f�����(� &��#�����#�  

*��#��"�&�" �)" ���&��#��&�� �� �&�)�,  

q$�&������=�G �&�)� � #���)�&�$%  

&������*)���$% ���&��#��&��.  

��&��G�&�� #���� ��*�)@����&@ � *�&����#� 

SRK � SRKIN � %���&���'�# ER � ���(�#� 

&�*�#� '���+��'�% %���&���'��.



10711071

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

@���������� �� 
c��������
��

1. �� ��*�)@����&@ %���&���'� Weldon.

2. >�&��)"&@ %���&���' � *�&��� 

#���#�# �� Lmin

3. �)" �q��*�+���" �/�&'��&� ����#�, 

?���%���&��&@ *����%���&� %���&���'� 

��)��� q$&@ �� #���� N5.



ISCAR1072

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1072

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�
@���������� �� 
c��������
��

������' ������'������ ER... SRK

HSK 40, 50, 63, 100

DCONWS

DCONWS

DCONWS

DCONWS

3-12 ##

3-12 ##

3-12 ##

3-12 ##

3-12 ##

!�&��� SHRINKIN ER SRK
���#��&�# �� �&�����&�$#�

*�&����#� ER DIN 6499

60 ##

35 ##

85 ##

BT 30, 40, 50

CAMFIX C4-C8

DIN 2080 30, 40, 50

�&�����&�$G *�&��� ER
DIN 69871 30, 40, 50

ER20
ER25
ER32

SHORTIN 
DIN69871 40, 50
BT 40, 50
HSK 63, 100

HSK E SRK
32-40-50-63

BT40-SRK
DIN69871-40 SRK DCONWS



10731073

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

  

BTED BD

4˚

DCONWS

LSCWS
ADJRGA

LBX
LB
THID

SS
Bar Max

A0.003A 58-60 HRc

�$�#�'����� SS DCONWS LBX LB ADJRGA LSCWS BD BTED THID W�+"(1) kg

ER20 SRK 3X35 ER20 3.00 35.0 24.50 6.00 16.0 13.50 10.00 M6 3.00 0.07

ER20 SRK 3X60 ER20 3.00 60.0 24.50 6.00 16.0 13.50 10.00 M6 3.00 0.09

ER20 SRK 4X35 ER20 4.00 35.0 24.50 6.00 18.0 13.50 10.00 M6 3.00 0.07

ER20 SRK 4X60 ER20 4.00 60.0 24.50 6.00 18.0 13.50 10.00 M6 3.00 0.10

ER20 SRK 5X35 ER20 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.07

ER20 SRK 5X60 ER20 5.00 60.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.10

ER20 SRK 6X35 ER20 6.00 35.0 25.50 6.00 24.0 13.50 11.00 M8 4.00 0.07

ER20 SRK 6X60 ER20 6.00 60.0 29.50 6.00 24.0 13.50 11.00 M8 4.00 0.09

ER25 SRK 3X35 ER25 3.00 35.0 24.50 6.00 16.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 3X60 ER25 3.00 60.0 44.50 6.00 16.0 16.30 10.00 M6 3.00 0.13

ER25 SRK 4X35 ER25 4.00 35.0 24.50 6.00 18.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 4X60 ER25 4.00 60.0 44.50 6.00 18.0 16.30 10.00 M6 3.00 0.15

ER25 SRK 5X35 ER25 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 5X60 ER25 5.00 60.0 44.50 6.00 21.0 16.30 10.00 M6 3.00 0.14

ER25 SRK 6X35 ER25 6.00 35.0 26.00 6.00 24.0 14.70 11.00 M8 4.00 0.10

ER25 SRK 6X60 ER25 6.00 60.0 44.50 6.00 24.0 17.30 11.00 M8 4.00 0.14

ER25 SRK 8X35 ER25 8.00 35.0 26.50 5.00 30.0 17.80 14.00 M10 5.00 0.12

ER25 SRK 8X60 ER25 8.00 60.0 39.50 6.00 31.0 17.90 14.00 M10 5.00 0.15

ER32 SRK 3X35 ER32 3.00 35.0 22.50 6.00 16.0 13.50 10.00 M6 3.00 0.16

ER32 SRK 3X60 ER32 3.00 60.0 44.50 6.00 16.0 16.30 10.00 M6 3.00 0.20

ER32 SRK 3X85 ER32 3.00 85.0 70.00 6.00 16.0 19.80 10.00 M6 3.00 0.25

ER32 SRK 4X35 ER32 4.00 35.0 23.50 6.00 18.0 13.50 10.00 M6 3.00 0.17

ER32 SRK 4X60 ER32 4.00 60.0 44.50 6.00 18.0 16.30 10.00 M6 3.00 0.19

ER32 SRK 4X85 ER32 4.00 85.0 70.00 6.00 18.0 19.80 10.00 M6 3.00 0.24

ER32 SRK 5X35 ER32 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.16

ER32 SRK 5X60 ER32 5.00 60.0 44.50 6.00 21.0 16.30 10.00 M6 3.00 0.20

ER32 SRK 5X85 ER32 5.00 85.0 70.00 6.00 21.0 19.80 10.00 M6 3.00 0.24

ER32 SRK 6X35 ER32 6.00 35.0 25.50 6.00 24.0 14.70 11.00 M8 4.00 0.16

ER32 SRK 6X60 ER32 6.00 60.0 45.00 6.00 24.0 17.30 11.00 M8 4.00 0.19

ER32 SRK 6X85 ER32 6.00 85.0 69.50 8.00 26.0 20.80 11.00 M8 4.00 0.26

ER32 SRK 8X35 ER32 8.00 35.0 33.00 6.00 31.0 18.95 14.00 M10 5.00 0.18

ER32 SRK 8X60 ER32 8.00 60.0 45.00 6.00 31.0 20.40 14.00 M10 5.00 0.21

ER32 SRK 8X85 ER32 8.00 85.0 65.00 6.00 31.0 23.20 14.00 M10 5.00 0.28

ER32 SRK 10X35 ER32 10.00 35.0 34.00 5.00 35.0 20.80 16.00 M12 6.00 0.18

ER32 SRK 10X60 ER32 10.00 60.0 44.50 6.00 36.0 22.40 16.00 M12 6.00 0.24

ER32 SRK 10X85 ER32 10.00 85.0 49.50 6.00 36.0 23.00 16.00 M12 6.00 0.29

ER32 SRK 12X35 ER32 12.00 35.0 28.00 - 32.0 24.00 20.00 - - 0.21

ER32 SRK 12X60 ER32 12.00 60.0 28.00 6.00 38.0 24.00 20.00 M14 6.00 0.27

ER32 SRK 12X85 ER32 12.00 85.0 28.00 6.00 38.0 24.00 20.00 M14 6.00 0.33

• ��)@'� �)" &������*)���$% ���&��#��&�� • !�� ��&����'� f��(� ER � *�&��� ER, c�'&�+��'�" �$�&�*�<=�" �)��� *�&���� �&�����&�" '���+� �� 2.0 ## �)" f��(� 

ER20 � �� 3.0 ## �)" f��( ER25/ER32
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

  

ER-SRK
:��(��$G &��#�*�&��� ER, 

&�)@'� �)" &������*)���$% 

���&��#��&��

1076-1077 1070-1072



ISCAR1074

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1074

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

�'�'��&� �'���

�$�#�'�����

ER20 SRK 3X35 SR M6X10 DIN916

ER20 SRK 3X60 SR M6X10 DIN916

ER20 SRK 4X35 SR M6X10 DIN916

ER20 SRK 4X60 SR M6X10 DIN916

ER20 SRK 5X35 SR M6X10 DIN916

ER20 SRK 5X60 SR M6X10 DIN916

ER20 SRK 6X35 SR M8X12 DIN916

ER20 SRK 6X60 SR M8X12 DIN916

ER25 SRK 3X35 SR M6X10 DIN916

ER25 SRK 3X60 SR M6X10 DIN916

ER25 SRK 4X35 SR M6X10 DIN916

ER25 SRK 4X60 SR M6X10 DIN916

ER25 SRK 5X35 SR M6X10 DIN916

ER25 SRK 5X60 SR M6X10 DIN916

ER25 SRK 6X35 SR M8X12 DIN916

ER25 SRK 6X60 SR M8X12 DIN916

ER25 SRK 8X35 SR M10X10 DIN913

ER25 SRK 8X60 SR M10X10 DIN913

ER32 SRK 3X35 SR M6X10 DIN916

ER32 SRK 3X60 SR M6X10 DIN916

ER32 SRK 3X85 SR M6X10 DIN916

ER32 SRK 4X35 SR M6X10 DIN916

ER32 SRK 4X60 SR M6X10 DIN916

ER32 SRK 4X85 SR M6X10 DIN916

ER32 SRK 5X35 SR M6X10 DIN916

ER32 SRK 5X60 SR M6X10 DIN916

ER32 SRK 5X85 SR M6X10 DIN916

ER32 SRK 6X35 SR M8X12 DIN916

ER32 SRK 6X60 SR M8X12 DIN916

ER32 SRK 6X85 SR M8X12 DIN916

ER32 SRK 8X35 SR M10X10 DIN913

ER32 SRK 8X60 SR M10X10 DIN913

ER32 SRK 8X85 SR M10X10 DIN913

ER32 SRK 10X35 SR M12X10 DIN913

ER32 SRK 10X60 SR M12X10 DIN913

ER32 SRK 10X85 SR M12X10 DIN913

ER32 SRK 12X60 SR M14X12 DIN913

ER32 SRK 12X85 SR M14X12 DIN913

ER-SRK 



10751075

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

  4˚
SS

BTED BD

DCONWS

LSCWS
ADJRGA

LBX
LB
THID

Bar Max

A0.003A 58-60 HRc

�$�#�'����� SS DCONWS LBX LB ADJRGA LSCWS BD BTED THID W�+"(1) kg

ER20 SRK 3X35 JET2 ER20 3.00 35.0 24.50 6.00 16.0 13.50 10.00 M6 3.00 0.07

ER20 SRK 4X35 JET2 ER20 4.00 35.0 24.50 6.00 18.0 13.50 10.00 M6 3.00 0.07

ER20 SRK 5X35 JET2 ER20 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.09

ER20 SRK 6X35 JET2 ER20 6.00 35.0 25.50 6.00 24.0 13.50 11.00 M8 4.00 0.07

ER20 SRK 6X60 JET2 ER20 6.00 60.0 29.50 6.00 24.0 13.50 11.00 M8 4.00 0.09

ER25 SRK 3X35 JET2 ER25 3.00 35.0 24.50 6.00 16.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 3X60 JET2 ER25 3.00 60.0 44.50 6.00 16.0 16.30 10.00 M6 3.00 0.16

ER25 SRK 4X35 JET2 ER25 4.00 35.0 24.50 6.00 18.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 4X60 JET2 ER25 4.00 60.0 44.50 6.00 18.0 16.30 10.00 M6 3.00 0.16

ER25 SRK 5X35 JET2 ER25 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.10

ER25 SRK 5X60 JET2 ER25 5.00 60.0 44.50 6.00 21.0 16.30 10.00 M6 3.00 0.15

ER25 SRK 6X35 JET2 ER25 6.00 35.0 26.00 6.00 24.0 14.70 11.00 M8 4.00 0.11

ER25 SRK 6X60 JET2 ER25 6.00 60.0 44.50 6.00 24.0 17.30 11.00 M8 4.00 0.16

ER25 SRK 8X35 JET2 ER25 8.00 35.0 26.50 5.00 30.0 17.80 14.00 M10 5.00 0.12

ER25 SRK 8X60 JET2 ER25 8.00 60.0 39.50 6.00 31.0 17.90 14.00 M10 5.00 0.15

ER32 SRK 3X35 JET2 ER32 3.00 35.0 22.50 6.00 16.0 13.50 10.00 M6 3.00 0.16

ER32 SRK 3X60 JET2 ER32 3.00 60.0 44.50 6.00 16.0 16.30 10.00 M6 3.00 0.19

ER32 SRK 3X85 JET2 ER32 3.00 85.0 70.00 6.00 16.0 19.80 10.00 M6 3.00 0.25

ER32 SRK 4X35 JET2 ER32 4.00 35.0 23.50 6.00 18.0 13.50 10.00 M6 3.00 0.16

ER32 SRK 4X60 JET2 ER32 4.00 60.0 44.50 6.00 18.0 16.30 10.00 M6 3.00 0.19

ER32 SRK 4X85 JET2 ER32 4.00 85.0 70.00 6.00 18.0 19.80 10.00 M6 3.00 0.22

ER32 SRK 5X35 JET2 ER32 5.00 35.0 24.50 6.00 21.0 13.50 10.00 M6 3.00 0.16

ER32 SRK 5X60 JET2 ER32 5.00 60.0 44.50 6.00 21.0 16.30 10.00 M6 3.00 0.19

ER32 SRK 5X85 JET2 ER32 5.00 85.0 70.00 6.00 21.0 19.80 10.00 M6 3.00 0.25

ER32 SRK 6X35 JET2 ER32 6.00 35.0 25.50 6.00 24.0 14.70 11.00 M8 4.00 0.15

ER32 SRK 6X60 JET2 ER32 6.00 60.0 45.00 6.00 24.0 17.30 11.00 M8 4.00 0.19

ER32 SRK 6X85 JET2 ER32 6.00 85.0 69.50 8.00 26.0 20.80 11.00 M8 4.00 0.23

ER32 SRK 8X35 JET2 ER32 8.00 35.0 33.00 6.00 31.0 18.80 14.00 M10 5.00 0.17

ER32 SRK 8X60 JET2 ER32 8.00 60.0 45.00 6.00 31.0 20.40 14.00 M10 5.00 0.22

ER32 SRK 8X85 JET2 ER32 8.00 85.0 65.00 6.00 31.0 23.20 14.00 M10 5.00 0.29

ER32 SRK 10X35 JET2 ER32 10.00 35.0 34.00 5.00 35.0 20.80 16.00 M12 6.00 0.20

ER32 SRK 10X60 JET2 ER32 10.00 60.0 44.50 6.00 36.0 22.40 16.00 M12 6.00 0.25

ER32 SRK 10X85 JET2 ER32 10.00 85.0 49.50 6.00 36.0 23.00 16.00 M12 6.00 0.30

ER32 SRK 12X35 JET2 ER32 12.00 35.0 28.00 0.00 - 24.00 20.00 - - 0.21

ER32 SRK 12X60 JET2 ER32 12.00 60.0 28.00 6.00 38.0 24.00 20.00 M14 6.00 0.29

ER32 SRK 12X85 JET2 ER32 12.00 85.0 28.00 6.00 38.0 24.00 20.00 M14 6.00 0.32

• ��)@'� �)" &������*)���$% ���&��#��&��. • !�� ��&����'� f��(� ER � *�&��� ER, c�'&�+��'�" �$�&�*�<=�" �)��� *�&���� �&�����&�" '���+� �� 2.0 ## �)" f��(� 

ER20 � �� 3.0 ## �)" f��( ER25/ER32
(1) ���#�� ')<+� �)" �����(� �&�*����(� ���&�

 

  

ER-SRK-JET2
���#�*�&���$ SHRINKIN 

� ���#" ��*)�#� �)" *���+� 

�%)����<=�G ���'��&� 

�)" f��(���(� *�&���� ER. 

��)@'� �)" &������*)���$% 

���&��#��&��

�'�'��&� �'���

�$�#�'�����

ER20 SRK 3X35 JET2 SR M6X10 DIN916

ER25 SRK 3X35 JET2 SR M6X10 DIN916

ER25 SRK 4X35 JET2 SR M6X10 DIN916

ER25 SRK 6X35 JET2 SR M8X12 DIN916

ER25 SRK 8X35 JET2 SR M10X10 DIN913

ER32 SRK 3X35 JET2 SR M6X10 DIN916

ER32 SRK 3X60 JET2 SR M6X10 DIN916

ER32 SRK 4X35 JET2 SR M6X10 DIN916

ER32 SRK 4X60 JET2 SR M6X10 DIN916

ER32 SRK 4X85 JET2 SR M6X10 DIN916

ER32 SRK 5X35 JET2 SR M6X10 DIN916

ER32 SRK 5X60 JET2 SR M6X10 DIN916

ER32 SRK 5X85 JET2 SR M6X10 DIN916

ER32 SRK 6X35 JET2 SR M8X12 DIN916

ER32 SRK 6X60 JET2 SR M8X12 DIN916

ER32 SRK 6X85 JET2 SR M8X12 DIN916

ER32 SRK 8X35 JET2 SR M10X10 DIN913

ER32 SRK 8X60 JET2 SR M10X10 DIN913

ER32 SRK 8X85 JET2 SR M10X10 DIN913

ER32 SRK 10X35 JET2 SR M12X10 DIN913

ER32 SRK 10X60 JET2 SR M12X10 DIN913

ER32 SRK 10X85 JET2 SR M12X10 DIN913

ER32 SRK 12X60 JET2 SR M14X12 DIN913

ER32 SRK 12X85 JET2 SR M14X12 DIN913

1076-1077 1070-1072, 1078



ISCAR1076

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1076

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�
@���������� �� 
c��������
��

u��������� ��!��*�����%� �'%���'

• !���&�G � ���q�$G � ��*�)@�������

• a$�&��" ��#��� ���&��#��&�� (5 ��'.)

• ����&'�� ���#" �%)������" (30-90 ��'.)

• �������*)���$G ���&��#��& 3-32 ##

• ���&��#��& �� q$�&������=�G �&�)� 6-32 ##

�	��������:
• �����&'� SRKIN
• �����&'� �)" &"��)���(�������G �q��q�&'�

• !���%����'�

• ���'�)@�$� f��(��$� *�&���$ ER..SRK…

SRKINER... SRK

SRK

W���������� ���*�\��'*��

��'���� ����������' 3-32 ## �������*)���$G %���&���'

��'���� ����������' 6-32 ## \���&���' �� �&�)� � q$�&������=�G �&�)�


������� ���'��� 3 x 380-500> 50/60;f

	����'�"�'� ��)����" 13 '>&

	����'�"�&� ��� 16 A

���'��� ���������' ���';!���� 220> 50;f

	����'�"�'� ��)����" 0.5 '>&

�'����'�"�'� !���' ����������' 440 ## (�& #����G )����)

�'����'�"�&� !�'���� �'����' 52 ##

q\\������'� !���' ���� ��!��*�� 45 ##

@���� �'�v������ !��q). 5-12 ��'���

@���� ���';!���� !��q). 30-90 ��'���

@�� 150 '(

?'$'����&� �'#���& 170 x 73 x 60 �#

����& ��*�)@����&@�" �)" ���&��#��&�� �� &�/���(� 

�*)��� � q$�&������=�G �&�)�.

!



10771077

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

@���������� �� 
c��������
��

> '�#*)�'& �%��"&:

• ��&��G�&�� ����'f�����(� ��(����

• ��&��G�&�� �%)������"

• ��)��'�

• 3 *���%����'� �)" ���&��#��&�(1)

• ���#���=�&�$� *��+�&'�

������ �$��?����� �	��������
IND COOLING COLLET 6-8  

IND COOLING COLLET 10-12  

IND COOLING COLLET 14-16 SRKIN

IND COOLING COLLET 18-20

IND COOLING COLLET ER 3-5  

IND COOLING COLLET ER 6  

IND COOLING COLLET ER 8 SRK 

IND COOLING COLLET ER 10

IND COOLING COLLET ER 12

IND S DISC 3-5 13kW

IND S DISC 6-12 13kW

IND S DISC 14-16 13kW SRKIN

IND S DISC 18-20 13kW

IND S DISC 25-32 13kW

u��������� ��!��*�����%� �'%���'

�
�'��"����
IND SHRINKIN UNIT EUR

�������������% ��	�$�����  
����	������ ��� HSK
IND 32 TOOL ADAPTER

IND 40 TOOL ADAPTER

IND 50 TOOL ADAPTER(2)

IND 63 TOOL ADAPTER(1)

IND 80 TOOL ADAPTER

(1) �)" '����� #40
(2) �)" '����� #30

�
�'��"����:
4505585 IND SHRINK START UNIT EUR 

����/# 

'�&�?'�

�������G 

*���')<+�&�)@

�#'��&@ �)" �%). ���'��&�

(6.8 )�&���). [�)���&@ 

&�)@'� ���'��&@ maxol 

� ��&�'���������$#� 

���G�&��#�

>%����G ����/# 

�%)������"

>$')<+�&�)@ 

�%)������"

>$%����G

����/# �%)������"

��)��'�

����& ��*�)@����&@�" �)" ���&��#��&�� 

�� &�/���(� �*)��� � q$�&������=�G �&�)�.

!

IND S 

DISC

#��	�%���� INDUCTION Starter
��&��G�&�� INDUCTION Starter - h&� h'���#�+��"

�����" ��&��G�&�� ����'f�����(� ��(���� SHRINKIN. 

��&��G�&�� �����q�&��� �)" &�(�, +&�q$ '���+�$G 

*�&��q�&�)@ #�( ���*�)@����&@�" �����#����G &�%��)�(��G 

&��#�����#� *�� ��q�)@?�% c�������$% ��&��&�%. 

INDUCTION Starter c�'&�+��'� "�)"�&�" �*��=/���G 

� �(����+����G ������G *�)��f����G ����'f�����G 

���&�#$ &��#���(����, '�&���< ��(���" *���)�(��& ISCAR.

�����
������ ���	�%����

���*�� 

�%)������"

��&�' �)" 

���&��#��&�

!���)@

�*���)���"


=�' �)" 

*�����)�����&�G

�������G

��q�+�G *��& 

#50, HSK 100

!���%����' (1)

*�� '���� #40, 

HSK 63/C6

!�����)�����&� (�%��"& � '�#*)�'&)



ISCAR1078

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1078

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�
@���������� �� 
c��������
��

�	����*����� �������� 
�� ��	����% ����	$�����

1. ���&�'& *� '����� � *������G *����%���&�

2. ����)@��� ��?���� 

�)" �$��'��'����&��G �q��q�&'�

3. >$��'�" &�+���&@

4. >$��'�" �/�&'��&@

5. !���&�� � q$�&��� ��'��*)����

_�������� CLICKIN ���	��� ER SRF

 �	����*����� 
���	�������:� ����������
1. a$�&��" ��#��� ����=�(� ���&��#��&�.  

����+��'�G %���&���' � �*���'� 

������"<&�" *�)�����G �q���&�

2. �&��&�&��� &��#�+��'�(� ����� *� '����� �*���'�

3. >����&�����&@ *� ���#�&�� � �)���

4. �� &��q��&�" *��#������ 

��)���&�)@�$% *���%����'��

5. �� &��q�<&�" ��*���$� +��&�

6. [�(�&��'� CLICKIN �)" ��(�&��)���" 

��q�&����$% ���&��#��&�� � *�&�����

7. ���#�+��'�G ����# �)" #���)�&��(� 

&������*)����(� ���&��#��&� 

 

������ '���?��: 235 �·#

�����

ER

!���f�* ��q�&$ ���&�#$ - '��&�'& *� '����� 

� *������G *����%���&� ���&��#��&�, 

'�&��$G �q��*�+����& #�'��#�)@��< �/�&'��&@. 

���&�#� #���& *��#��"&@�" �)" ��'��*)���" 

*�&���� SHRINKIN � ��&����)���$# � ��(� 

���&��#��&�# � '���+��'�# *�&���� q�)@?�(� 

���#���, �)" ��&����'� �� �&���'.

HSK A63 �#. �&�. 984

BT 40/50 �#. �&�. 1030

�#. �&�. 1079

<&���������'� ������'

G2.5

20,000 �q/#��



10791079

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

BTED BD

DCONWS

41.0

DRVS
THID

LPR
LB6.0

LSCWS
ADJRGA

BHTASS
Bar Max

A0.003A 58-60 HRc

�$�#�'����� SS DCONWS LPR LB ADJRGA LSCWS BD BTED THID W�+"(1) BHTA DRVS(2) kg

ER32 SRF 3X50 32 SRF 3.00 50.00 31.00 6.00 16.0 32.00 10.00 M6 3.00 4 27.0 0.25

ER32 SRF 3X85 32 SRF 3.00 85.00 60.50 6.00 16.0 32.00 10.00 M6 3.00 4 27.0 0.28

ER32 SRF 4X50 32 SRF 4.00 50.00 31.00 6.00 18.0 32.00 10.00 M6 3.00 4 27.0 0.22

ER32 SRF 4X85 32 SRF 4.00 85.00 60.50 6.00 18.0 32.00 10.00 M6 3.00 4 27.0 0.28

ER32 SRF 5X50 32 SRF 5.00 50.00 31.00 6.00 21.0 32.00 10.00 M6 3.00 4 27.0 0.22

ER32 SRF 5X85 32 SRF 5.00 85.00 60.50 6.00 21.0 32.00 10.00 M6 3.00 4 27.0 0.28

ER32 SRF 6X50 32 SRF 6.00 50.00 31.00 6.00 24.0 32.00 11.00 M8 4.00 4 27.0 0.22

ER32 SRF 6X85 32 SRF 6.00 85.00 60.50 6.00 24.0 32.00 11.00 M8 4.00 4 27.0 0.28

ER32 SRF 8X50 32 SRF 8.00 50.00 33.00 6.00 31.0 32.00 14.00 M10 5.00 4 27.0 0.23

ER32 SRF 8X85 32 SRF 8.00 85.00 60.50 6.00 31.0 32.00 14.00 M10 5.00 4 27.0 0.31

ER32 SRF 10X50 32 SRF 10.00 50.00 35.00 5.00 35.0 32.00 16.00 M12 6.00 4 27.0 0.23

ER32 SRF 10X85 32 SRF 10.00 85.00 60.50 6.00 36.0 32.00 16.00 M12 6.00 4 27.0 0.33

ER32 SRF 12X50 32 SRF 12.00 50.00 35.00 5.00 37.0 32.00 20.00 M14 6.00 4 27.0 0.26

ER32 SRF 12X85 32 SRF 12.00 85.00 50.00 6.00 38.0 32.00 20.00 M14 6.00 4 27.0 0.38

• ������ '���?��: 24 '(·#. • ��)@'� �)" &������*)���$% ���&��#��&��.
(1) ���#�� ')<+� �)" ��(�)�����+��(� ���&�
(2) ���#�� ')<+�

 

�'�'��&� �'���

�$�#�'�����

ER32 SRF 3X50 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 3X85 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 4X50 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 4X85 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 5X50 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 5X85 SR M6X10 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 6X50 SR M8X12 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 6X85 SR M8X12 DIN916 WRENCH ER32 CLICKIN 27*

ER32 SRF 8X50 SR M10X10 DIN913 WRENCH ER32 CLICKIN 27*

ER32 SRF 8X85 SR M10X10 DIN913 WRENCH ER32 CLICKIN 27*

ER32 SRF 10X50 SR M12X10 DIN913 WRENCH ER32 CLICKIN 27*

ER32 SRF 10X85 SR M12X10 DIN913 WRENCH ER32 CLICKIN 27*

ER32 SRF 12X50 SR M14X12 DIN913 WRENCH ER32 CLICKIN 27*

ER32 SRF 12X85 SR M14X12 DIN913 WRENCH ER32 CLICKIN 27*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

ER-SRF
���#�*�&���$ SHRINKIN 

� q$�&���#���$# 

*���%����'�# CLICKIN

1076-1077 1070-1072, 1078 1030



ISCAR1080

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1080

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

DCONNWS
DCONXWS

SS SETS

0.01

46-48 HRc

�$�#�'����� SS W���"����� DCONNWS(1) DCONXWS
SET ER11 SPR 7 ER11 7 0.5 7.0

SET ER16 SPR 10 ER16 10 0.5 10.0

SET ER20 SPR 12 ER20 12 1.0 13.0

SET ER25 SPR 15 ER25 15 1.0 16.0

SET ER32 SPR 18 ER32 18 2.0 20.0

SET ER40 SPR 23 ER40 23 3.0 26.0

SET ER50 SPR 12 ER50 12 10.0 34.0

(1) ����#�)@�$G ���#�&� ���������"

 

 
SET ER-SPR
��q�� *������$% f��( ER DIN 6499  

� *�'�$&��# HARD TOUCH

SS

DCONNMS
DCONXWS

SETS

0.005

46-48 HRc

�$�#�'����� SS W���"����� DCONNWS(1) DCONXWS
SET ER11 SPR 7       AA ER11 7 0.5 7.0

SET ER16 SPR 10     AA ER16 10 0.5 10.0

SET ER20 SPR 12     AA ER20 12 1.0 13.0

SET ER25 SPR 15     AA ER25 15 1.0 16.0

SET ER32 SPR 18      AA ER32 18 2.0 20.0

SET ER40 SPR 23      AA ER40 23 3.0 26.0

(1) ����#�)@�$G ���#�&� ���������"

 

 
SET ER-SPR-AA
��q�� f��( ER ‘AA’ DIN 6499  

*��$?����G &�+���&� 

� *�'�$&��# HARD TOUCH

DCONNMS
DCONXWS

SS SETS

0.01

46-48 HRc

Bar Max

�$�#�'����� SS W���"����� DCONNWS(1) DCONXWS
SET ER16 SEAL  7 ER16 7 3.0 10.0

SET ER20 SEAL 10 ER20 10 3.0 13.0

SET ER25 SEAL 13 ER25 13 3.0 16.0

SET ER32 SEAL 17 ER32 17 3.0 20.0

SET ER40 SEAL 23 ER40 23 3.0 26.0

(1) ����#�)@�$G ���#�&� ���������"

 

 
SET ER-SEAL
��q�� f��( ER COOLIT DIN 6499  

� *�'�$&��# HARD TOUCH,  

(��#�&�+�$% *�� ���)����  

100 q��

SS

DCONNMS
DCONXWS

SETS

0.01

46-48 HRc

Bar Max

�$�#�'����� SS W���"����� DCONNWS(1) DCONXWS
SET ER16 SEAL  7     JET2 ER16 7 3.0 10.0

SET ER20 SEAL 10     JET2 ER20 10 3.0 13.0

SET ER25 SEAL 13     JET2 ER25 13 3.0 16.0

SET ER32 SEAL 17     JET2 ER32 17 3.0 20.0

SET ER40 SEAL 23     JET2 ER40 23 3.0 26.0

(1) ����#�)@�$G ���#�&� ���������"

 

 
SET ER-SEAL-JET2
��q�� f��( ER COOLIT DIN 6499  

� *�'�$&��# HARD TOUCH,  

(��#�&�+�$% *�� ���)����  

100 q��



10811081

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

 

 

  
d ���*����

SS SETS 46-48 HRc

�$�#�'����� SS W���"����� �����'�� d
SET ER16 SPR 8 EM ER16 8 3,4,5,6,7,8,9,10

SET ER20 SPR 5 EM ER20 5 4,6,8,10,12

SET ER25 SPR 6 EM ER25 6 4,6,8,10,12,16

SET ER32 SPR 6 EM ER32 6 6,8,10,12,20

SET ER40 SPR 7 EM ER40 7 6,8,10,12,16,20,25

• > ��q�� �%��"& f��(� �)" *�*�)"��$% ���#���� '��f��$% c���.

 

 
SET ER-SPR-EM
��q�� *������$% f��( ER DIN 6499  

� *�'�$&��# HARD TOUCH

d ���*����

SS SETS 46-48 HRc

Bar Max

�$�#�'����� SS W���"����� �����'�� d
SET ER16 SEAL  5 EM ER16 5 4,5,6,8,10

SET ER20 SEAL  5 EM ER20 5 4,6,8,10,12

SET ER25 SEAL  6 EM ER25 6 4,6,8,10,12,16

SET ER32 SEAL  6 EM ER32 6 6,8,10,12,16,20

SET ER40 SEAL  7 EM ER40 7 6,8,10,12,16,20,25

• > ��q�� �%��"& f��(� �)" *�*�)"��$% ���#���� '��f��$% c���. • !�'�$&�� HARD TOUCH *��$?��& �������&�G'��&@ � '����������< ��=�&�, � *����)"�& ��)@?� 

��%���"&@ '�+��&�� *����%���&� � &�+���&@ �q��q�&'�.

 

 
SET ER-SEAL-EM
��q�� f��( ER COOLIT 

JET DIN 6499 � *�'�$&��# 

HARD TOUCH, (��#�&�+�$% 

*�� ���)���� 100 q��

d ���*����

SS SETS

0.01

46-48 HRc

Bar Max

�$�#�'����� SS W���"����� �����'�� d
SET ER25 SEAL  6 EM  JET2 ER25 6 4,6,8,10,12,16

SET ER32 SEAL  6 EM  JET2 ER32 6 6,8,10,12,16,20

SET ER40 SEAL  7 EM  JET2 ER40 7 6,8,10,12,16,20,25

• > ��q�� �%��"& f��(� �)" *�*�)"��$% ���#���� '��f��$% c���. • !�'�$&�� HARD TOUCH *��$?��& �������&�G'��&@ � '����������< ��=�&�, � *����)"�& ��)@?� 

��%���"&@ '�+��&�� *����%���&� � &�+���&@ �q��q�&'�.

 

 
SET ER-SEAL-EM JET2
��q�� f��( ER COOLIT 

JET2 � *�'�$&��# HARD 

TOUCH, (��#�&�+�$% 

*�� ���)���� 100 q��



ISCAR1082

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1082

:



�
;�

>
Q

	
 !



�

�
�

�
Q

 E
R

, S
C

 �
 !



�

�
�

�
Q

 �
 �

	
�

�
�

[



�
�

�
�

�

d ���*����
SS

SETS

Bar Max

58-60 HRc

�$�#�'����� SS W���"����� �����'�� D
SET SC20 SEAL 6 SC20 6 6,8,10,12,14,16

SET SC32 SEAL 9 SC32 9 6,8,10,12,16,20,25

 

  

SET SC-SEAL
��q�� f�)�����+��'�% f��( SC  

� �&����&�"#� �)" *���+� 

�%)����<=�G ���'��&�, 

�)" ��)���(� *�&���� MAXIN

DCONWS
DCONMS

OAL

ADJRGA

THID

LSCWS 58-60 HRc

�$�#�'����� DCONMS DCONWS OAL LSCWS ADJRGA(1) THID
SC 20 SPR 6 20.00 6.00 60.00 35.0 7.00 M16

SC 20 SPR 8 20.00 8.00 60.00 35.0 7.00 M16

SC 20 SPR 10 20.00 10.00 60.00 48.0 13.00 M16

SC 20 SPR 12 20.00 12.00 60.00 48.0 8.00 M16

SC 20 SPR 14 20.00 14.00 60.00 48.0 8.00 M16

SC 20 SPR 15 20.00 15.00 60.00 48.0 8.00 M16

SC 20 SPR 16 20.00 16.00 60.00 48.0 9.00 M16

SC 32 SPR 6 32.00 6.00 72.00 45.0 17.00 M24X1.5

SC 32 SPR 8 32.00 8.00 72.00 45.0 17.00 M24X1.5

SC 32 SPR 10 32.00 10.00 72.00 48.0 13.00 M24X1.5

SC 32 SPR 12 32.00 12.00 72.00 45.0 5.00 M24X1.5

SC 32 SPR 14 32.00 14.00 72.00 45.0 5.00 M24X1.5

SC 32 SPR 15 32.00 15.00 72.00 59.5 19.50 M24X1.5

SC 32 SPR 16 32.00 16.00 72.00 61.5 17.50 M24X1.5

SC 32 SPR 18 32.00 18.00 72.00 61.5 17.50 M24X1.5

SC 32 SPR 19 32.00 19.00 72.00 61.5 17.50 M24X1.5

SC 32 SPR 20 32.00 20.00 72.00 61.5 15.50 M24X1.5

SC 32 SPR 24 32.00 24.00 72.00 55.5 10.50 M24X1.5

SC 32 SPR 25 32.00 25.00 72.00 61.5 10.50 M24X1.5

(1) ���*���� �����G ���&��G'�

 

  

SC-SPR
:�)�����+��'�� f��(� SC 

�)" ��)��$% *�&����� MAXIN

THID

LSCWS
ADJRGA

DCONMS DCONWS

OAL

Bar Max

58-60 HRc

�$�#�'����� DCONMS DCONWS OAL LSCWS ADJRGA THID
SC 20 SEAL 6 20.00 6.00 60.00 35.0 7.00 M16

SC 20 SEAL 8 20.00 8.00 60.00 35.0 7.00 M16

SC 20 SEAL 10 20.00 10.00 60.00 48.0 13.00 M16

SC 20 SEAL 12 20.00 12.00 60.00 48.0 8.00 M16

SC 20 SEAL 14 20.00 14.00 60.00 48.0 8.00 M16

SC 20 SEAL 15 20.00 15.00 60.00 48.0 8.00 M16

SC 20 SEAL 16 20.00 16.00 60.00 48.0 9.00 M16

SC 32 SEAL 6 32.00 6.00 72.00 45.0 17.00 M24X1.5

SC 32 SEAL 8 32.00 8.00 72.00 45.0 17.00 M24X1.5

SC 32 SEAL 10 32.00 10.00 72.00 48.0 13.00 M24X1.5

SC 32 SEAL 12 32.00 12.00 72.00 45.0 5.00 M24X1.5

SC 32 SEAL 14 32.00 14.00 72.00 45.0 5.00 M24X1.5

SC 32 SEAL 15 32.00 15.00 72.00 45.0 5.00 M24X1.5

SC 32 SEAL 16 32.00 16.00 72.00 61.5 17.50 M24X1.5

SC 32 SEAL 18 32.00 18.00 72.00 61.5 17.50 M24X1.5

SC 32 SEAL 19 32.00 19.00 72.00 61.5 17.50 M24X1.5

SC 32 SEAL 20 32.00 20.00 72.00 61.5 15.50 M24X1.5

SC 32 SEAL 24 32.00 24.00 72.00 61.5 15.50 M24X1.5

SC 32 SEAL 25 32.00 25.00 72.00 61.5 10.50 M24X1.5

 

  

SC-SEAL
;��#�&�+�$� f��(� 

�)" ��)��$% *�&����� MAXIN



10831083

;
�

�
�



>

�
�

W
	

�
�

�
	

 !



�
�

�
�

Q
 H

Y
D

R
O

F
IT

 �
 �

�
�

!
�

	
�

�
�

b
�

�
	

;���
>��W	���	 !
����Q 

HYDROFIT � ���!�	���b��	



ISCAR1084

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1084

;
�

�
�



>

�
�

W
	

�
�

�
	

 !



�
�

�
�

Q
 H

Y
D

R
O

F
IT

 �
 �

�
�

!
�

	
�

�
�

b
�

�
	

���*���� d

SS

DCONWS

SETS A0.003A AT3 Taper

58-60 HRc

�$�#�'����� SS DCONWS �����'�� d W���"�����
KIT DIN69871 40HYDRO20X65 40 20.00 6,8,10,12,16 5

KIT DIN6987140HYDRO32X117 40 32.00 6,8,10,12,16,20,25 7

• > '���$G ��q�� �%���& ���� *�&��� HYDROFIT, ��q�� (��#�&�+�$% *���%����'�� SC...HYDRO � ')<+.

  

KIT DIN69871-HYDRO
> ��q�� �%���& (�����)�+��'�G 

*�&��� � %���&���'�# DIN 69781 

 � ��q�� f��( �����(� ���#�&��

���*���� d
DCONWS

SS SETS A0.003A 58-60 HRc

G2.5 

BT 40= 16,000RPM
BT 50= 10,000RPM

U<1.0 gmm

�$�#�'����� SS DCONWS �����'�� d W���"�����
KIT BT 40 HYDRO 20X 73 40 20.00 6,8,10,12,16 5

KIT BT 40 HYDRO 32X110 40 32.00 6,8,10,12,16,20,25 7

• > '���$G ��q�� �%���& ���� *�&��� HYDROFIT, ��q�� (��#�&�+�$% *���%����'�� SC...HYDRO � ')<+.

 

  

KIT BT-HYDRO
��q��$ (�����)�+��'�% 

*�&����� � %���&���'�#� 

BT-MAS c��#� A/B

���*���� d
DCONWS

DCONMS

.

SETS A0.003A 58-60 HRc

G2.5 
HSKA63= 24,000RPM
HSKA80= 16,000RPM
HSKA100= 15,000RPM

U<1.0 gmm

�$�#�'����� DCONMS DCONWS �����'�� d W���"�����
KIT HSK A63 HYDRO20X100 63 20.00 6,8,10,12,16 5

KIT HSK A63 HYDRO32X125 63 32.00 6,8,10,12,16,20,25 7

• > '���$G ��q�� �%���& ���� *�&��� HYDROFIT, ��q�� (��#�&�+�$% *���%����'�� SC...HYDRO � ')<+.  

• ���q'� �%)������" ��)��� ��*�)@����&@�" �� ���#� ?*����)"#� HSK � *���+�G ��� (��'��$��<&�" �&��)@��).

 

  

KIT HSK A-HYDRO
> ��q�� �%���& (�����)�+��'�G 

*�&��� � %���&���'�# HSK 

� ��q�� f��( �����(� ���#�&��

DC



10851085

;
�

�
�



>

�
�

W
	

�
�

�
	

 !



�
�

�
�

Q
 H

Y
D

R
O

F
IT

 �
 �

�
�

!
�

	
�

�
�

b
�

�
	

DCONMS
DCONWS

BD

LSCWS

LH

OAL

�$�#�'����� DCONMS DCONWS LSCWS OAL BD LH
SC 12 S HYDRO 3 12.00 3.00 19.0 46.50 16.00 2.0

SC 12 S HYDRO 4 12.00 4.00 24.0 46.50 16.00 2.0

SC 12 S HYDRO 5 12.00 5.00 28.0 46.50 16.00 2.0

SC 12 S HYDRO 6 12.00 6.00 33.0 46.50 16.00 2.0

SC 12 S HYDRO 8 12.00 8.00 39.0 46.50 16.00 2.0

SC 20 S HYDRO 3 20.00 3.00 20.0 53.00 24.00 2.0

SC 20 S HYDRO 4 20.00 4.00 25.0 53.00 24.00 2.0

SC 20 S HYDRO 5 20.00 5.00 27.0 53.00 24.00 2.0

SC 20 S HYDRO 6 20.00 6.00 34.0 53.00 24.00 2.0

SC 20 S HYDRO 8 20.00 8.00 39.0 53.00 24.00 2.0

SC 20 S HYDRO 10 20.00 10.00 40.0 53.00 24.00 2.0

SC 20 S HYDRO 12 20.00 12.00 41.0 53.00 24.00 2.0

SC 20 S HYDRO 14 20.00 14.00 44.0 53.00 24.00 2.0

SC 20 S HYDRO 16 20.00 16.00 44.0 53.00 24.00 2.0

SC 25 S HYDRO 6 25.00 6.00 37.0 60.00 30.00 4.0

SC 25 S HYDRO 8 25.00 8.00 37.0 60.00 30.00 4.0

SC 25 S HYDRO 10 25.00 10.00 40.0 60.00 30.00 4.0

SC 25 S HYDRO 12 25.00 12.00 44.0 60.00 30.00 4.0

SC 25 S HYDRO 14 25.00 14.00 46.0 60.00 30.00 4.0

SC 25 S HYDRO 16 25.00 16.00 48.0 60.00 30.00 4.0

SC 25 S HYDRO 18 25.00 18.00 50.0 60.00 30.00 4.0

SC 25 S HYDRO 20 25.00 20.00 50.0 60.00 30.00 4.0

SC 32 S HYDRO 6 32.00 6.00 33.0 66.00 40.00 4.0

SC 32 S HYDRO 8 32.00 8.00 38.0 66.00 40.00 4.0

SC 32 S HYDRO 10 32.00 10.00 39.0 66.00 40.00 4.0

SC 32 S HYDRO 12 32.00 12.00 42.0 66.00 40.00 4.0

SC 32 S HYDRO 14 32.00 14.00 44.0 66.00 40.00 4.0

SC 32 S HYDRO 16 32.00 16.00 44.0 66.00 40.00 4.0

SC 32 S HYDRO 18 32.00 18.00 44.0 66.00 40.00 4.0

SC 32 S HYDRO 20 32.00 20.00 49.0 66.00 40.00 4.0

SC 32 S HYDRO 25 32.00 25.00 66.0 66.00 40.00 4.0

• �<q�G f�)�����+��'�G, �� � f��(��$% �&�)'�% #�(�& q$&@ ����&$ &�)@'� %���&���'� Weldon 6-20 ##

 

 

 

SC-HYDRO
;��#�&�+�$� *���%���$� f��(� 

�)" (�����)�+��'�% *�&�����



ISCAR1086

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1086

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

>Q������������Q	 �!���	�� 

SPINJET � !��>���� ���



10871087

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

@���������� �� 
c��������
��

SPINJET – ���'�)@�$� �$��'��'����&�$� 

'�#*�'&�$� ?*����)�, *������#$� � �������� 

�%)����<=�G ���'��&@< *�� �$��'�# ���)����#, 

�)" ���&��#��&�� #�)�(� ���#�&��.

�*����)� SPINJET *��#��"<&�" 

�)" �$��'��'����&��G �q��q�&'� ���&��#��&�#� 

#�)�(� ���#�&�� �� �&��'�% � �(����+����G 

�'����&@< ?*����)". 

 

�*����)� *��������+��$ �)" *�)�+��&���G 

� +��&���G �q��q�&'�: c�����������, ����)����, 

(�����������, ��"&�� c���' � ������f��, 

+��&���� �����)@��� ?)�c������.

�$)�� ��! @��������� ��������*��

• ;��	�*���� ��f����:� �	����� - 

�$��'�" �'����&@ ���=���" �q��*�+����& 

���#�����&@ �$��'�G *���+� � ��'��=���" 

���#��� #�&�))��q��q�&'�

• ������� c&&���������� - *��$?���� 

hcc�'&�����&� �� 65% *� ��������< � �q��q�&'�G 

*�� *�#�=� �������(� ?*����)" �&��'�

• �������� c��	:�� – ��q�&��& &�)@'� ?*����)@ 

SPINJET, � ?*����)@ �&��'� ��*�������

• ������� ��"����� - �&)�+��� '�+��&�� *����%���&�, 

q)�(����" �*&�#���f�� ����#�� �q��q�&'�

• !�$����:�� |���+"�% � 	�
���%} – )/('�" ��&����'� 

�� ��=��&��<=�� �&��'� q�� *��#�����" ���*&����

• ����f����� ���%����� – ����)@&�& �*&�#���f�� 

����#�� �q��q�&'�, � #�=��G *���+� ���

���$�������

d���	������% ��	����"�� �
�	���� SPINJET 
����=/� ���&�#�G q��*�������(� '��&��)" 

�q���&�� ���=���" ��)� ?*����)" � ���)@��# 

���#��� � *��f���� #�&�))��q��q�&'�.

 

• !�����+� �������(��)� �� +��&�&� 2.4 <<

• a��*�������G #���&����( �q���&�� ���=���" 

��)� ?*����)" � ���*����� �� 10 ���	��
• ���*)�G � ���?��# *�&����# *����)"�& 

�+�&$��&@ *�'�����" ���% ���&�# 

SPINJET, ��*�)@���#$% �� �&��'�

a��*�������G 

*�����&+�' �q���&��

���=���" ��)� ?*����)"

������)����'



ISCAR1088

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1088

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

BT

MM ER11 T04/T05 ER11 SRK ER11 SPR

DIN69871 CAT40 HSK A 63 C# ST

@���������� �� 
c��������
��

	���� ��v���� !�� �'������� �&���' ����������'

>�&�����$G *�&��� ER32
>$��'�" &�+���&@ � #�)�� q�����,

*��%���& �)" ����$% �&�����&�$% *�&�����

� '�����# ER32.

NUT ER11 GHS

!�&��� 

ER11 SPR
NUT ER11 GHS

+10 ##

+15 ##

NUT ER11 GHS

#

0 ##

ER11 SRK ...25

���#�*�&���

ER11 SRK ...10

���#�*�&���

SPINJET-HPC ER32 LINE - �'��'��& ���!������



10891089

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

@���������� �� 
c��������
��

����������

W�� ���������: *'�%��&� �'���� ER11

�$)�� !'��&�

!�$��"����� ������ ������:
HPC

��!��":  

SPINJET-GREEN LINE

���*���� ���)���" �%)����<=�G ���'��&� 

[q��]
40-70 20 - 40

���%�� �%)����<=�G ���'��&� [)/#��] 16-22  10-20

W��&�&� ���=���" ?*����)" [�q./#��.] 25,000-45,000 35000- 55000

�*&�#�)@�$G ���#�&� ����=�(� 

���&��#��&� [##]

����)����: 0.5 - 3.0 ����)����: 0.5 - 4

Z�����������: 1.0 - 4.0 Z�����������: 1 - 3.5

��'��#�)@�$G ���#�&� %���&���'� [##] 7 7

W'$��*' 1 – �q=�� &�%��+��'�� *���#�&�$

������&� �$�'��� ���������� v���!��� SPINJET-HPC LINE

����)���� ���@q�c�����������

;����������� � ��"&�� c���' �)�c������

Z�����������



ISCAR1090

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1090

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

@���������� �� 
c��������
��

�*����)@ HSM Jet � ������&�#� '��*)���" (&�)@'� �)" �))<�&��f��)

��!��;���� ��������' 

v���!���
��!��;���� ��������' 

!������

1. �)<+ c�'��f�� ��)� TJS GJET
2. �)<+ ER11 SMS
3. a�&���" - )�&����", 

�� *������"���#�", &�* CR2
4. HW2.0: ?��&�(����$G ')<+

�)" 	���*$:

1. TJS TSD display EUR - 

q��*�������G *�����&+�' 

�q���&�� ���=���" ��)� 

?*����)"

2. TJS DISP. power supply EUR 
- AC/DC 5V - q)�' *�&���" 

���*)�"

�)" ��
/
*����:

1. TJS TSD display - USA
2. TJS DISP. power supply - USA 
- AC/DC 5V

1

3

2

4

W�+" &����
�� ���� � ��+" ER11 SMS

1 2

��!��;���� ��������' 

v���!���
��!��;���� ��������' 

!������

1. �)<+ c�'��f�� ��)� TJS HPC
2. �)<+ ER11 SMS
3. a�&���" - )�&����",

�� *������"���#�", &�* CR2
4. HW2.0: ?��&�(����$G ')<+

�)" 	���*$:

1. TJS TSD display EUR - 

q��*�������G *�����&+�' 

�q���&�� ���=���" ��)� 

?*����)"

2. TJS DISP. power supply EUR 
- AC/DC 5V - q)�' *�&���" 

���*)�"

�)" ��
/
*����:

1. TJS TSD display - USA
2. TJS DISP. power supply - USA 
- AC/DC 5V

1

3

2

4

W�+" &����
�� ���� � ��+" ER11 SMS

1 2



10911091

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

  

  

  

ø81

LF
LPR

OAL

BD

ER32 ER11
DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� LF LPR OAL BD DCONXWS(1) kg

TJS GJET ER32 92.00 109.00 136.00 63.00 7.00 1.30

• ����#�)@��� ���)���� �%)����<=�G ���'��&� 20 q�� � ���%�� 12 )/#�� • �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090
(1) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

TJS-GJET-ER32 NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY GJET TJS TSD DISPLAY*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
TJS-GJET-ER32
>$��'��'����&�$� ?*����)� 

#�)$% ���#����, *������#$� 

� �������� ���)����# 

�%)����<=�G ���'��&�, 

� %���&���'�#� ER32

BD

ER11

LF
LPR

OAL

SS

ø81

DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� SS LF LPR DCONXWS(1) BD OAL kg

TJS GJET BT30 30 122.00 139.00 7.00 63.00 139.00 1.60

TJS GJET BT40 40 105.00 122.00 7.00 63.00 189.50 1.80

• ����#�)@��� ���)���� �%)����<=�G ���'��&� 20 q�� � ���%�� 12 )/#�� • �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090
(1) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

TJS-GJET-BT NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY GJET TJS TSD DISPLAY*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

TJS-GJET-BT
>$��'��'����&�$� ?*����)� 

#�)$% ���#����, *������#$� 

� �������� ���)����# 

�%)����<=�G ���'��&�, 

� %���&���'�#� BT

ER11

LPR
OAL

ø81

DCONMS BD

DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS LPR OAL BD DCONXWS(1) kg

TJS GJET HSK A63 63.00 141.00 173.00 63.00 7.00 1.80

• ����#�)@��� ���)���� �%)����<=�G ���'��&� 20 q�� � ���%�� 12 )/#�� • �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090
(1) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

TJS-GJET-HSK A63 NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY GJET TJS TSD DISPLAY*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

TJS-GJET-HSK A63
>$��'��'����&�$� ?*����)� 

#�)$% ���#����, *������#$� 

� �������� ���)����# 

�%)����<=�G ���'��&�, 

� %���&���'�#� HSK



ISCAR1092

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1092

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

ø81

LPR
OAL

LS

DCONMS h6

ER11

BD

DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS LPR OAL LS DCONXWS(1) BD kg

TJS GJET ST20 20.00 115.00 158.00 43.0 7.00 63.00 1.20

• ����#�)@��� ���)���� �%)����<=�G ���'��&� 20 q�� � ���%�� 12 )/#�� • �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090
(1) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

TJS-GJET-ST NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY GJET TJS TSD DISPLAY*

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
TJS-GJET-ST
>$��'��'����&�$� 

?*����)� #�)$% ���#����, 

*������#$� � �������� 

���)����# �%)����<=�G 

���'��&�, � f�)�����+��'�#� 

%���&���'�#�

ø81

BD

LF
LPR

OAL

DCONMS

ER11 DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS LF LPR DCONXWS(1) OAL BD kg

TJS GJET C5 50.00 112.00 129.00 7.00 129.00 63.00 1.50

TJS GJET C6 63.00 102.00 119.00 7.00 119.00 63.00 1.60

• ����#�)@��� ���)���� �%)����<=�G ���'��&� 20 q�� � ���%�� 12 )/#�� • �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090
(1) ��'��#�)@�$G ���#�&� ���������"

 

�'�'��&� �'���

�$�#�'�����

TJS-GJET-C# TJS SHAFT LOCK KEY GJET TJS TSD DISPLAY* NUT ER11 GHS WRENCH ER11 SMS HW 2.0

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

TJS-GJET-C#
>$��'��'����&�$� 

?*����)� #�)$% ���#����, 

*������#$� � �������� 

���)����# �%)����<=�G 

���'��&�, � %���&���'�#� 

CAMFIX (ISO 26623-1)

ER32
ER11

BD

Ø81

 LF 

DCONXWS

LPR
OAL �)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

70
Bar Max

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� SS DCONXWS LF LPR OAL BD kg

TJS HPC ER32 ER32 7.00 99.00 116.00 144.00 80.00 1.70

• ���)���� �%)����<=�G ���'��&� 40-70 q�� � ���%�� 16-22 )/#�� • W��&�&� ���=���" 35,000-50,000 �q./#��.  

• �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&�  

• ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1078-1090

 

�'�'��&� �'���

�$�#�'�����

TJS HPC ER TJS TSD DISPLAY* NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 
TJS HPC ER
�*����)@ HSM, *������#$G 

� �������� �%)�������# 

*�� �$��'�# ���)����#, 

� %���&���'�#� ER32 

�)" ���&��#��&�� 

#�)�(� ���#�&��



10931093

>
Q

�
�

�
�

�
�

�
�

�
�

�
�

Q
	

 �
!

�
�

�
	

�
�

 S
P

IN
JE

T
 �

 !
�

�
>

�
�

�
�

 �
�

�
 

BD

OAL

ER11 DCONXWS

 LF 

DCONMS

LPR

ø81

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

�$�#�'����� DCONMS LF LPR DCONXWS OAL BD kg

TJS HPC C6 63.00 107.00 124.00 7.00 162.00 80.00 2.00

• ���)���� �%)����<=�G ���'��&� 40-70 q�� � ���%�� 16-22 )/#�� • W��&�&� ���=���" 35 000-50 000 �q / #�� • �*����)@ �q��*�+����& &�)@'� �������� 

�%)������� ��'��( ���&��#��&� • ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090

�'�'��&� �'���

�$�#�'�����

TJS HPC C# NUT ER11 GHS WRENCH ER11 SMS TJS TSD DISPLAY* HW 2.0

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

  

TJS HPC C#
�*����)@ HSM, *������#$G 

� �������� �%)�������# 

*�� �$��'�# ���)����#, 

� %���&���'�#� CAMFIX 

�)" ���&��#��&�� 

#�)�(� ���#�&��

BD

OAL

ø81 

DCONMS

DCONXWS

 LF 
LPR

ER11

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

�$�#�'����� DCONMS LF LPR BD DCONXWS OAL
kg

TJS HPC ST20 20.00 95.00 112.00 80.00 7.00 155.00 1.50

• ���)���� �%)����<=�G ���'��&� 40-70 q�� � ���%�� 16-22 )/#�� • W��&�&� ���=���" 35 000-50 000 �q / #��  

• �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&� • ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090

�'�'��&� �'���

�$�#�'�����

TJS HPC ST NUT ER11 GHS WRENCH ER11 SMS TJS TSD DISPLAY* HW 2.0

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

 

 

TJS HPC ST
�*����)@ HSM, *������#$G � �������� 

�%)����<=�G ���'��&@< *�� �$��'�# 

���)����#, � *�"#$# %���&���'�# 

�)" ����=�(� ���&��#��&� #�)�(� ���#�&��

ER11 DCONXWS

BD

LF
LPR

OAL

ø81

SS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

70
Bar Max

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� SS LF LPR DCONXWS OAL BD kg

TJS HPC BT40 BT40 100.00 117.00 7.00 183.00 80.00 1.90

• ���)���� �%)����<=�G ���'��&� 40-70 q�� � ���%�� 16-22 )/#�� • W��&�&� ���=���" 35 000-50 000 �q / #��  

• �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&� • ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090

�'�'��&� �'���

�$�#�'�����

TJS HPC BT TJS TSD DISPLAY* NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY

  

TJS HPC BT
�*����)@ HSM, 

*������#$G � �������� 

�%)�������# *�� �$��'�# 

���)����#, � %���&���'�#� 

BT �)" ���&��#��&�� 

#�)�(� ���#�&��

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��

ER11

Ø81

DCONMS

LPR
LF

OAL

BD

DCONXWS

�)" f��( ER-SPR ��*�)@��G&� &�)@'� &�* “

”

70
Bar Max

G2.5 

60,000 RPM
U<1.0 gmm

�$�#�'����� DCONMS DCONXWS LF LPR OAL BD kg

TJS HPC HSK A63 63.00 7.00 121.00 138.00 170.00 80.00 2.00

• ���)���� �%)����<=�G ���'��&� 40-70 q�� � ���%�� 16-22 )/#�� • W��&�&� ���=���" 35 000-50 000 �q / #��  

• �*����)@ �q��*�+����& &�)@'� �������� �%)������� ��'��( ���&��#��&� • ��'�����&�� *� h'�*)��&�f�� �#. �&�. 1087-1090

�'�'��&� �'���

�$�#�'�����

TJS HPC HSK TJS TSD DISPLAY* NUT ER11 GHS WRENCH ER11 SMS HW 2.0 TJS SHAFT LOCK KEY

  

TJS HPC HSK
�*����)@ HSM, 

*������#$G � �������� 

�%)�������# *�� �$��'�# 

���)����#, � %���&���'�#� 

HSK �)" ���&��#��&�� 

#�)�(� ���#�&��

* ��*�)��&�)@��" �*f�", ��'��$���&�" �&��)@��



ISCAR1094

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1094

>
�

!
�

�
�

;

�

	
�

�
�

Q
	

 �
�

�
�

�
U

�
�

>



>�!���;
�	���Q	 

�����U��>




10951095

>
�

!
�

�
�

;

�

	
�

�
�

Q
	

 �
�

�
�

�
U

�
�

>



HBH

LB_2
LB

PHD

BD
BD

LB

L5

B

H

�	�*�+*�%���������?��%

�$�#�'����� CSI BD LB H LB_2 HBH B L5 PHD
TOOL CLAMP 30 ROTARY ROTARY 70.00 56.00 128.0 109.0 19.0 104.0 40.00 12.50

TOOL CLAMP 40 ROTARY ROTARY 82.00 56.00 128.0 109.0 19.0 104.0 40.00 12.50

TOOL CLAMP 50 ROTARY ROTARY 103.00 71.00 170.0 151.0 19.0 144.0 85.00 12.50

TOOL CLAMP 30 FIX FIX 82.00 58.00 - - - - - -

TOOL CLAMP 40 FIX FIX 82.00 58.00 - - - - - -

TOOL CLAMP 50 FIX FIX 103.00 71.00 - - - - - -

 

 
TOOL CLAMP
�����&�)@ *�&����� 

���&��#��&� ISO, DIN 69871  

� BT MAS-403

DCONWS
BD

H
LSCMS

OAH

HBH

PHD

L5
B

�$�#�'����� CSI DCONWS BD LSCMS H OAH HBH B L5 PHD
MULTI CLAMP 50  A/C HSK A/C50 50.00 82.00 72.00 142.0 123.0 19.0 104.0 40.00 12.50

MULTI CLAMP 63  A/C HSK A/C63 63.00 95.00 72.00 142.0 123.0 19.0 104.0 40.00 12.50

MULTI CLAMP 100 A/C HSK A/C100 100.00 130.00 90.00 178.0 159.0 19.0 144.0 85.00 12.50

MULTI CLAMP 32 E/F HSK E/F32 32.00 113.20 70.00 133.0 114.0 19.0 144.0 40.00 12.50

MULTI CLAMP 40 E/F HSK E/F40 40.00 113.20 70.00 133.0 114.0 19.0 144.0 40.00 12.50

MULTI CLAMP 50 E/F HSK E/F50 50.00 113.20 70.00 133.0 114.0 19.0 144.0 40.00 12.50

MULTI CLAMP 63 E/F HSK E/F63 63.00 113.20 70.00 133.0 114.0 19.0 144.0 40.00 12.50

MULTI CLAMP 80 E/F (1) HSK E/F80 80.10 130.00 72.00 178.0 159.0 19.0 144.0 85.00 12.50

(1) �)" %���&���'�� HSK 80 E/F � %���&���'�� � ��*���)"<=�#� �$�&�*�#� �� c)��f�

 

 
MULTI CLAMP HSK (A/C, E/F)
>��=�<=�G�" �����&�)@ 

%���&���'�� HSK

BD DCONWS

OAH H

HBH
L5

B

LSCMS

PHD

�$�#�'����� ;�����	���% 	�'��	 SS DCONWS BD LSCMS H OAH HBH B L5 PHD
MULTI CLAMP C3 C3 32 32.00 70.00 64.00 128.0 109.0 19.0 104.0 40.00 12.50

MULTI CLAMP C4 C4 40 40.00 78.00 67.00 137.0 118.0 19.0 104.0 40.00 12.50

MULTI CLAMP C5 C5 50 50.00 82.00 72.00 142.0 123.0 19.0 104.0 40.00 12.50

MULTI CLAMP C6 C6 63 63.00 95.00 72.00 142.0 123.0 19.0 104.0 40.00 12.50

MULTI CLAMP C8 C8 80 80.00 130.00 90.00 178.0 159.0 19.0 104.0 85.00 12.50

 

 
MULTI CLAMP C#
>��=�<=�G�" �����&�)@ 

�*����' %���&���'� 

CAMFIX (ISO 26623-1)



ISCAR1096

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1096

>
�

!
�

�
�

;

�

	
�

�
�

Q
	

 �
�

�
�

�
U

�
�

>



@���������� �� 
c��������
��

q������������ ���������� !�� #'��;�� %'��� �' �'����� � \�������'��&� ��������

• �q��*�+����& '��&��)����#$G (�*&�#�)@�$G) 

����# ����=�% ���&��#��&��

• ��%���"�& &�+���&@ f��(���(� *�&����

• �/('�G ����# � �����&�� ����=�% ���&��#��&��

• ���q�$G '�#*)�'& �)" ����$% 

���#���� f��(��$% *�&�����

• ����� �������(� ?*����)" #50
• !��%���& �)" �&�����&�$% %���&���'�� 

#40, #50, HSK 63, HSK 100

���������� ������

;��
�&���
��

�������	
 Euro: ����c���$G, 200/240�, 50/60 <
, 1 �.�.
�����:  ���&�)@��" #���)@ - 85 �:.
   ��)��'� (��*.�*f�") - 15 �:.

�$�#�'�����
�	������?�����

;�����	���� �������������� ��
��

EASY LOCK T.C. EU

TP50 AD 40 EASY EASY LOCK TROLLEY

WRENCH ER16 EASY LOCK TP40 AD 30 EASY

WRENCH ER20 EASY LOCK TP50 AD HSK 63 EASY

WRENCH ER25 EASY LOCK TP50 AD HSK 100 EASY

WRENCH ER32 EASY LOCK

WRENCH ER40 EASY LOCK WRENCH ER50 EASY LOCK

WRENCH TG100 OPEN EASY

WRENCH ROLLER 20/32

#��	�%���� EASYLOCK

$G, 200/240�, 50/60 <
, 1 �.�.
" #���)@ - 85 �:.
�*.�*f�") - 15 �:.



10971097

>
�

!
�

�
�

;

�

	
�

�
�

Q
	

 �
�

�
�

�
U

�
�

>



@���������� �� 
c��������
��

600

340

700

500

540

����'�&�� 

*�&���"

����&����@&��@, 

+&� '�q�)@ *�&���" 

*��������/� � '��*'� 

*��'� *��������� 

� ����# “�')” (ON).

�'#;'���: ���#�&� 

� ��������G&� '��*'� 

“unclamp” (�����&@) 

�� *�)��(� �����&�" 

f��(���(� *�&����.

��&�����&� f��(��$G 

*�&��� �� ?*����)@ 

��&��G�&��.

�������G 

*���')<+�&�)@

�	���"����:  
��&�����&� � f��(� ����=�G ���&��#��&.  

>��+��< *�#��&�&� (�G'� �� f��(��$G *�&���.

�';��: ���#�&� 

� ��������G&� '��*'� 

“clamp” (����&@) �� &�% 

*��, *�'� �� *�(����& 

�����G ����'�&��.

!���')<+�&�)@ 

#�#��&� 

	�@�x ��:
x

��)��'� (��*. �*f�")

��&�����&� ')<+ 

�� (�G'� f��(���(� 

*�&����.

>$q���&� ')<+ 

���&��&�&��<=�(� 

���#���. ��&�����&� �(� 

�� �����&�)@ �)" ')<+�.

q������������ ���������� !�� #'��;�� %'��� �' �'����� � \�������'��&� ��������

#��	�%���� ��$���"����:� '�?��� ��� 
��:���$ ���	����
��	� �	������	�?�����: �� ���#" ��q�&$ 

�� '���&@�" � �� ��������&@ ����=�G 

���&��#��&, *�&��� �)� ?*����)@ �&��'�.

510

510
630

550



ISCAR1098

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1098



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�


'�������$  

� ��*���$� +��&�



10991099



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�

1 2

BHTA
BD_2

BD

CRKS

OAL
LB_2

LB

BD_3 CND

58-60 HRc

�$�#�'����� SS CRKS BD_3 BD_2 BD CND LB OAL LB_2 BHTA @��.

PS BT40 45 M16 MAZAKB 40 M16 18.80 12.40 17.00 7.0 14.03 44.1 19.10 45.0 1.

PS BT40 45 M16 MAZAKBO 40 M16 18.80 12.40 17.00 7.0 14.03 44.1 19.10 45.0 2.

PS BT50 45 M24 MAZAKB 50 M24 29.00 20.80 25.00 8.0 17.58 65.2 25.20 45.0 1.

• @��. 1: ��)@'� � '���)�#� *������ ���. • @��. 2: � '���)�#� *������ ��� � ���&�����# �*)�&��&�)@�$# '�)@f�#.

 

 
PS BT-MAZAK (v������")
�&����)@ BT � 

��%��&��G (�)��'�G ANSI 

�)" �&��'�� MAZAK

LB_2
OAL

@��. 1 @��. 2 @��. 3

LB

BD_3

CND

BD_2 BDBHTA

CRKS

58-60 HRc

�$�#�'����� SS CRKS BD_3 BD_2 BD CND LB OAL LB_2 BHTA @��.

PS BT30 45 M12 MAS1 30 M12 11.00 7.00 12.50 - 18.00 43.0 23.00 45 1.

PS BT30 45 M12 MAS1B 30 M12 11.00 7.00 12.50 3.0 18.00 43.0 23.00 45 1.

PS BT30 60 M12 MAS2 30 M12 11.00 7.00 12.50 - 18.00 43.0 23.00 60 1.

PS BT40 45 M16 MAS1 40 M16 15.00 10.00 17.00 - 28.00 60.0 35.00 45 1.

PS BT40 45 M16 MAS1B 40 M16 15.00 10.00 17.00 4.0 28.00 60.0 35.00 45 1.

PS BT40 60 M16 MAS2 40 M16 15.00 10.00 17.00 - 28.00 60.0 35.00 60 1.

PS BT40 60 M16 MAS2 B 40 M16 15.00 10.00 17.00 5.5 28.00 60.0 35.00 60 1.

PS BT40 90 M16 MAS3 40 M16 15.00 10.00 17.00 - 28.00 60.0 35.00 90 1.

PS BT40 90 M16 MAS3 B 40 M16 15.00 10.00 17.00 5.5 28.00 60.0 35.00 90 1.

PS BT50 45 M24 MAS1 50 M24 23.00 17.00 25.00 - 35.00 85.0 45.00 45 1.

PS BT50 45 M24 MAS1 B 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 45 1.

PS BT50 45 M24 MAS1 OB 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 45 2.

PS BT50 45 M24 MAS1 OBO 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 45 3.

PS BT50 60 M24 MAS2 50 M24 23.00 17.00 25.00 - 35.00 85.0 45.00 60 1.

PS BT50 60 M24 MAS2 OB 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 60 2.

PS BT50 60 M24 MAS2B 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 60 1.

PS BT50 90 M24 MAS3 50 M24 23.00 17.00 25.00 - 35.00 85.0 45.00 90 1.

PS BT50 90 M24 MAS3 B 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 90 1.

PS BT50 90 M24 MAS3 OB 50 M24 23.00 17.00 25.00 6.0 35.00 85.0 45.00 90 2.

• @��. 1: � �&����&��# �)" ��� �)� q�� ��(� (�&����&�" �)" ��� &�)@'� � ���&��#��&�% � ��cc�'��# “B”). • @��. 2: � �&����&��# �)" ��� � ���?��# 

�*)�&��&�)@�$# '�)@f�#. • @��. 3: � �&����&�"#� �)" ���, ���?��# � ���&�����# �*)�&��&�)@�$#� '�)@f�#�.

 

 
PS BT-MAS (v������")
�&����)@ BT � ��%��&��G 

(�)��'�G MAS

1 2 3

BHTA BD_2 BD

CRKS

OAL
LB_2

LB

BD_3 CND

58-60 HRc

�$�#�'����� SS CRKS BD_3 BD_2 BD CND LB OAL LB_2 BHTA @��.

PS BT30 15 M12 JISB 30 M12 12.00 8.00 12.50 4.0 18.40 43.0 23.40 75.0 1.

PS BT40 15 M16 JIS 4OB 40 M16 19.00 14.00 17.00 4.0 23.00 54.0 29.00 75.0 2.

PS BT40 15 M16 JISB 40 M16 19.00 14.00 17.00 5.5 23.00 54.0 29.00 75.0 1.

PS BT40 15 M16 JISBO 40 M16 19.00 14.00 17.00 5.5 23.00 54.0 29.00 75.0 3.

PS BT40 15 M16 JISOB 40 M16 19.00 14.00 17.00 5.5 23.00 54.0 29.00 75.0 2.

PS BT50 15 M24 JIS B 50 M24 28.00 21.00 25.00 8.0 25.00 74.0 34.00 75.0 1.

PS BT50 15 M24 JIS OB 50 M24 28.00 21.00 25.00 8.0 25.00 74.0 34.00 75.0 2.

PS BT50 15 M24 JIS OBO 50 M24 28.00 21.00 25.00 8.0 25.00 74.0 34.00 75.0 3.

• @�� .1: &�)@'� � �&����&�"#� �)" *���+� ���. • @��. 2: � �&����&�"#� �)" *������ ��� � ���?��# �*)�&��&�)@�$# '�)@f�#. • @�� .3: � �&����&�"#� �)" *������ 

���, ���?��# � ���&�����# �*)�&��&�)@�$#� '�)@f�#�.

 

 
PS BT-JIS (v������")
�&����)@ BT � ��%��&��G 

(�)��'�G JIS 63398



ISCAR1100

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1100



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
� 1 2

BHTA BD_2 BD

CRKS

OAL
LB_2

LB

BD_3 CND

58-60 HRc

�$�#�'����� SS CRKS BD_3 BD_2 BD CND LB OAL LB_2 BHTA @��.

PS SK30 15 M12 DIN 30 M12 13.00 9.00 13.00 - 19.00 44.0 24.00 75.0 1.

PS SK40 15 M16 DIN 40 M16 19.00 14.00 17.00 - 20.00 54.0 26.00 75.0 1.

PS SK40 15 M16 DIN O 40 M16 19.00 14.00 17.00 - 20.00 54.0 26.00 75.0 2.

PS SK40 15 M16 DIN OB 40 M16 19.00 14.00 17.00 7.0 20.00 54.0 26.00 75.0 2.

PS SK40 15 M16 DINB 40 M16 19.00 14.00 17.00 7.0 20.00 54.0 26.00 75.0 1.

PS SK50 15 M24 DIN 50 M24 28.00 21.00 25.00 - 25.00 74.0 34.00 75.0 1.

PS SK50 15 M24 DIN O 50 M24 28.00 21.00 25.00 - 25.00 74.0 34.00 75.0 2.

PS SK50 15 M24 DINB 50 M24 28.00 21.00 25.00 11.5 25.00 74.0 34.00 75.0 1.

• ����	���� ��� ����"� ;�P ������ � ����	������$ � ��&&����� “B” • @��. 1: � �&����&�"#� �)" *���+� ��� �)� q�� ��% • @��. 2: � �&����&�"#� �)" ��� 

� ���?��# �*)�&��&�)@�$# '�)@f�#, �)� q�� ��%

 

 
PS SK-DIN (v������")
�&����)@ SK � ��%��&��G 

(�)��'�G DIN 69872

OAL

CRKS

LB_2
LB

BD_3 CND

BHTA
BD_2

BD

58-60 HRc

�$�#�'����� SS CRKS BD_3 BD_2 BD CND LB OAL LB_2 BHTA
PS CAT30 45 M12ISOB 30 M12 13.40 9.80 13.00 4.8 8.13 34.0 11.80 45

PS CAT40 45 M16ISOB 40 M16 18.00 12.95 17.00 7.4 11.15 44.5 16.40 45

PS CAT50 45 M24ISOB 50 M24 29.10 19.60 25.00 8.0 17.95 65.5 25.55 45

 

 
PS CAT-ISO (v������")
�&����)@ CAT � ��%��&��G 

(�)��'�G ISO

BHTA BD_2 BD

CRKS

OAL
LB_2

LB

THSZMSBD_3

58-60 HRc

�$�#�'����� SS CRKS THSZMS BD_3 BD_2 BD LB OAL LB_2 BHTA
PS OTT BT40 M16 40 M16 M16 25.00 21.10 17.00 16.60 56.0 28.00 75.0

PS OTT BT50 M24 50 M24 M24 39.30 32.00 25.00 13.35 65.0 25.00 75.0

 

 
PS OTT-BT (v������")
�&����)@ BT/SK � ��%��&��G 

(�)��'�G ���&�#$ OTT

CRKS

OAL
LB_2

BD_3

BD_2 BD

THSZMS

BHTA

LB

58-60 HRc

�$�#�'����� SS CRKS THSZMS BD_3 BD_2 BD LB OAL LB_2 BHTA
PS OTT SK40 M16 40 M16 M16 25.00 21.10 17.00 13.00 53.0 25.00 75

 

 
PS OTT-SK (v������")
�&����)@ SK � ��%��&��G 

(�)��'�G ���&�#$ OTT

THSZMS

HLN

DLN

ER 16, 20 TOP ER 25, 32, 40 TOP

�$�#�'����� DLN HLN THSZMS TQ
NUT ER16 TOP 28.00 17.80 M22X1.5 68.7

NUT ER20 TOP 34.00 19.00 M25X1.5 117.7

NUT ER25 TOP 42.00 20.00 M32X1.5 196.2

NUT ER32 TOP 50.00 22.50 M40X1.5 215.8

NUT ER40 TOP 63.00 25.00 M50X1.5 245.3

 

 
NUT ER-TOP
[���#�$� (�G'� ER-TOP  

�)" f��(��$% *�&����� DIN 6499



11011101



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�    

ER 11, 16, 20, 25 Mini UM ER 16, 20 UM ER 25, 32, 40, 50

THSZMS

HLN

DLN

�$�#�'����� DLN HLN THSZMS �·�
NUT ER11 MINI 16.00 10.80 M13X0.75 29.4

NUT ER11 UM 19.00 11.30 M14X0.75 49.1

NUT ER16 MINI 22.00 18.00 M19X1.0 39.2

NUT ER16 UM 28.00 17.00 M22X1.5 68.7

NUT ER20 MINI 28.00 19.00 M24X1.0 78.5

NUT ER20 UM 34.00 19.50 M25X1.5 117.7

NUT ER25 MINI 35.00 20.00 M30X1.0 98.1

NUT ER25 UM 42.00 20.00 M32X1.5 196.2

NUT ER32 UM 50.00 22.00 M40X1.5 215.8

NUT ER40 UM 63.00 25.00 M50X1.5 245.3

NUT ER50 UM 78.00 35.00 M64X2.0 343.4

 

 
NUT ER-MINI/UM
[���#�$� (�G'� 

�)" f��(��$% *�&����� 

ER DIN 6499

THSZMS

HLNDRVS

�$�#�'����� DRVS(1) HLN THSZMS �·�
NUT ER20 SHORT 22.0 10.70 M25X1.5 117.7

NUT ER32 SHORT 36.0 15.00 M40X1.5 215.8

NUT ER40 SHORT 46.0 16.00 M50X1.5 245.3

(1) ���#�� ')<+�

 

 
NUT ER-SHORT
;�G'� �)" �'���+���$% 

f��(��$% *�&����� ER SHORTIN

THOD

THOD

LB_2

LB
LB

3

12

�$�#�'����� THOD LB LB_2 @��.

PRESET ER-JET  8X1 M8x1 15.00 - 1.

PRESET ER-JET  8X1.25 M8X1.25 15.00 - 1.

PRESET ER-JET 10X1.5 M10X1.5 15.00 - 1.

PRESET ER-JET 12X1 M12X1 15.00 - 1.

PRESET ER-JET 12X1.75 M12X1.75 15.00 - 1.

PRESET ER-JET 12X1.75L M12X1.75 40.00 15.0 2.

PRESET ER-JET 14X1 M14X1 15.00 - 1.

PRESET ER-JET 16X2 M16X2 15.00 - 1.

PRESET ER-JET 16X2L M16X2 40.00 15.0 2.

PRESET ER-JET 18X1 M18X1 15.00 - 1.

PRESET ER-JET 18X1.5 M18X1.5 15.00 - 1.

PRESET ER-JET 18X1.5L M18X1.5 40.00 15.0 2.

PRESET ER-JET 22X1.5 M22X1.5 15.00 - 1.

PRESET ER-JET 22X1.5L M22X1.5 40.00 15.0 2.

PRESET ER-JET 28X1.5 M28X1.5 15.00 - 1.

 

 
PRESET ER-JET
��(�)�����+�$� ���&$ 

� �&����&�"#� �)" #��)�, 

�)" (��#�&�+�$% f��( ER  

(�*f�")



ISCAR1102

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1102



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�

CND

OAL

THOD

�$�#�'����� THOD OAL CND W�+"
PRESET MAXIN 16X30 M16 30.00 8.0 8.00

PRESET MAXIN 16X44 M16 44.00 8.0 8.00

PRESET MAXIN 20X55 M20 55.00 12.0 12.00

 

  

PRESET MAXIN
��(�)�����+�$G ���& 

�)" f��(��$% *�&����� MAXIN

THOD

LH

BD

LB

�$�#�'����� THOD BD LH LB
M8 CLAMP SCREW SEM16 M8 20.00 6.0 16.00

M10 CLAMP SCREW SEM22 M10 28.00 7.0 18.00

CLAMP SCREW 6368-27-M12 (1) M12 35.00 9.0 22.00

M12 CLAMP SCREW SEM27 M12 35.00 8.0 22.00

CLAMP SCREW 6368-32-M16 (1) M16 42.00 10.0 26.00

M16 CLAMP SCREW SEM32 M16 42.00 9.0 26.00

CLAMP SCREW 6368-40-M20 (1) M20 52.00 11.0 30.00

M20 CLAMP SCREW SEM40 M20 52.00 10.0 30.00

M24 CLAMP SCREW SEM50 M24 63.00 12.0 36.00

(1) ���()�" (�)��'�

 

SEM Clamping Screws
[���#��G ���& DIN 6367 

�)" �*����' ������$% 

c��� COMBI

OAL

OAL

OAL

W�+" ER 11, 16, 20, 25 Mini
OAW

OAW

OAW

W�+" ER 25, 32, 40, 50 W�+" ER 11,16, 20, SHORT, CLICKIN

DRVS

�$�#�'����� OAW DRVS(1) OAL
WRENCH ER11 MINI 16.80 - 95.00

WRENCH ER11 32.00 17.0 95.00

WRENCH ER16 MINI 22.50 - 117.00

WRENCH ER16 42.80 25.0 143.00

WRENCH ER20 MINI 28.00 - 128.00

WRENCH ER20 53.50 30.0 172.00

WRENCH ER25 MINI 29.00 - 120.00

WRENCH ER25 70.00 - 207.00

WRENCH ER32 78.00 - 255.00

WRENCH ER40 95.00 - 285.00

WRENCH ER50 110.00 - 350.00

WRENCH ER32 SHORT 75.00 36.0 303.00

WRENCH ER40 SHORT 94.00 46.0 378.00

WRENCH ER32 CLICKIN 27 57.00 27.0 239.00

WRENCH ER32 CLICKIN 32 67.00 32.0 273.00

(1) ���#�� ')<+�

 

 
WRENCH ER
�)<+ �)" ����#��G (�G'� 

f��(��$% *�&����� ER DIN 6499

OAL

D

�$�#�'����� D OAL
WRENCH MAXIN 20 HOOK 26.00 205.00

WRENCH MAXIN 32 HOOK 68.00 240.00

 

 
WRENCH MAXIN
�)<+ �)" *�&����� MAXIN



11031103



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�L1L1

b

LB

BD DCONMS

�$�#�'����� DCONMS BD LB b L1

16 D.RING SEMC 16.00 32.00 10.00 8.0 5.0

22 D.RING SEMC 22.00 40.00 12.00 10.0 6.0

27 D.RING SEMC 27.00 48.00 12.00 12.0 6.3

32 D.RING SEMC 32.00 58.00 14.00 14.0 7.0

40 D.RING SEMC 40.00 70.00 14.00 16.0 8.0

50 D.RING SEMC 50.00 90.00 16.00 18.0 9.0

 

 
Driving Ring-SEMC
!�������� '�)@f� DIN 6366/1  

' �*���'�# COMBI 

�)" ������$% c���

LH

OAL

�$�#�'����� DRVS(1) FTDZ OAL LH
WRENCH M8 SEMC16 16.0 M8 180.00 20.0

WRENCH M10 SEMC 22 22.0 M10 200.00 25.0

WRENCH M12 SEMC 27 27.0 M12 225.00 32.0

WRENCH M16 SEMC 32 32.0 M16 250.00 36.0

WRENCH M20 SEMC 40 40.0 M20 280.00 40.0

WRENCH M24 SEMC 50 50.0 M24 315.00 50.0

(1) ���#�� ')<+�

 

 
WRENCH SEMC
�)<+ DIN 6368 �)" �*����' 

&��f��$% � ������$% 

c��� COMBI



ISCAR1104

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1104



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�

�)<+ 1 �)<+ DRVSTHOD BD

LB_2
LB

L min
max

CXT

�$�#�'����� BD THOD CXT LB LB_2 L min L max W�+"(1) W�+" 1(2) DRVS(3)

COOLANT SET SR M10X1.5-22 28.00 M10 M4 25.00 18.00 2.0 17.0 7.00 6.00 21.00

COOLANT SET SRM12X1.75-27 35.00 M12 M4 31.00 22.00 2.0 17.0 7.00 6.00 27.00

COOLANT SET SR M16X2-32 42.00 M16 M8 37.00 26.00 3.0 25.0 13.00 10.00 30.00

COOLANT SET SR M20X2.5-40 52.00 M20 M8 45.00 30.00 3.0 25.0 13.00 10.00 36.00

(1) �)" (�G'�
(2) �)" ��*)�
(3) �)" ���&�

 

#�$����� ���� � 
��
��

���� ��%��� ��	 �������& ��
����& '
�(

>$�&�* ���&� � ��*)�# #���� )�('� 

�&��(�)�����&@ � ������#��&� �& ()�q��$ 

�q��q�&'�, ���#��� *)��&�� � ���(�% 

��)���G. !�)������ ��*)� �q��*�+����&�" 

c�'����<=�G (�G'�G. ��*$&���" 

*�'��$��<&, +&� �%)����<=�" ���'��&@, 

*������#�" +���� ��@ ���&��#��&� 

� ��*���)����" �����)@�� ' �����G +��&� 

c���$, ���+�&�)@�� ���)����& hcc�'& 

�%)������" � �)�+?��& �&��� �&���'� 

�� ���$ ������".

>��&$ *��&��)"<&�" � ���� ��q���, 

�������=�(� ���& � ��*)�#, ����#��G 

���&, c�'����<=�< (�G'� � ?�Gq$. 

;�G'� #���& q$&@ ��&"��&� �&�����&�$# 

���'��$# ')<+�#, �)�, *���*�+&�&�)@��, 

��'���$# (��+�$# ')<+�# (ISO 10104, 

DIN 838 �)� DIN 897). 	�&@ ���#�����&@ 

��'���&@ ��'���$� ')<+� � ISCAR:

• 7000783 Ring Wrench 10X13 ## �)" ��q��� 

SR M20X2.5-40 � SR M16X2-32

• 7000788 Ring Wrench 6X7 ## �)" ��q��� 

SRM12X1.75-27 � SR M10X1.5-22.

7103284  06/08711103284  0644 0606060000066664 0006 066666 0600066000006666606 0000066660060000666006666/ 8080808///000088////0/0/08008///0/08/00888///0888/0808080880008/08008/

1 2 3 4 5 6 7
;
�	�� � &����	�+*�% :�%��%

1 2 3 4 5 6 7
;
�	�� 
�' &����	�+*�% :�%��

�'�'��&� �'���

�$�#�'�����

COOLANT SET SR M10X1.5-22 WA M4DIN433 NOZZLE M4

COOLANT SET SRM12X1.75-27 WA M4DIN433 NOZZLE M4

COOLANT SET SR M16X2-32 WA M8DIN433A2 NOZZLE M8 NUT M8 DIN 934 A2

COOLANT SET SR M20X2.5-40 WA M8DIN433A2 NOZZLE M8 NUT M8 DIN 934 A2

 
COOLANT SET
[���#��G ���& 

� ��(�)����#$# ��*)�# 

�)" ������$% c���

THOD

LB
OAL

�$�#�'����� OAL LB THOD
COOLING TUBE HSK A40 29.50 7.5 M12X1

COOLING TUBE HSK A50 33.00 9.5 M16X1

COOLING TUBE HSK A63 36.50 11.5 M18X1

COOLING TUBE HSK A80 40.00 13.5 M20X1.5

COOLING TUBE HSK A100 44.00 15.5 M24X1.5

COOLING TUBE HSK A125 48.00 17.5 M30X1.5

 

 
COOLING TUBE HSK-A
�%)����<=�� &��q'� 

�)" %���&���'�� HSK-A



11051105



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�

OAL

BD

�$�#�'����� OAL BD
WRENCH COOL TUBE HSK32 8.50 115.00

WRENCH COOL TUBE HSK40 10.50 115.00

WRENCH COOL TUBE HSK50 14.50 115.00

WRENCH COOL TUBE HSK63 16.50 136.00

WRENCH COOL TUBE HSK80 18.50 136.00

WRENCH COOL TUBE HSK100 22.00 136.00

WRENCH COOL TUBE HSK125 24.50 175.00

 

 
WRENCH HSK
�)<+ �)" &��q'� 

�%)������" HSK-A

25

62

2.5
4

 
EXTRACTOR SC COLLETS
��<' �)" ��/#� f��(� SC

OAL

TDZ

�$�#�'����� TDZ OAL SS
SR M6X10 DIN1835B M6 10.00 6

SR M8X10 DIN1835-B M8 10.00 8

SR M10X12 DIN1835-B M10 12.00 10

SR M12X16 DIN1835-B M12 16.00 12,14

SR M14X16 DIN1835-B M14 16.00 16,18

SR M16X16 DIN1835-B M16 16.00 20

SR M18X2X20 DIN1835-B M18X2 20.00 25

SR M20X2X20 DIN1835-B M20x2 20.00 32,40

SR M24X2X25 DIN1835-B M24x2 25.00 50

SR M16X10.3 EM SHORT M16 10.30 20

SR M18X2X10 EM SHORT M18X2 10.00 25

 

 
SCREW EM
[���#��G ���& �)" �*����' 

'��f��$% c���

TDZ CND

OAL

�$�#�'����� TDZ OAL CND W�+" SS
PRESET M5X18B M5X0.8 18.00 2.10 2.50 EM E/SRKIN

PRESET M6X20B M6X1 20.00 2.50 3.00 EM E/SRKIN

PRESET M8X20B M8X1.25 20.00 3.50 4.00 EM E/SRKIN

PRESET M10X18B M10X1.5 18.00 4.50 5.00 EM E/SRKIN

PRESET M12X18B M12X1.75 18.00 5.50 6.00 EM E/SRKIN

PRESET M16X20B M16X2 20.00 7.50 6.00 EM E/SRKIN

PRESET M16X25B M16X2 25.00 7.50 6.00 SRKIN

PRESET M20X20E M20X2.5 20.00 6.00 6.00 EM E

 

 
SRKIN PRESET SCREW
��&�����+�$G 

���& �)" f��(��$% 

&��#�*�&����� SRKIN 

� �&����&�"#� �)" *������ 

�%)����<=�G ���'��&�



ISCAR1106

F
L

E
X

F
IT

 •
 C

L
IC

K
F

IT

ISCAR1106



�

�
	

�
�

�



�
Q

 �
 [



!



�

�
Q

	
 W



�

�
�

CRKS

LPR
OAL

�$�#�'����� LPR CRKS OAL
COOLING TUBE C3 10.00 M12x1.5 22.30

COOLING TUBE C4 12.00 M14x1.5 25.40

COOLING TUBE C5 14.00 M16x1.5 28.50

COOLING TUBE C6 15.00 M20x2 31.00

COOLING TUBE C8 15.00 M20x2 31.50

COOLING TUBE C10 16.00 M24x2 34.00

• �q��&�&��@ ' ���&��'f�� *� �&��'� *���� ��&����'�G �%)����<=�G &��q'� Camfix • �q���&��@ � ��)�+�� �*)�&��&�)@��(� '�)@f� • !��#��"G&� Loctite 542 

(�)� h'����)��&) �� ���@q� �%)����<=�G &��q'� �)" ��'��*)���"/�*)�&����" ���@q$ • ��&����)���G&� �%)����<=�< &��q'� (������) ')<+�# �)" �%)����<=�G 

&��q'� C# �� �&����$ �)" ��&����'�

 

 
COOLING TUBE C#
�%)����<=�� &��q'� 

�)" %���&���'�� CAMFIX 

(ISO 26623-1)

OAL

BD

M
o

un
t

R
em

o
ve

DRVS

�$�#�'����� OAL BD DRVS(1)

WRENCH COOL TUBE C3 40.00 14.80 12.0

WRENCH COOL TUBE C4 45.00 17.80 15.0

WRENCH COOL TUBE C5 50.00 20.80 16.9

WRENCH COOL TUBE C6 60.00 27.80 19.0

WRENCH COOL TUBE C8 60.00 31.80 22.0

WRENCH COOL TUBE C10 75.00 42.80 25.9

(1) ���#�� ')<+�

 

 
WRENCH COOL TUBE C#
;��+�$G ')<+ �)" �%)����<=�% 

&��q�' CAMFIX (ISO 26623-1)


